Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Abel Abu-Qulbain	Kyle Majeed	Campus Recreation Coordinator IT Tech Assoc	Campus Recreation Infrastructure Op & Networking	12.00 12.00	1.00 1.00	•	\$ 4,457.00 \$ 8,595.00
Acasio Adachi	Jenna Matthew	Business Administrative Assoc Program Coordinator	University Housing Services Multicultural Center	12.00 12.00	1.00 1.00	\$ 27.07	\$ 28.02
Adams	David	Assoc Dir Clinical Experiences	Student Counseling Services	12.00	1.00	\$ 5,512.00	\$ 8,792.00
Adams Adams	Elizabeth Jessica	Director Senior Spon Proj Research Assoc	Development-Fundraising School of Biological Sciences	12.00 12.00	1.00 0.80	•	\$ 11,159.00 \$ 32.00
Adams	Kendal	Marketing Associate IT Tech Assoc	Graduate School	12.00	1.00	\$ 3,883.00	\$ 4,298.00
Adams Adekoya	Michael Victor	Building Service Worker	Infrastructure Op & Networking Janitorial	12.00 12.00	1.00 1.00	•	\$ 7,326.00 \$ 22.83
Adelman Adelman	Kimberly Sarah	Supervisor Clinical Business Administrative Assoc	Communication Sciences and Dis Comptroller's Office	9.00 12.00	1.00 1.00	•	\$ 6,772.00 \$ 4,916.00
Aguirre-Palma	Adriana	Coord Residence Hall	University Housing Services	12.00	1.00	\$ -	\$ 3,881.00
Aich Aiello	Priyanka Malinda	Academic Advisor Program Director	University College Registrar	12.00 12.00	1.00 1.00		\$ 4,129.00 \$ 6,973.00
Aikens Aitken	Nathaniel Brian	Coord Recruitment Program Director	School of Theatre and Dance University College	9.00 12.00	0.20 1.00	•	\$ 24.00 \$ 7,332.00
Akers	Mary	Office Support Associate	Agriculture	12.00	1.00	\$ 15.90	\$ 16.58
Alberto Albrecht	Margarita Jana	Office Administrator Assoc VP Enrol Mgmt	Event Management, Dining and H Vice President & Provost	12.00 12.00	1.00 1.00	•	\$ 21.16 \$ 16,420.00
Albright Alcorn	Stacy Gary	Administrative Aide Building Service Worker	Languages, Literatures and Cul Janitorial	12.00 12.00	1.00 1.00		\$ 29.57 \$ 22.83
Alden	Mollie	Senior Events Coordinator	Event Management, Dining and H	12.00	1.00	\$ 4,440.00	\$ 4,595.00
Aldus Alexander	Jaclyn Deborah	Clinic Nurse Housekeeper	Health Services Janitorial	12.00 12.00	1.00 0.80	•	\$ 33.18 \$ 17.76
Alexander Alexandre	Natalie Austin	Program Director IT Support Assoc	Career Services College of Fine Arts Instructi	12.00 12.00	1.00 1.00		\$ 6,862.00 \$ 29.50
Alford	Jordan	Asst Womens Basketball Coach	Intercollegiate Athletics	12.00	1.00	\$ -	\$ 4,269.00
Alfrey Allen	Todd Courtney	Maintenance Repair Worker Admissions Counselor	Building Maintenance Admissions	12.00 12.00	1.00 1.00	•	\$ 29.00 \$ 3,277.00
Allen	John	Electrician	Building Maintenance	12.00	1.00	\$ 42.25	\$ 42.98
Allen Allen	Matthew Robert	Electrician Electrician	Building Maintenance Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 42.98 \$ 42.98
Almanza Almanza	Miguelina Sandra	Building Service Worker Building Service Worker	Janitorial Janitorial	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 22.83
Almeda	Angela	Coord Stdt Success	Health Sciences	12.00	1.00	\$ 6,066.00	\$ 5,905.00
Almeda Almekinder	James Daniel	Program Coordinator Asst Athletic Trainer	Health Promotion and Wellness Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 5,918.00 \$ 5,334.00
Alouan	Marcus	Dir Gamma Phi Circus	Dean of Applied Science and Te	12.00	1.00	\$ 5,598.00	\$ 5,794.00
Alston Altieri	Alexis Jennifer	Coord Residence Hall Office Manager	University Housing Services Criminal Justice Sciences	12.00 12.00	1.00 1.00		\$ 4,158.00 \$ 19.30
Alvarado Ambrose	Hilda Pamm	Building Service Worker Spon Proj Program Assoc	Janitorial School of Teaching and Learnin	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 5,693.00
Amirault	Ray	Business Administrative Assoc	Dean of Education	12.00	1.00	\$ 7,369.00	\$ 7,627.00
Anderson Anderson	Arianne Brenton	Budget Analyst Program Stdt Advisor	Budget Office Intercollegiate Athletics	12.00 12.00	0.53 1.00	•	\$ 27.20 \$ 4,371.00
Anderson	Faith	Coord Residence Hall	University Housing Services	12.00	1.00	\$ -	\$ 3,881.00
Anderson Anderson	Jamie Jennifer	Administrative Aide Admissions and Records Coord	Women, Gender, and Sexuality Admissions	12.00 12.00	1.00 1.00	•	\$ 20.40 \$ 24.84
Anderson Anderson	John Kelly	Dir Printing Services Program Stdt Advisor	University Marketing & Communi Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 9,162.00 \$ 5,099.00
Anderson	Kelsey	Building Service Worker	Janitorial	12.00	1.00	\$ 21.31	\$ 16.55
Anderson Anderson	Nicole Rachel	Staff Counselor Culinary Worker III	Student Counseling Services Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 5,883.00 \$ 18.91
Anderson	Steven	Building Service Worker	Janitorial	12.00	1.00		
Andracke Angleton	Traci Mark	Program Coordinator Academic Advisor	Admissions University College Academic Ad	12.00 12.00	1.00 1.00	•	\$ 5,454.00 \$ 4,085.00
Ansher Appel	Jay Kelli	Spec Computer Support Dir Enroll Transitions Svcs	Physics Dean of Education	10.50 12.00	1.00 1.00	•	\$ 5,563.00 \$ 9,657.00
Aranda	Jaime	Steam and Power Plant III	Building Maintenance	12.00	1.00	\$ 39.56	\$ 40.75
Arbogast Archie	Amos Xavier	Coach Laboratory School Building Service Worker	University High School Janitorial	4.00 12.00	0.09 1.00	•	\$ 800.00 \$ 22.83
Arias	Efrain	Building Service Worker	Janitorial	12.00	1.00	-	\$ 16.55
Arjona Armbrust	Nolan Sarah	Police Officer Teacher Aide	University Police Department Thomas Metcalf School	12.00 12.00	1.00 1.00	•	\$ 34.31 \$ 15.50
Armenta Armenta	Andrea Araceli	Building Service Worker Building Service Worker	Janitorial Janitorial	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 19.54
Armstrong	Carlos	Food Service Administrator IV	Event Management, Dining and H	12.00	1.00	\$ 6,500.00	\$ 6,728.00
Armstrong Arrenholz	Jennifer Katlyn	Coord Radio Station WGLT Coord Residence Hall	Radio Station WGLT University Housing Services	12.00 12.00	1.00 1.00	•	\$ 6,129.00 \$ 4,017.00
Arreola Ash	Bertha Ryan	Building Service Worker Coach Laboratory School	Janitorial University High School	12.00 3.00	1.00 0.09	•	\$ 22.83 \$ 834.00
Ashenbremer	Eric	Building Service Worker	Janitorial	12.00	1.00	\$ 15.54	\$ 16.55
Ashenbremer Ashley	Keith Davina	Electrician Office Manager	Building Maintenance Office of International Engage	12.00 12.00	1.00 1.00	•	\$ 42.98 \$ 18.63
Asis	Timoteo	Parking Serv Agent II	Parking & Transportation	12.00	1.00	\$ 17.09	\$ 17.73
Aslin Asper	Brigid Randal	Program Coordinator IT Tech Assoc	Dean of Students Comptroller's Office	12.00 12.00	1.00 1.00	•	\$ 4,140.00 \$ 5,010.00
Atayde Atherton	Maritza Jessica	Asst Dir Gamma Phi Circus Head Teacher Child Care Center	College Appl Sci & Tech Suppor Family and Consumer Sciences	9.00 9.00	1.00 1.00	•	\$ 3,731.00 \$ 4,197.00
Atkins	Kellie	Office Manager	Student Counseling Services	12.00	1.00	\$ 17.38	\$ 19.89
Aukerman Auth	Veda Sydney	Dir Normal Ed Workshop Office Support Specialist	Wonsook Kim School of Art Psychology	10.00 12.00	1.00 1.00		\$ 4,549.00 \$ 17.26
Avery	Grant Colleen	Police Corporal Business Administrative Assoc	University Police Department	12.00 12.00	1.00 1.00	•	\$ 40.69 \$ 19.67
Ayars Aza	Romelia	Building Service Worker	University College Janitorial	12.00	1.00	•	\$ 22.83
Babcock Babin	Deborah Elizabeth	Program Coordinator Senior Library Specialist	Insurance & Financial Services Milner Library	12.00 12.00	1.00 1.00		\$ 7,953.00 \$ 20.79
Baer	Kiersten	Spon Proj Research Coord	Educational Administration & F	12.00	1.00	\$ 31.42	\$ 32.36
Bahan Bahr	Mary Cassandra	Senior Events Coordinator Events Administrator Associate	Event Management, Dining and H Arena/Fld Hse Facilities	12.00 12.00	1.00 1.00	•	\$ 4,732.00 \$ 3,916.00
Bailey	Michael Robert	Plumber Exec Dir Stdt Affairs IT	Building Maintenance Student Affairs Information Te	12.00 12.00	1.00 1.00	•	\$ 47.80 \$ 13,428.00
Bailey Bailey	Tamekia	Program Director	Dean of Applied Science and Te	12.00	1.00	•	\$ 13,428.00 \$ 5,857.00
Bains Baird	Tamara Maia	IT Support Assoc Pharmacist	Human Resources Health Services	12.00 12.00	1.00 1.00	•	\$ 37.50 \$ 60.64
Baird	Roger	IT Tech Assoc	Web and Interactive Communicat	12.00	1.00	\$ 6,510.00	\$ 6,738.00
Baird Ball	Travis Steven	Police Telecommunicator IT Tech Assoc	University Police Department Infrastructure Op & Networking	12.00 12.00	1.00 1.00	•	\$ 21.22 \$ 5,289.00
Ballard Ballentine	Eric Mark	Events Administrator Associate IT Support Assoc	Event Management, Dining and H Event Management, Dining and H	12.00 12.00	1.00 1.00	\$ 6,124.00	\$ 6,338.00 \$ 31.31
Balonis	Amanda	Office Administrator	Registrar	12.00	1.00	\$ 20.01	\$ 21.70
Bammann Banks	Michael George	Carpenter Academic Advisor	Building Maintenance University College	12.00 12.00	1.00 1.00	•	\$ 36.09 \$ 4,085.00
Bannore	Madhura	Business Administrative Assoc	Career Services	12.00	1.00	\$ 4,916.00	\$ 5,088.00
Bantner Barbour	Michael Rebecca	Pipefitter IT Tech Assoc	Building Maintenance Web and Interactive Communicat	12.00 12.00	1.00 1.00	•	\$ 47.80 \$ 5,481.00
Barisch	Brian	Steam and Power Plant III	Building Maintenance	12.00	1.00	\$ 36.25	\$ 40.75
Barnard Barnes	Taylor Gregory	Office Manager Heavy Driver	University Housing Services University Marketing & Communi	12.00 12.00	1.00 1.00	•	\$ 19.79 \$ 25.88
Darries	= -		_	12.00	1 00	\$ 10,087.00	\$ 10,753.20
Barnhill	Julie Silvia	Events Administrator Associate Building Service Worker	President's Office Entertainme Janitorial	12.00 12.00	1.00	•	
	Julie Silvia Jean Gordon	Building Service Worker General Counsel Business Administrative Assoc	Janitorial Office of General Counsel Admissions	12.00 12.00 12.00 12.00	1.00 1.00 1.00 1.00	\$ 22.06 \$ 21,563.00	\$ 22.83 \$ 22,318.00 \$ 6,130.00

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Barringer Barth	Jessica Krista	Office Administrator Coord Residence Hall	Dean of Education University Housing Services	12.00 12.00	1.00 1.00	•	\$ 21.48 \$ 4,017.00
Bartolone	Julia	Office Manager	Event Management, Dining and H	12.00	1.00	\$ 18.50	\$ 19.16
Bates Bates	Wendy Wilma	Asst VP Student Affairs Dir Development	Vice President Student Affairs Development-Fundraising	12.00 12.00	1.00 1.00	•	\$ 14,420.00 \$ 8,280.00
Bateson	Darrin	Culinary Worker III	Event Management, Dining and H Janitorial	12.00 12.00	1.00 1.00	•	\$ 21.23 \$ 22.83
Bauer Baxter	Dylan Megan	Building Service Worker Academic Advisor	Special Education	10.00	1.00	•	\$ 5,340.00
Baxter Bays	Regan Cynthia	Coach Laboratory School Medical Insurance Spec	University High School Health Services	3.00 12.00	0.09 1.00	•	\$ 567.00 \$ 26.31
Bays	Sandra	Coach Laboratory School	Thomas Metcalf School	4.00	0.09	\$ -	\$ 564.00
Beam Bean	Brian Muriel	Exec Dir Univ Mktg and Comm Coord Recruitment	University Marketing & Communi Mennonite College of Nursing	12.00 12.00	1.00 1.00		\$ 12,206.00 \$ 3,750.00
Beasley	Danielle	Assoc Dir Stdt Counseling Serv	Student Counseling Services	12.00	1.00	\$ 6,733.00	\$ 8,223.00
Beasley Beaulieu	Kevin Ryan	Culinary Worker V Laundry Worker	Event Management, Dining and H University Housing Services	12.00 12.00	1.00 1.00	-	\$ 23.38 \$ 21.23
Beaver	Theresa	Accountant II	Comptroller's Office	12.00	1.00	\$ 22.94	\$ 23.74
Beck Beck	Katrina Nolan	Asst Womens Basketball Coach Building Service Worker	Intercollegiate Athletics Janitorial	12.00 12.00	1.00 1.00	•	\$ 6,249.00 \$ 22.83
Bedford	Polly	Dir Development	Development-Fundraising	12.00	1.00	\$ 5,834.00	\$ 6,038.00
Bee Beecroft	Judith Karmen	Spon Proj Admin Program Coordinator	Milner Library Milner Library	12.00 12.00	1.00 1.00		\$ 9,167.00 \$ 5,693.00
Beer	Virginia	Office Administrator	Chemistry	12.00	1.00		\$ 20.20
Beggs Behnke	Jeri Adam	Dir Intercollegiate Athletics Electrician	Intercollegiate Athletics Building Maintenance	12.00 12.00	1.00 1.00		\$ 18,976.00 \$ 42.98
Behrens	Julia	Human Resource Representative	Human Resources	12.00	1.00	•	-
Behrens Bekofe	Roger Mamie	Building Service Worker Culinary Worker III	Janitorial Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 18.91
Bekofe	Maximes	Building Service Supervisor	Janitorial	12.00	1.00		\$ 4,650.00
Bell Belva	Kilee Quinn	Program Coordinator Greens Worker	Planning, Research & Policy An Golf Course	12.00 12.00	1.00 1.00	•	\$ 6,911.00 \$ 21.45
BeMiller	Stephen	Internal Auditor Assoc	Internal Auditor	12.00	1.00		\$ 6,829.00
Benitez Benjamin	Edward Emma	Academic Advisor Customer Service Rep	Dean of Business Parking & Transportation	12.00 12.00	1.00 1.00		\$ 3,839.00 \$ 18.00
Benn	Rachel	Spon Proj Admin	Health Sciences	12.00	1.00	\$ 5,209.00	\$ 5,314.00
Benner Bennett	Gregory Andrew	IT Support Assoc Recycling Coord	Student Affairs Information Te University Recycling	12.00 12.00	1.00 1.00		\$ 5,406.00 \$ 31.52
Benning	Andrew	Asst Athletic Trainer	Intercollegiate Athletics	12.00	1.00	\$ 4,461.00	\$ 5,625.00
Benson Benson	John Linda	Program Coordinator Assoc Dean of Students	Office of Technology Solutions Dean of Students	12.00 12.00	1.00 1.00	•	\$ 7,763.00 \$ 9,282.00
Benson	Nicholas	Senior Events Coordinator	Dean of Fine Arts	12.00	1.00	\$ 4,616.00	\$ 4,778.00
Berchtold Bergmann	Ricki Carmen	Pipefitter Principal T Metcalf Elem Schl	Building Maintenance Thomas Metcalf School	12.00 12.00	1.00 1.00		\$ 47.80 \$ 10,042.00
Bernas	Kristen –	Office Administrator	Accounting	12.00	1.00	\$ 22.77	\$ 23.57
Berner Berrocales	Teresa Heather	Business Administrative Assoc Business Administrative Assoc	Dean of Education Event Management, Dining and H	12.00 12.00	1.00 1.00		\$ 5,350.00 \$ 7,051.00
Berrocales	Seann	Office Manager	Department of Management	12.00	1.00	\$ 19.04	\$ 19.71
Bersett Bertalot	Kevin Brian	Program Director IT Tech Assoc	University Marketing & Communi Enterprise Data and Analytics	12.00 12.00	1.00 1.00	•	\$ 8,213.00 \$ 7,316.00
Bethmann	Jennifer	IT Tech Assoc	Web and Interactive Communicat	12.00	1.00	\$ 32.04	\$ 33.16
Bettis Bettis	Sheri Todd	Spon Proj Admin Architectural Draftsman II	Educational Administration & F Facilities Planning	12.00 12.00	1.00 1.00	•	\$ 5,693.00 \$ 41.03
Beucher	Rebecca	Program Director	Dean of Education	12.00	1.00	\$ 9,488.00	\$ 9,820.00
Bevins Bevins	Caranda Melissa	Food Service Administrator I Administrative Aide	Event Management, Dining and H Mennonite College of Nursing	12.00 12.00	1.00 1.00	•	\$ 21.85 \$ 26.75
Beyer	Beverly	Program Coordinator	Research & Sponsored Programs	12.00	1.00	\$ 6,188.00	\$ 6,405.00
Bezzaz Biddle	Samira Ruth	Food Service Administrator I Office Support Associate	Event Management, Dining and H Event Management, Dining and H	12.00 12.00	1.00 1.00	-	\$ 21.85 \$ 15.84
Bidwell	Amanda	IT Support Assoc	Client Services	12.00	1.00	\$ 24.84	\$ 25.71
Bietsch Biles	Jennifer Regina	Food Service Administrator III Culinary Worker III	Event Management, Dining and H Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 4,519.00 \$ 21.23
Birckelbaw	Carla	Dir Client Services	Office of Technology Solutions	12.00	1.00	\$ 11,975.00	\$ 13,014.00
Bjorklund Black	Thomas Benjamin	Coach Asst Mens Football Coach	Campus Recreation Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 5,083.00 \$ 4,744.00
Black	Shatoya	Spon Proj Program Assoc	Student Support Services Unive	12.00	1.00	\$ 4,471.00	\$ 5,490.00
Blackburn Blahnik	Brian Jack	Procurement Officer Specialist Program Coordinator	Comptroller's Office Campus Recreation	12.00 12.00	1.00 1.00		\$ 4,686.00 \$ 5,499.00
Blair	David	Press Technician	University Marketing & Communi	12.00	1.00	\$ 24.26	\$ 25.11
Blair Blalock	Janice Sarah	Asst Dean of Students Spon Proj Research Coord	Dean of Students Educational Administration & F	12.00 12.00	1.00 1.00	•	\$ 5,589.00 \$ 5,038.00
Blecha	Matthew	Police Officer	University Police Department	12.00	1.00	\$ 36.05	\$ 37.31
Bledsoe Bleichner	Richard Nichol	Program Coordinator Deputy Chief	Research Ethics & Compliance University Police Department	12.00 12.00	1.00 1.00	•	\$ 4,583.75 \$ 9,333.00
Blemler	Robert	Dir Internal Auditing	Internal Auditor	12.00	1.00	\$ 11,620.00	\$ 12,027.00
Blick Blodgett	Constance Anthony	Administrative Aide Coord Acad Serv	Vice President & Provost Politics and Government	12.00 9.00	1.00 0.04	•	\$ 26.09 \$ 30.00
Blue	Matthew	Academic Advisor	History	12.00	1.00	\$ 3,959.00	\$ 4,098.00
Blythe Bobarsky	Robert Lauren	Pipefitter Program Assistant	Building Maintenance School of Music	12.00 12.00	1.00 0.50		\$ 47.80 \$ 20.00
Bobbitt	Robert	Marketing Associate	Conference Services	12.00	0.50	\$ 21.23	\$ 21.98
Boch Boehm	Wendy Michael	Benefits Counselor Program Coordinator	Environmental Health & Safety Marketing	12.00 12.00	1.00 1.00	•	\$ 30.02 \$ 4,853.00
Boerngen	Eric	Program Coordinator	Research & Sponsored Programs	12.00	1.00	\$ 6,361.00	\$ 6,624.00
Boesdorfer Boester	Brad Cara	IT Manager Admin Coord Dir Clinical Experiences	Advancement & Foundation Opera Communication Sciences and Dis	12.00 12.00	1.00 1.00	•	\$ 8,971.00 \$ 8,040.00
Bogue	Ross	Coord Computer Support	Physics	12.00	1.00	\$ 6,957.00	\$ 7,200.00
Bogue Boicken	Stephen Christine	Accounting Officer Business Administrative Assoc	University Housing Services Dean of College of Engineering	12.00 12.00	1.00 1.00	-	\$ 19.53 \$ 5,500.00
Bolhuis	Michael	Coach Laboratory School	University High School	4.00	0.09	\$ 1,700.00	\$ 1,700.00
Bolindo	Melinda Tresor	Spon Proj Program Assoc Building Service Worker	Special Education Janitorial	12.00 12.00	1.00 1.00		\$ 5,536.00 \$ 19.64
Bolte	Katherine	Dir Development	Development-Fundraising	12.00	1.00	•	\$ 7,300.00
Bomolo Bond	Pele Anthony	Building Service Worker Building Service Worker	Janitorial Janitorial	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 22.83
Bondzie	Ebenezer	Coordinator	Chemistry	12.00	1.00	\$ 1,391.00	\$ 4,916.00
Bonifas Bonneville	Angela	Program Director Assoc VP Human Resources	Planning, Research & Policy An Human Resources	12.00 12.00	1.00 1.00	•	\$ 8,626.00
Bonneville Boolman	Janice Jennifer	Office Administrator	Sociology and Anthropology	12.00	1.00	\$ 21.54	-
Borders Bordner	Christina Leanna	Dir Illinois Tutoring Init Assoc Dir Int Athletics	Dean of Education	12.00 12.00	1.00 1.00		\$ 16,985.00 \$ 12,217.00
Borowski	Leanna Connie	Administrative Aide	Intercollegiate Athletics Educational Administration & F	12.00	1.00	. ,	\$ 12,217.00 \$ 26.01
Bosserman	Nichole Brittany	Staff Counselor	Student Counseling Services	12.00 12.00	1.00	•	\$ 5,684.00 \$ 6,275.00
Boston Boulware	Brittany Nancy	Spon Proj Assoc Dir Library Operations Associate	Educational Administration & F Milner Library	12.00 12.00	1.00 1.00	•	\$ 6,275.00 \$ 30.78
Bouman	Kathryn	Office Manager	Family and Consumer Sciences	12.00	1.00	\$ 17.96	\$ 18.59
Boutilier Bovee	Kate Jeffrey	Academic Advisor Head Mens Womens Trk Fld XCtry	School of Communication Intercollegiate Athletics	12.00 12.00	1.00 1.00		\$ 3,947.00 \$ 10,834.00
Bowald	Robert	Painter Foreman	Building Maintenance	12.00	1.00	\$ 40.94	\$ 42.00
Bowling Boyer	Jonathan Dillon	Technical Dir IT Support Assoc	Event Management, Dining and H Client Services	12.00 12.00	1.00 1.00	•	\$ 5,892.00 \$ 23.81
Boylan	David	Maintenance Repair Worker	Building Maintenance	12.00	1.00	\$ 28.16	\$ 29.00
Boyle Bracey	Holden Andre	Asst Mens Football Coach Culinary Worker II	Intercollegiate Athletics Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 3,883.00 \$ 15.64
Bracey	Angelic	Culinary Worker III	Event Management, Dining and H	12.00	1.00	\$ 14.69	\$ 18.91
Bradford	Beth	Administrative Assistant	Student Access and Accommodati	12.00	1.00	\$ 27.02	\$ 27.97

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Bragg Brakebill	Brian Bradley	Food Serv Sanitation Laborer Painter	Event Management, Dining and H Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 21.23 \$ 40.00
Brandel	Jennifer	Business Administrative Assoc	Event Management, Dining and H	12.00	1.00	\$ 8,366.00	\$ 8,659.00
Brandt Brandt	Barbara Christopher	Office Administrator IT Tech Assoc	Superintendence Client Services	12.00 12.00	1.00 1.00	•	\$ 23.42 \$ 5,803.00
Brandt	Jeffrey	Building Mechanic	Bldg Maint Bond Rev	12.00	1.00	\$ 28.46	\$ 29.31
Brantley Brauer	Michah Nicole	Financial Aid Coordinator Dir Health Promo and Wellness	Financial Aid Office Health Promotion and Wellness	12.00 12.00	1.00 1.00	•	\$ 3,500.00 \$ 7,756.00
Braun	Pamela	Spon Proj Program Coord	Center for Mathematics Science	12.00	0.50	\$ 17.36	\$ 24.88
Bray Breast	Christina Jordyn	Admissions and Records Coord Academic Advisor	Registrar Family and Consumer Sciences	12.00 12.00	1.00 1.00	•	\$ 25.66 \$ 4,140.00
Bree	Chasity	Program Coordinator	Human Resources	12.00	1.00	\$ 4,580.00	\$ 4,740.00
Brelsfoard Brent	Mary Kristine	Office Support Specialist IT Support Assoc	Communication Sciences and Dis Client Services	12.00 12.00	1.00 1.00	•	\$ 17.33 \$ 25.71
Brenwall	Jesse	Construction Project Coord II	Building Maintenance	12.00	1.00	•	\$ 7,084.00
Brewster Bricker	Tyler Benjamin	Carpenter IT Support Assoc	Building Maintenance Web and Interactive Communicat	12.00 12.00	1.00 1.00	•	\$ 36.09 \$ 25.37
Briggs	Molly	Business Administrative Assoc	President's Office	12.00	1.00	•	\$ 5,848.96
Brook Brookins	Anthony Clarissa	IT Tech Assoc Asst Dir Univ Housing Serv	Application Services University Housing Services	12.00 12.00	1.00 1.00	•	\$ 7,334.00 \$ 5,985.00
Brooks	Derek	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Brooks Brooks	Jennifer Julia	Spon Proj Program Coord Administrative Aide	Educational Administration & F Honors Program	12.00 12.00	1.00 1.00	•	\$ 5,500.00 \$ 29.74
Broshears	Michael	Dir University College	University College Academic Ad	12.00	1.00	•	\$ 11,213.00
Brown Brown	Amanda Benjamin	IT Tech Assoc Building Service Worker	Student Affairs Information Te Janitorial	12.00 12.00	1.00 1.00		\$ 7,643.00 \$ 22.83
Brown	Breana	Academic Advisor	University College Academic Ad	12.00	1.00	•	\$ 3,759.00
Brown Brown	Christopher Evan	Painter Spon Proj Program Assoc	Building Maintenance School of Teaching and Learnin	12.00 12.00	1.00 1.00	•	\$ 40.00 \$ 6,667.00
Brown	Grace	Business Administrative Assoc	Office of International Engage	12.00	1.00	\$ 4,831.00	\$ 5,000.00
Brown Brown	Ingrid John	Coord Field Placement Building Service Worker	School of Social Work Janitorial	12.00 12.00	1.00 1.00	•	\$ 5,613.00 \$ 22.83
Brown	Joseph	IT Manager Admin Coord	Office of Technology Solutions	12.00	1.00	\$ 9,167.00	\$ 9,488.00
Brown Brown	Justin Kelli	Program Coordinator Building Service Worker	Dean of Students Janitorial	12.00 12.00	1.00 1.00	•	\$ 4,140.00 \$ 22.83
Brown Brown	Kelly	Office Administrator	Clinical Experiences in Teache	12.00	1.00	\$ 20.06	\$ 20.76
Brown	Rebecca	Marketing Associate	Office of International Engage	12.00 12.00	1.00	•	\$ 21.59
Brown Brown	Ryan Stacy	Associate Dean Business Administrative Assoc	Dean of Education Comptroller's Office	12.00 12.00	1.00 1.00		\$ 12,334.00 \$ 7,976.00
Brown	Tyrone	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Brubaker Brucken	Andrew Katherine	Assoc Athletic Trainer Events Administrator Associate	Intercollegiate Athletics Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 6,042.00 \$ 3,451.00
Brucker	Chad	Pipefitter	Building Maintenance	12.00	1.00	•	\$ 47.80
Brucker Brucker	Harmony Kimberly	Safety Env Compl Spec Marketing Associate	Environmental Health & Safety Ctr for Integrated Professiona	12.00 12.00	1.00 1.00	•	\$ 4,667.00 \$ 20.70
Bruckner	Christine	Program Coordinator	Office of Energy Management	12.00	1.00	•	\$ 6,038.00
Bruckner Bruner	Ian Samantha	IT Tech Assoc Asst Technical Dir	Office of Technology Solutions Event Management, Dining and H	12.00 12.00	1.00 1.00	*	\$ 7,039.00 \$ 21.85
Brunner	Cortney	Asst Athletic Trainer	Intercollegiate Athletics	12.00	1.00	\$ 3,451.00	\$ 5,000.00
Brunner Brutlag	Jackson Justin	Asst Athletic Trainer IT Tech Assoc	Intercollegiate Athletics Client Services	12.00 12.00	1.00 1.00	•	\$ 5,000.00 \$ 4,754.00
Bryant	Christina	Assoc Dir Development	Vice President Student Affairs	12.00	1.00	\$ 5,175.00	\$ 6,038.00
Buchanon Bucio	Florence Leticia	Office Administrator Building Service Worker	Financial Aid Office Janitorial	12.00 12.00	1.00 1.00	•	\$ 25.25 \$ 22.83
Bucio-Gonzalez	Jose	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Buck Buck-Klingenberg	Paula Jennea	Office Administrator Spon Proj Program Assoc	Student Affairs Information Te Special Education	12.00 12.00	1.00 1.00	=	\$ 23.19 \$ 7,000.00
Buckner	Jasmine	Office Administrator	Family and Consumer Sciences	12.00	1.00	\$ 18.64	\$ 23.81
Bugg Bullock-Hamilton	Daniel Sharvelle	Marketing Associate Marketing Associate	Intercollegiate Athletics University College	12.00 12.00	1.00 1.00	•	\$ 4,464.00 \$ 4,042.00
Buonomo	Emily	Program Coordinator	Office of International Engage	12.00	1.00	\$ -	\$ 23.89
Buonomo Burgess	Layna Corey	Customer Service Asst Program Coordinator	Parking & Transportation University College	12.00 12.00	1.00 1.00	•	\$ 17.60 \$ 5,607.00
Burke	Michael	Electrician	Building Maintenance	12.00	1.00	•	\$ 42.98
Burnett Burningham	Heather Toni	Nurse Practitioner Dir Development	Health Services Development-Fundraising	12.00 12.00	1.00 1.00	•	\$ 53.72 \$ 7,421.00
Burns	Julie	Supervisor Clinical	Communication Sciences and Dis	12.00	1.00	•	\$ 6,831.00
Burrell	Alan James	Electrician Food Service Administrator II	Building Maintenance Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 42.98 \$ 4,108.00
Burress Burress	Pamela	IT Tech Assoc	Comptroller's Office	12.00	0.75	•	\$ 25.88
Burroughs	Jill Daige	Coach Laboratory School	University High School	3.00	0.09	•	\$ 1,734.00
Buschman Bush	Paige Victoria	Spon Proj Program Coord IT Tech Assoc	Stevenson Ctr-Community/Econom Ctr for Integrated Professiona	12.00 12.00	1.00 1.00	•	\$ 4,508.00 \$ 5,268.00
Busick	Samuel	Building Service Worker	Janitorial	12.00	1.00	•	\$ 16.55
Bustle Butler	Ralph Justin	Accounting Officer Client Relationsl Repr II	Comptroller's Office Financial Aid Office	12.00 12.00	1.00 1.00	•	\$ 19.29 \$ 21.20
Butler	Kaitlyn	Program Coordinator	Student Access and Accommodati	12.00	1.00	•	\$ 23.41
Buysse-Trainor Bye	Patricia Scott	Training and Dev Spec I Senior Library Specialist	Superintendence Milner Library	12.00 12.00	1.00 1.00		\$ 31.05 \$ 24.36
Byers	Dalton	Program Assistant	Illinois Tutoring Initiative	12.00	1.00	\$ -	\$ 23.81
Cable Cabraal	Bradley Geethani	IT Tech Assoc IT Tech Assoc	Stevenson Ctr-Community/Econom Application Services	12.00 12.00	1.00 1.00	•	\$ 9,916.00 \$ 6,941.00
Cabrera	Racquel	Asst Athletic Trainer	Intercollegiate Athletics	12.00	1.00	\$ 4,461.00	\$ 5,625.00
Cade Cady	Phillip Cash	Exec Chef Cinemotgrphr/Creative Vid Prd	Event Management, Dining and H Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 7,320.00 \$ 3,417.00
Cain	Alexander	Events Administrator Associate	Arena/Fld Hse Facilities	12.00	1.00	\$ 3,752.00	\$ 3,987.00
Caldwell Caldwell	Caleb Cindy	IT Support Assoc Office Administrator	TechZone & Student Technologie Economics	12.00 12.00	1.00 1.00	•	\$ 5,209.00 \$ 25.57
Caldwell	Janet	Academic Advisor	Special Education	11.00	1.00	•	\$ 4,994.00
Caldwell	Sara	Library Specialist	Milner Library	12.00	1.00	•	\$ 20.21
Calovich Calvert	Scott Kerri	Area Coord Residential Life Program Coordinator	University Housing Services Health Promotion and Wellness	12.00 12.00	1.00 1.00	•	\$ 4,989.00 \$ 5,919.00
Campbell	Alexander	Marketing Associate	Superintendence	12.00	1.00	•	\$ 26.54
Campbell Campbell	Kali Kyle	Coord Residence Hall IT Support Assoc	University Housing Services Dean of Applied Science and Te	12.00 12.00	1.00 1.00	•	\$ 4,017.00 \$ 33.82
Campos	Hillary	Asst Dir Univ Housing Serv	University Housing Services	12.00	1.00	\$ 5,279.00	\$ 5,464.00
Cannon Cannon	Danielle Kathi	Academic Advisor Office Administrator	College of Business Student Ad Facilities Planning	12.00 12.00	1.00 1.00	•	\$ 3,750.00 \$ 20.60
Canterbury	Whitney	Marketing Associate	Mennonite College of Nursing	12.00	0.80	\$ 4,728.00	\$ 5,316.00
Canull Capie	Michael Kevin	Food Serv Sanitation Laborer Coordinator	Event Management, Dining and H Vidette	12.00 10.00	1.00 1.00	•	\$ 21.23 \$ 6,417.00
Caplinskas	Arnoldas	IT Tech Assoc	Infrastructure Op & Networking	12.00	1.00	\$ 5,263.00	\$ 5,447.00
Carden Carey	Megan William	Accountant II Steam and Power Plant II	Comptroller's Office Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 4,999.00 \$ 37.34
1	Carissa	Dir Child Care Center	Family and Consumer Sciences	12.00	1.00	\$ 5,855.00	\$ 6,060.00
Carlson		IT Manager Admin Coord	Infrastructure Op & Networking	12.00	1.00	•	\$ 9,820.00 \$ 4,381.00
Carlson	Devin Shanna	Dir Dobata	Cohool of Commission files		4 1 1/1	- // / / / / / / / / / / / / / / / / /	71 227 11(1
Carlson Carlson	Devin Shanna Vincent	Dir Debate Greens Worker	School of Communication Golf Course	9.00 12.00	1.00 1.00	•	\$ 26.96
Carlson Carlson Carlson Carlson	Shanna Vincent Zachary	Greens Worker IT Support Assoc	Golf Course Client Services	12.00 12.00	1.00 1.00	\$ 26.05 \$ 25.88	\$ 26.96 \$ 26.79
Carlson Carlson Carlson Carlson Carr	Shanna Vincent	Greens Worker	Golf Course	12.00	1.00	\$ 26.05 \$ 25.88 \$ 3,418.00	\$ 26.96
Carlson Carlson Carlson Carlson Carr Carr Carranza Carrillo	Shanna Vincent Zachary Sharon Domingo Yasmin	Greens Worker IT Support Assoc Financial Aid Coordinator Pipefitter Customer Service Rep	Golf Course Client Services Financial Aid Office Building Maintenance Advancement & Foundation Opera	12.00 12.00 12.00 12.00 12.00	1.00 1.00 1.00 1.00 1.00	\$ 26.05 \$ 25.88 \$ 3,418.00 \$ 45.55 \$ -	\$ 26.96 \$ 26.79 \$ 3,895.00 \$ 47.80 \$ 19.15
Carlson Carlson Carlson Carlson Carlson Carlson Carr Carr Carranza Carrillo Carroll Carroll	Shanna Vincent Zachary Sharon Domingo	Greens Worker IT Support Assoc Financial Aid Coordinator Pipefitter	Golf Course Client Services Financial Aid Office Building Maintenance	12.00 12.00 12.00 12.00	1.00 1.00 1.00 1.00	\$ 26.05 \$ 25.88 \$ 3,418.00 \$ 45.55 \$ - \$ 6,282.00	\$ 26.96 \$ 26.79 \$ 3,895.00 \$ 47.80

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Carson Carter	David Faith	Asst Chief Accountant Program Stdt Advisor	Comptroller's Office University College	12.00 12.00	1.00 1.00	•	\$ 6,577.00 \$ 3,881.00
Carter	LaToya	Spon Proj Program Coord	Student Support Services Unive	12.00	1.00	\$ 3,416.00	\$ 3,535.00
Carter Carter	Phillip Rebecca	Accountant I Food Serv Sanitation Laborer	Comptroller's Office Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 22.97 \$ 21.23
Carver	Charles	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Cash Caslow	Ryan Joseph	Building Service Worker Tree Surgeon	Janitorial Campus Services Division / Gro	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 27.94
Cassels	Lawson	IT Tech Assoc	Infrastructure Op & Networking	12.00	1.00	\$ 6,365.00	\$ 6,588.00
Castillo Castro	Michael Elizabeth	Admissions and Records Repr Medical Office Specialist	Registrar Health Services	12.00 12.00	1.00 1.00	•	\$ 19.96 \$ 19.26
Cavi	Sandra	Assoc VP Bdgt and Plan	Budget Office	12.00	1.00		\$ 17,924.00
Cavinder Cavitt	Timothy Michael	Pipefitter Electrician	Building Maintenance Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 47.80 \$ 42.98
Cerna	Alfonso	Cinemotgrphr/Creative Vid Prd	Intercollegiate Athletics	12.00	1.00	•	\$ 4,313.00
Cesario Chambers	Jodee Jessica	Office Administrator Program Coordinator	Mennonite College of Nursing Agriculture	12.00 12.00	1.00 1.00	•	\$ 22.50 \$ 6,282.00
Champion	Amy	Coach Laboratory School	Thomas Metcalf School	4.00	0.09	•	\$ 840.00
Champion Chamukenge	Kimberly Guillaume	Coordinator Culinary Worker II	Illinois Tutoring Initiative Event Management, Dining and H	12.00 12.00	1.00 1.00		\$ 7,643.00 \$ 15.64
Chang	Jih Young	IT Tech Assoc Human Resource Officer	Financial Aid Office Human Resources	12.00	1.00 1.00		\$ 5,284.00 \$ 27.14
Chapman Chapman	Mackenzie Maria	Medical Office Specialist	Health Services	12.00 12.00	1.00	•	\$ 27.14 \$ 19.26
Chapman Chappell	Teresa	Emergency Management Coord Staff Counselor	Emergency Management	12.00 12.00	1.00 1.00		\$ 6,502.00 \$ 5,684.00
Charlett	Venique Brett	Facility Operations Specialist	Student Counseling Services Event Management, Dining and H	12.00	1.00		•
Chauhan	Maya	Postdoctoral Resident Steam and Power Plant II	Physics	12.00	1.00 1.00	•	\$ 3,750.00 \$ 37.34
Chavez Chen	George Mei Chih	Food Court/Snack Bar Attendant	Building Maintenance Event Management, Dining and H	12.00 12.00	1.00	•	\$ 37.34 \$ 15.64
Chen	Qiaofang	Culinary Worker IV	Event Management, Dining and H	12.00	1.00	•	\$ 22.22
Chestney Chikahisa	Christian Spencer	Pipefitter Coord Acad Serv	Building Maintenance Politics and Government	12.00 9.00	1.00 0.04	•	\$ 47.80 \$ 20.00
Childs	Katherine	Director Senior	Development-Fundraising	12.00	1.00	\$ 7,179.00	\$ 8,280.00
Chiodo Choi	Frank Sang	Asst Supt of Building Maintena Equipment Service Worker	Bldg Maint Bond Rev Janitorial	12.00 12.00	1.00 1.00	•	\$ 6,611.00 \$ 26.96
Christian	Courtney	Building Service Worker	Janitorial	12.00	1.00	\$ 18.97	\$ 19.64
Chumbley Chupp	Anna Elizabeth	Coordinator Academic Coordinator	Radio Station WGLT School of Communication	12.00 12.00	1.00 1.00	•	\$ 5,356.00 \$ 5,419.00
Cilento	Colby	Program Coordinator	Milner Library	12.00	1.00	\$ -	\$ 5,000.00
Cisco Cisco	Jacob Rachel	Food Court Snack Bar Suprvsr Police Telecommunicator	Event Management, Dining and H University Police Department	12.00 12.00	1.00 1.00	•	\$ 18.47 \$ 22.81
Ciulla	Angie	Office Administrator	Building Maintenance	12.00	1.00	\$ 20.63	\$ 21.35
Clapper Clark	Jennifer Charles	Coach Laboratory School IT Support Assoc	University High School Learning Spaces & Audio/Visual	2.00 12.00	0.09 1.00	•	\$ 250.00 \$ 23.23
Clark	Nicholas	Inventory Clerk	Central Receiving	12.00	1.00	\$ -	\$ 16.53
Clemmons Click	Linda Belinda	Dir Honors Program Food Serv Sanitation Laborer	Honors Program Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 11,604.00 \$ 21.23
Cline	Larry	Food Service Stores Laborer	Event Management, Dining and H	12.00	1.00	\$ 22.58	\$ 23.38
Coffman Colbeck	Jerika Brittany	Police Telecommunicator Culinary Worker III	University Police Department Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 21.22 \$ 21.23
Cole	Andrew	Asst Womens Basketball Coach	Intercollegiate Athletics	12.00	1.00	\$ 6,900.00	\$ 7,142.00
Cole Coleman	Hailey Albert	Asst Softball Coach Laundry Worker	Intercollegiate Athletics University Housing Services	12.00 12.00	1.00 1.00		\$ 3,881.00 \$ 21.23
Compton	Drew	Strength Conditioning Coord	Intercollegiate Athletics	12.00	1.00	\$ -	\$ 3,341.00
Conaty Conkling	Garrett Robert	Asst Agricultural Rsrch Tech Head Womens Gymnastic Coach	Agriculture Intercollegiate Athletics	12.00 12.00	1.00 1.00		\$ 20.24 \$ 4,999.00
Connor	Tamra	Associate Dean	Dean of Business	12.00	1.00	\$ 14,823.00	\$ 16,377.00
Connors Conrad	Joseph Lisa	Academic Advisor Culinary Worker IV	University College Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 4,244.00 \$ 22.22
Cook	Christopher	Steam and Power Plant IV	Building Maintenance	12.00	1.00	\$ 43.11	\$ 44.40
Cook Cook	Cynthia Janet	Accountant II Coord Service Area	School of Biological Sciences University Housing Services	12.00 12.00	1.00 1.00	•	\$ 25.88 \$ 3,528.00
Cooley	Vicki	IT Tech Assoc	Budget Office	12.00	1.00	\$ 5,890.00	\$ 6,463.00
Cooper Cooper	Nicholas Julie	Food Court/Snack Bar Attendant Office Manager	Event Management, Dining and H School of Teaching and Learnin	12.00 12.00	1.00 1.00	•	\$ 15.64 \$ 21.59
Cooper	Pamela	Dir Career Services	Career Services	12.00	1.00	\$ 8,189.00	\$ 8,476.00
Cornejo Cornell	Leticia Michelle	Building Service Worker Financial Aid Mgr	Janitorial Financial Aid Office	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 5,415.00
Correa	Maria	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Correa Correa	Ruben Susana	Building Service Worker Building Service Foreman	Janitorial Janitorial	12.00 12.00	1.00 1.00	•	\$ 19.64 \$ 26.33
Corrigan	Steven	IT Support Assoc	Instructional Tech - College o	12.00	1.00	\$ -	\$ 31.05
Corso Cortese	Christopher Amy	IT Tech Assoc Coach Laboratory School	Enterprise Data and Analytics University High School	12.00 2.00	1.00 0.09		\$ 7,812.00 \$ 1,600.00
Corwin	Catherine	Academic Advisor	Mennonite College of Nursing	12.00	0.60	\$ 3,068.00	\$ 2,660.00
Cotton Cottrell	Cynthia Rendi	Business Administrative Assoc Business Administrative Assoc	Central Receiving Comptroller's Office	12.00 12.00	1.00 1.00		\$ 7,102.00 \$ 10,198.00
Cottrell	Violeta	Building Service Worker	Janitorial .	12.00	1.00	\$ 22.06	\$ 22.83
Coultas Courier	Eric Olesya	Equipment Service Worker Administrative Aide	Campus Recreation Center for Mathematics Science	12.00 12.00	1.00 1.00	•	\$ 26.96 \$ 26.25
Coussens	Ted	Asst Chf Instrl Media Syst Eng	Learning Spaces & Audio/Visual	12.00	1.00	\$ 6,012.00	\$ 6,222.00
Covarrubias Covey	Juan Shannon	Carpenter Mailing Services Manager	Building Maintenance Mail Service Center	12.00 12.00	1.00 1.00	•	\$ 36.09 \$ 5,616.00
Cowles	AshLynn	Customer Service Rep	Alumni Engagement	12.00	1.00	•	\$ 18.79
Cox Cox	Barbara Jordan	Office Administrator Dir Marketing and Comm	School of Biological Sciences Vice President Student Affairs	12.00 12.00	1.00 1.00	-	\$ 21.59 \$ 7,142.00
Cox	Kameron	Office Manager	Military Science	12.00	1.00	•	\$ 19.33
Cox Craig	Sarita Byron	Office Administrator Chief Equity Inclusion Ofcr	Grad Student Recruitment - Bus President's Office	12.00 12.00	1.00 1.00	•	\$ 28.22 \$ 10,475.00
Cramer	Jonathon	IT Tech Assoc	Application Services	12.00	1.00	\$ 6,127.00	\$ 6,341.00
Crancer Crawford	Walter Paul	Asst Baseball Coach Assembly Hall Attendant	Intercollegiate Athletics Maintenance-Field House	12.00 12.00	1.00 1.00	•	\$ 7,363.00 \$ 22.80
Creamean	Tyler	Police Officer	University Police Department	12.00	1.00	\$ 32.23	\$ 34.31
Crippen Croft	Breanna Therese	Human Resource Officer Office Administrator	Human Resources Wonsook Kim School of Art	12.00 12.00	1.00 1.00	•	\$ 29.80 \$ 20.20
Crow	Jason	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Crow Profit Crowder	Carlos Joshua	Building Service Worker IT Tech Assoc	Janitorial Office of Technology Solutions	12.00 12.00	1.00 1.00	•	\$ 19.64 \$ 6,667.00
Crowe	Josh	IT Support Assoc	Dean of Applied Science and Te	12.00	1.00	\$ 33.84	\$ 35.02
Crowell Crubaugh	Scott Anthony	Steam and Power Plant III Associate Dean	Building Maintenance Dean of Arts & Sciences	12.00 12.00	1.00 1.00	•	\$ 40.75 \$ 13,390.00
Crutchley	David	IT Support Assoc	College of Arts & Sci-Informat	12.00	1.00	\$ 30.86	\$ 33.06
Crutchley Cummings	Jacqueline Scott	Office Support Specialist Culinary Worker III	School of Kinesiology and Recr Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 17.97 \$ 21.23
Cuppini	Michael	IT Tech Assoc	Event Management, Dining and H	12.00	1.00	\$ 6,000.00	\$ 6,210.00
Curl Currin	Kathryn Gaylen	Dir Financial Aid Bindery Worker II	Financial Aid Office University Marketing & Communi	12.00 12.00	1.00 1.00		\$ 10,086.00 \$ 16.91
Curry	Jamie	Heavy Driver	Central Receiving	12.00	1.00	\$ 18.14	\$ 25.88
Curtis	William Camryn	Electrician Media Write Produce Announc II	Building Maintenance Radio Station WGLT	12.00 12.00	1.00 1.00	•	\$ 42.98 \$ 3,881.00
Cutinella	Carrii yii			12.00	1.00		\$ 3,881.00
Cutinello Cutting	John	Asst VP Acad Planning	Vice President & Provost				
Cutting Dakich	Andrew	Asst Mens Basketball Coach	Intercollegiate Athletics	12.00	1.00	\$ 7,763.00	\$ 8,475.00
Cutting		· ·				\$ 7,763.00 \$ 19.04 \$ 6,084.00	\$ 8,475.00 \$ 19.71 \$ 6,297.00

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Dargatz Dargatz	Jean Michael	Business Administrative Assoc IT Tech Assoc	President's Office Application Services	12.00 12.00	1.00 1.00		\$ 7,067.00 \$ 8,778.00
Darko	Ryan	Asst Athletic Trainer	Intercollegiate Athletics	12.00	1.00	\$ 8.25	\$ 5,000.00
Darling Darnall	Shannon D	Academic Advisor Facility Operations Specialist	University College Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 4,112.00 \$ 25.85
Darner	Rebekka	Dir Center For Math Sci Tech	Center for Mathematics Science	12.00	0.63	\$ 11,080.00	\$ 7,206.25
Daugherty Davenport	Tracy Deborah	Food Court/Snack Bar Attendant Business Administrative Assoc	Event Management, Dining and H Office of Technology Solutions	12.00 12.00	1.00 1.00	•	\$ 15.64 \$ 6,667.00
Davidson Davis	Dana	Administrative Aide	Graduate School	12.00 12.00	1.00 1.00	•	\$ 24.34 \$ 17.54
Davis	Aaron Angela	Dining Room Supervisor Office Manager	Event Management, Dining and H Psychology	12.00	1.00	•	\$ 17.54
Davis Davis	Jonathan Molly	Police Corporal Program Director	University Police Department Dean of Education	12.00 12.00	1.00 1.00	•	\$ 39.71 \$ 7,430.00
Davis	Phoebe	Culinary Worker V	Event Management, Dining and H	12.00	1.00	•	\$ 7,430.00
Davis Davis	Reed Victor	Greens Worker Coach Laboratory School	Golf Course Thomas Metcalf School	12.00 3.00	1.00 0.09	•	\$ 26.96 \$ 624.00
Dawson	Glen	Customer Service Spec	University Housing Services	12.00	1.00	\$ 17.53	\$ 19.95
De Boes Deacon	Amke Joseph	Coord Intl Partnership Media Write Produce Announc II	Office of International Engage Radio Station WGLT	12.00 12.00	1.00 1.00	•	\$ 4,644.00 \$ 4,395.00
Deal	Valerie	Program Director	Campus Recreation	12.00	1.00	\$ 6,693.00	\$ 6,927.00
Deatrick Decremer	Deanna Jody	Academic Advisor Asst Dir Creative Tech	Wonsook Kim School of Art Creative Technologies Program	12.00 12.00	1.00 1.00		\$ 4,045.00 \$ 6,724.00
DeFrees	Timothy	Food Service Stores Laborer	Event Management, Dining and H	12.00	1.00	\$ -	\$ 23.38
DeGraeve Dehaven	Melynda Peggy	Admissions and Records Repr Office Support Specialist	Admissions School of Music	12.00 12.00	1.00 1.00	•	\$ 17.19 \$ 17.94
DeJaynes	Debra	Human Resource Associate	Human Resources	12.00	1.00	\$ 34.21	\$ 35.41
DeLand Delgado	Lukas Margarita	IT Tech Assoc Building Service Worker	Enterprise Data and Analytics Janitorial	12.00 12.00	1.00 1.00	•	\$ 4,916.00 \$ 22.83
Delk	Branden	Admissions Counselor	Admissions	12.00	1.00		\$ 4,126.00
Dell Dembele	Zachary Eliette	Coach Office Support Specialist	Campus Recreation Student Counseling Services	12.00 12.00	1.00 1.00		\$ 5,236.00 \$ 17.38
Denham	Ryan	Program Coordinator	Radio Station WGLT	12.00	1.00	•	\$ 6,669.00
Denison Dennie	Valerie Tashay	Building Service Worker Program Director	Janitorial Dean of Students	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 5,572.00
Dennis Dennis	Gregory John	Coach Laboratory School Building Operating Engineer	University High School Bldg Maint Bond Rev	3.00 12.00	0.09 1.00	•	\$ 1,467.00 \$ 32.24
Dennis	Robert	Admissions and Records Repr	Registrar	12.00	1.00	\$ 28.72	\$ 29.61
Dennis Denny	Shayla Daniel	Business Administrative Assoc	Mennonite College of Nursing	12.00 12.00	1.00 1.00		\$ 4,499.00 \$ 27.19
Denny DePauw	Matthew	Heavy Driver Asst Womens Volleyball Coach	University Recycling Intercollegiate Athletics	12.00	1.00	\$ 5,175.00	\$ 5,356.00
Deppermann DeRose	Emily Raleigh	Marketing Associate Head Womens Soccer Coach	Alumni Engagement Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 3,450.00 \$ 7,084.00
Deti	Christopher	Asst Mens Football Coach	Intercollegiate Athletics	12.00	1.00		\$ 6,649.00
Detweiler Detweiler	Dustin Kelsey	IT Support Assoc Medical Tech III	Client Services Health Services	12.00 12.00	1.00 1.00	•	\$ 23.81 \$ 5,356.00
DeWall	Kristy	Program Stdt Advisor	Career Services	12.00	1.00	\$ 4,194.00	\$ 4,341.00
Diekhoff Dietsch	Lindsay Angela	Supervisor Clinical Clinic Nurse	Communication Sciences and Dis Health Services	9.00 12.00	1.00 1.00		\$ 6,447.00 \$ 33.18
Dietsch	Carla	Accountant III	Comptroller's Office	12.00	1.00	\$ 4,906.00	\$ 5,078.00
Digema Digema	Nono Norsule	Food Serv Sanitation Laborer Office Administrator	Event Management, Dining and H Academic Senate	12.00 12.00	1.00 1.00	•	\$ 18.91 \$ 23.00
Dillaway	Heather	Dean Arts and Sciences	Dean of Arts & Sciences	12.00	1.00	\$ 21,250.00	\$ 22,058.00
Dingler Ditchen	Amanda Mary	Office Manager IT Tech Assoc	Clinical Experiences in Teache Web and Interactive Communicat	12.00 12.00	1.00 1.00	•	\$ 19.29 \$ 5,573.00
Divers	Tashaunna	Food Service Administrator II	Event Management, Dining and H	12.00	1.00	\$ 3,969.00	\$ 4,108.00
Dixon Dockery	Madison Samuel	Office Manager IT Tech Assoc	Intercollegiate Athletics Infrastructure Op & Networking	12.00 12.00	1.00 1.00	•	\$ 19.27 \$ 6,038.00
Dodson	Jennifer	Office Administrator	Dean of Education	12.00	1.00	•	\$ 20.20
Doherty Dolan	Liam Sarah	IT Manager Admin Coord Academic Advisor	TechZone & Student Technologie School of Teaching and Learnin	12.00 12.00	1.00 1.00		\$ 6,724.00 \$ 4,116.00
Donnelly	Izaack	Building Service Worker	Janitorial	12.00	1.00	•	\$ 19.64
Donnelly-Boyd Doolin	Devon Angela	Building Service Worker Asst Dir Labor Rel Acad EE Rel	Janitorial Human Resources	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 12,976.00
Doty	Chad Alexandra	Carpenter Staff Counselor (intern)	Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 36.09 \$ 3,239.00
Doup Dowllar	Paige	Human Resource Officer	Student Counseling Services Human Resources	12.00	1.00	•	\$ 25.51
Downing Drenckpohl	Ryan Derrek	Program Coordinator Program Coordinator	University College Special Education	12.00 12.00	1.00 1.00	•	\$ 3,835.00 \$ 5,535.00
Duffield	Emily	Chief Accountant	Comptroller's Office	12.00	1.00		\$ 7,642.00
Dukeman Dunham	Whitney Donald	Accountant I Steam and Power Plant II	Comptroller's Office Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 22.36 \$ 37.34
Dunham	James	Model Maker	Physics	12.00	1.00	\$ 36.38	\$ 37.66
Dunlap Dunton	Bobbie Karen	Cashier IV Administrative Aide	Comptroller's Office Geography, Geology, and the En	12.00 12.00	1.00 1.00	•	\$ 20.49 \$ 32.73
Duquenne	Stephanie	Program Director	Alumni Engagement	12.00	1.00	\$ 6,900.00	\$ 7,142.00
Durbin Durbin	Andrew Thomas	Culinary Worker II Engineer	Event Management, Dining and H Facilities Planning	12.00 12.00	1.00 1.00	•	\$ 15.64 \$ 10,350.00
Durbin	Timothy	Building Mechanic	Bldg Maint Bond Rev	12.00	1.00	\$ 28.46	\$ 29.31
Durham Durnell	Stacey Julia	Library Specialist Program Coordinator	University High School Dean of Students	12.00 12.00	1.00 1.00	•	\$ 19.18 \$ 4,140.00
Durrant	James	Program Assistant	Intercollegiate Athletics	12.00	1.00	\$ 3,623.00	\$ 3,750.00
Durst Duttlinger	Joshua Joshua	IT Tech Assoc Admissions and Records Coord	Infrastructure Op & Networking Registrar	12.00 12.00	1.00 1.00	•	\$ 6,297.00 \$ 22.95
Dwyer	Ryan	IT Tech Assoc	Web and Interactive Communicat	12.00	1.00	\$ 5,089.00	\$ 5,267.00
Eagle Eagle	Charles Sarah	Building Service Worker IT Tech Assoc	Janitorial Application Services	12.00 12.00	1.00 1.00	-	\$ 22.83 \$ 5,434.00
Earl	Karin	Senior Architect	Facilities Planning	12.00	1.00	\$ 10,000.00	\$ 10,350.00
Eason Eaton	Jeremy Nathan	IT Support Assoc Business Administrative Assoc	Client Services Financial Aid Office	12.00 12.00	1.00 1.00	•	\$ 24.00 \$ 4,121.00
Echols	Aiesha	Culinary Worker IV	Event Management, Dining and H	12.00	1.00	\$ 20.50	\$ 21.23
Eckert Edamala	Shawn Charles	Building Service Worker Assoc VP Tech Sol Chf Info Ofc	Janitorial Office of Technology Solutions	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 22,156.00
Edens	Jamie	Medical Office Specialist	Communication Sciences and Dis	12.00	1.00	\$ 17.96	\$ 18.59
Edgcomb Edgington	Megan Corey	Office Manager Water Station Operator	Laboratory Schools Superintend Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 18.63 \$ 37.34
Edler	Kate	Spon Proj Program Assoc	Center for Mathematics Science	12.00	0.20	\$ 25.88	\$ 26.79
Edmiaston Edwards	Tiffany Laura	Business Administrative Assoc Academic Advisor	Event Management, Dining and H Languages, Literatures and Cul	12.00 12.00	1.00 1.00		\$ 24.84 \$ 5,896.00
Eganhouse	Jay	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Eggleston Eggleston	David Ronald	Building Service Worker Steam and Power Plant III	Janitorial Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 40.75
Ehrlich	Benjamin	Assembly Hall Attendant	Maintenance-Field House	12.00	1.00	\$ 21.92	\$ 22.80
Ehrnthaller Eich	Allison Julie	Coord Acad Advising Building Service Worker	University College Janitorial	12.00 12.00	1.00 1.00	•	\$ 5,223.00 \$ 19.64
Eich	Michael	Electrician	Building Maintenance	12.00	1.00	\$ 42.25	\$ 42.98
Eichinger Eiskamp	Kathleen Josh	Staff Physician Grounds Worker	Health Services Campus Services Division / Gro	9.00 12.00	1.00 1.00		\$ 13,738.00 \$ 27.54
Elder	Erin	Building Service Worker	Janitorial	12.00	1.00	\$ 18.97	\$ 22.83
Elkin Elkin	Kyle Michael	Building Service Worker Steam and Power Plant I	Janitorial Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 19.64 \$ 26.41
	Monica	Building Service Supervisor	Janitorial	12.00	1.00		\$ 26.41
Elkin		·					
Elkins	Daniel	Assoc VP Acad Fiscal Mgmt	Vice President & Provost Radio Station WGLT	12.00 12.00	1.00 1.00	•	\$ 17,434.00 \$ 3,750.00
Elkin Elkins Ellin Ellis Ellsworth		·	Vice President & Provost Radio Station WGLT Thomas Metcalf School Communication Sciences and Dis	12.00 12.00 12.00 9.00	1.00 1.00 1.00 1.00	\$ - \$ 110.00	\$ 3,750.00 \$ 14.50

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Ellsworth Ememe	Jodi Bosango	Office Administrator Culinary Worker III	University Advancement Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 21.25 \$ 21.23
Engel	Angela	Dir Plan Rsrch Pol Analysis	Planning, Research & Policy An	12.00	1.00	\$ 10,000.00	\$ 10,350.00
Engeman England-Combs	Seth Kendra	IT Tech Assoc Asst Womens Gymnastic Coach	College of Fine Arts Instructi Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 5,286.00 \$ 2,964.00
Englund	Cody	Program Stdt Advisor Police Officer	Intercollegiate Athletics	12.00	1.00 1.00	•	\$ 3,407.00 \$ 37.31
Erickson Ernst	David Melanie	Spon Proj Asst Dir	University Police Department Special Education	12.00 12.00	1.00	•	\$ 37.31 \$ 7,592.00
Espinoza Estes	Maria Sha	Building Service Worker Dishroom Supervisor	Janitorial Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 23.38
Etheridge	Harold	Asst Mens Football Coach	Intercollegiate Athletics	12.00	1.00	\$ 6,331.00	\$ 6,553.00
Evans Evans	Jared Stephen	IT Support Assoc Dir University HS Activities	Student Affairs Information Te University High School	12.00 12.00	1.00 1.00		\$ 5,387.00 \$ 8,804.00
Fain	Amanda	Technical Editor	Center for Mathematics Science	12.00	1.00	\$ 3,207.00	\$ 3,319.00
Fairchild Falconer	Sabrina Morgan	Benefits Service Supervisor Coach Laboratory School	Human Resources University High School	12.00 5.00	1.00 0.09	•	\$ 35.27 \$ 100.00
Fall	Deguene	Culinary Worker V	Event Management, Dining and H	12.00	1.00	\$ 22.58	\$ 23.38
Farris Fauble	Julanne Mark	Accounting Assistant Academic Advisor	Superintendence College of Business Student Ad	12.00 12.00	1.00 1.00	•	\$ 16.99 \$ 4,006.00
Faulkner	Cris	Senior Business Manager	Health Services	12.00	1.00	\$ 6,037.00	\$ 6,248.00
Feaman Fears	Adam Jonathan	Food Service Administrator IV Culinary Worker III	Event Management, Dining and H Event Management, Dining and H	12.00 12.00	1.00 1.00		\$ 6,338.00 \$ 21.23
Fears	Steven	Food Serv Sanitation Laborer	Event Management, Dining and H	12.00	1.00	•	\$ 21.23
Feger Fernandez	Ashleigh Shawn	Coach Laboratory School Asst Soccer Coach	University High School Intercollegiate Athletics	7.00 12.00	0.09 1.00		\$ 458.00 \$ 3,834.00
Ferrara	Brenda	Business Administrative Assoc	Special Education	12.00	1.00	. ,	
Ferraz Rodrigues Ferraz Rodrigues	Anderson Luiz Andre Luiz	IT Tech Assoc IT Tech Assoc	Web and Interactive Communicat Web and Interactive Communicat	12.00 12.00	1.00 1.00	•	\$ 5,714.00 \$ 5,714.00
Ferris	Lillian	Grants and Contracts Assoc	Research & Sponsored Programs	12.00	1.00	-	\$ 3,968.00
Fewkes Fey	Nancy Heather	Asst to Dir W Kim School Art Office Manager	Wonsook Kim School of Art University College	12.00 12.00	1.00 1.00		\$ 5,745.00 \$ 18.59
Fincham	Destini Elizabeth	Business Administrative Assoc	Vice President & Provost	12.00	1.00	•	\$ 7,907.00
Findley Fisher	Elizabeth Adam	Program Coordinator IT Tech Assoc	Emergency Management Web and Interactive Communicat	12.00 12.00	1.00 1.00	•	\$ 6,667.00 \$ 6,469.00
Fisher Fisher	Brent Katie	Building Service Worker Asst To Dept Chairperson	Janitorial English	12.00 12.00	1.00	•	\$ 22.83
Fisher Fisher	Katie Kyle	Asst To Dept Chairperson Construction Project Coord II	English Facilities Planning	12.00 12.00	1.00 1.00		\$ 4,499.00 \$ 6,695.00
Fisher	Samuel	Painter	Building Maintenance	12.00	1.00	\$ 38.94	\$ 40.00
Fisher Fitzgerald	Scott Robert	Painter Asst Principal TMetcalf Schl	Building Maintenance Thomas Metcalf School	12.00 11.00	1.00 1.00	•	\$ 40.00 \$ 7,763.00
Fleming	John	Steam and Power Plant III	Building Maintenance	12.00	1.00	•	\$ 40.75
Florence Flores	Jennifer Oscar	Program Stdt Advisor Building Service Worker	Technology Janitorial	12.00 12.00	1.00 1.00		\$ 20.92 \$ 22.83
Folken	Diane	Business Administrative Assoc	Mennonite College of Nursing	12.00	1.00	•	\$ 7,356.00
Folks-Huber Fowler	Deborah Desarae	IT Tech Assoc Food Service Chef	Application Services Event Management, Dining and H	12.00 12.00	1.00 1.00		\$ 8,100.00 \$ 5,197.00
Fowler	Teresa	Office Manager	Dean of Applied Science and Te	12.00	1.00	-	\$ 19.46
Fox Fox	Deborah Laura	Asst Dean College Arts and Sci Business Administrative Assoc	Dean of Arts & Sciences University Police Department	12.00 12.00	1.00 1.00	•	\$ 8,085.00 \$ 34.05
Fox	Walter	Supt of Building Services	Janitorial .	12.00	1.00	\$ 6,555.00	\$ 6,784.00
Frakes Francisco	Bonnie Angela	Benefits Counselor Culinary Worker V	Human Resources Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 28.00 \$ 23.38
Francois	Nathan	Coach Laboratory School	University High School	4.00	0.09	\$ 775.00	\$ 775.00
Frank Frank	Andrew Christian	Steam and Power Plant III Building Service Worker	Building Maintenance Janitorial	12.00 12.00	1.00 1.00	•	\$ 40.75 \$ 22.83
Frank	Christina	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Frank Frank	Matthew Robert	Building Service Worker IT Tech Assoc	Janitorial Web and Interactive Communicat	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 29.50
Franke	Bradley	Dir Public Affairs and Policy	President's Office	12.00	1.00	\$ -	\$ 10,000.00
Franz Franzen	Rebecca Susan	Program Coordinator Associate Dean	Facilities Planning Milner Library	12.00 12.00	1.00 1.00	•	\$ 10,350.00 \$ 10,391.00
Frazier	Angela	Business Administrative Assoc	Dean of Education	12.00	1.00	\$ 4,840.00	\$ 5,009.00
Frazier Fread	Lolita Kenna	Culinary Worker III Office Manager	Event Management, Dining and H Clinical Experiences in Teache	12.00 12.00	1.00 1.00	•	\$ 21.23 \$ 20.68
Freburg	Daniel	Director	School of Information Technolo	12.00	1.00	\$ -	\$ 5,833.00
Frederick Freimann	Brittany Yvonne	Business Administrative Assoc Office Manager	School of Information Technolo University High School	12.00 12.00	1.00 1.00	•	\$ 28.00 \$ 20.22
Frendahl	Paige	Office Support Specialist	Campus Recreation	12.00	1.00	\$ -	\$ 17.34
Frey Freyman	Laura Laura	Administrative Aide Program Director	Health Services Advancement & Foundation Opera	12.00 12.00	1.00 1.00	•	\$ 25.06 \$ 7,763.00
Friberg	Jennifer	Dir Ctr Integr Prof Dev	Ctr for Integrated Professiona	12.00	1.00	\$ 11,714.00	\$ 12,183.00
Fries-Romack Frooman	Denise Kelsie	Admissions and Records Officer Asst Equal Opportunity Ofc	Graduate School Office of Equal Opportunity &	12.00 12.00	1.00 1.00	•	\$ 21.99 \$ 5,175.00
Fry	Jacklyn	Business Administrative Assoc	Vice President Student Affairs	12.00	1.00	\$ 4,515.00	\$ 5,865.00
Frye Fulgencio	Julia Juan Cirilo	Program Assistant Coach Laboratory School	Learning Spaces & Audio/Visual Thomas Metcalf School	12.00 5.00	1.00 0.09	•	\$ 25.21 \$ 140.00
Fultz	Teresa	Benefits Representative	Human Resources	12.00	1.00	\$ 21.23	\$ 21.97
Fumuni Funk-Garrett	Lenah Miranda	Food Service Administrator II Nurse Practitioner	Event Management, Dining and H Health Services	12.00 12.00	1.00 1.00		\$ 4,108.00 \$ 52.69
Gaddis	Maegan	Program Coordinator	English	12.00	1.00	\$ 23.86	\$ 24.70
Gaerlan Gaff	Manuel Isaac	Accounting Officer IT Tech Assoc	Educational Administration & F Student Affairs Information Te	12.00 12.00	1.00 1.00	•	\$ 19.29 \$ 6,986.00
Gaff	Krista	IT Tech Assoc	Application Services	12.00	1.00	\$ 5,250.00	\$ 5,434.00
Galvan Gamage	Eliza Sithru	Building Service Worker Program Assistant	Janitorial University College	12.00 12.00	1.00 1.00	•	\$ 16.55 \$ 23.81
Ganci	Darin	Food Service Chef	Event Management, Dining and H	12.00	1.00	\$ 5,021.00	\$ 5,197.00
Ganci Ganieany	Ursula James	Food Service Chef Supt of Building Maintenance	Event Management, Dining and H Superintendence	12.00 12.00	1.00 1.00		\$ 5,197.00 \$ 11,130.00
Gao	Huachen	Business Administrative Assoc	Superintendence	12.00	1.00	•	\$ 34.83
Garcia Garcia	Heriberto Karina	Food Service Administrator III Building Service Worker	Event Management, Dining and H Janitorial	12.00 12.00	1.00 1.00		\$ 4,519.00 \$ 19.64
Garcia	Melissa	Properties Technician	Wonsook Kim School of Art	12.00	1.00	\$ 17.95	\$ 18.58
Garcia Gardner	Vanessa Michael	Building Service Worker	Janitorial	12.00 12.00	1.00 1.00	•	\$ 19.64 \$ 46.64
Gardner Garikapati	Michael Sriharsha	Police Sergeant Business Administrative Assoc	University Police Department Office of Technology Solutions	12.00 12.00	1.00	•	\$ 46.64 \$ 6,900.00
Garmon	Tricia Joaquin	Accounting Associate	Comptroller's Office	12.00 12.00	1.00 1.00	•	\$ 6,695.00 \$ 23.38
Garza Gathright	Joaquin Ryan	Culinary Worker V Heavy Driver	Event Management, Dining and H Building Maintenance	12.00	1.00	•	\$ 23.38 \$ 28.62
Gatto	Craig	Assoc VP Acad Admn	Vice President & Provost	12.00 12.00	1.00		\$ 16,785.00 \$ 3,500.00
Gawlik Gbabu	Jacub Raoul	Program Stdt Advisor Building Service Worker	Office of International Engage Janitorial	12.00 12.00	1.00 1.00	•	\$ 3,500.00 \$ 16.55
Geary	Julia	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Geary Gebeke	Robert Christine	Building Service Worker Accounting Specialist	Janitorial Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 16.55 \$ 23.15
Gebeke	Michael	Assoc VP Facilities Services	Superintendence	12.00	1.00	\$ 18,036.00	\$ 18,667.00
Geddert Gee	Marshall James	Housing Representative Marketing Associate	University Housing Services Ctr for Integrated Professiona	12.00 12.00	1.00 1.00	•	\$ 22.77 \$ 5,053.00
Geitz	Rick	Asst Mens Football Coach	Intercollegiate Athletics	12.00	1.00	\$ 3,024.00	\$ 3,130.00
Gentes Gentes	Connie Kaleb	Business Administrative Assoc Building Service Worker	Dean of Business Janitorial	12.00 12.00	1.00 1.00	•	\$ 28.98 \$ 19.64
Gentry	Adam	Program Coordinator	Dean of Students	12.00	1.00	\$ -	\$ 4,140.00
George German	David Bradley	Program Coordinator Steam and Power Plant III	School of Theatre and Dance Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 4,220.00 \$ 40.75
Gettel	Kori	Head Teacher Child Care Center	Family and Consumer Sciences	12.00	1.00	\$ 4,023.00	\$ 4,164.00
Getz	John	Printing Production Coord	University Marketing & Communi	12.00	1.00	\$ 31.55	\$ 32.65

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Gibson Gibson	Cynthia Michael	Culinary Worker II IT Tech Assoc	Event Management, Dining and H Infrastructure Op & Networking	12.00 12.00	1.00 1.00	-	\$ 15.64 \$ 7,827.00
Giese	Amy Donald	Police Officer Intern	University Police Department Janitorial	12.00 12.00	1.00 1.00	\$ -	\$ 29.81
Giese Gifford	Ronald	Building Service Worker Director	History	12.00	1.00	\$ 6,459.00	\$ 6,685.00
Giles Gill	Ryan Cheyenne	Building Service Worker Food Serv Sanitation Laborer	Janitorial Event Management, Dining and H	12.00 12.00	1.00 1.00	-	•
Gill	David	Dir Facilities Planning	Director, Facilities Planning	12.00	1.00	\$ 16,002.00	\$ 16,562.00
Gill Giller	Peighton Brian	Food Court/Snack Bar Attendant IT Tech Assoc	Event Management, Dining and H Infrastructure Op & Networking	12.00 12.00	1.00 1.00	-	\$ 15.64 \$ 7,872.00
Giller Gillespie	Elizabeth Kristen	IT Tech Assoc Head Womens Basketball Coach	Client Services Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	
Gillespie	Scott	Asst Womens Basketball Coach	Intercollegiate Athletics	12.00	1.00	\$ 8,403.00	\$ 9,560.00
Gillibrand Gilliland	Marie Amy	Financial Aid Mgr Natural Science Tech Asst	Financial Aid Office School of Biological Sciences	12.00 12.00	1.00 1.00	•	\$ 5,617.00 \$ 27.04
Giovagnoli Givens	David Ronald	Program Coordinator Program Coordinator	Ctr for Integrated Professiona Dean of Students	12.00 12.00	1.00 1.00	•	\$ 4,910.00 \$ 5,092.00
Gladson	Devin	Dining Room Supervisor	Event Management, Dining and H	12.00	1.00	\$ -	\$ 17.54
Glaub Goggin	Jimmy Amanda	Building Service Worker Food Service Administrator II	Janitorial Event Management, Dining and H	12.00 12.00	1.00 1.00	-	\$ 16.55 \$ 4,108.00
Gold Gomez	Venny Antonio	IT Tech Assoc Office Manager	Application Services Educational Administration & F	12.00 12.00	1.00 1.00		\$ 8,334.00 \$ 19.25
Gonzalez	Miranda	Nurse Practitioner	Health Services	12.00	1.00	\$ 51.16	\$ 52.69
Good Goodwin	Cameo Allen	Admissions and Records Coord Library Specialist	Registrar Milner Library	12.00 12.00	1.00 1.00	-	\$ 31.87 \$ 19.30
Gooris Gordon	Krista Ernest	Program Coordinator Electrician	Campus Recreation Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 5,581.00 \$ 42.98
Gordon	Kali	Office Manager	History	12.00	1.00	\$ 18.98	\$ 19.65
Gordon Gossard	Mary Rebecca	Office Support Specialist Business Administrative Assoc	University High School Parking & Transportation	12.00 12.00	1.00 1.00	-	•
Gossett Gould	Laura Trevor	Business Administrative Assoc Program Assistant	Comptroller's Office School of Music	12.00 12.00	1.00 1.00	-	
Grab	Eric	IT Support Assoc	Student Affairs Information Te	12.00	1.00	\$ 30.23	\$ 34.41
Grabb Grahs	Jeffrey Ryan	IT Manager Admin Coord IT Tech Assoc	Learning Spaces & Audio/Visual Application Services	12.00 12.00	1.00 1.00	•	
Gramley Grant	Mark Tiarra	Industrial Hygienist Customer Service Asst	Environmental Health & Safety Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 7,483.00 \$ 17.25
Graves	Brian	Electrician Foreman	Building Maintenance	12.00	1.00	\$ 48.59	\$ 49.43
Graves Gray	Carter Heather	Housing Representative Client Relationsl Repr II	University Housing Services Financial Aid Office	12.00 12.00	1.00 1.00	-	\$ 22.77 \$ 21.22
Gray	Kenneth	Asst To Dept Chairperson IT Tech Assoc	Sociology and Anthropology	12.00 12.00	1.00 1.00	•	\$ 6,013.00 \$ 6,297.00
Green Green	Jason Jessica	Director Annual Giving	Application Services Development-Fundraising	12.00	1.00	\$ 6,038.00	\$ 6,249.00
Green Greenberg	Shanika Martin	Program Stdt Advisor Academic Advisor	Career Services University College	12.00 12.00	1.00 1.00	-	\$ 4,223.00 \$ 4,794.00
Greenfield Grehan	David Shea	Dir Student Tech Support Serv	TechZone & Student Technologie University Marketing & Communi	12.00 12.00	1.00 1.00	•	*
Greiner	Alexandria	Senior Photographer Program Assistant	Student Access and Accommodati	12.00	1.00	\$ 20.97	\$ 24.96
Gremo Greskiwcz	Lindsay Cindy	Human Resource Representative Business Administrative Assoc	Human Resources Dean of Applied Science and Te	12.00 12.00	1.00 1.00	-	\$ 23.85 \$ 26.33
Grider	Rebecca	Procurement Officer Assistant Business Administrative Assoc	Comptroller's Office	12.00	1.00	-	\$ 18.90
Griffith Grimes	Patrick Jeffrey	Staff Psychologist	Office of Technology Solutions Student Counseling Services	12.00 12.00	1.00 1.00	•	*
Grimes Gromer	Kristen Matthew	IT Tech Assoc IT Manager Admin Coord	Web and Interactive Communicat Instructional Tech - College o	12.00 12.00	1.00 1.00	•	. ,
Gros	Douglas	Food Serv Sanitation Laborer	Event Management, Dining and H	12.00	1.00	\$ 20.50	\$ 21.23
Grose Gross	Courtney Joseph	Business Administrative Assoc Building Service Worker	Application Services Janitorial	12.00 12.00	1.00 1.00	\$ 22.06	*
Grove Groves	Jennah Erin	Office Manager Accounting Associate	Clinical Experiences in Teache Comptroller's Office	12.00 12.00	1.00 1.00		•
Grubb	Kimberly	Medical Insurance Spec	Health Services	12.00	1.00	\$ 20.50	\$ 24.41
Grubb Gruenwald	Tammie Clayton	Building Service Worker Business Administrative Assoc	Janitorial Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 28.36
Gruwell Grzybowski	Marcus Michelle	Program Stdt Advisor Program Coordinator	School of Information Technolo University College	12.00 12.00	1.00 1.00	•	\$ 4,000.00 \$ 5,375.00
Gu	Shiou-Feng	Assoc Dir Stdt Counseling Serv	Student Counseling Services	12.00	1.00	\$ 5,805.00	\$ 7,511.00
Gudeman Guevara	Patricia Emma	Administrative Aide Program Stdt Advisor	History Office of International Engage	12.00 12.00	1.00 1.00	-	•
Guido Guither	Kileigh Julie	Asst Dean Stores Supervisor	Mennonite College of Nursing Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 6,695.00 \$ 22.95
Guither	Zoe	Medical Tech I	Health Services	12.00	1.00	\$ 24.43	\$ 25.16
Guminski Gunderson	Kira Jacilyn	Building Service Worker Business Administrative Assoc	Janitorial Comptroller's Office	12.00 12.00	1.00 1.00	-	•
Guthrie Guzman	Kristopher Bailey	Coach Laboratory School Parking Serv Agent II	University High School Parking & Transportation	7.00 12.00	0.09 1.00	-	\$ 286.00 \$ 17.51
Haag	Jeremy	Grounds Worker	Campus Services Division / Gro	12.00	1.00	\$ 26.60	\$ 27.54
Haas Haas	Lisa Ryan	Chief Accountant IT Tech Assoc	Comptroller's Office Office of Technology Solutions	12.00 12.00	1.00 1.00	•	\$ 7,691.00 \$ 6,667.00
Hadley Haerr	Marcus Terri	IT Support Assoc Marketing Associate	TechZone & Student Technologie Dean of Students	12.00 12.00	1.00 1.00	-	\$ 21.24 \$ 5,624.00
Hagaman	Matthew	Spon Proj Research Asst	Center for Mathematics Science	12.00	0.50	\$ 2,100.00	\$ 2,174.00
Hagberg Haigh	S Larry	IT Tech Assoc Program Coordinator	Infrastructure Op & Networking Advancement & Foundation Opera	12.00 12.00	1.00 1.00	•	\$ 7,172.00 \$ 5,175.00
Halcomb Hall	Phillip Breanne	Director Head Womens Golf Coach	Facilities Planning Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 13,369.00 \$ 5,139.00
Hall	Hunter	IT Support Assoc	Client Services	12.00	1.00	\$ 23.81	\$ 24.64
Hall Hall	Jon Lindsey	Chief Broadcasting Engineer Program Coordinator	Radio Station WGLT Educational Administration & F	12.00 12.00	1.00 0.75	-	•
Halle	Craig	Dir English Publication Unit	English	12.00	1.00	\$ 5,332.00	\$ 5,519.00
Halsey Hamann	Janet William	Cashier III IT Tech Assoc	Comptroller's Office Student Affairs Information Te	12.00 12.00	1.00 1.00	-	•
Hamerlinck Hamilton	Stephen Christopher	IT Support Assoc Coord Acad Serv	Dean of Education School of Social Work	12.00 12.00	1.00 1.00	-	•
Hammes	Dayton	Marketing Associate	Intercollegiate Athletics	12.00	1.00	\$ 3,591.00	\$ 4,148.00
Hampton Hampton	Eugene Lester	Area Coord Residential Life Coach Laboratory School	University Housing Services University High School	12.00 4.00	1.00 0.09	•	•
Han Hand	Jennifer Kevin	Administrative Aide Senior Business Manager	Politics and Government Office of Technology Solutions	12.00 12.00	1.00 1.00	-	\$ 25.46 \$ 12,798.00
Hansen	Christine	Academic Advisor	School of Music	12.00	1.00	\$ 3,580.00	\$ 4,399.00
Hansen Hanson	Jennifer Tracy	Senior Library Specialist Academic Advisor	Milner Library Criminal Justice Sciences	12.00 12.00	1.00 1.00	•	\$ 20.78 \$ 4,647.00
Harbeck	Matthew	Program Assistant	Maintenance-Field House	12.00	1.00	\$ 3,881.00	\$ 4,017.00
Harding Hardman	Kristin Delaney	Exec Dir Alumni Engagement Office Support Specialist	Alumni Engagement University Housing Services	12.00 12.00	1.00 1.00	\$ 17.36	•
Hardy Harlow	Thomas Perry	Assoc University Librarian Program Coordinator	Milner Library Conference Services	12.00 12.00	1.00 1.00	-	\$ 4,835.00 \$ 4,167.00
Harm	Morgan	Dietitian Nutritionist	Event Management, Dining and H	12.00	1.00	\$ 27.40	\$ 28.36
Harman Harman	Elizabeth Kelly	Program Assistant Administrative Aide	Milner Library Psychology	12.00 12.00	1.00 1.00	-	\$ 23.50 \$ 26.38
Harmon Harms-Jones	Maxwell Melissa	Golf Course Pro Shop Assistant Police Telecommunicator Supv	Golf Course University Police Department	12.00 12.00	1.00 1.00	\$ 18.63	\$ 20.70 \$ 31.07
Harness	Christopher	Equipment Attendant	School of Kinesiology and Recr	12.00	0.49	\$ 15.01	\$ 15.54
Harness Harrington	Elizabeth Megan	Administrative Aide Asst Womens Gymnastic Coach	English Intercollegiate Athletics	12.00 12.00	1.00 1.00	-	\$ 24.87 \$ 3,431.00
Harris	Cynthia	Sr Assoc Dir Intcol Athletics	Intercollegiate Athletics	12.00	1.00	•	\$ 8,072.00

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Harris Harris	Edward Francess	IT Support Assoc Office Administrator	Learning Spaces & Audio/Visual School of Teaching and Learnin	12.00 12.00	1.00 1.00	•	\$ 24.04 \$ 21.72
Harris	Robert	Supvr of Res Hall Attdts	University Housing Services	12.00	1.00	\$ 23.14	\$ 23.95
Harris Harrison	Sara Eva Smyrna	Director Grants and Contracts Assoc	Psychology Research & Sponsored Programs	12.00 12.00	1.00 1.00	•	\$ 5,834.00 \$ 4,744.00
Harrison	Jeanette	Administrative Aide	University College	12.00	1.00	\$ 24.53	\$ 27.95
Harrison Hart	Jordan Lastenia	IT Support Assoc Culinary Worker II	Laboratory Schools Superintend Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 33.12 \$ 15.64
Hart	Rachel	Dir Entprs Data Analytics	Office of Technology Solutions	12.00	1.00	\$ 11,215.00	\$ 11,608.00
Hartman Hartrup	Paisley Molly	Academic Advisor Public Information Associate	Office of International Engage Media Relations	12.00 12.00	1.00 1.00	•	\$ 4,017.00 \$ 47.78
Hartseil	Bryce	Accountant II	Intercollegiate Athletics	12.00	1.00	•	\$ 5,402.00
Hartzler Hasselbring	Jason Kelly	Medical Insurance Manager Program Coordinator	Health Services Center for Civic Engagement	12.00 12.00	1.00 1.00	•	\$ 7,043.00 \$ 4,313.00
Hastings	Erin	Program Assistant	Graduate School	12.00	1.00	-	\$ 20.19
Hastings Haubner	Steven Carrie	IT Tech Assoc Dir Student Counseling Serv	Office of Technology Solutions Student Counseling Services	12.00 12.00	1.00 1.00	•	\$ 6,899.00 \$ 10,713.00
Haunert Hauser	Bryan Allison	Dir Campus Recreation Program Coordinator	Campus Recreation Ctr for Integrated Professiona	12.00 12.00	1.00 1.00	•	\$ 9,919.00 \$ 4,585.00
Havens	Madison	Program Stdt Advisor	Intercollegiate Athletics	12.00	1.00	•	\$ 4,383.00
Haws Hawthorne	Jonathan Thomas	Dir Athletics and Activities IT Support Assoc	Thomas Metcalf School Student Affairs Information Te	11.00 12.00	1.00 1.00		\$ 7,115.00 \$ 30.59
Hayes	Shawn	IT Support Assoc	Advancement & Foundation Opera	12.00	1.00	\$ 4,176.00	\$ 4,322.00
Haywood Haywood	Darien Jeremiah	Building Service Foreman IT Tech Assoc	Janitorial Office of Technology Solutions	12.00 12.00	1.00 1.00	\$ 25.44 \$ 7,763.00	\$ 26.33 \$ 8,035.00
Hazelhurst	Cody	Food Service Stores Laborer	Event Management, Dining and H	12.00	1.00	\$ 22.58	\$ 23.38
Healy Hearn	John Alyson	Marketing Associate Physical Science Tech Asst	Enrollment Management Chemistry	12.00 12.00	1.00 1.00	•	\$ 5,717.00 \$ 25.88
Hearn	James	IT Support Assoc	Dean of Applied Science and Te	12.00	1.00	\$ 32.58	\$ 33.72
Hedge Heflin	Carly Elaine	Program Coordinator Asst Softball Coach	Student Access and Accommodati Intercollegiate Athletics	12.00 12.00	1.00 1.00	-	\$ 4,500.00 \$ 5,607.00
Heineke	Erica	Medical Tech I	Health Services	12.00	0.80	\$ 25.24	\$ 26.00
Heintzman Held	Thomas Marissa	IT Tech Assoc Office Manager	Office of Technology Solutions Thomas Metcalf School	12.00 12.00	1.00 1.00	•	\$ 8,779.00 \$ 19.89
Helms	Jeffrey	Academic Advisor	School of Biological Sciences	10.00	1.00	\$ 7,861.00	\$ 8,136.00
Helms Helmuth	Laurie Timothy	Academic Advisor IT Tech Assoc	School of Information Technolo College of Arts & Sci-Informat	12.00 12.00	1.00 1.00	•	\$ 4,539.00 \$ 5,240.00
Helpingstine	Hayley	Customer Service Rep	Comptroller's Office	12.00	1.00	\$ 20.03	\$ 20.73
Helton Hempstead	Matthew Catherine	IT Support Assoc Benefits Service Supervisor	Milner Library Human Resources	12.00 12.00	1.00 1.00	•	\$ 27.33 \$ 30.49
Henderson	Lauren	Marketing Associate	Intercollegiate Athletics	12.00	1.00	-	\$ 3,334.00
Henderson Hendon	Michele Joshua	Customer Service Rep IT Support Assoc	Event Management, Dining and H Enterprise Data and Analytics	12.00 12.00	1.00 1.00		\$ 19.82 \$ 5,918.00
Hendricker	Jessa	Academic Advisor	University College Academic Ad	12.00	1.00	•	\$ 3,759.00
Hendrix Hendrix	Amanda Benjamin	University Budget Officer IT Tech Assoc	Budget Office Infrastructure Op & Networking	12.00 12.00	1.00 1.00	•	\$ 14,256.00 \$ 5,865.00
Hendrix	Joseph	Business Administrative Assoc	Event Management, Dining and H	12.00	1.00	•	\$ 8,659.00
Henehan Hensleigh	Lori Ani	Program Coordinator Vice President and Provost	Student Access and Accommodati Vice President & Provost	12.00 12.00	1.00 1.00	•	\$ 5,442.00 \$ 20,700.00
Hensleigh	Joseph	Coach Laboratory School	Thomas Metcalf School	3.00	0.09	•	\$ 624.00
Henson	Aubrey	Marketing Associate	Dean of Education	12.00	1.00	•	\$ 4,916.00
Henson Herberger	Audrey Abigail	Food Service Administrator I Food Service Administrator I	Event Management, Dining and H Event Management, Dining and H	12.00 12.00	1.00 1.00	-	\$ 21.11 \$ 21.85
Herman	Alyssa	Program Assistant	Ctr for Integrated Professiona	12.00	1.00	•	\$ 4,585.00
Hermanowicz Hernandez	Brooke Arnold	Admissions and Records Repr Asst Supt of Building Maintena	Office of International Engage Bldg Maint Bond Rev	12.00 12.00	1.00 1.00		\$ 20.19 \$ 8,142.00
Hernbrott	Lisa	Office Manager	School of Social Work	12.00	1.00	-	\$ 19.27
Herren Herrera Garcia	Justin Miguel	Construction Project Coord II Building Service Worker	Facilities Planning Janitorial	12.00 12.00	1.00 1.00	•	\$ 7,589.00 \$ 16.55
Hertel	Douglas	Building Service Worker	Janitorial	12.00	1.00	•	\$ 22.83
Heyl Hice	Sarah Matthew	Ticket Sales Spec Police Officer	Intercollegiate Athletics University Police Department	12.00 12.00	1.00 1.00	-	\$ 23.42 \$ 36.37
Hicks	Rodney	Food Serv Sanitation Laborer	Event Management, Dining and H	12.00	1.00	•	\$ 21.23
Higgerson High	Kenneth Ryan	Graphic Designer Technical Dir	University Marketing & Communi Event Management, Dining and H	12.00 12.00	1.00 1.00	-	\$ 28.35 \$ 4,996.00
High	Susan	Supervisor Costume Shop	School of Theatre and Dance	12.00	1.00	•	\$ 4,399.00
Higham Hildebrandt	Gary Susan	Program Coordinator Asst To Provost	Clinical Experiences in Teache Vice President & Provost	12.00 12.00	1.00 1.00	•	\$ 6,468.00 \$ 10,124.00
Hill	Christopher	Culinary Worker III	Event Management, Dining and H	12.00	1.00	•	\$ 21.23
Hill Hills	Sara Jill	Food Service Administrator I Office Administrator	Event Management, Dining and H Alumni Engagement	12.00 12.00	1.00 1.00	•	\$ 21.85 \$ 20.20
Hines	David	Electrician	Building Maintenance	12.00	1.00	•	\$ 42.98
Hinkel Hinthorn	Troy Donald	Program Director Building Service Worker	Clinical Experiences in Teache Janitorial	12.00 12.00	1.00 1.00	•	\$ 6,945.00 \$ 22.83
Hinthorne	Mary	Culinary Worker III	Event Management, Dining and H	12.00	1.00	•	\$ 21.23
Hjelle Hobbs	Norton Jena	Program Director Program Coordinator	Radio Station WGLT Clinical Experiences in Teache	12.00 12.00	1.00 1.00	•	\$ 6,533.00 \$ 3,916.00
Hobby	Jacob	Carpenter	Building Maintenance	12.00	1.00		\$ 36.09
Hobson Hochecker	Joy Taylor	Food Service Administrator III Program Coordinator	Event Management, Dining and H Special Education	12.00 12.00	1.00 1.00	•	\$ 4,519.00 \$ 3,899.00
Hodges	Eric	Dir Emergency Mgmt	Emergency Management	12.00	1.00	\$ 12,644.00	\$ 13,087.00
Hoelscher Holland	Chad Billy	Carpenter IT Tech Assoc	Building Maintenance TechZone & Student Technologie	12.00 12.00	1.00 1.00	•	\$ 36.09 \$ 5,210.00
Holland	James	Electrician	Building Maintenance	12.00	1.00	\$ -	\$ 42.98
Hollins Holm	Janis Stephen	Business Administrative Assoc Head Mens Baseball Coach	Mennonite College of Nursing Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 4,744.00 \$ 12,667.00
Holmes	Richard	Bowling and Billiard Ctr Mgr	Campus Recreation	12.00	1.00	\$ 5,736.00	\$ 5,937.00
Holtz Homan	Jody Colette	Program Assistant Deputy Director	Radio Station WGLT Human Resources	12.00 12.00	1.00 1.00	•	\$ 4,485.00 \$ 11,863.00
Homan	Daniel	Grounds Worker	Campus Services Division / Gro	12.00	1.00	\$ 21.18	\$ 21.93
Homan Hoobler	Jonathon Tyler	Grounds Gardener IT Support Assoc	Campus Services Division / Gro Student Affairs Information Te	12.00 12.00	1.00 1.00	•	\$ 20.72 \$ 33.00
Hood	Chelsea	Administrative Aide	Dean of Students	12.00	1.00	\$ 21.64	\$ 21.64
Hooker Hoover	Irvin Toby	IT Support Assoc Water Station Foreman	Learning Spaces & Audio/Visual Building Maintenance	12.00 12.00	1.00 1.00	-	\$ 25.71 \$ 40.65
Hoover	William	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Hord Hord	Ashlin Marcus	Building Service Worker Building Service Worker	Janitorial Janitorial	12.00 12.00	1.00 1.00	-	\$ 22.83 \$ 22.83
Hornsby	Taylor	Office Manager	University Housing Services	12.00	1.00	\$ 19.10	\$ 19.77
Horsch Horton	Amy Matthew	Nurse Practitioner Exec Chef	Health Services Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 53.72 \$ 7,320.00
Hosea	Arthur	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Hospelhorn Hospelhorn	Lynn Mary	IT Tech Assoc Accounting Specialist	Financial Aid Office Comptroller's Office	12.00 12.00	1.00 1.00	•	\$ 26.63 \$ 22.77
Hossain	Arafath	IT Tech Assoc	Enterprise Data and Analytics	12.00	1.00	\$ 6,731.00	\$ 7,663.00
Hougas Howard	Alicia Senesta	Accountant I Program Coordinator	Advancement & Foundation Opera Vice President Student Affairs	12.00 12.00	1.00 1.00	-	\$ 24.77 \$ 6,071.00
ноward Hoyt	Senesta Krena	Library Operations Associate	Milner Library	12.00	1.00	•	\$ 6,071.00
Hubbard	Mona Salby	Office Manager	School of Music	12.00	1.00	•	\$ 20.79
Hubbard Huber	Selby Cadie	Coach Laboratory School Office Administrator	Thomas Metcalf School English	4.00 12.00	0.09 1.00	•	\$ 564.00 \$ 21.98
Huber	Julie	Program Director	Enrollment Management	12.00	1.00	\$ 8,433.00	\$ 8,758.00
	T ~"	Duilding Carrie 144 1	امره: المراجعة المراج			C ~~ ~~	C ~~ ^^
Huber Hudgins	Terri Michael	Building Service Worker IT Tech Assoc	Janitorial Application Services	12.00 12.00	1.00 1.00		\$ 20.69 \$ 5,691.00

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Huffman Hughes-Liss	Jesse Nichole	IT Support Assoc Coordinator	Client Services Dean of Students	12.00 12.00	1.00 1.00	-	\$ 23.00 \$ 4,227.00
Huls	Kenneth Thomas	Medical Tech I IT Tech Assoc	Health Services	12.00 12.00	0.60 1.00	\$ 25.24	\$ 26.00
Huntsman Hurd	Amy	Assoc VP Undergrad Education	Application Services Vice President & Provost	12.00	1.00	\$ 17,120.00	\$ 17,790.00
Hurtado Huseman	Jose Karen	Building Service Worker Academic Advisor	Janitorial University College	12.00 12.00	1.00 1.00	=	\$ 22.83 \$ 4,244.00
Hutchcraft	Joy	Exec Dir Devel Fundraising	University Advancement	12.00	1.00	\$ 11,971.00	\$ 12,390.00
Hutcherson Hutchins	Cody Raysha	Golf Course Grounds Supt IT Tech Assoc	Golf Course Stevenson Ctr-Community/Econom	12.00 12.00	1.00 1.00	=	\$ 6,900.00 \$ 44.58
Hutchinson Hylton	Kinsey Sara	Campus Recreation Coordinator Medical Office Specialist	Campus Recreation Health Services	12.00 12.00	1.00 1.00	•	\$ 4,306.00 \$ 19.24
lannucci	Kristin	Internal Auditor Assoc	Internal Auditor	12.00	0.70	\$ 4,619.00	\$ 4,781.00
Iboke Ilebo Ilunga	Clementine Charles	Building Service Worker Building Service Worker	Janitorial Janitorial	12.00 12.00	1.00 1.00	-	\$ 22.83 \$ 19.64
Irvin	Corey	Asst Mens Football Coach	Intercollegiate Athletics	12.00	1.00	•	\$ 6,564.00
Irving Iseminger	Amy Dawn	Program Coordinator IT Support Assoc	Mennonite College of Nursing Human Resources	12.00 12.00	1.00 1.00		\$ 5,567.00 \$ 25.38
Jablonski Jackson	Jarrod Chelley	IT Tech Assoc Financial Aid Assoc	Application Services Financial Aid Office	12.00 12.00	1.00 1.00	•	\$ 5,607.00 \$ 7,504.00
Jackson	Cinderretha	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Jackson Jackson	Craig Emma	Dir Infrastructr Op Netwrk Program Coordinator	Office of Technology Solutions Advancement & Foundation Opera	12.00 12.00	1.00 1.00	•	\$ 13,269.00 \$ 4,312.00
Jackson	Jessica	Staff Counselor	Student Counseling Services	12.00	1.00	\$ -	\$ 5,834.00
Jackson Jackson	Kenneth Krista	Building Service Worker Program Coordinator	Janitorial Registrar	12.00 12.00	1.00 1.00		\$ 22.83 \$ 4,927.00
Jackson Jackson	Kristin Lawrence	Admissions Counselor Asst Distribution Serv Supv	Admissions Central Receiving	12.00 12.00	1.00 1.00	•	\$ 3,562.00 \$ 26.78
Jackson	Spencer	Building Service Worker	Janitorial	12.00	1.00	\$ -	\$ 16.55
Jackson Jackson	Terry Timothy	Program Coordinator Heavy Driver	Clinical Experiences in Teache Central Receiving	12.00 12.00	1.00 1.00	•	\$ 4,464.00 \$ 25.88
Jacob	Jeffrey	Asst Comptroller	Comptroller's Office	12.00	1.00	\$ 13,110.00	\$ 13,569.00
Jacob Jacoby	Zechariah Edward	Business Administrative Assoc Asst Mn Wmn Trk Fld CC Coach	Office of Technology Solutions Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 4,886.00 \$ 4,584.00
Jacquot	Scott	Dishroom Supervisor	Event Management, Dining and H	12.00	1.00	\$ 22.58	\$ 23.38
Jahraus Jaikumar	Ella Nikhil	IT Tech Assoc Spon Proj Research Assoc	Web and Interactive Communicat School of Biological Sciences	12.00 12.00	1.00 1.00	•	\$ 5,521.00 \$ 4,831.00
Jallepalli	Monika	IT Tech Assoc	Event Management, Dining and H	12.00	1.00		\$ 6,210.00
James James	Clifford Madison	Building Service Worker Program Assistant	Janitorial Illinois Tutoring Initiative	12.00 12.00	1.00 1.00	-	\$ 22.83 \$ 25.64
Jandron Janes	Anthony Jill	Asst Baseball Coach Program Coordinator	Intercollegiate Athletics Clinical Experiences in Teache	12.00 12.00	1.00 1.00	-	\$ 4,167.00 \$ 4,046.00
Janicki	Logan	Senior Library Specialist	Milner Library	12.00	1.00	\$ -	\$ 20.68
Janicki Jannusch	Rachel Sierra	Program Coordinator Office Support Specialist	Career Services School of Kinesiology and Recr	12.00 12.00	1.00 1.00	-	\$ 25.11 \$ 17.97
Janssen	Leta	Business Administrative Assoc	Milner Library	12.00	1.00	\$ 7,377.00	\$ 7,635.00
Januzik Jean-Charles	Kelsey Madeline	Marketing Associate Procurement Officer	Vice President Student Affairs Comptroller's Office	12.00 12.00	1.00 1.00	•	\$ 6,210.00 \$ 26.25
Jefferson	Todd	Building Service Worker	Janitorial	12.00	1.00	•	\$ 22.83
Jenkins Jenkins	Asami Corey	Culinary Worker V Building Service Worker	Event Management, Dining and H Janitorial	12.00 12.00	1.00 1.00	-	\$ 23.38 \$ 22.83
Jenkins Jenkins	Keith Rhonda	Parking Serv Agent III Business Administrative Assoc	Parking & Transportation Campus Recreation	12.00 12.00	1.00 1.00	•	\$ 19.14 \$ 6,037.00
Jensen	Molly	Food Court/Snack Bar Attendant	Event Management, Dining and H	12.00	1.00	-	\$ 0,037.00
Jernigan Joaquin	Jillian RosaLinda	Staff Counselor (intern) Building Service Worker	Student Counseling Services Janitorial	12.00 12.00	1.00 1.00		\$ 3,239.00 \$ 19.64
Jobson	Ashley	Office Administrator	Dean of Business	12.00	1.00	\$ 21.02	\$ 21.76
Johnson Johnson	Christopher Daniel	IT Tech Assoc Garage Foreman	Infrastructure Op & Networking Transportation-Physical Plant	12.00 12.00	1.00 1.00	•	\$ 6,565.00 \$ 29.56
Johnson	Erica	Administrative Aide	Office of Technology Solutions	12.00	1.00	-	\$ 37.65
Johnson Johnson	Holly James	Program Assistant IT Tech Assoc	Planning, Research & Policy An Infrastructure Op & Networking	12.00 12.00	1.00 1.00	•	\$ 4,027.00 \$ 7,177.00
Johnson Johnson	Jared Jeremy	Safety Env Compl Assoc Electrician	Environmental Health & Safety Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 5,218.00 \$ 42.98
Johnson	Jordan	Spon Proj Program Coord	Educational Administration & F	12.00	1.00	•	\$ 26.65
Johnson Johnson	Kathleen Kristen	Food Serv Sanitation Laborer Office Administrator	Event Management, Dining and H University Housing Services	12.00 12.00	1.00 1.00	•	\$ 21.23 \$ 23.83
Johnson	Levester	Vice President Student Affairs	Vice President Student Affairs	12.00	1.00	\$ 23,808.00	\$ 24,641.00
Johnson Johnson	Maxamillion Melissa	Police Officer Business Administrative Assoc	University Police Department Dean of Business	12.00 12.00	1.00 1.00	-	\$ 31.38 \$ 5,974.00
Johnson	Michael	Asst Equal Opportunity Ofc	Office of Equal Opportunity &	12.00	1.00	\$ -	\$ 5,175.00
Johnson Johnson	Michael Morgan	Food Serv Sanitation Laborer Admissions Counselor	Event Management, Dining and H Admissions	12.00 12.00	1.00 1.00	-	\$ 21.23 \$ 4,416.00
Johnson Johnson	Nerak Victoria	Building Service Worker Academic Advisor	Janitorial University College	12.00 12.00	1.00 1.00	-	\$ 22.83 \$ 3,827.00
Johnson	William	Police Officer	University Police Department	12.00	1.00	\$ 32.23	\$ 34.31
Johnson-Dorley Jones	Gail Anthony	Customer Service Spec Dir Laboratory Schools	Comptroller's Office Laboratory Schools Superintend	12.00 12.00	1.00 1.00	=	\$ 23.51 \$ 12,938.00
Jones	Ariele	Media Write Produce Announc II	Radio Station WGLT	12.00	1.00	\$ 4,246.00	\$ 4,395.00
Jones Jones	Erika James	Asst Comptroller Dir Ctr Insurance & Fin Serv	Comptroller's Office Insurance & Financial Services	12.00 12.00	1.00 1.00	•	\$ 11,604.00 \$ 16,452.00
Jones	Jessika	Police Officer	University Police Department	12.00	1.00	-	\$ 38.24
Jones Jones	Laura Lisa	Administrative Aide Culinary Worker III	Comptroller's Office Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 29.67 \$ 21.23
Jones	Lyndsay Makaila	Media Write Produce Announc II	Radio Station WGLT	12.00 12.00	1.00 1.00	•	\$ 4,115.00 \$ 17.54
Jones Jones	Trudy	Dining Room Supervisor Office Manager	Event Management, Dining and H Marketing	12.00	1.00	•	\$ 17.34
Jones-Bock Jordan	Stacey Deshaun	Associate Dean Asst Mn Wmn Trk Fld CC Coach	Dean of Education Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 15,324.00 \$ 5,175.00
Jordan Lantz	Mary	Dining Room Supervisor	Event Management, Dining and H	12.00	1.00	\$ 16.78	\$ 17.54
Jorden Jorgensen	Jean David	Business Administrative Assoc Program Coordinator	Chemistry University Marketing & Communi	12.00 12.00	1.00 1.00	•	\$ 5,026.00 \$ 6,480.00
Jorgensen	Gloria	Printing Production Coord	University Marketing & Communi	12.00	1.00	\$ 24.23	\$ 25.08
Joseph Joyce	Kyah David	Office Support Specialist Automotive Technician	School of Communication Transportation-Physical Plant	12.00 12.00	1.00 1.00	•	\$ 17.83 \$ 24.94
Joynt	Lauri	Business Administrative Assoc	University Marketing & Communi	12.00	1.00	-	\$ 22.34
Juarez Gonzalez Judson	Enrique Robert	Food Court/Snack Bar Attendant Asst Mens Basketball Coach	Event Management, Dining and H Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 15.64 \$ 12,938.00
Julian Julian	Adam Aimee	IT Tech Assoc Program Director	Web and Interactive Communicat Educational Administration & F	12.00 12.00	1.00 1.00		\$ 8,302.00 \$ 10,422.00
Juris	Christopher	Grounds Gardener	Campus Services Division / Gro	12.00	1.00	\$ 21.18	\$ 21.93
Kaase Kabbes	Jordan Paul	Police Officer Deputy Athletic Director	University Police Department Intercollegiate Athletics	12.00 12.00	1.00 1.00	-	\$ 36.37 \$ 11,750.00
Kaesberg	Zakary	Dietitian Nutritionist	Event Management, Dining and H	12.00	1.00	\$ 27.40	\$ 28.36
Kahl Kaiden	Samantha Rose Chandler	Staff Psychologist IT Tech Assoc	Student Counseling Services Dean of Education	12.00 12.00	1.00 1.00	-	\$ 6,458.00 \$ 5,572.00
Kakani	Raja Shekhar	IT Tech Assoc	Application Services	12.00	1.00	\$ 8,838.00	\$ 9,147.00
Kalanga Tshibangu Kamara	Lyly Jeremiah	Building Service Worker Building Service Worker	Janitorial Janitorial	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 22.83
Kane	Daniel	Supt of Building Maintenance	Building Maintenance	12.00	1.00	\$ 9,429.00	\$ 9,759.00
Kapila Kapraun	Emmanuel Wendy	Food Serv Sanitation Laborer Library Specialist	Event Management, Dining and H Milner Library	12.00 12.00	1.00 1.00	•	\$ 18.91 \$ 19.32
-	Dana	Program Coordinator	Ctr for Integrated Professiona	12.00	1.00	\$ 5,309.00	\$ 5,883.00
Karraker Kastendick	Daniel	Business Administrative Assoc	School of Teaching and Learnin	12.00	1.00	•	\$ 5,188.00

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Katanda Katanda	Esther Joe	Culinary Worker III Building Service Worker	Event Management, Dining and H Janitorial	12.00 12.00	1.00 1.00	•	\$ 18.91 \$ 19.64
Katz	Ashley	Program Coordinator	Research & Sponsored Programs	12.00	1.00	•	\$ 4,910.00
Kauffman Kayamba	Michelle Antonio	Library Operations Associate IT Support Assoc	Milner Library Mennonite College of Nursing	12.00 12.00	1.00 1.00	•	\$ 30.79 \$ 25.49
Keeling	Colten	IT Support Assoc	Student Affairs Information Te	12.00	1.00	\$ 4,795.00	\$ 5,558.00
Keene Keim	Marilyn Stephanie	Building Service Worker Office Manager	Janitorial Special Education	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 19.18
Keime	Robert	Accountant II	Comptroller's Office	12.00	1.00	•	\$ 4,999.00
Kelleher Keller	David Maren	Plumber Administrative Aide	Building Maintenance Dean of Students	12.00 12.00	1.00 1.00	•	\$ 47.80 \$ 21.99
Kelley	John	Coach Laboratory School	University High School	3.00	0.09	•	\$ 834.00
Kelley Kelley Guzman	Mary Stacy	Admissions and Records Coord Program Coordinator	Registrar Research & Sponsored Programs	12.00 12.00	1.00 1.00	•	\$ 6,054.00 \$ 6,900.00
Kellogg	Holden	Media Write Produce Announc I Asst Librarian	Radio Station WGLT Thomas Metcalf School	12.00 10.00	0.66 1.00	•	\$ 16.69 \$ 22.00
Kelly-Schierholz Kemmer	Karen Andrew	Food Serv Sanitation Laborer	Event Management, Dining and H	12.00	1.00	•	\$ 22.00
Kendall	Lisa Tammalynn	Coord Hilia Dir Stdt Accs Accom Srvs	Laboratory Schools Superintend Student Access and Accommodati	10.50 12.00	1.00 1.00	•	\$ 8,791.00 \$ 9,364.00
Keney Kephart	Karlee	Grounds Worker	Campus Services Division / Gro	12.00	1.00	•	\$ 9,304.00
Key Keyser	Adam Thomas	Building Service Worker Dean College of Engineering	Janitorial Dean of College of Engineering	12.00 12.00	1.00 1.00		\$ 22.83 \$ 20,760.00
Khalilallah	Judi	Office Support Specialist	Multicultural Center	12.00	1.00	\$ 25.30	\$ 26.19
Khan Kiesewetter	Saljook Michelle	IT Tech Assoc Program Coordinator	University Housing Services Facilities Planning	12.00 12.00	1.00 1.00	•	\$ 6,037.00 \$ 8,073.00
Kilgore	Alec	IT Support Assoc	Client Services	12.00	1.00	\$ 23.00	\$ 24.84
Kilgore Killian	Cameron Kathleen	IT Tech Assoc Chief of Staff Asst to Pres	Instructional Tech - College o President's Office	12.00 12.00	1.00 1.00	•	\$ 4,968.00 \$ 19,551.00
Kim	Lisa	Office Administrator	University Housing Services	12.00	1.00	\$ 24.65	\$ 23.85
Kim Kinate	Narry Matthew	Program Assistant Program Coordinator	President's Office Entertainme Risk Management	12.00 12.00	1.00 1.00	•	\$ 30.82 \$ 6,048.00
Kincaid	Danielle	Associate Director	Development-Fundraising	12.00	1.00	\$ -	\$ 5,000.00
King Kinkela	Sierra Ripaul	Financial Aid Coordinator Building Service Worker	Financial Aid Office Janitorial	12.00 12.00	1.00 1.00		\$ 4,137.00 \$ 22.83
Kinney	Miranda	Program Coordinator	Graduate School	12.00	1.00	\$ 5,606.00	\$ 5,785.00
Kinsella Kirby	Robert Kristine	Staff Physician Academic Advisor	Health Services University College	9.00 12.00	1.00 1.00		\$ 14,578.00 \$ 3,600.00
Kirk	David	Director Esports	Campus Recreation	12.00	1.00	\$ 9,167.00	\$ 9,488.00
Kirkwood Kishel	Jenna Adam	Academic Advisor IT Tech Assoc	Family and Consumer Sciences Infrastructure Op & Networking	12.00 12.00	1.00 1.00	•	\$ 4,140.00 \$ 6,249.00
Klapp	Andrew	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Klatt Klausner	Elizabeth Joseph	Dir Advcmt Constituent Reltns Program Director	Vice President Student Affairs Intercollegiate Athletics	12.00 12.00	1.00 1.00		\$ 7,763.00 \$ 6,371.00
Klay	Anderson	IT Tech Assoc	Office of Technology Solutions	12.00	1.00	\$ 4,355.00	\$ 4,507.00
Klepec Klotzbach	Jeffrey Katherine	Police Lieutenant IT Support Assoc	University Police Department Client Services	12.00 12.00	1.00 1.00		\$ 8,377.00 \$ 29.76
Klunke	Michelle	Human Resource Associate	Human Resources	12.00	1.00	\$ 26.87	\$ 29.48
Klysner Knackstedt	Mark Karen	Head Mens Tennis Coach Culinary Worker III	Intercollegiate Athletics Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 4,388.00 \$ 18.91
Knapp	Molly	Academic Advisor	Psychology	12.00	1.00	\$ 3,947.00	\$ 4,085.00
Knerr Knight	Michael Ayron	IT Tech Assoc Culinary Worker III	Application Services Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 6,469.00 \$ 21.23
Knight	Vallery	Building Service Worker	Janitorial	12.00	1.00	•	\$ 19.64
Knollenberg Knuth	Doug Christine	Culinary Worker III Program Coordinator	Event Management, Dining and H Masters of Business Administra	12.00 12.00	1.00 1.00	•	\$ 18.91 \$ 7,602.00
Kobus	Rachel	Program Director	Alumni Engagement	12.00	1.00		\$ 6,375.00
Kocar Koch	Donald Megan	Building Service Worker Dir Forensics	Janitorial School of Communication	12.00 11.00	1.00 1.00	•	\$ 22.83 \$ 5,378.00
Koch	Rebecca	Program Coordinator	Milner Library	12.00	1.00	•	\$ 5,693.00
Koehler Kohl Ringle	Steven Stephanie	IT Support Assoc Business Administrative Assoc	Milner Library Dean of Fine Arts	12.00 12.00	1.00 1.00	•	\$ 29.73 \$ 5,442.00
Kollmann	Jessica	Program Coordinator	Family and Consumer Sciences	12.00	1.00		\$ 4,152.00
Konda Koons	Pranavi Jenna	Program Assistant Office Manager	Illinois Tutoring Initiative University Advancement	12.00 12.00	1.00 1.00	•	\$ 26.54 \$ 19.25
Koos	William	Superintendent of Grounds	Campus Services Division / Gro	12.00	1.00	. ,	\$ 6,695.00
Kopitske Kopko	Mercy Emma	Culinary Worker III Program Coordinator	Event Management, Dining and H Graduate School	12.00 12.00	1.00 1.00	-	\$ 18.91 \$ 6,017.00
Корр	Stephen	Heavy Driver	University Housing Services	12.00	1.00	•	\$ 27.19
Korte Koscielak	Francis Jane	Admissions and Records Officer Academic Advisor	Graduate School Special Education	12.00 11.00	1.00 1.00	•	\$ 22.47 \$ 5,164.00
Kosur	Allyson	Business Administrative Assoc	Superintendence	12.00	1.00	•	\$ 26.80
Kosuth Kotiw	Elizabeth Brittney	Administrative Aide Program Coordinator	Mennonite College of Nursing Dean of Students	12.00 12.00	1.00 1.00	•	\$ 24.20 \$ 4,140.00
Kovacek	Maja	Head Womens Tennis Coach	Intercollegiate Athletics	12.00	1.00	•	\$ 4,699.00
Kowalczyk Kraft	Laura Alex	Program Coordinator Pharmacy Tech II	Conference Services Health Services	12.00 12.00	0.75 1.00	•	\$ 25.10 \$ 23.73
Kraft	Alex	IT Support Assoc	Client Services	12.00	1.00	•	\$ 28.98
Kraft Kralis	Ryan Raymond	IT Support Assoc Head Mens Golf Coach	Client Services Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 33.12 \$ 6,465.00
Kramos	Raymond Katina	Head Womens Softball Coach	Intercollegiate Athletics	12.00	1.00	\$ 8,334.00	\$ 8,334.00
Krautwurst Kruger	Judith Michael	Office Support Specialist Dir Labor Rel Acad EE Rel	Chemistry Human Resources	12.00 12.00	1.00 1.00	•	\$ 17.60 \$ 13,931.00
Kuchan	Micah	IT Tech Assoc	Infrastructure Op & Networking	12.00	1.00	\$ 5,607.00	\$ 5,803.00
Kulow Kumi-Darfour	Danielle Quanisha	Radiologic Technologist Mgr Program Director	Health Services Career Services	12.00 12.00	1.00 1.00	-	\$ 30.15 \$ 6,862.00
Kunde	Donald	Safety Env Compl Assoc	Environmental Health & Safety	12.00	1.00		\$ 9,880.00
Kunde Kurz	Margaret Steven	Administrative Aide Food Serv Sanitation Laborer	School of Kinesiology and Recr Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 26.52 \$ 18.91
Ladtkow	Cheryl	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.72
Laesch	Jay Alicia	Business Administrative Assoc Program Coordinator	Event Management, Dining and H Comptroller's Office	12.00 12.00	1.00 1.00		\$ 6,338.00 \$ 5,554.00
Lage Laible	Alicia Rebecca	Academic Advisor	University College	12.00	1.00	•	\$ 5,554.00 \$ 3,600.00
Lair Laird	Angela Juli	Graphic Designer Medical Office Associate	University Marketing & Communi Health Services	12.00 12.00	1.00 1.00	•	•
Laird LaMar	Loren	Police Corporal	University Police Department	12.00	1.00	\$ 37.84	•
Lamb Lancaster	Deborah	Program Coordinator	Admissions Mathematics	12.00 11.00	1.00 1.00	•	\$ 6,931.00 \$ 5,900.00
Lancaster Landes	Laura Lynda	Coord Clinical Experiences Teacher Aide	Thomas Metcalf School	12.00	1.00		\$ 5,900.00
Langdon	Bridget	Admissions and Records Officer	Office of International Engage	12.00	1.00 1.00		•
Langdon Langdon	Janis Jeremy	Business Administrative Assoc Animal Care Coordinator	Budget Office School of Biological Sciences	12.00 12.00	1.00 1.00	. ,	\$ 7,700.00 \$ 4,801.00
Laning	Sarah	Medical Office Specialist	Communication Sciences and Dis	12.00	1.00	\$ 17.96	\$ 19.27
Lannin	Jesse Crystal	IT Tech Assoc Academic Advisor	Web and Interactive Communicat School of Teaching and Learnin	12.00 12.00	1.00 1.00	•	\$ 5,758.00 \$ 4,055.00
Lanter	Connor	Building Service Worker	Janitorial	12.00	1.00	\$ 18.97	\$ 22.83
Lapping Larkin	Megan Patricia	Office Manager Supervisor Clinical	College of Business Support Un Communication Sciences and Dis	12.00 12.00	1.00 1.00	•	\$ 19.89 \$ 6,768.00
Larson	John	Office Administrator	Environmental Health & Safety	12.00	1.00	\$ 18.38	\$ 21.95
Lartz Lashure	Maribeth Kurt	Spon Proj Program Coord Business Administrative Assoc	Special Education Dean of Fine Arts	12.00 12.00	0.40 1.00	•	\$ 37.50 \$ 5,261.00
Lattan	Paul	Police Telecommunicator	University Police Department	12.00	1.00	\$ 22.59	\$ 24.11
Lauf Laurson	Chance Jamie	Golf Course Pro Shop Assistant Program Coordinator	Golf Course Health Promotion and Wellness	12.00 12.00	1.00 0.80	•	\$ 16.70 \$ 4,323.00
Law	Joshua	Police Officer	University Police Department	12.00	1.00	\$ 32.23	\$ 34.31
Lawhun	Christa	Customer Service Rep	Superintendence	12.00	1.00	\$ 21.41	\$ 22.16

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Lawless Lawrence	Lisa Edward	Program Coordinator Building Mechanic	University College Bldg Maint Bond Rev	12.00 12.00	1.00 1.00	•	\$ 5,610.00 \$ 29.31
Lawrence	Rachel	Asst Chief Accountant	Comptroller's Office	12.00	1.00	\$ 5,886.00	\$ 6,092.00
Lawson Layden	Justin Joshua	Housing Representative Senior Library Specialist	University Housing Services Milner Library	12.00 12.00	1.00 1.00	•	\$ 22.77 \$ 20.99
Leach	David	Asst Supt of Building Maintena	Bldg Maint Bond Rev	12.00	1.00	\$ 7,619.00	\$ 8,123.00
Leathers Lee	Mathew Hyojung	Accounting Specialist Graphic Designer Assoc	Comptroller's Office Ctr for Integrated Professiona	12.00 12.00	1.00 0.50	•	\$ 23.52 \$ 20.94
Legett	William	Dir Event Mgmt Din Hosp	Event Management, Dining and H	12.00	1.00	\$ 11,763.00	\$ 12,175.00
Leggins Legrand	Christopher Robert	Library Specialist IT Tech Assoc	Milner Library College of Arts & Sci-Informat	12.00 12.00	1.00 1.00	•	\$ 19.27 \$ 30.16
Leisner	Maureen	Asst to Dir of Univ Union	Event Management, Dining and H	12.00	0.60	\$ 29.20	\$ 30.22
Leitschuh LeMieux	Joseph Jeanne	Pipefitter Admissions Records Asst	Building Maintenance Registrar	12.00 12.00	1.00 1.00	•	\$ 47.80 \$ 17.81
Lensby	Daniel	Strength Conditioning Coord	Intercollegiate Athletics	12.00	1.00		\$ 4,196.00
Leonard Leslie	Diane Rebecca	Administrative Aide Admissions and Records Officer	Communication Sciences and Dis Registrar	12.00 12.00	1.00 1.00	•	\$ 36.95 \$ 20.14
Lewis	Cecelia	Academic Advisor	University College	12.00	1.00	•	\$ 3,702.00
Lewis Lewis	Jacob Parker	Culinary Worker III Coach	Event Management, Dining and H Campus Recreation	12.00 12.00	1.00 1.00		\$ 21.23 \$ 5,083.00
Lewis-Pratl	Krystal	Coord Clinical Experiences	Special Education	12.00	1.00	\$ 6,030.00	\$ 5,434.00
Li Li	Dongmei Nianci	Accounting Associate Culinary Worker II	Advancement & Foundation Opera Event Management, Dining and H	12.00 12.00	1.00 1.00		\$ 7,763.00 \$ 15.64
Libert	Melissa	Dir Development	Radio Station WGLT	12.00	1.00		\$ 8,337.00
Lichty Lin	Erika Alan	Licensed Practical Nurse II IT Tech Assoc	Health Services Web and Interactive Communicat	12.00 12.00	1.00 1.00		\$ 24.13 \$ 5,624.00
Lin	Sarah	Special Ed Paraprofessional	Laboratory Schools Superintend	12.00	1.00	•	\$ 15.40
Lindbom Lindbom	Chloe Jason	Senior Events Coordinator Senior Agricultural Rsrch Tech	Event Management, Dining and H Agriculture	12.00 12.00	1.00 1.00	•	\$ 3,881.00 \$ 5,865.00
Lindsay	Kevin	Accounting Specialist	Event Management, Dining and H	12.00	1.00	\$ 21.74	\$ 22.50
Lindsey Lindstrom	Danielle Matthew	Program Director IT Tech Assoc	Vice President & Provost Office of Technology Solutions	12.00 12.00	1.00 1.00		\$ 8,431.00 \$ 6,129.00
Lisowski	Nicholas	Program Coordinator	Thomas Metcalf School	12.00	1.00	\$ 19.71	\$ 22.47
Little Litwiller	Sally	Administrative Aide Office Administrator	Agriculture Superintendence	12.00 12.00	1.00 1.00	•	\$ 30.13 \$ 21.26
Lobello	Joann Anthony	Office Administrator Program Coordinator	Superintendence School of Theatre and Dance	12.00 12.00	1.00	•	\$ 21.26 \$ 19.50
Lockett	Rachael	Office Support Specialist	University Housing Services	12.00	1.00	•	\$ 17.27
Lockwood Bean Lofgren	Elaine Lisa	Architect University Business Administrative Assoc	Facilities Planning University Galleries	12.00 12.00	1.00 1.00		\$ 10,350.00 \$ 21.42
Logan-Rexroat	Chasity	Program Assistant	Ctr for Integrated Professiona	12.00	1.00	\$ 25.74	\$ 26.64
Loiselle Lonergan	Madalyn Sanson	Senior Library Specialist Food Court/Snack Bar Attendant	Milner Library Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 21.21 \$ 15.64
Long	Cody	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Long Long	Dallas Donna	Dean Milner Library Academic Contract Specialist	Milner Library Human Resources	12.00 12.00	1.00 1.00	•	\$ 17,431.00 \$ 31.48
Long	Erika	Building Service Worker	Janitorial	12.00	1.00	\$ 18.97	\$ 22.83
Long Long	Karen Todd	Printing Production Coord Benefits Service Supervisor	University Marketing & Communi Human Resources	12.00 12.00	1.00 1.00	•	\$ 26.74 \$ 30.49
Lopez	Nishly	Coord Residence Hall	University Housing Services	12.00	1.00	•	\$ 3,881.00
Loscar Lovell	Adam Rhonda	Campus Parking Mgr Human Resource Associate	Parking & Transportation Human Resources	12.00 12.00	1.00 1.00		\$ 6,745.00 \$ 37.28
Lowe	Jessica	Program Coordinator	Research Ethics & Compliance	12.00	1.00	•	\$ 6,728.00
Lowry	Samantha	Program Coordinator	Alumni Engagement	12.00	1.00	•	\$ 4,821.00
Loyer Lozano	Tara Gabriela	Coach Laboratory School Admissions Counselor	University High School Admissions	4.00 12.00	0.09 1.00	•	\$ 900.00 \$ 3,333.00
Lucas	Cristian	Coord Residence Hall	University Housing Services	12.00	1.00	•	\$ 4,158.00
Lucas Ludolph	Shaunna Rebecca	Office Support Specialist Program Director	Special Education Health Services	12.00 12.00	1.00 1.00	•	\$ 17.94 \$ 8,035.00
Ludwig	Luke	Physical Science Staff Asst	Chemistry	12.00	1.00		\$ 18.91
Lugo Lukoskie	Meghan Grace	Human Resource Officer Building Service Worker	Human Resources Janitorial	12.00 12.00	1.00 1.00	•	\$ 28.37 \$ 19.64
Lukoskie	Gregg	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Lullo Lund	Michael Kevin	Building Service Worker IT Tech Assoc	Janitorial Infrastructure Op & Networking	12.00 12.00	1.00 1.00	•	\$ 19.64 \$ 5,900.00
Luvaluka	Lambert	Building Service Worker	Janitorial	12.00	1.00	\$ 15.54	\$ 16.55
Lynch Lynch	Jill Susan	Dietitian Nutritionist Business Administrative Assoc	Health Services President's Office	12.00 12.00	0.53 1.00	•	\$ 32.87 \$ 6,728.00
Lynn	Jeffrey	Police Sergeant	University Police Department	12.00	1.00	\$ 43.48	\$ 45.00
Maaks Machek	Christopher David	Pipefitter Parking Serv Agent II	Building Maintenance Parking & Transportation	12.00 12.00	1.00 1.00	•	\$ 47.80 \$ 17.73
Macias	Rafael	Carpenter	Building Maintenance	12.00	1.00	•	\$ 36.09
Mackle MacLeod	Clinton Megan	Culinary Worker V Program Director	Event Management, Dining and H Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 23.38 \$ 6,917.00
Madison	JaTevin	Asst Mens Football Coach	Intercollegiate Athletics	12.00	1.00	•	\$ 3,821.00
Magana Magiora	Jesus	Program Assistant Asst Athletic Trainer	Alumni Engagement	12.00 12.00	1.00 1.00	•	\$ 4,583.34 \$ 5,000.00
Magiera Maginnis	Justyna Alice	Deputy General Counsel	Intercollegiate Athletics Office of General Counsel	12.00	1.00		\$ 5,000.00 \$ 15,043.00
Mahasi	Jodi	Police Officer Intern	University Police Department	12.00	1.00	•	\$ 29.81
Mahatanankoon Maher	Phornsawan Dillon	Admissions and Records Coord Marketing Associate	Registrar Admissions	12.00 12.00	0.40 1.00	•	\$ 24.00 \$ 5,803.00
Mahle	Michael	Graphic Design Manager	University Marketing & Communi	12.00	1.00	\$ 5,285.00	\$ 5,470.00
Maier Makely	Greg Jasmin	IT Support Assoc Building Service Worker	Ctr for Integrated Professiona Janitorial	12.00 12.00	1.00 1.00	•	\$ 4,771.00 \$ 19.64
Maldonado	Eveliz	Coord Residence Hall	University Housing Services	12.00	1.00	•	\$ 4,017.00
Malladi Mallers	Laxmi Lyndi	IT Tech Assoc Program Assistant	Application Services Student Access and Accommodati	12.00 12.00	1.00 1.00		\$ 6,874.00 \$ 27.81
Malone	Corinne	Academic Advisor	Agriculture	12.00	1.00	\$ 5,517.00	\$ 5,710.00
Malone Mancias	Robert Daniel	Police Officer Equipment Attendant	University Police Department School of Kinesiology and Recr	12.00 12.00	1.00 1.00	•	\$ 38.24 \$ 16.39
Mandiangu	Justine	Culinary Worker II	Event Management, Dining and H	12.00	1.00	\$ 14.69	\$ 15.64
Manieri Manley	Lukas Noble	Coach Laboratory School Building Service Worker	University High School Janitorial	3.00 12.00	0.09 1.00	•	\$ 667.00 \$ 19.64
Mann	Brady	Dir Office Of Energy Mgmt	Office of Energy Management	12.00	1.00	•	\$ 13,369.00
Mann	Kimberly	Spon Proj Admin	School of Social Work	12.00	0.50	•	\$ 5,000.00
Manzingidi Mapes	Beatrice Krysta	Culinary Worker III Program Coordinator	Event Management, Dining and H Milner Library	12.00 12.00	1.00 1.00	•	\$ 18.91 \$ 5,175.00
Mardis	Tyler	Senior Photographer	University Marketing & Communi	12.00	1.00	\$ 17.50	\$ 21.24
Mark Markert	Karen Andrea	Coord Clin Couns Career Prog Principal Univ High School	Psychology University High School	12.00 12.00	1.00 1.00	•	\$ 7,400.00 \$ 10,809.00
Marple	David	Program Director	Risk Management	12.00	1.00	\$ 11,212.00	\$ 11,604.00
Marquardt Marquez	William Angelina	Assoc Ag Research Tech Mailing Equip Opr Expd II	Agriculture Mail Service Center	12.00 12.00	1.00 1.00	•	\$ 4,348.00 \$ 18.68
Marquez	Elexus	Human Resource Officer	Human Resources	12.00	1.00	\$ 27.03	\$ 30.77
Marr Marshall	Richard Eric	Pipefitter Foreman	Building Maintenance	12.00 12.00	1.00	•	\$ 52.58 \$ 23.45
Marshall Marshall	Eric Heather	Building Mechanic Business Administrative Assoc	Building Maintenance Dean of Students	12.00 12.00	1.00 1.00	•	\$ 23.45 \$ 22.83
	Michelle	Building Service Worker	Janitorial	12.00	1.00	•	\$ 22.83
	/\ pa = = = = = = = = = = = = = = = = = =	Academic Advisor	School of Biological Sciences	12.00	1.00		\$ 4,658.00
Martin	Amanda Anne	IT Support Assoc	Infrastructure Op & Networking	12.00	1.00	\$ 30.05	\$ 31.10
Martin Martin Martin	Anne Christina	IT Support Assoc Program Coordinator	Honors Program	12.00	1.00	\$ 4,881.00	\$ 5,052.00
Martin Martin Martin Martin	Anne Christina Jacob	IT Support Assoc Program Coordinator Culinary Worker V	Honors Program Event Management, Dining and H	12.00 12.00	1.00 1.00	\$ 4,881.00 \$ 22.58	\$ 5,052.00 \$ 23.38
Marshall Martin	Anne Christina	IT Support Assoc Program Coordinator	Honors Program	12.00	1.00	\$ 4,881.00 \$ 22.58 \$ 18.67 \$ 14.69	\$ 5,052.00

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Martinez Martinez	Dariana	Academic Advisor	University College Janitorial	12.00 12.00	1.00 1.00	•	\$ 3,536.00 \$ 22.83
Martinez	Jose Mario	Building Service Worker Building Service Worker	Janitorial Janitorial	12.00	1.00	•	\$ 22.83 \$ 22.83
Martinez	Mario	Building Service Worker	Janitorial	12.00	1.00	•	\$ 19.64
Masker Mason	Karli Lisa	Spon Proj Program Coord Human Resource Associate	Special Education Human Resources	12.00 12.00	1.00 1.00		\$ 6,750.00 \$ 10,686.00
Masters	Denice Michael	Administrative Aide Asst Mens Basketball Coach	Dean of Arts & Sciences	12.00 12.00	1.00 1.00	•	\$ 26.30
Mastroianni Matej	Aaron	Business Administrative Assoc	Intercollegiate Athletics Superintendence	12.00	1.00	•	\$ 4,910.00 \$ 5,460.00
Matters	Alexandra	Head Womens Volleyball Coach	Intercollegiate Athletics	12.00	1.00		\$ 10,417.00
Mattson Matundu	Katrina Nkuthi	Food Court/Snack Bar Attendant Building Service Worker	Event Management, Dining and H Janitorial	12.00 12.00	1.00 1.00	•	\$ 15.64 \$ 22.83
Maurer	Kylie	Program Coordinator	Katie School of Insurance and	12.00	1.00	•	\$ 5,651.00
Maurer Mavros	Nicole Jeffrey	Program Coordinator Dir Admissions	School of Teaching and Learnin Admissions	12.00 12.00	1.00 1.00	•	\$ 5,218.00 \$ 13,310.00
Maxedon	Jarod	Admissions and Records Repr	Registrar	12.00	1.00	•	\$ 19.01
Maxson Maxson Schwartz	Lindsay Marcia	Staff Counselor Procurement Officer	Student Counseling Services Comptroller's Office	12.00 12.00	1.00 1.00		\$ 5,175.00 \$ 25.48
Mayr	Kayla	Food Court/Snack Bar Attendant	Event Management, Dining and H	12.00	1.00	•	\$ 15.64
Mayr Mays	Lisa Jason	Food Service Administrator I IT Support Assoc	Event Management, Dining and H Student Affairs Information Te	12.00 12.00	1.00 1.00	•	\$ 21.85 \$ 7,070.00
Mbaki	Mamie	Culinary Worker III	Event Management, Dining and H	12.00	1.00	•	\$ 18.91
Mbuilu Mbuilu	Serge Wivine	Building Service Worker Culinary Worker III	Janitorial Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 18.91
McBride	Raymond	Manager Radio Station WGLT	Dean of Arts & Sciences	12.00	1.00		\$ 9,420.00
McCaddon McCann	David Megan	Building Mechanic Program Coordinator	Event Management, Dining and H Conference Services	12.00 12.00	1.00 1.00	•	\$ 29.31 \$ 4,891.00
McCannon	Betty	Senior Library Specialist	Milner Library	12.00	1.00	•	\$ 36.72
McCarthy McCauley	Kate James	Admissions Counselor Grounds Worker	Admissions Campus Services Division / Gro	12.00 12.00	1.00 1.00		\$ 3,799.00 \$ 21.93
McCauley	Rhonda	Business Administrative Assoc	Superintendence	12.00	1.00	\$ 29.73	\$ 5,434.00
McCauley Mccleskey	Sarah Ballard	Food Serv Sanitation Laborer IT Manager Admin Coord	Event Management, Dining and H Office of Technology Solutions	12.00 12.00	1.00 1.00	•	\$ 21.23 \$ 7,571.00
McClure	Jacqueline	Supervisor Clinical	Communication Sciences and Dis	12.00	1.00	\$ 7,231.00	\$ 7,484.00
McCombs McCormick	Christopher Christina	Asst Coord Food Service Administrator III	University College Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 4,609.00 \$ 4,685.00
McCoy	Christian	Police Officer	University Police Department	12.00	1.00	\$ 35.58	\$ 36.83
McCrary McCrone	Adam Jason	Dir Envrnmntl Health Safety IT Support Assoc	Environmental Health & Safety College of Arts & Sci-Informat	12.00 12.00	1.00 1.00		\$ 14,283.00 \$ 30.61
McCrone	Kevin	IT Tech Assoc	Student Affairs Information Te	12.00	1.00	•	\$ 8,251.00
McCrone McCue	Megan Timothy	IT Tech Assoc Area Coord Residential Life	Comptroller's Office University Housing Services	12.00 12.00	1.00 1.00	•	\$ 3,824.00 \$ 4,989.00
McCullough	Dean	Staff Counselor	Student Counseling Services	12.00	1.00		\$ 5,887.00
McDaniel McDaniels	Lianna Christopher	Staff Counselor (intern) Supvr of Res Hall Attdts	Student Counseling Services University Housing Services	12.00 12.00	1.00 1.00	•	\$ 3,239.00 \$ 23.02
McDermott	Christopher	Academic Advisor	School of Teaching and Learnin	12.00	1.00	•	\$ 4,054.00
McDermott-Mast McDonald	Kimberly	Program Coordinator	Clinical Experiences in Teache	12.00	1.00		\$ 4,464.00
McDougall	Taylor Katelyn	Program Coordinator Academic Advisor	Advancement & Foundation Opera College of Business Student Ad	12.00 12.00	1.00 1.00		\$ 5,445.00 \$ 3,578.00
McDowell	Char-Michelle	Academic Advisor	University College	12.00	1.00		\$ 3,912.00
McEvoy McEwen	Chad Jonathan	Dean Appl Sci and Technology Coord Residence Hall	Dean of Applied Science and Te University Housing Services	12.00 12.00	1.00 1.00	•	\$ 20,834.00 \$ 4,017.00
McGill	Danielle	Culinary Worker III	Event Management, Dining and H	12.00	1.00	•	\$ 18.91
McGowan Mcgowen	Christina Montana	Building Service Worker IT Support Assoc	Janitorial College of Business Support Un	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 27.95
Mcgrath-Rodriguez	Patricia	Business Administrative Assoc	University Police Department	12.00	1.00	•	\$ 31.86
McGraw McGuire	Douglas Patricia	Academic Advisor Food Court/Snack Bar Attendant	Honors Program Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 3,536.00 \$ 15.64
Mcguire	Patrick	Program Assistant	Registrar	12.00	1.00		\$ 30.18
McIntosh McKearn	Joshua Michael	Building Service Worker Building Service Worker	Janitorial Janitorial	12.00 12.00	1.00 1.00	•	\$ 16.55 \$ 22.83
McKeon	Nathan	Asst Agricultural Rsrch Tech	Agriculture	12.00	1.00	•	\$ 21.35
McKinnon McLauchlan	Megan Craig	Business Administrative Assoc Assoc VP Rsrch Grad Studies	University Housing Services Graduate School	12.00 12.00	1.00 1.00	•	\$ 7,248.00 \$ 16,981.00
McLean	Brenna	Pharmacy Tech II	Health Services	12.00	1.00	•	\$ 23.73
McLoda McManaway	Todd Thomas	Dean Education Campus Recreation Coordinator	Dean of Education Campus Recreation	12.00 12.00	1.00 1.00	. ,	\$ 21,406.00 \$ 4,226.00
McMath	Alek	Marketing Associate	Graduate School	12.00	1.00	•	\$ 4,167.00
McMurray McNamara	Daniel Michael	Coordinator Building Operating Engineer	Dean of Students Bldg Maint Bond Rev	12.00 12.00	1.00 1.00	•	\$ 4,227.00 \$ 32.24
McNiff	Sean	Grounds Worker	Campus Services Division / Gro	12.00	1.00	-	\$ 21.93
McNulty Mead	Patrick Donald	Academic Advisor Payroll Spec III	University College Comptroller's Office	12.00 12.00	1.00 1.00	•	\$ 4,607.00 \$ 28.57
Meadors	Russell	IT Tech Assoc	Infrastructure Op & Networking	12.00	1.00	\$ 6,038.00	\$ 6,249.00
Medina Mehrkens	Autumn Kara Marie	Coord Residence Hall IT Tech Assoc	University Housing Services Comptroller's Office	12.00 12.00	1.00 1.00	•	\$ 4,017.00 \$ 31.31
Meier	Danielle	Office Administrator	Department of Management	12.00	1.00	\$ 22.22	\$ 23.00
Meier Meier	Kelly Rebecca	Food Service Administrator III Food Service Administrator III	Event Management, Dining and H Event Management, Dining and H	12.00 12.00	1.00 1.00		\$ 4,519.00 \$ 4,519.00
Meiners	Angela	Office Manager	Politics and Government	12.00	1.00	\$ 17.38	\$ 19.89
Meister Mellott	Paul Rebecca	Coord Acad Serv Procurement Officer Specialist	Geography, Geology, and the En Comptroller's Office	12.00 12.00	1.00 1.00	•	\$ 5,127.00 \$ 5,607.00
Melody	Samantha	Culinary Worker II	Event Management, Dining and H	12.00	1.00	\$ 15.14	\$ 15.64
Melville Menacher	Matthew Benjamin	Police Sergeant Accountant III	University Police Department Comptroller's Office	12.00 12.00	1.00 1.00	•	\$ 45.00 \$ 4,335.00
Mendoza Anguiano	Angelica	Building Service Worker	Janitorial	12.00	1.00	\$ -	\$ 16.55
Mengarelli Meranda	Benjamin Samantha	IT Manager Admin Coord Associate Director	Enterprise Data and Analytics Admissions	12.00 12.00	1.00 1.00		\$ 9,521.00 \$ 5,406.00
Mercer	Kyle	Bldg Automation Technician I	Building Maintenance	12.00	1.00	•	\$ 40.75
Merkle Merrick	Dorothy Larissa	Administrative Assistant Licensed Practical Nurse II	English Health Services	12.00 12.00	1.00 1.00	•	\$ 25.65 \$ 24.13
Messamore	Jill	Marketing Associate	Illinois Tutoring Initiative	12.00	1.00	\$ -	\$ 5,175.00
Mester Metternich	Kate	Academic Advisor Coordinator	University College	12.00	1.00 1.00		\$ 3,912.00
Metternich Metzger	Sydney Ella	Academic Advisor	School of Biological Sciences University College	12.00 12.00	1.00		\$ 4,658.00 \$ 3,577.00
Meyer Meyer	Amy Stacey	Business Administrative Assoc Business Administrative Assoc	Wonsook Kim School of Art	12.00 12.00	1.00 1.00	•	\$ 4,223.00 \$ 5,753.00
Meyers Meyers	Stacey Derek	Program Coordinator	Laboratory Schools Superintend University Assessment Services	12.00	1.00		\$ 5,753.00 \$ 5,202.00
Meyers Michalak	Tyler Nichelle	Admissions Counselor	Admissions Special Education	12.00 12.00	1.00 1.00		\$ 3,776.00 \$ 10,424.00
Milewski	Denise	Spon Proj Admin Accounting Specialist	Event Management, Dining and H	12.00	1.00	•	\$ 10,424.00 \$ 22.50
Millard	Travis	Office Support Specialist	University High School	12.00 12.00	1.00	•	\$ 17.60 \$ 4.658.00
Miller Miller	Amelia Angela	Events Administrator Associate Electrician	Dean of Students Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 4,658.00 \$ 42.98
Miller	Elizabeth	IT Tech Assoc	College of Arts & Sci-Informat	12.00	1.00	\$ -	\$ 24.00
Miller Miller	Emilee H	Admissions Records Asst Dean Mennonite Col of Nursing	Registrar Mennonite College of Nursing	12.00 5.00	1.00 1.00	•	\$ 18.05 \$ 11,800.00
Miller	Jean	Dean W Kim Col Fine Arts	Dean of Fine Arts	12.00	1.00	\$ 17,877.00	\$ 18,503.00
Miller Miller	Justin Kathleen	Facility Operations Specialist Building Service Worker	Event Management, Dining and H Janitorial	12.00 12.00	1.00 1.00	•	\$ 25.85 \$ 19.64
Miller	Matthew	Food Service Stores Laborer	Event Management, Dining and H	12.00	1.00	\$ 22.58	\$ 23.38
Miller Miller-Schuster	Nicholas Danielle	Office Support Specialist Assoc VP Student Affairs	Thomas Metcalf School Vice President Student Affairs	12.00 12.00	1.00 1.00	•	\$ 17.45 \$ 18,631.00
Miner	Stephen	Program Coordinator	Illinois Tutoring Initiative	12.00	1.00	\$ 25.46	\$ 6,048.00
Mintz	Lataundia	IT Tech Assoc	Student Affairs Information Te	12.00	1.00	\$ 5,653.00	\$ 6,436.00

March Marc	Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Method M			_				-	\$ 22.83 \$ 18.91
Monteman	Mitchell	Susan	Office Manager	Mathematics	12.00	1.00	\$ 18.64	\$ 19.30
Mellon			_	_			-	•
Money		•	_				-	\$ 26.54 \$ 19.64
Montestance Alberter Person Service Service Service Course Vertice Course Cours	Monson	Cristen	Academic Advisor	School of Theatre and Dance	12.00	1.00	\$ 4,455.00	\$ 4,633.00
Moreagn April		•	_	, .			•	•
Money Brand			•				-	•
Medical Program Cooperating Decremon college of Nation 1200 100 3 1,244.00	Moody	Brian	Coach Laboratory School	University High School	4.00	0.09	\$ 800.00	\$ 800.00
Manue Marcine Marcin	•						\$ 6,124.00	
Monte Mont	•	•	•	, -			-	•
Mature Martine Canada Waster Canada Service Smith of Canada 1.00 1.	Moore	Dwayne	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Manages								
Movement								
Morgan M	Moore	Stephen	IT Tech Assoc	Client Services	12.00	1.00	\$ -	\$ 4,584.00
Medical March Ma		•						\$ 5,965.00 \$ 13,369.00
Mortis Lacis College Manager Conference Services 12.00 1.00 5 1.86 5	_	•	•				•	
Morror	Morkin	Lucia	Office Manager	Conference Services	12.00	1.00	\$ 18.86	\$ 19.53
Moranstern Mor			_				•	\$ 16.55 \$ 6,295.00
Montantenin		•		,				
Mores				•			-	•
Montrop			_					•
Majoration Clement Mailing Seconds worker University Housing Services 12.00 1.00	Moss	Christy	Program Coordinator	Event Management, Dining and H	12.00	1.00	\$ 24.06	\$ 5,500.00
Modernmenhow Sombo			_				-	•
Modern	Mudiandambo		Accounting Officer			1.00	\$ 20.67	•
Mulmemod			-					\$ 18.91 \$ 16.55
Makemula Olivier Doubleting Service Worker Janiforal 12.00 10.0 5 12.00		•	•	, -				•
Mulumpa	Mukendi	Olivier	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Mummar			_				•	
Mummphy	Mulunga	Yvette	Culinary Worker III		12.00		•	•
Murphy		•					•	
Murphy Sari								
Murray	Murphy	Kari	Program Director	Dean of Students	12.00	1.00	\$ 5,434.00	\$ 5,624.00
Murray Anthony IT Support Assoc College of Arts & Sch-Informat 1,00 1,00 5 3,39,00 5							-	•
Murray Sadeja Area Cord Residential Life University Housing Services 12.00 1.00 5 22.8 5	Murray	•		College of Arts & Sci-Informat				\$ 22.98
Mury Vander Van	•			_			•	•
Mayor							-	•
Mowilambwe Moboka Die EOA Title K. Coord Office of Equal Opportunity & 12.00 1.00 \$ 6,570.00 \$ Mivariambwe Dance Program Coordinator Stevenson Circ Community/Econom 12.00 1.00 \$ 4,744.00 \$ Myers Sarey Dance Program Coordinator Stevenson Circ Community/Econom 12.00 1.00 \$ 4,744.00 \$ Myers Sally Subiness Administrative Assoc Registrar 12.00 1.00 \$ 3,927.00 \$ Nafriger Sarah Academic Advisor University College 12.00 1.00 \$ 3,927.00 \$ Naric Carroll Lim Dir Toch and Bidg Services Circ for Integrated Professiona 12.00 1.00 \$ 7,333.00 \$ Nance Carroll Lim Dir Toch and Bidg Services College of Business Support Un 12.00 1.00 \$ 7,333.00 \$ Navickas Tommy Marketing Associate Educational Administration & F 12.00 1.00 \$ 4,554.00 \$ Navickas Tommy Marketing Associate Educational Administration & F 12.00 1.00 \$ 4,554.00 \$ Neff Johathon IT ech Assoc Application Services 12.00 1.00 \$ 5,417.00 \$ Nelson Addrew IT Support Assoc Glent Services 12.00 1.00 \$ 5,417.00 \$ Nelson Bariel Automotive Technician Transportation-Physical Plant 12.00 1.00 \$ 5,417.00 \$ Nelson Liliana Automotive Technician Transportation-Physical Plant 12.00 1.00 \$ 1.0	Muse	Chad	IT Tech Assoc	Enterprise Data and Analytics	12.00	1.00	\$ 6,072.00	\$ 6,285.00
Myers Dane	•		•				•	•
Nadeau Sally Business Administrative Assoc Registrar 12.00 1.00 \$ 2.89 \$ Natafriger Sarah Academic Advisor University College 12.00 1.00 \$ 5.688.00 \$ Nakamura Mayuko Program Coordinator Cir for Integrated Professiona 12.00 1.00 \$ 5.688.00 \$ Nakamura Mayuko Program Coordinator Cir for Integrated Professiona 12.00 1.00 \$ 5.688.00 \$ Navickas Julie Academic Advisor School of Communication 12.00 1.00 \$ 4.824.00 \$ Navickas Tommy Marketing Associate Educational Administration & F 12.00 1.00 \$ 4.824.00 \$ Ned Michael Culinary Worker III Event Management, Dining and H 12.00 1.00 \$ 5.617.00 \$ 5.617.00 \$ 1.00 \$ 6.00 \$ 5.617.00 \$ 1.00 \$ 6.00		•		University Housing Services				. ,
Nakamura Mayuko Program Coordinator Crr for Integrated Professiona 1.200 1.00 \$ \$,888.00 \$ Navickas Julie Academic Advisor School of Communication 1.200 1.00 \$ 4,834.00 \$ Navickas Mulie Academic Advisor School of Communication 1.200 1.00 \$ 4,854.00 \$ Navickas Mulie Academic Advisor School of Communication 1.200 1.00 \$ 4,554.00 \$ Navickas Mulie Academic Advisor School of Communication 1.200 1.00 \$ 4,554.00 \$ Navickas Mulie Academic Advisor School of Communication 1.200 1.00 \$ 4,554.00 \$ Nel Michael Olinathon Tech Assoc Application Services 1.200 1.00 \$ 5,417.00 \$ Nel Jade Building Service Worker Janitorial 1.200 1.00 \$ 1.37.00 \$ Nelson Daniel Automotive Technician Transportation-Physical Plant 1.200 1.00 \$ 1.37.00 \$ Nelson Daniel Automotive Technician Transportation-Physical Plant 1.200 1.00 \$ 1.37.00 \$ Nelson Daniel Automotive Technician Transportation-Physical Plant 1.200 1.00 \$ 1.00 \$ 1.00 \$ Nelson Ulufram Asst Dir Alumin Relations Alumin Engagement 1.200 1.00 \$	-		-	• •				
Nance-Carroll Liam Dir Tech and Bidg Services College of Business Support Un 12.00 1.00 5 4,824.00 5	=							
Navickas	Nance-Carroll	Liam	Dir Tech and Bldg Services	College of Business Support Un	12.00	1.00	\$ 7,333.00	\$ 7,590.00
Neff Jonathon IT Tech Assoc Application Services 12.00 1.00 \$ 5,417.00 \$ Nells Nell Jade Building Service Worker Jantorial 12.00 1.00 \$ 13.70 \$ Nelson Andrew IT Support Assoc Client Services 12.00 1.00 \$ 13.70 \$ Nelson Daiel Automotive Technician Transportation-Physical Plant 12.00 1.00 \$ 1.82.2 \$ Nelson Juliana Asst Dir of Alumin Relations Alumin Engagement 12.00 1.00 \$ 5.75.30 \$ Nettetton Michael IT Tech Assoc Infrastructure Op & Networking 12.00 1.00 \$ 2.00 \$ 5.000.00 \$ Neutrander Judy Dean Michael Marketing Associate Milner Library 1.00 1.00 \$ 5.000.00 \$ Neurline James Business Administrative Assoc University Housing Services 1.20 1.00 \$ 5.783.00 \$							•	
Nell			-				•	
Nelson Daniel Automotive Technician Transportation-Physical Plant 12.00 1.00 \$ 18.22 \$ Nolson Elizabeth Food Serv Santation Laborer Event Management, Dining and H 12.00 1.00 \$ 18.22 \$ Nolson Juliana Asst Dir of Alumni Relations Alumni Engagement 12.00 1.00 \$ 26.32 \$ Nolson Juliana Asst Eural Opportunity Ofc Office of Equal Opportunity & 12.00 1.00 \$ 5,175.00 \$ Nolson Juliana Asst Eural Opportunity Ofc Office of Equal Opportunity & 12.00 1.00 \$ 5,175.00 \$ Nolson Juliana Asst Eural Opportunity Ofc Office of Equal Opportunity & 12.00 1.00 \$ 5,275.00 \$ Neutrander Judy Dean Mennonite Col of Nursing Mennonite College of Nursing 12.00 1.00 \$ 5,200.00 \$ Neutrander Michelle Marketing Associate Miliner Library 12.00 1.00 \$ 5,763.00 \$ Neutrander Julia Juliana Julia				• •			•	
Nelson Elizabeth Food Serv Sanitation Laborer Event Management, Dining and H 12.00 1.00 \$ 18.22 \$ Nelson Juliana Asst Dir of Alumni Relations Alumni Engagement 12.00 1.00 \$ 26.32 \$ Nelston Quinton Asst Equal Opportunity Ofc Office of Equal Opportunity & 12.00 1.00 \$ 6,700.00 \$ Neuthander Judy Dean Menonite Col of Nursing Menonite College of Nursing 12.00 1.00 \$ 20,266.00 \$ Neufler Michelle Marketing Associate Milner Library 12.00 1.00 \$ 5,783.00 \$ Neville James Business Administrative Assoc University Housing Services 12.00 1.00 \$ 5,783.00 \$ Neville Julie Senior Library Specialist Milner Library 12.00 1.00 \$ 15.00 \$ Newilne Julide Senior Library Specialist Milner Library 12.00 1.00 \$ 15.00 \$ Newilnik Daniel Police Telecommunicator							-	\$ 35.42 \$ 24.94
Nelson Quinton Ast Equal Opportunity Ofc Office of Equal Opportunity & 1.2.00 1.00 \$ 5,175.00 \$ Nettleton Michael I T Tech Assoc Office of Equal Opportunity & 12.00 1.00 \$ 6,700.00 \$ Neuffer Michelle Marketing Associate Milner Library 12.00 1.00 \$ 5,000.00 \$ Neufler Michelle Marketing Associate Milner Library 12.00 1.00 \$ 5,000.00 \$ NewIlle James Business Administrative Assoc University Housing Services 12.00 1.00 \$ 5,783.00 \$ Newline Julie Senior Library Specialist Milner Library 12.00 1.00 \$ 15.00 \$ 7,783.00 \$ Newlingham Lidics Senior Library Specialist Milner Library 12.00 1.00 \$ 1.00 \$ 1.00 \$ 1.00 \$ 1.00 \$ 1.00 \$ 1.00 \$ 1.00 \$ 1.00 \$ 1.00 \$ 1.00 \$ 1.00 \$ 1.00 \$ 1.00 \$ 1.00 \$ 1.00 \$ 1.00 <td>Nelson</td> <td>Elizabeth</td> <td>Food Serv Sanitation Laborer</td> <td>Event Management, Dining and H</td> <td>12.00</td> <td>1.00</td> <td>\$ 18.22</td> <td>\$ 21.23</td>	Nelson	Elizabeth	Food Serv Sanitation Laborer	Event Management, Dining and H	12.00	1.00	\$ 18.22	\$ 21.23
Neubrander Judy Dean Mennonite Col of Nursing Mennonite College of Nursing 12.00 1.00 \$ 20,266.00 \$ Neuffer Michelle Marketing Associate Milner library 12.00 1.00 \$ 5,000.00 \$ Newille James Business Administrative Assoc University Housing Services 12.00 1.00 \$ 5,783.00 \$ Newille Julie Senior Library Specialist Milner Library 12.00 1.00 \$ 2,05.00 \$ Newingham Lindsey Admissions Records Asst Admissions 12.00 1.00 \$ 15.00 \$ Newkirk Daniel Police Telecommunicator University Police Department 12.00 1.00 \$ 18.02 \$ Newton Andrew Business Administrative Assoc Intercollegiate Athletics 12.00 1.00 \$ 18.02 \$ Ngongo Pascal Accounting Officer Comptroller's Office 12.00 1.00 \$ 18.06 \$ Nicely Dale Construction Project Coord I Building Mai							•	
Neuffer Michelle Marketing Associate Milner Library 12.00 1.00 \$ 5,000.00 \$ Neumann Anastacia Office Manager University Housing Services 12.00 1.00 \$ 5,783.00 \$ Neville Julie Senior Library Specialist Milner Library 12.00 1.00 \$ 20.50 \$ Newlingham Lindsey Admissions Records Asst Admissions 12.00 1.00 \$ 20.50 \$ Newtorn Andrew Business Administrative Assoc Intercollegiate Athletics 12.00 1.00 \$ 1.50 \$ Newton Andrieute Culinary Worker III Event Management, Dining and H 12.00 1.00 \$ 1.82 \$ Ngandu Antoinette Culinary Worker III Event Management, Dining and H 12.00 1.00 \$ 1.822 \$ Ngandu Antoinette Culinary Worker III Event Management, Dining and H 12.00 1.00 \$ 1.80 \$ <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>•</td> <td></td>							•	
Neville James Business Administrative Assoc University Housing Services 12.00 1.00 \$ 5,783.00 \$ Neville Julie Senior Library Specialist Milner Library 12.00 1.00 \$ 2.05 \$ Newlordham Lindsey Admissions Records Asst Admissions 12.00 1.00 \$ 15.00 \$ Newton Andrew Business Administrative Assoc Intercollegiate Athletics 12.00 1.00 \$ 1.62 \$ Ngundu Antoinette Culinary Worker III Event Management, Dining and H 12.00 1.00 \$ 18.22 \$ Ngungo Pascal Accounting Officer Comptroller's Office 12.00 1.00 \$ 18.20 1.00 \$ 18.20 \$ 18.20 1.00 \$ 18.20 \$ 18.20 1.00 \$ 18.20 \$ 18.20 1.00 \$ 18.20 \$ 18.20 1.00 \$ 18.20 \$ 18.20 <t< td=""><td></td><td>•</td><td>Marketing Associate</td><td></td><td></td><td>1.00</td><td>\$ 5,000.00</td><td></td></t<>		•	Marketing Associate			1.00	\$ 5,000.00	
Neville Julie Senior Library Specialist Milner Library 12.00 1.00 \$ 20.50 \$ Newingham Lindsey Admissions Records Asst Admissions 12.00 1.00 \$ 15.00 \$ Newtorn Daniel Police Telecommunicator University Police Department 12.00 1.00 \$			_				-	
Newkirk Daniel Police Telecommunicator University Police Department 12.00 1.00 \$ - \$ Newton Andrew Business Administrative Assoc Intercollegiate Athletics 12.00 1.00 \$ - \$ Ngongo Pascal Accounting Officer Comptroller's Office 12.00 1.00 \$ 18.22 \$ Ngongo Pascal Accounting Officer Comptroller's Office 12.00 1.00 \$ 18.00 \$ Nicely Dale Construction Project Coord I Building Maintenance 12.00 1.00 \$ 18.97 \$ Nicely James Building Service Worker Janitorial 12.00 1.00 \$ 18.97 \$ Nickolson Matt Strength Conditioning Coord Intercollegiate Athletics 12.00 1.00 \$ 6.082.00 \$ Niekson Sandra Director MCN Undergrad Program Intercollegiate Athletics 12.00 1.00 \$ 18.97 \$	Neville	Julie	Senior Library Specialist	Milner Library	12.00	1.00	\$ 20.50	\$ 21.23
NganduAntoinetteCulinary Worker IIIEvent Management, Dining and H12.001.00\$ 18.22\$NgongoPascalAccounting OfficerComptroller's Office12.001.00\$ 18.06\$NguyenThanhStaff PsychologistStudent Counseling Services12.001.00\$ 2.7.58\$NicelyDaleConstruction Project Coord IBuilding Maintenance12.001.00\$ 27.58\$NicelyJamesBuilding Service WorkerJanitorial12.001.00\$ 18.97\$NicholsonMattStrength Conditioning CoordIntercollegiate Athletics12.001.00\$ 6,082.00\$NiekampTravisAsst Mens Football CoachIntercollegiate Athletics12.001.00\$ 9,160.00\$NiekampTravisAsst Mens Football CoachIntercollegiate Athletics12.001.00\$ 9,160.00\$NietoSandraDirector MCN Undergrad ProgramMennonite College of Nursing12.001.00\$ 8,160.00\$NietoAmyBuilding Service WorkerJanitorial12.001.00\$ 18.97\$NietoGuadalupeBuilding Service WorkerJanitorial12.001.00\$ 22.06\$NietoJoseBuilding Service WorkerJanitorial12.001.00\$ 22.06\$NoralanMonicaDir Clin Exp Lics ProcessesClinical Experiences in Teache12.001.00\$ 16,151.00\$Norris </td <td>=</td> <td>•</td> <td></td> <td></td> <td></td> <td></td> <td>·</td> <td>\$ 15.71 \$ 21.22</td>	=	•					·	\$ 15.71 \$ 21.22
Ngongo Pascal Accounting Officer Comptroller's Office 12.00 1.00 \$ 18.06 \$ Nguyen Thanh Staff Psychologist Student Counseling Services 12.00 1.00 \$ - \$ Nicely Dale Construction Project Coord I Building Maintenance 12.00 1.00 \$ 27.58 \$ Nicely James Building Service Worker Janitorial 12.00 1.00 \$ 6,082.00 \$ Nicholson Matt Strength Conditioning Coord Intercollegiate Athletics 12.00 1.00 \$ 6,082.00 \$ Niekamp Travis Ast Mens Football Coach Intercollegiate Athletics 12.00 1.00 \$ 9,160.00 \$ Nieto Sandra Director MCN Undergrad Program Mennonite College of Nursing 12.00 1.00 \$ 8,160.00 \$ Nieto Amy Building Service Worker Janitorial 12.00 1.00 \$ 18.97 \$ Nieto Guadalupe Building Service Worker Janitorial 12.00				_			•	\$ 24.15 \$ 18.91
NicelyDaleConstruction Project Coord IBuilding Maintenance12.001.00\$ 27.58\$NicelyJamesBuilding Service WorkerJanitorial12.001.00\$ 18.97\$NicholsonMattStrength Conditioning CoordIntercollegiate Athletics12.001.00\$ 6,082.00\$NiekampTravisAsst Mens Football CoachIntercollegiate Athletics12.001.00\$ 9,160.00\$NielsenSandraDirector MCN Undergrad ProgramMennonite College of Nursing12.001.00\$ 9,160.00\$NietoAmyBuilding Service WorkerJanitorial12.001.00\$ 18.97\$NietoCodyBuilding Service WorkerJanitorial12.001.00\$ 18.97\$NietoJoseBuilding Service WorkerJanitorial12.001.00\$ 22.06\$NietoJoseBuilding Service WorkerJanitorial12.001.00\$ 22.06\$NkanguErnestBuilding Service ForemanJanitorial12.001.00\$ 25.44\$NoralanMonicaDir Clin Exp Lics ProcessesClinical Experiences in Teache12.001.00\$ 7,968.00\$NordquistTroyCulinary Worker VEvent Management, Dining and H12.001.00\$ 22.58\$NorrisRichardStam and Power Plant IIIBuilding Maintenance12.001.00\$ 39.56\$NorrisShantiraIT Tech Asso	•		•				-	•
Nicely James Building Service Worker Janitorial 12.00 1.00 \$ 18.97 \$ Nicholson Matt Strength Conditioning Coord Intercollegiate Athletics 12.00 1.00 \$ 6,082.00 \$ Niekamp Travis Asst Mens Football Coach Intercollegiate Athletics 12.00 1.00 \$ 9,160.00 \$ Nielsen Sandra Director MCN Undergrad Program Menonite College of Nursing 12.00 1.00 \$ 8,160.00 \$ Nieto Amy Building Service Worker Janitorial 12.00 1.00 \$ 18.97 \$ Nieto Guadalupe Building Service Worker Janitorial 12.00 1.00 \$ 22.06 \$ Nieto Jose Building Service Worker Janitorial 12.00 1.00 \$ 22.06 \$ Nieto Jose Building Service Worker Janitorial 12.00 1.00 \$ 16,151.00 \$ Nieto <t< td=""><td></td><td></td><td>, -</td><td>_</td><td></td><td></td><td>•</td><td>,</td></t<>			, -	_			•	,
NiekampTravisAsst Mens Football CoachIntercollegiate Athletics12.001.00\$ 9,160.00\$NielsenSandraDirector MCN Undergrad ProgramMennonite College of Nursing12.001.00\$ 8,160.00\$NietoAmyBuilding Service WorkerJanitorial12.001.00\$ 18.97\$NietoCodyBuilding Service WorkerJanitorial12.001.00\$ 22.06\$NietoGuadalupeBuilding Service WorkerJanitorial12.001.00\$ 22.06\$NietoJoseBuilding Service WorkerJanitorial12.001.00\$ 22.06\$NkanguErnestBuilding Service ForemanJanitorial12.001.00\$ 25.44\$NoelTerryAssociate DeanDean of Business12.001.00\$ 16,151.00\$NoraianMonicaDir Clin Exp Lics ProcessesClinical Experiences in Teache12.001.00\$ 7,968.00\$NorrisGraceProgram CoordinatorMilner Library12.001.00\$ 22.58\$NorrisRichardSteam and Power Plant IIIBuilding Maintenance12.001.00\$ 39.56\$NorrisShantiraIT Tech AssocApplication Services12.001.00\$ 7,139.00\$NorthcuttWilliamBuilding Service WorkerJanitorial12.001.00\$ 7,139.00\$NorthcuttWilliamBuilding Service WorkerJanitorial <td>Nicely</td> <td>James</td> <td>Building Service Worker</td> <td>Janitorial</td> <td>12.00</td> <td>1.00</td> <td>\$ 18.97</td> <td>\$ 19.64</td>	Nicely	James	Building Service Worker	Janitorial	12.00	1.00	\$ 18.97	\$ 19.64
NietoAmyBuilding Service WorkerJanitorial12.001.00\$18.97\$NietoCodyBuilding Service WorkerJanitorial12.001.00\$18.97\$NietoGuadalupeBuilding Service WorkerJanitorial12.001.00\$22.06\$NietoJoseBuilding Service WorkerJanitorial12.001.00\$22.06\$NkanguErnestBuilding Service ForemanJanitorial12.001.00\$25.44\$NoelTerryAssociate DeanDean of Business12.001.00\$16,151.00\$NoraianMonicaDir Clin Exp Lics ProcessesClinical Experiences in Teache12.001.00\$7,968.00\$NordquistTroyCulinary Worker VEvent Management, Dining and H12.001.00\$22.58\$NorrisGraceProgram CoordinatorMilner Library12.001.00\$39.56\$NorrisRichardSteam and Power Plant IIIBuilding Maintenance12.001.00\$39.56\$NorrisShantiraIT Tech AssocApplication Services12.001.00\$7,139.00\$NorthcuttWilliamBuilding Service WorkerJanitorial12.001.00\$6,346.00\$NourieCrystalProgram DirectorRegistrar12.001.00\$6,346.00\$Nsindu <t< td=""><td></td><td></td><td></td><td>_</td><td></td><td></td><td>•</td><td>•</td></t<>				_			•	•
NietoCodyBuilding Service WorkerJanitorial12.001.00\$ 18.97\$NietoGuadalupeBuilding Service WorkerJanitorial12.001.00\$ 22.06\$NietoJoseBuilding Service WorkerJanitorial12.001.00\$ 22.06\$NkanguErnestBuilding Service ForemanJanitorial12.001.00\$ 25.44\$NoelTerryAssociate DeanDean of Business12.001.00\$ 16,151.00\$NoraianMonicaDir Clin Exp Lics ProcessesClinical Experiences in Teache12.001.00\$ 7,968.00\$NordquistTroyCulinary Worker VEvent Management, Dining and H12.001.00\$ 22.58\$NorrisGraceProgram CoordinatorMilner Library12.001.00\$ 39.56\$NorrisRichardSteam and Power Plant IIIBuilding Maintenance12.001.00\$ 39.56\$NorrisShantiraIT Tech AssocApplication Services12.001.00\$ 5,606.00\$NorthropDickIT Tech AssocInfrastructure Op & Networking12.001.00\$ 7,139.00\$NourieCrystalProgram DirectorRegistrar12.001.00\$ 6,346.00\$NsinduLievinBuilding Service WorkerJanitorial12.001.00\$ 6,346.00\$NinduNenetteBuilding Service WorkerJanitorial12.001.00								
NietoJoseBuilding Service WorkerJanitorial12.001.00\$ 22.06\$NkanguErnestBuilding Service ForemanJanitorial12.001.00\$ 25.44\$NoelTerryAssociate DeanDean of Business12.001.00\$ 16,151.00\$NoraianMonicaDir Clin Exp Lics ProcessesClinical Experiences in Teache12.001.00\$ 7,968.00\$NordquistTroyCulinary Worker VEvent Management, Dining and H12.001.00\$ 22.58\$NorrisGraceProgram CoordinatorMilner Library12.001.00\$ 39.56\$NorrisRichardSteam and Power Plant IIIBuilding Maintenance12.001.00\$ 39.56\$NorrisShantiraIT Tech AssocApplication Services12.001.00\$ 5,606.00\$NorthcuttWilliamBuilding Service WorkerJanitorial12.001.00\$ 7,139.00\$NourieCrystalProgram DirectorRegistrar12.001.00\$ 6,346.00\$NsinduLievinBuilding Service WorkerJanitorial12.001.00\$ 18.97\$NinduNenetteBuilding Service WorkerJanitorial12.001.00\$ 22.06\$NtekeAdolfoBuilding Service WorkerJanitorial12.001.00\$ 15.54\$		•	_				-	
NkanguErnestBuilding Service ForemanJanitorial12.001.00\$ 25.44\$NoelTerryAssociate DeanDean of Business12.001.00\$ 16,151.00\$NoraianMonicaDir Clin Exp Lics ProcessesClinical Experiences in Teache12.001.00\$ 7,968.00\$NordquistTroyCulinary Worker VEvent Management, Dining and H12.001.00\$ 22.58\$NorrisGraceProgram CoordinatorMilner Library12.001.00\$ -\$NorrisRichardSteam and Power Plant IIIBuilding Maintenance12.001.00\$ 39.56\$NorrisShantiraIT Tech AssocApplication Services12.001.00\$ 5,606.00\$NorthcuttWilliamBuilding Service WorkerJanitorial12.001.00\$ 7,139.00\$NourieCrystalProgram DirectorRegistrar12.001.00\$ 6,346.00\$NsinduLievinBuilding Service WorkerJanitorial12.001.00\$ 18.97\$NsinduNenetteBuilding Service WorkerJanitorial12.001.00\$ 22.06\$NtekeAdolfoBuilding Service WorkerJanitorial12.001.00\$ 15.54\$		•	_				-	•
NoraianMonicaDir Clin Exp Lics ProcessesClinical Experiences in Teache12.001.00\$ 7,968.00\$NordquistTroyCulinary Worker VEvent Management, Dining and H12.001.00\$ 22.58\$NorrisGraceProgram CoordinatorMilner Library12.001.00\$ -\$NorrisRichardSteam and Power Plant IIIBuilding Maintenance12.001.00\$ 39.56\$NorrisShantiraIT Tech AssocApplication Services12.001.00\$ 5,606.00\$NorthcuttWilliamBuilding Service WorkerJanitorial12.001.00\$ 7,139.00\$NorthropDickIT Tech AssocInfrastructure Op & Networking12.001.00\$ 7,139.00\$NourieCrystalProgram DirectorRegistrar12.001.00\$ 6,346.00\$NsinduLievinBuilding Service WorkerJanitorial12.001.00\$ 18.97\$NtekeAdolfoBuilding Service WorkerJanitorial12.001.00\$ 22.06\$	Nkangu	Ernest	Building Service Foreman	Janitorial	12.00	1.00	\$ 25.44	\$ 26.33
NordquistTroyCulinary Worker VEvent Management, Dining and H12.001.00\$22.58\$NorrisGraceProgram CoordinatorMilner Library12.001.00\$-\$NorrisRichardSteam and Power Plant IIIBuilding Maintenance12.001.00\$39.56\$NorrisShantiraIT Tech AssocApplication Services12.001.00\$5,606.00\$NorthcuttWilliamBuilding Service WorkerJanitorial12.001.00\$7,139.00\$NorthropDickIT Tech AssocInfrastructure Op & Networking12.001.00\$7,139.00\$NourieCrystalProgram DirectorRegistrar12.001.00\$6,346.00\$NsinduLievinBuilding Service WorkerJanitorial12.001.00\$18.97\$NsinduNenetteBuilding Service WorkerJanitorial12.001.00\$22.06\$NtekeAdolfoBuilding Service WorkerJanitorial12.001.00\$15.54\$		•					•	
NorrisRichardSteam and Power Plant IIIBuilding Maintenance12.001.00\$ 39.56\$NorrisShantiraIT Tech AssocApplication Services12.001.00\$ 5,606.00\$NorthcuttWilliamBuilding Service WorkerJanitorial12.001.00\$ 18.97\$NorthropDickIT Tech AssocInfrastructure Op & Networking12.001.00\$ 7,139.00\$NourieCrystalProgram DirectorRegistrar12.001.00\$ 6,346.00\$NsinduLievinBuilding Service WorkerJanitorial12.001.00\$ 18.97\$NsinduNenetteBuilding Service WorkerJanitorial12.001.00\$ 22.06\$NtekeAdolfoBuilding Service WorkerJanitorial12.001.00\$ 15.54\$	Nordquist	Troy	Culinary Worker V	Event Management, Dining and H	12.00	1.00	\$ 22.58	\$ 23.38
NorrisShantiraIT Tech AssocApplication Services12.001.00\$ 5,606.00\$NorthcuttWilliamBuilding Service WorkerJanitorial12.001.00\$ 18.97\$NorthropDickIT Tech AssocInfrastructure Op & Networking12.001.00\$ 7,139.00\$NourieCrystalProgram DirectorRegistrar12.001.00\$ 6,346.00\$NsinduLievinBuilding Service WorkerJanitorial12.001.00\$ 18.97\$NsinduNenetteBuilding Service WorkerJanitorial12.001.00\$ 22.06\$NtekeAdolfoBuilding Service WorkerJanitorial12.001.00\$ 15.54\$			_	•			•	\$ 5,250.00 \$ 40.75
NorthropDickIT Tech AssocInfrastructure Op & Networking12.001.00\$ 7,139.00\$NourieCrystalProgram DirectorRegistrar12.001.00\$ 6,346.00\$NsinduLievinBuilding Service WorkerJanitorial12.001.00\$ 18.97\$NsinduNenetteBuilding Service WorkerJanitorial12.001.00\$ 22.06\$NtekeAdolfoBuilding Service WorkerJanitorial12.001.00\$ 15.54\$	Norris	Shantira	IT Tech Assoc	Application Services	12.00	1.00	\$ 5,606.00	\$ 5,802.00
NsinduLievinBuilding Service WorkerJanitorial12.001.00\$18.97\$NsinduNenetteBuilding Service WorkerJanitorial12.001.00\$22.06\$NtekeAdolfoBuilding Service WorkerJanitorial12.001.00\$15.54\$			_		12.00	1.00	\$ 7,139.00	\$ 7,389.00
Nsindu Nenette Building Service Worker Janitorial 12.00 1.00 \$ 22.06 \$ Nteke Adolfo Building Service Worker Janitorial 12.00 1.00 \$ 15.54 \$		•	u	_			•	
	Nsindu	Nenette	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
			_				-	•
Nuckols Corynne Culinary Worker III Event Management, Dining and H 12.00 1.00 \$ 20.50 \$ Nuesken Rebecca Business Administrative Assoc Thomas Metcalf School 12.00 1.00 \$ 3,871.00 \$	Nuckols	Corynne	Culinary Worker III	Event Management, Dining and H	12.00	1.00	\$ 20.50	\$ 21.23

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Nussbaum Nutile	Danielle Arianna	Licensed Practical Nurse II Program Coordinator	Health Services Dean of Students	12.00 12.00	1.00 1.00	•	\$ 25.14 \$ 4,312.00
Nybakke	Natalie	Dishroom Supervisor	Event Management, Dining and H	12.00	1.00	\$ 22.58	\$ 23.38
O Malley Oakley	Jennifer Robert	Spon Proj Program Coord IT Tech Assoc	Dean of Education Application Services	12.00 12.00	1.00 1.00	•	\$ 7,862.00 \$ 8,035.00
Ochs O'Connell	Margaret	Food Service Administrator I	Event Management, Dining and H Campus Recreation	12.00 12.00	1.00 1.00	•	\$ 21.85 \$ 4,306.00
O'Connell	Curren Derek	Marketing Associate Academic Advisor	Philosophy	11.00	1.00	•	\$ 4,306.00 \$ 4,882.00
Odell Offutt	Nathan Nicole	Building Mechanic Spon Proj Program Coord	Bldg Maint Bond Rev School of Teaching and Learnin	12.00 12.00	1.00 1.00	•	\$ 29.31 \$ 5,175.00
Ogden	Stephanie	Accountant I	Comptroller's Office	12.00	1.00	\$ 22.25	\$ 23.14
Oglesby O'Haver	Marianne Dallas	Office Manager Asst Swim Coach	Advancement & Foundation Opera Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 19.29 \$ 3,278.00
Ojuri	Samuel	Asst Mens Football Coach	Intercollegiate Athletics	12.00	1.00	\$ 4,012.00	\$ 4,683.00
Oldenburg Olivares-Diaz	Barbra Danna	Academic Advisor Building Service Worker	Mennonite College of Nursing Janitorial	12.00 12.00	1.00 1.00	•	\$ 4,313.00 \$ 16.55
Olker	Donald	IT Tech Assoc	Application Services	12.00	1.00	\$ -	\$ 5,348.00
Olomon Olsen	Seth Heidi	Heavy Driver Admissions and Records Coord	Building Maintenance Registrar	12.00 12.00	1.00 1.00	•	\$ 28.62 \$ 23.70
Olson	Ernest	Director of Purchases	Comptroller's Office	12.00	1.00	\$ 11,212.00	\$ 11,616.00
Olson Oltman	Janet Corey	Business Administrative Assoc Accountant II	Dean of Education Comptroller's Office	12.00 12.00	1.00 1.00		\$ 6,879.00 \$ 5,283.00
Ondrof	Jason	Program Coordinator	Intercollegiate Athletics	12.00	1.00	•	\$ 3,584.00
O'Reilly Orrill	Michael Kelsey	Cashier III Program Coordinator	Parking & Transportation Campus Recreation	12.00 12.00	1.00 1.00	•	\$ 17.25 \$ 5,581.00
Ort	Robert	IT Tech Assoc	Infrastructure Op & Networking	12.00	1.00		
Ortiz Ortiz	Emma Meghan	Events Administrator Associate Procurement Officer	Arena/Fld Hse Facilities Comptroller's Office	12.00 12.00	1.00 1.00	•	\$ 19.63 \$ 25.48
Osborne	Breana	Food Court Snack Bar Suprvsr	Event Management, Dining and H	12.00	1.00	•	\$ 18.47
Osenga Overton	Candice Monica	Dir Clinical Exp Audiology Program Coordinator	Communication Sciences and Dis Multicultural Center	10.00 12.00	1.00 1.00		\$ 7,148.00 \$ 5,434.00
Paitz	Kendra	Dir University Galleries	University Galleries	12.00	1.00		\$ 6,365.00
Pakula Palmer	Andrew Lauren	IT Tech Assoc Business Administrative Assoc	Application Services School of Theatre and Dance	12.00 12.00	1.00 1.00	•	\$ 5,262.00 \$ 3,929.00
Palmer	Stuart	Program Stdt Advisor	Honors Program	12.00	1.00	\$ 3,678.00	\$ 3,807.00
Panopio Parcell	Phoebe Zachary	Staff Physician IT Manager Admin Coord	Health Services Web and Interactive Communicat	12.00 12.00	1.00 1.00		\$ 14,292.00 \$ 8,139.00
Parker	Margaret	Coord Science Education	School of Biological Sciences	12.00	1.00	\$ 5,480.00	\$ 6,468.00
Parker Parlette	Zachary Charles	IT Tech Assoc Coach Laboratory School	Infrastructure Op & Networking University High School	12.00 3.00	1.00 0.09	•	\$ 6,124.00 \$ 667.00
Parmenter	Joyce	IT Tech Assoc	Dean of Business	12.00	1.00	\$ 23.09	\$ 23.90
Parmenter Parmenter	Thomas Veronique	Program Coordinator Coordinator	School of Information Technolo School of Information Technolo	12.00 12.00	1.00 1.00		\$ 6,472.00 \$ 4,637.00
Parola	Derek	Asst Baseball Coach	Intercollegiate Athletics	12.00	1.00	•	\$ 3,167.00
Parola Parton	Sarah Stacy	Program Coordinator Staff Counselor	Thomas Metcalf School Student Counseling Services	12.00 12.00	0.73 1.00	•	\$ 20.70 \$ 5,903.00
Pate	Conzelouis	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Pate Patel	James Mayur	Heavy Driver Business Administrative Assoc	Central Receiving Parking & Transportation	12.00 12.00	1.00 1.00	•	\$ 25.88 \$ 26.92
Patel	Sarikaben	Office Support Specialist	Physics	12.00	0.49	\$ -	\$ 17.83
Pattapongwat Patterson	Sansanee Megan	Culinary Worker III Program Coordinator	Event Management, Dining and H Career Services	12.00 12.00	1.00 1.00	•	\$ 21.23 \$ 4,080.00
Paul	Jason	IT Tech Assoc	Milner Library	12.00	1.00	\$ 5,242.00	\$ 5,425.00
Peasley Peckmann	Tammy Steven	Police Sergeant Carpenter	University Police Department Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 46.64 \$ 36.09
Pedler	Michele	Customer Service Rep	Human Resources	12.00	1.00	\$ -	\$ 19.15
Pedon Penicook	Ryan Ann	Head Mens Basketball Coach Spon Proj Admin	Intercollegiate Athletics Special Education	12.00 12.00	1.00 1.00		\$ 45,834.00 \$ 8,930.00
Pennington	Mark	IT Support Assoc	Client Services	12.00	1.00	\$ 25.34	\$ 26.23
Perez Perez Ruiz	Julie Rocio	Marketing Associate Building Service Worker	University Marketing & Communi Janitorial	12.00 12.00	1.00 1.00	•	\$ 5,575.00 \$ 16.55
Perez Vilchis	Seferina	Building Service Worker	Janitorial	12.00	1.00	•	\$ 19.64
Perkins Perkins	Brittany Deanna	Program Coordinator Coord Field Exp and Stdt Aff	Multicultural Center Special Education	12.00 12.00	1.00 1.00	•	\$ 4,140.00 \$ 5,607.00
Perkins	Shemika	Program Assistant	Laboratory Schools Superintend	12.00	1.00	•	\$ 27.95
Perronne Perry	Alexander Littelyn	Program Coordinator Building Service Worker	Campus Recreation Janitorial	12.00 12.00	1.00 1.00		\$ 5,261.00 \$ 22.83
Perry	Marsha	Duplicating Machine Opr II	College of Business Support Un	12.00	1.00	•	\$ 25.64
Person Perzee	Melvin Stacy	Building Service Worker Police Telecommunicator	Janitorial University Police Department	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 25.11
Peters	Alexander	Program Assistant	Intercollegiate Athletics	12.00	1.00		\$ 3,451.00
Peters Petersen	Ryan Anthony	Facility Operations Specialist Asst Mens Football Coach	Milner Library Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 27.00 \$ 8,928.00
Peterson	Hollyann	Accounting Specialist	Intercollegiate Athletics	12.00	1.00	•	\$ 23.15
Peterson Phelon	Seth Dana	Senior Library Specialist Building Service Worker	Milner Library Janitorial	12.00 12.00	1.00 1.00	•	\$ 20.68 \$ 22.83
Phillips	Bethany	Business Administrative Assoc	Event Management, Dining and H	12.00	1.00	•	\$ 26.89
Phillips Pina	Laura Anthony	Academic Advisor Program Director	University College Ctr for Integrated Professiona	12.00 12.00	1.00 1.00		\$ 3,759.00 \$ 12,018.00
Pinkham	Angelica	Office Support Specialist	Health Sciences	12.00	1.00	•	\$ 17.99
Piontek Piotrowski	Russell Sara	Research Coord Coord Acad Serv	Geography, Geology, and the En History	12.00 10.00	1.00 0.75	•	\$ 3,927.00 \$ 3,434.00
Piper	Kate	Program Coordinator	Dean of Students	12.00	1.00		\$ 5,690.00
Piper Piper	Sabrina Tyler	Accounting Specialist IT Manager Admin Coord	Parking & Transportation Client Services	12.00 12.00	1.00 1.00	•	\$ 22.25 \$ 7,928.00
Pittman	Stephen	Painter	Building Maintenance	12.00	1.00	•	•
Plankenhorn Platt	Mark Christa	IT Tech Assoc Director Multicultural Center	Office of Technology Solutions Multicultural Center	12.00 12.00	1.00 1.00	•	\$ 6,750.00 \$ 8,195.00
Plummer	Carmen	IT Tech Assoc	Application Services	12.00	1.00	•	\$ 7,519.00
Pokarney Polin	John Jason	Equipment Service Worker Steam and Power Plant IV	Golf Course Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 26.96 \$ 44.40
Polites	Kevin	Accounting Associate	Comptroller's Office	12.00	1.00	\$ 4,535.00	\$ 4,694.00
Porter Pote	Elizabeth Dawn	Administrative Aide Exec Dir Well-being and Rec	Center for Civic Engagement Vice President Student Affairs	12.00 12.00	1.00 1.00	•	\$ 24.66 \$ 13,090.00
Pourchot	Jacob	Coord Service Area	University Housing Services	12.00	1.00	\$ 3,651.00	\$ 3,779.00
Powers Powers	Kevin Regina	Asst Coord of Park Traffic Staff Physician	Parking & Transportation Health Services	12.00 10.00	1.00 1.00	•	\$ 22.85 \$ 14,578.00
Pratt	Brianna	Clinic Nurse	Health Services	12.00	1.00	\$ 32.21	\$ 33.18
Pressburger Preston	Donnelle Curtis	Coordinator Office Administrator	Health Services School of Social Work	10.00 12.00	1.00 1.00		\$ 5,000.00 \$ 23.53
Primozic George	Laura	Instructional Tech Visual Arts	Wonsook Kim School of Art	12.00	1.00	\$ 4,868.00	\$ 5,038.00
Prior Pritts	Lindsey Ashley	Academic Advisor Asst Director	Mennonite College of Nursing Office of Equal Opportunity &	12.00 12.00	1.00 1.00	•	\$ 4,313.00 \$ 6,116.00
Puente	Gilberto	Parking Meter Mechanic II	Parking & Transportation	12.00	1.00	\$ 17.05	\$ 19.14
Pullen Purviance	Olanna Rachel	Program Stdt Advisor Business Administrative Assoc	Career Services Physics	12.00 12.00	1.00 1.00	•	\$ 4,341.00 \$ 32.09
Qamar	Rabeea	Business Administrative Assoc	Mennonite College of Nursing	12.00	1.00	\$ -	\$ 4,097.00
Quast Quinn	James Austin	Painter Police Officer	Building Maintenance University Police Department	12.00 12.00	1.00 1.00	•	\$ 40.00 \$ 36.83
Quinn Quinzio	Anna	Spon Proj Program Assoc	Educational Administration & F	10.00	0.06	\$ -	\$ 36.83
Daha Hama	Cara	Associate Dean	Dean of Applied Science and Te	12.00	1.00	\$ 14,464.00	\$ 15,029.00
•	Nicholas	Program Stdt Advisor	Career Services	12 00	1 00	\$ 110100	\$ 121100
Rabe-Hemp Radcliffe Rader	Nicholas Kacy	Program Stdt Advisor Program Coordinator	Career Services Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 4,341.00 \$ 5,213.00

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Radliff Raglan	Andrea Larry	Program Coordinator Pipefitter Foreman	Career Services Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 4,928.00 \$ 52.58
Ragusa	Jennifer	Supervisor Clinical	Communication Sciences and Dis	12.00	1.00	\$ 6,412.00	\$ 6,636.00
Rahman Ramirez	Md Sajjadur Arturo	IT Tech Assoc Dir Web and Interactive Comm	Enterprise Data and Analytics Web and Interactive Communicat	12.00 12.00	1.00 1.00	•	\$ 6,375.00 \$ 11,608.00
Ramirez	Yadira	Academic Advisor	Dean of Education	12.00	1.00	\$ 5,417.00	\$ 5,607.00
Ramirez-Osorio Ramos	Melissa Edward	Academic Advisor Spec University Facility Plan	Dean of Education Facilities Planning	12.00 12.00	1.00 1.00	•	\$ 6,138.00 \$ 7,810.00
Ramsey	Abby	Admissions Records Asst	Admissions	12.00	1.00	\$ -	\$ 16.50
Ramsey Randle	Stacy Susan	University Registrar Administrative Aide	Enrollment Management Office of Equal Opportunity &	12.00 12.00	1.00 1.00	•	\$ 10,651.00 \$ 22.29
Raney	Teresa	Admissions and Records Coord	Registrar	12.00	0.40	•	\$ 22.48
Rankin Rappleyea	Jonathan Benjamin	Building Service Worker IT Tech Assoc	Janitorial Office of Technology Solutions	12.00 12.00	1.00 1.00	•	\$ 16.55 \$ 8,261.00
Ratcliff	Alexandria	Program Director	Office of International Engage Health Services	12.00 10.00	1.00 1.00		\$ 6,377.00 \$ 14,578.00
Rausch Rawjee	Susan Roopa	Staff Physician Exec Dir	Vice President & Provost	12.00	1.00	•	\$ 14,578.00 \$ 12,938.00
Ray	Fawn Joseph	Admissions and Records Assc Laundry Worker	Admissions University Housing Services	12.00 12.00	1.00 1.00	•	\$ 24.78 \$ 21.23
Raycraft Reavley	Sophia	Greenhouse Gardener I	School of Biological Sciences	12.00	1.00	•	\$ 19.15
Redell Reece	George Tia	Safety Env Compl Assoc Food Serv Sanitation Laborer	Environmental Health & Safety Event Management, Dining and H	12.00 12.00	1.00 1.00		\$ 6,589.00 \$ 21.23
Reed	Donald	Assoc Dean of Students	Dean of Students	12.00	1.00	\$ 7,763.00	\$ 8,228.00
Reed Reed	Elisabeth Milena	Program Director Marketing Associate	Office of Energy Management Admissions	12.00 12.00	1.00 1.00		\$ 7,591.00 \$ 20.65
Reed	Seth	Accounting Associate	Vice President Student Affairs	12.00	1.00	\$ 1,300.00	\$ 22.00
Reeland Regilio	Bridget Michael	Program Director Dir College Arts and Sci IT	University Housing Services College of Arts & Sci-Informat	12.00 12.00	1.00 1.00	•	\$ 8,838.00 \$ 8,060.00
Reid	Bryan	Business Administrative Assoc	Comptroller's Office	12.00	1.00	•	\$ 4,909.00
Reilly Reily	Andrew Skyler	Construction Project Coord II Office Support Specialist	Building Maintenance History	12.00 12.00	1.00 1.00		\$ 6,249.00 \$ 17.50
Reis	Anthony	Food Service Administrator III	Event Management, Dining and H	12.00	1.00	•	\$ 4,519.00
Renfro Rexroat	Scott Barbara	Program Assistant Business Administrative Assoc	Intercollegiate Athletics Research & Sponsored Programs	12.00 12.00	1.00 1.00		\$ 5,356.00 \$ 7,576.00
Rexroat	Barbara Jennifer	Client Relations Repr III	Financial Aid Office	12.00	1.00	\$ 4,483.00	\$ 4,624.00
Reyes Reynolds	Nicolas Jacob	Financial Aid Coordinator	Financial Aid Office Event Management Dining and H	12.00 12.00	1.00 1.00		\$ 3,565.00 \$ 18.91
Reynolds Reynolds	Jacob Keith	Culinary Worker III IT Tech Assoc	Event Management, Dining and H Application Services	12.00 12.00	1.00	•	\$ 6,903.00
Rhoades	Megan	Office Administrator	Conference Services	12.00	1.00	•	\$ 23.97
Rhyne Riblet	James Kelsie	Coord Service Area Program Assistant	University Housing Services University College	12.00 12.00	1.00 1.00		\$ 3,528.00 \$ 22.77
Rice	Robert	Steam and Power Plant III	Building Maintenance	12.00	1.00		\$ 40.75
Richards Richardson	Julius Amanda	Supv Distribution Srv Office Manager	Central Receiving Psychology	12.00 12.00	1.00 1.00	•	\$ 29.47 \$ 24.13
Rickenberg	Aaron	Electrician	Building Maintenance	12.00	1.00	•	\$ 42.98
Rickman Ridinger	Michael Jeffrey	Printing Production Coord Program Director	University Marketing & Communi Milner Library	12.00 12.00	1.00 1.00	•	\$ 23.88 \$ 6,482.00
Ridlen	Kimberly	Police Officer	University Police Department	12.00	1.00	•	\$ 35.80
Rieck Rients	Kelsey Eric	Office Support Specialist Plumber	University Housing Services Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 17.83 \$ 47.80
Rigsby	Shawn	Financial Aid Mgr	Financial Aid Office	12.00	1.00	\$ 5,551.00	\$ 5,751.00
Riley Riley	Apryl Colin	Program Coordinator Food Service Administrator III	Dean of Education Event Management, Dining and H	12.00 12.00	1.00 1.00		\$ 6,440.00 \$ 4,519.00
Riley	Michael	Painter	Building Maintenance	12.00	1.00	\$ 38.94	\$ 40.00
Riordan Riss-Waltrip	Lauren Jessica	Academic Advisor Coach	School of Teaching and Learnin Band	12.00 10.00	1.00 0.20		\$ 4,208.00 \$ 17.00
Rivadeneyra	Rocio	Associate Dean	Dean of Arts & Sciences	12.00	1.00	\$ 11,354.00	\$ 13,300.00
Rivera Rivera	Lorena Raymundo	Culinary Worker III Police Officer	Event Management, Dining and H University Police Department	12.00 12.00	1.00 1.00	•	\$ 21.23 \$ 36.37
Rives	Peyton	Graphic Designer Assoc	Intercollegiate Athletics	12.00	1.00	\$ 20.00	\$ 23.10
Roach Roberts	Rachal Christopher	IT Tech Assoc Program Coordinator	Infrastructure Op & Networking Planning, Research & Policy An	12.00 12.00	1.00 1.00		\$ 8,822.00 \$ 5,932.00
Roberts	Danielle	Marketing Associate	TechZone & Student Technologie	12.00	1.00	\$ 5,279.00	\$ 5,464.00
Roberts Robinson	Joseph Manuel	Maintenance Repair Worker Asst Womens Basketball Coach	Building Maintenance Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 23.20 \$ 4,269.00
Rockey	Marci	Academic Advisor	Educational Administration & F	12.00	1.00	\$ 5,690.00	\$ 5,889.00
Rodgers Rodriguez	Angela Silvia	Medical Office Coordinator Building Service Worker	Health Services Janitorial	12.00 12.00	1.00 1.00	•	\$ 4,014.00 \$ 22.83
Rodriguez Rosales	Elsa	Culinary Worker III	Event Management, Dining and H	12.00	1.00	\$ 14.69	\$ 18.91
Roehm Roethle	Laura Laura	Academic Advisor Accounting Officer	School of Social Work Geography, Geology, and the En	12.00 12.00	1.00 0.75	•	\$ 5,252.00 \$ 19.53
Rohlfs	Nicholas	Senior Machinist Welder	Building Maintenance	12.00	1.00	\$ 53.18	\$ 55.74
Rojas Rolondelossantos	Diana Cesar	Medical Insurance Spec Steam and Power Plant III	Communication Sciences and Dis Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 26.38 \$ 40.75
Rongey	Elizabeth	Senior Library Specialist	Milner Library	12.00	1.00	\$ 24.31	\$ 25.17
Roop Roper	Cassidy Brittany	Customer Service Asst Office Support Specialist	Comptroller's Office University High School	12.00 12.00	1.00 1.00	•	\$ 20.12 \$ 17.60
Rosenberger	Tracy	IT Tech Assoc	Student Affairs Information Te	12.00	1.00	\$ 6,451.00	\$ 6,677.00
Rosenbloom Rosenthal	Margie Erin	Program Assistant Accountant I	Registrar Comptroller's Office	12.00 12.00	1.00 1.00	•	\$ 19.92 \$ 23.15
Rosenthal	Gary	Storekeeper I	Building Maintenance	12.00	1.00	\$ -	\$ 16.60
Roser Ross	Amy Calvin	Program Coordinator Plumber Foreman	University College Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 6,490.00 \$ 52.58
Ross	Golsbie	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Ross Ross	Jason Olivia	IT Tech Assoc Academic Advisor	Client Services Dean of Business	12.00 12.00	1.00 1.00		\$ 5,356.00 \$ 3,795.00
Roth	Elena	Marketing Associate	University Marketing & Communi	12.00	1.00	•	\$ 5,175.00
Roth Rothermel	Sarah Ann	Academic Advisor Business Administrative Assoc	Honors Program Admissions	12.00 12.00	0.73 1.00	•	\$ 3,546.00 \$ 5,631.00
Rottinghaus	Jacob	Program Coordinator	Dean of Students	12.00	1.00	•	\$ 4,057.00
Rouse	Rebecca	Office Manager	Educational Administration & F	12.00	1.00	•	\$ 18.84 \$ 23.03
Rowan Royse	Sally Kayla	Office Administrator Police Officer	Finance, Insurance and Law University Police Department	12.00 12.00	1.00 1.00	•	\$ 23.03 \$ 31.38
Rucker	Jamie Michelle	Office Support Specialist Head Teacher Child Care Center	Dean of Arts & Sciences	12.00 12.00	0.75 1.00	-	\$ 17.86 \$ 4,295.00
Ruestman Ruffatti	Courtney	Business Administrative Assoc	Family and Consumer Sciences Financial Aid Office	12.00	1.00	•	\$ 4,295.00 \$ 4,084.00
Ruffin	Megan	Program Stdt Advisor	Career Services	12.00	1.00		\$ 4,223.00
Ruhe Marsh Ruiz	Linda Oscar	Spon Proj Admin Building Operating Engr Intern	Dean of Education Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 8,046.00 \$ 24.50
Runyon	Jill	Teacher Aide	Thomas Metcalf School	12.00	1.00	\$ -	\$ 15.00
Rupert Russell	Marie Georgia	Pharmacist In Charge Equipment Service Worker	Health Services Campus Recreation	12.00 12.00	1.00 1.00	•	\$ 11,145.00 \$ 26.96
Russell	Rachel	Business Admin Assoc Intern	Intercollegiate Athletics	12.00	1.00	\$ -	\$ 20.52
Russell Russow	William Samantha	Carpenter Customer Service Asst	Building Maintenance Comptroller's Office	12.00 12.00	1.00 1.00	•	\$ 36.09 \$ 18.90
Russow	Steven	Procurement Officer	Comptroller's Office	12.00	1.00	\$ 22.55	\$ 24.02
Rutherford Rutherford	Carolyn Matthew	Program Coordinator Dir MCN Technology	Clinical Experiences in Teache Mennonite College of Nursing	12.00 12.00	1.00 1.00	•	\$ 4,741.00 \$ 5,951.00
	Sarah	Building Service Foreman	Janitorial	12.00	1.00	\$ 25.44	\$ 26.33
Ryburn				12.00	1.00	\$ 1,300.00	\$ 4,389.00
Sabbir	Golam Rosul Marion	Marketing Associate Admissions and Records Associate	Vice President Student Affairs Office of International Engage				•
Sabbir Sakaluk	Golam Rosul Marion Tyler	Marketing Associate Admissions and Records Asso Plumber	Vice President Student Affairs Office of International Engage Building Maintenance	12.00 12.00 12.00	1.00 1.00	\$ 4,485.00 \$ 45.55	\$ 4,896.00 \$ 47.80
Ryburn Sabbir Sakaluk Salisbury Salto Salyer	Marion	Admissions and Records Assc	Office of International Engage	12.00	1.00	\$ 4,485.00 \$ 45.55 \$ 15.54	\$ 4,896.00

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Sanchez Sanchez	Arcelia Maria	Building Service Worker Office Manager	Janitorial University College	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 19.27
Sanchez	Ricardo	Food Service Administrator III	Event Management, Dining and H	12.00	1.00	\$ 4,366.00	\$ 4,519.00
Sanchez Sanchez-Bucio	Theresa Alberto	Program Coordinator Building Service Worker	Registrar Janitorial	12.00 12.00	1.00 1.00	•	\$ 4,681.00 \$ 22.83
Sanchez-Hernandez Sanford	Alberto	Building Service Worker Food Service Administrator III	Janitorial	12.00 12.00	1.00 1.00	•	\$ 22.83
Santiago	Holly Alanna	Office Support Specialist	Event Management, Dining and H Wonsook Kim School of Art	12.00	1.00	\$ 17.59	\$ 4,519.00 \$ 18.21
Santos Sarmiento	Olivia Barry	Program Assistant Building Service Worker	Illinois Tutoring Initiative Janitorial	12.00 12.00	1.00 1.00	•	\$ 25.64 \$ 22.83
Sauder	Kendal	Academic Advisor	University College	12.00	1.00	\$ 15.56	\$ 3,702.00
Savitzky Scearce	Catherine Erik	Business Administrative Assoc Coord Residence Hall	Office of Technology Solutions University Housing Services	12.00 12.00	1.00 1.00		\$ 7,395.00 \$ 4,017.00
Schaafsma	David	IT Tech Assoc	Human Resources	12.00	1.00	\$ 7,892.00	\$ 8,168.00
Schafer Schaubroeck	Sarah Trisha	Program Coordinator IT Tech Assoc	Student Access and Accommodati Office of Technology Solutions	12.00 12.00	1.00 1.00		\$ 6,696.00 \$ 6,834.00
Schauer	Dominique	IT Tech Assoc	Infrastructure Op & Networking	12.00	1.00	\$ 4,577.00	\$ 5,348.00
Scheiman Scheiman	Chad Crystal	IT Tech Assoc Administrative Aide	College of Arts & Sci-Informat Philosophy	12.00 12.00	1.00 1.00	•	\$ 6,606.00 \$ 22.66
Scherer	Mark	Dir Development	Development-Fundraising	12.00	1.00	\$ 5,834.00	\$ 7,116.00
Schlemmer Schlenker	Michael Charles	IT Tech Assoc Program Coordinator	Office of Technology Solutions Radio Station WGLT	12.00 12.00	1.00 1.00		\$ 6,249.00 \$ 6,669.00
Schlouch	Kelly	Program Coordinator	School of Teaching and Learnin	12.00	1.00	•	\$ 4,373.00
Schmeusser-Smith Schmidgall	Sandra John	Office Administrator Building Service Worker	Janitorial Janitorial	12.00 12.00	1.00 1.00	-	\$ 22.75 \$ 22.83
Schmidgall	Stacy	Building Service Worker	Janitorial	12.00	1.00	-	•
Schmidt Schmidt	Heidi Scott	Financial Aid Coordinator Accounting Officer	Financial Aid Office Campus Recreation	12.00 12.00	1.00 1.00	•	\$ 4,603.00 \$ 18.59
Schmitt	Mark	Library Operations Associate	Milner Library	12.00	1.00	-	\$ 29.20
Schnase Schnittker	Daxton Douglas	Director Annual Giving Assoc VP Fin Admin Comptr	Intercollegiate Athletics Comptroller's Office	12.00 12.00	1.00 1.00	•	\$ 3,451.00 \$ 17,730.00
Schoedel	Celia	IT Support Assoc	Human Resources	12.00	1.00	\$ 26.50	\$ 28.53
Schoenheider Scholtes	Jason Jessica	Carpenter Asst Agricultural Rsrch Tech	Building Maintenance Agriculture	12.00 12.00	1.00 1.00	-	\$ 36.09 \$ 21.29
Schoon	Kelly	Academic Advisor	University College	12.00	1.00	\$ 3,694.00	\$ 3,823.00
Schopp Schrock	Collin Shireen	Media Write Produce Announc II Grants and Contracts Assoc	Radio Station WGLT Research & Sponsored Programs	12.00 12.00	1.00 1.00		\$ 3,881.00 \$ 5,520.00
Schroeder	Danielle	Business Administrative Assoc	University Marketing & Communi	12.00	1.00	\$ 5,600.00	\$ 5,796.00
Schuline Schuline	Michelle Robyn	Program Coordinator Business Administrative Assoc	University College Dean of Arts & Sciences	12.00 12.00	1.00 1.00	•	\$ 4,471.00 \$ 7,176.00
Schuller	Eric	IT Support Assoc	College of Arts & Sci-Informat	12.00	1.00	\$ 34.97	\$ 39.82
Schultz Schultz	Adeline Matthew	Coach Laboratory School Spon Proj Program Assoc	University High School Special Education	9.00 12.00	0.09 1.00		\$ 278.00 \$ 7,860.00
Schultz	Samantha	Marketing Associate	Event Management, Dining and H	12.00	1.00	•	\$ 5,641.00
Schwab Schwartz	Matthew Carol	Program Director Accounting Officer	Office of International Engage Conference Services	12.00 12.00	1.00 1.00		\$ 6,001.00 \$ 18.65
Schweitzer	Matthew	Building Service Foreman	Janitorial	12.00	1.00	\$ 25.44	\$ 26.33
Scott Scott	David Payton	Heavy Driver Building Service Worker	University Recycling Janitorial	12.00 12.00	1.00 1.00	•	\$ 27.19 \$ 19.64
Scott	Rachel	Associate Dean	Milner Library	12.00	1.00	\$ 9,677.00	\$ 10,781.00
Scott Scovel	Tanya Amy	Spec Curator of Art III Office Manager	University Galleries Stevenson Ctr-Community/Econom	12.00 12.00	1.00 1.00	•	\$ 4,172.00 \$ 19.20
Scuric	Brianna	Coach Laboratory School	Thomas Metcalf School	3.00	0.09	\$ -	\$ 624.00
Seal Secretan	Angel Amy	Office Manager Academic Advisor	Campus Recreation Honors Program	12.00 12.00	1.00 1.00	•	\$ 19.81 \$ 4,151.00
Sedbrook	Jennifer	Dir Development	Development-Fundraising	12.00	1.00	\$ 7,052.00	\$ 7,299.00
Seeman Seibring	Alyssa Matthew	Supervisor Clinical Program Director	Communication Sciences and Dis Campus Recreation	10.00 12.00	1.00 1.00		\$ 6,890.00 \$ 7,364.00
Sekulich	Joseph	Coord Service Area	University Housing Services	12.00	1.00	\$ 3,528.00	\$ 3,651.00
Self Selinger	Jenna Kevin	Senior Library Specialist IT Tech Assoc	Milner Library Infrastructure Op & Networking	12.00 12.00	1.00 1.00	•	\$ 20.79 \$ 6,469.00
Selkow	Noelle	Dir Graduate School	Graduate School	12.00	1.00	\$ 13,460.00	\$ 13,960.00
Semonis Senkpiel	Sara Michael	Associate Dean Grounds Worker	Dean of Fine Arts Campus Services Division / Gro	12.00 12.00	1.00 1.00	•	\$ 9,545.00 \$ 27.54
Sennett	Jamie	Program Director	Alumni Engagement	12.00	1.00	\$ 6,984.00	\$ 7,228.00
Sermak Sexton	Timothy Andrew	Spon Proj Program Assoc Program Assistant	School of Teaching and Learnin Illinois Tutoring Initiative	12.00 12.00	1.00 1.00	-	\$ 6,900.00 \$ 20.51
Sexton	Laurie	Program Coordinator	Clinical Experiences in Teache	12.00	1.00	\$ 6,282.00	\$ 6,502.00
Shadid Shadid	Katie Mitchell	Office Support Specialist Asst Comptroller	Sociology and Anthropology Comptroller's Office	12.00 12.00	1.00 1.00	•	\$ 17.94 \$ 10,368.00
Shahan	Jason	Coord Gen Ed Instruction	School of Biological Sciences	12.00	1.00	\$ 22.00	\$ 4,500.00
Shahid Shambrook	Syed Debra	IT Tech Assoc Library Specialist	Infrastructure Op & Networking Milner Library	12.00 12.00	1.00 1.00	•	\$ 5,000.00 \$ 25.62
Shanley	Carla	Program Stdt Advisor	Office of International Engage	12.00	1.00	\$ 3,378.00	\$ 3,580.00
Shanley Shaughnessy	Michael Bailey	Asst Principal Univ High Schl Assembly Hall Attendant	University High School Arena/Fld Hse Facilities	12.00 12.00	1.00 1.00	•	\$ 7,740.00 \$ 22.80
Shawd	Vicki	Business Administrative Assoc	Vice President Finance & Plann	12.00	1.00	-	\$ 6,308.00
Sheehan Sheley	Lydia Lauren	Office Administrator Business Administrative Assoc	Band Campus Recreation	12.00 12.00	1.00 1.00		\$ 20.20 \$ 5,548.00
Shelley	Timothy	Program Coordinator	Radio Station WGLT	12.00	1.00	\$ 4,848.00	\$ 5,513.00
Shelton Shennett	Kira Kim	Human Resource Asst Manager Graduate School Spec	Human Resources Graduate School	12.00 12.00	1.00 1.00	•	\$ 37.30 \$ 5,663.00
Shepherd	Frederick	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Shepherd Sherman	Steven Troy	Inventory Specialist Spec Curator of Art II	Central Receiving University Galleries	12.00 12.00	1.00 1.00	•	\$ 17.99 \$ 3,304.00
Sherrard	Jenna	Customer Service Rep	Conference Services	12.00	1.00	\$ 20.14	\$ 20.85
Sherren Shifflett	Alison Jing	Specialist Ed Audiologist Program Director	Laboratory Schools Superintend Office of International Engage	10.00 12.00	1.00 1.00		\$ 6,867.00 \$ 6,792.00
Shinkareva	Galina	Postdoctoral Resident	Geography, Geology, and the En	12.00	1.00	•	\$ 5,050.00
Shirley Shive	Melanie Michele	Culinary Worker V Customer Service Rep	Event Management, Dining and H Comptroller's Office	12.00 12.00	1.00 1.00	-	\$ 23.38 \$ 20.48
Short	Gary	IT Support Assoc	Client Services	12.00	1.00	•	\$ 27.85
Shoultz Shrum	Howard Thomas	Building Service Foreman Pipefitter	Janitorial Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 25.44 \$ 47.80
Shuck	Emmalie	Administrative Aide	University Assessment Services	12.00	1.00	\$ 20.11	\$ 20.82
Shuck Siegel	Jennifer Brett	Procurement Officer Assistant Assoc Univ Counsel	Comptroller's Office Office of General Counsel	12.00 12.00	1.00 1.00	•	\$ 22.12 \$ 13,513.00
Sila	Karl	IT Tech Assoc	Application Services	12.00	1.00	\$ 5,296.00	\$ 5,481.00
Simmons Simmons	Jermaine Kathryn	Culinary Worker III Grants and Contracts Assoc	Event Management, Dining and H Research & Sponsored Programs	12.00 12.00	1.00 1.00	-	\$ 18.91 \$ 3,833.34
Simmons	Soemer	Business Administrative Assoc	Enrollment Management	12.00	1.00	\$ 31.43	\$ 32.70
Simon Simpson	Daniel Joseph	Emergency Management Coord IT Support Assoc	Emergency Management Client Services	12.00 12.00	1.00 1.00	•	\$ 5,502.00 \$ 27.88
Simpson	Joseph Kimberly	Teacher Aide	Thomas Metcalf School	12.00	1.00	•	\$ 27.88 \$ 16.50
Sinnet	Kathryn	Academic Advisor Program Coordinator	College of Business Student Ad Dean of Education	12.00 12.00	1.00 1.00	•	\$ 3,772.00 \$ 7,331.00
Sinnet Siscoe	Tiffany Christopher	Water Station Operator	Building Maintenance	12.00	1.00	\$ 36.25	\$ 37.34
al	Ryan	IT Tech Assoc Building Service Worker	Learning Spaces & Audio/Visual	12.00 12.00	1.00 1.00	-	\$ 6,038.00 \$ 16.55
Skertich Skinger	Icaian		Janitorial	12.00	1.00	\$ 15.54	10.55
Skinger Skinger	Isaiah Stephan	Building Service Worker	Janitorial	12.00	1.00	\$ 14.76	\$ 16.55
Skinger Skinger Slater	Stephan Megan	Building Service Worker Graphic Designer	Event Management, Dining and H	12.00	1.00	\$ 25.80	\$ 26.70
Skinger Skinger	Stephan	Building Service Worker				\$ 25.80 \$ -	-

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Smith Smith	Apryl Brandi	Marketing Associate Admissions and Records Officer	Intercollegiate Athletics Registrar	12.00 12.00	1.00 1.00	•	\$ 3,334.00 \$ 20.06
Smith	Brandi Brian	Culinary Worker IV	Event Management, Dining and H	12.00	1.00	•	\$ 20.06
Smith Smith	Chandra Clinton	IT Manager Admin Coord Program Coordinator	Dean of Applied Science and Te Mennonite College of Nursing	12.00 12.00	1.00 1.00	•	\$ 6,851.00 \$ 4,744.00
Smith	Dustin	Academic Advisor	University College	12.00	1.00	\$ 4,202.00	\$ 4,349.00
Smith Smith	Emalene Ginnifer	Food Service Administrator II Director	Event Management, Dining and H College of Business Student Ad	12.00 12.00	1.00 1.00	•	\$ 4,108.00 \$ 6,004.00
Smith	Jeffrey	IT Tech Assoc	Learning Spaces & Audio/Visual	12.00	1.00	•	\$ 28.91
Smith Smith	Justin Kari	IT Tech Assoc Storekeeper III	Student Affairs Information Te Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 8,468.00 \$ 19.08
Smith	Kaylynn	Coach Laboratory School	University High School	4.00	0.09	-	\$ 900.00
Smith Smith	Krista Mackenzie	Clinic Nurse Business Administrative Assoc	Health Services Vice President Student Affairs	12.00 12.00	1.00 1.00	•	\$ 33.18 \$ 23.13
Smith Smith	Nathaniel	Assoc Dir Int Athletics	Intercollegiate Athletics	12.00 12.00	1.00 1.00	-	\$ 6,250.00 \$ 10,269.00
Smoak	Ryan William	Dir University Assessment Exec Dir Tech Solutions	University Assessment Services Application Services	12.00	1.00	•	\$ 10,269.00
Snell Snelling	Margaret Cassandra	Sr Interp Deaf Hard of Hearing Business Administrative Assoc	Student Access and Accommodati Mathematics	12.00 12.00	1.00 1.00	•	\$ 25.03 \$ 27.32
Snyder	Kara	Asst Dean Col Appl Sci Tech	Dean of Applied Science and Te	12.00	1.00	•	\$ 7,422.00
Soeldner Southwick	Lois Adam	Admissions and Records Coord Field House Facilities Suprvsr	Admissions Maintenance-Field House	12.00 12.00	1.00 1.00		\$ 24.61 \$ 24.35
Spack	Brock	Head Mens Football Coach	Intercollegiate Athletics	12.00	1.00	\$ 30,345.00	\$ 30,345.00
Spaid Spaid	Aaron Bart	Construction Project Coord II Pipefitter	Construction Management Building Maintenance	12.00 12.00	1.00 1.00	-	\$ 8,626.00 \$ 47.80
Spaid	Scott	Pipefitter	Building Maintenance	12.00	1.00	\$ 45.55	\$ 47.80
Sparks Spence	Rachel Susan	Program Coordinator Program Director	Center for Civic Engagement Research & Sponsored Programs	12.00 12.00	1.00 1.00	•	\$ 6,067.00 \$ 8,482.00
Spencer	Denorta	Medical Office Specialist	Health Services	12.00	1.00	\$ 16.28	\$ 18.71
Spencer Sproles	Roy Austin	Culinary Worker III Business Administrative Assoc	Event Management, Dining and H Campus Recreation	12.00 12.00	1.00 1.00	-	\$ 21.23 \$ 4,516.00
Stalets	Amanda	Program Coordinator	Laboratory Schools Superintend	12.00	1.00	\$ 6,837.00	\$ 7,076.00
Staley Stambaugh	Joni Rebecca	Dir Development Public Information Associate	Development-Fundraising University Police Department	12.00 12.00	1.00 1.00		\$ 6,728.00 \$ 25.90
Stamps	Raven	Coord Residence Hall	University Housing Services	12.00	1.00	\$ -	\$ 4,017.00
Stanfield Stanislaus	Jacquelyn Daniel	Accounting Specialist IT Tech Assoc	Superintendence Web and Interactive Communicat	12.00 12.00	1.00 1.00	-	\$ 20.68 \$ 6,493.00
Stanton	Jeremy	Coach Laboratory School	University High School	3.00	0.09	\$ 1,734.00	\$ 1,734.00
Stark Starkey	John Michelle	Artistic Dir Il Shakes Fest Administrative Aide	School of Theatre and Dance Health Promotion and Wellness	10.00 12.00	1.00 1.00	•	\$ 3,000.00 \$ 26.38
Starr	Cory	IT Tech Assoc	Advancement & Foundation Opera	12.00	1.00	\$ 5,780.00	\$ 5,982.00
Starr Staton	Sarah Joshua	Business Administrative Assoc IT Tech Assoc	Office of Technology Solutions Client Services	12.00 12.00	1.00 1.00		\$ 6,209.00 \$ 5,417.00
Stauffer	Timothy	Admissions and Records Repr	Registrar	12.00	1.00	\$ 15.18	\$ 19.83
Stefanich Steffen Lombardo	Jason Amanda	Food Service Stores Laborer Spon Proj Admin	Event Management, Dining and H Special Education	12.00 12.00	1.00 1.00	-	\$ 23.38 \$ 7,100.00
Stegemann	Angela	Library Specialist	Milner Library	12.00	1.00	•	\$ 7,100.00
Steidinger Steinbach	Mackenzie Harriett	Building Service Worker Director	Janitorial Research & Sponsored Programs	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 7,530.00
Steinbach	Lewis	Business Administrative Assoc	Office of Technology Solutions	12.00	1.00		\$ 5,590.00
Stephenraj Stevens	Glory Bobbie	IT Support Assoc Program Coordinator	Registrar Health Services	12.00 12.00	1.00 1.00	-	\$ 23.03 \$ 7,589.00
Stevenson	Jennifer	Coordinator	Dean of Students	12.00	1.00		\$ 4,743.00
Stevenson Steward	Michael Razelyn	Food Court Snack Bar Suprvsr Academic Advisor	Event Management, Dining and H Technology	12.00 12.00	1.00 1.00	•	\$ 18.50 \$ 5,088.00
Stewart	Deanna	Program Coordinator	University College	12.00	1.00		
Stewart	Kye Michael	Asst Mens Football Coach	Intercollegiate Athletics	12.00 12.00	1.00 1.00		\$ 6,057.00 \$ 36.09
Stewart Stewart	Michelle	Carpenter Building Service Worker	Building Maintenance Janitorial	12.00	1.00	•	\$ 22.83
Stien Stillwell	Nathan Richard	IT Tech Assoc IT Tech Assoc	Web and Interactive Communicat Registrar	12.00 12.00	1.00 1.00	•	\$ 8,395.00 \$ 4,437.00
Stock	Eric	Program Coordinator	Radio Station WGLT	12.00	1.00		\$ 5,408.00
Stoff Stoinev	Nicholas Ivan	Dir Facilities Svcs Maint Ops Dir Artistic	Parking & Transportation Dean of Applied Science and Te	12.00 12.00	1.00 1.00		\$ 14,688.00 \$ 4,739.00
Stonewall	Shuntua	Police Officer	University Police Department	12.00	1.00	. ,	
Stoops Story	William Derek	Plumber Dir HR Systems Training Comm	Building Maintenance Human Resources	12.00 12.00	1.00 1.00	-	\$ 47.80 \$ 13,323.00
Stott	Matthew	Cinemotgrphr/Creative Vid Prd	Intercollegiate Athletics	12.00	1.00	•	\$ 4,399.00
Strauch Streenz	Jonathon Adam	Steam and Power Plant II Safety Env Compl Assoc	Building Maintenance Environmental Health & Safety	12.00 12.00	1.00 1.00	•	\$ 37.34 \$ 5,409.00
Stricklin	Heaven	Building Service Worker	Advancement & Foundation Opera	12.00	0.66		\$ 16.55
Strunk Strzepek	Julie Katy	Interp Deaf Hard of Hearing Dir Cntr Comnty Eng Svc Lrn	Laboratory Schools Superintend Center for Civic Engagement	12.00 12.00	1.00 1.00	•	\$ 22.18 \$ 9,881.00
Sudlow	Alisa	Clinic Nurse	Health Services	12.00	1.00		\$ 33.18
Suess Sulaski	Steven Tim	Dir Radio Assembly Hall Attendant	School of Communication Maintenance-Field House	11.00 12.00	1.00 1.00	•	\$ 5,643.00 \$ 22.80
Sullivan	Hugh	Program Coordinator	University Marketing & Communi	12.00	1.00	-	\$ 5,011.00
Sullivan Sullivan	Jodi Michael	Food Service Administrator II Strength Conditioning Coord	Event Management, Dining and H Intercollegiate Athletics	12.00 12.00	1.00 1.00		\$ 4,108.00 \$ 3,500.00
Sullivan	Sean	Head Womens Swimming Coach	Intercollegiate Athletics	12.00	1.00	\$ 3,278.00	\$ 3,393.00
Summers Supanichrattana	Linda Tanaporn	Program Coordinator Business Administrative Assoc	Ctr for Integrated Professiona Superintendence	12.00 12.00	1.00 1.00	•	\$ 6,091.00 \$ 37.16
Sutter	Jessica	Business Administrative Assoc	Dean of Students	12.00	1.00	•	\$ 5,516.00
Swanberg Swanson	Ramona Brandt	IT Support Assoc Academic Advisor	Human Resources University College	12.00 12.00	1.00 1.00	•	\$ 35.95 \$ 3,702.00
Sweeney	Preston	Supt of Building Maintenance	Building Maintenance	12.00	1.00	\$ 8,707.00	\$ 9,913.00
Swenson Swigart	Ryan Michael	Strength Conditioning Coord Business Administrative Assoc	Intercollegiate Athletics	12.00 12.00	1.00 1.00		\$ 6,295.00 \$ 8,659.00
Swigart Sylvester	Andrew	Steam and Power Plant IV	Event Management, Dining and H Building Maintenance	12.00 12.00	1.00	•	\$ 8,659.00
Szaflarski	Richard	IT Tech Assoc	Client Services	12.00	1.00		\$ 5,989.00
Szpila Szymoniak	Urszula Thomas	Business Administrative Assoc Program Director	Mennonite College of Nursing Golf Course	12.00 12.00	1.00 1.00	•	\$ 24.58 \$ 7,101.00
Tackett Takeda	Mary Kimiko	Coord Acad Serv	Languages, Literatures and Cul	9.00 12.00	1.00 1.00	•	\$ 5,675.00 \$ 20.90
Tanner-Dixon	Kimiko Hillary	Admissions and Records Repr Spon Proj Program Assoc	Office of International Engage Special Education	12.00 12.00	1.00	-	\$ 20.90 \$ 8,680.00
Tarhule	Aondover	President	President's Office	12.00	1.00		\$ 26,648.00
Tarhule-Lips Tarter	Rozemarijn Brooke	Business Administrative Assoc Building Service Foreman	Superintendence Janitorial	12.00 12.00	1.00 1.00		\$ 10,199.00 \$ 26.33
Tasmin	Tamanna Daniel	Program Coordinator	Career Services	12.00 12.00	1.00		\$ 24.98
Taube Tawzer	Daniel Evan	Director Info Security Customer Service Asst	Office of Technology Solutions Mathematics	12.00 12.00	1.00 1.00	•	\$ 12,677.00 \$ 17.68
Taylor	Janet	Admissions and Records Coord	Registrar	12.00	1.00	\$ 19.42	\$ 22.88
Taylor Taylor	Jason Megan	Office Manager Academic Advisor	School of Communication School of Kinesiology and Recr	12.00 12.00	1.00 1.00	•	\$ 19.79 \$ 4,744.00
Taylor	Samantha	IT Support Assoc	Registrar	12.00	1.00	\$ 18.22	\$ 19.82
Tellor Terfruchte	Amy James	Customer Service Rep Staff Physician	Comptroller's Office Health Services	12.00 12.00	1.00 1.00	-	\$ 21.00 \$ 18,950.00
Terven	Matthew	Parking Serv Agent II	Parking & Transportation	12.00	1.00	\$ -	\$ 17.51
Terven TETE	Monica Afiwa	IT Tech Assoc Program Coordinator	Parking & Transportation Center for Civic Engagement	12.00 12.00	1.00 1.00	•	\$ 4,924.00 \$ 5,296.00
· -	Richard	Carpenter	Building Maintenance	12.00	1.00	\$ 34.98	\$ 36.09
Thackeray			_				
Thames	Daniel	IT Manager Admin Coord Program Coordinator	Infrastructure Op & Networking Milner Library	12.00 12.00	1.00 1.00	•	\$ 10,106.00 \$ 5.693.00
•		IT Manager Admin Coord Program Coordinator Program Director Assoc Dir Development	Infrastructure Op & Networking Milner Library College Appl Sci & Tech Suppor Development-Fundraising	12.00 12.00 12.00 12.00	1.00 1.00 1.00 1.00	\$ 4,485.00 \$ 4,066.00	\$ 5,693.00 \$ 4,208.00

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Thiam Thiel	Abdourahmane Gary	Business Administrative Assoc Senior Library Specialist	Office of International Engage Milner Library	12.00 12.00	1.00 1.00		\$ 7,695.00 \$ 24.96
Thies	Amy	Accounting Associate	University Housing Services	12.00	1.00	\$ 5,348.00	\$ 5,535.00
Thoennes Thomas	Julie Amber	Office Manager Graphic Designer	Clinical Experiences in Teache Ctr for Integrated Professiona	12.00 12.00	1.00 1.00	•	\$ 19.34 \$ 26.43
Thomas Thomas	Denise Erin	Senior Business Manager Program Coordinator	School of Communication Vice President Student Affairs	12.00 12.00	1.00 0.80		\$ 5,044.00 \$ 5,521.00
Thomas	Ethan	Admissions Records Asst	Registrar	12.00	1.00	\$ 14.74	\$ 17.81
Thomas Thomas	Jazmyn Jill	Program Stdt Advisor Academic Advisor	Criminal Justice Sciences Geography, Geology, and the En	12.00 10.50	1.00 1.00		\$ 5,017.00 \$ 6,091.00
Thomas	Joseph	Program Coordinator	Dean of Students	12.00	1.00	\$ 5,279.00	\$ 5,464.00
Thomas Thomas	Shelly Todd	Administrative Nurse I IT Tech Assoc	Thomas Metcalf School Dean of Applied Science and Te	12.00 12.00	1.00 1.00	· ·	\$ 30.59 \$ 6,633.00
Thomason Thomison	Elizabeth Shane	Asst Dir Univ Housing Serv IT Manager Admin Coord	University Housing Services Application Services	12.00 12.00	1.00 1.00		\$ 5,985.00 \$ 9,402.00
Thompson	Anthony	Driver Foreperson	Building Maintenance	12.00	1.00		\$ 30.97
Thompson Thompson	Grant Jordan	Dishroom Supervisor IT Tech Assoc	Event Management, Dining and H Web and Interactive Communicat	12.00 12.00	1.00 1.00		\$ 23.38 \$ 7,256.00
Thompson	Lindsey	Food Service Administrator II	Event Management, Dining and H	12.00	1.00	\$ 3,969.00	\$ 4,108.00
Thompson Thompson	Stephanie Tyler	Asst Dir Univ Housing Serv Supt Construction	University Housing Services Facilities Planning	12.00 12.00	1.00 1.00	•	\$ 5,587.00 \$ 9,919.00
Thompson	Wanita	Customer Service Asst	Superintendence	12.00	0.53	\$ 15.58	\$ 16.13
Thornton Timmerman	Sean Jason	Graphic Designer Plumber	University Marketing & Communi Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 30.22 \$ 47.80
Tinlin Tinsley	Charles Lance	Asst Dir Individual Events Coach Laboratory School	School of Communication University High School	9.00 4.00	1.00 0.09		\$ 4,761.00 \$ 1,100.00
Tomes	Robert	Building Service Worker	Janitorial	12.00	1.00	. ,	\$ 1,100.00
Tomlinson Toney	Troy Michael	Exec Chef Intern Carpenter	Event Management, Dining and H Building Maintenance	12.00 12.00	1.00 1.00		\$ 35.80 \$ 36.09
Toohill	Kristie	Director	Superintendence	12.00	1.00	\$ 15,702.00	\$ 16,252.00
Toohill Toohill	Robert Thomas	Building Mechanic Maintenance Repair Worker	Bldg Maint Bond Rev Building Maintenance	12.00 12.00	1.00 1.00	· ·	\$ 29.31 \$ 29.00
Torres	Carlos	Coach Laboratory School	University High School	6.00	0.09	\$ -	\$ 667.00
Torres Tossie	Veronica Kaitlyn	Building Service Worker Business Administrative Assoc	Janitorial School of Music	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 3,796.00
Travers	Steven	Program Coordinator	Ctr for Integrated Professiona	12.00	1.00	\$ 4,742.00	\$ 5,494.00
Trefzger Trepac	Amanda Kristofer	Admissions and Records Coord Administrative Aide	Registrar School of Biological Sciences	12.00 12.00	1.00 1.00	•	\$ 23.46 \$ 27.04
Trevino	Gabriella	Program Director	Alumni Engagement	12.00	1.00	\$ -	\$ 6,297.00
Tria Troelstrup	Brian Jayne	Coach Laboratory School Asst Dir Publications Unit	Thomas Metcalf School English	4.00 10.00	0.09 1.00	· ·	\$ 840.00 \$ 4,239.00
Tromp	Robert	Mailing Equip Opr Expd III Grounds Worker	Mail Service Center	12.00	1.00 1.00		\$ 21.27 \$ 27.54
Troyer Troyer	Daniel Rachel	Culinary Worker IV	Campus Services Division / Gro Event Management, Dining and H	12.00 12.00	1.00	· ·	\$ 27.54 \$ 22.22
Tshabu Tsui	Kabwika Christine	Culinary Worker III Interior Decorator II	Event Management, Dining and H Facilities Planning	12.00 12.00	1.00 1.00	· ·	\$ 18.91 \$ 9,478.00
Tucker	Joyce	Accountant III	Comptroller's Office	12.00	1.00	\$ -	\$ 5,003.00
Tucker Tuley	Toni Jennifer	Program Director Office Administrator	Advancement & Foundation Opera Advancement & Foundation Opera	12.00 12.00	1.00 1.00		\$ 9,032.00 \$ 33.26
Tulley	Janet	Asst Dean	Dean of Fine Arts	12.00	1.00	\$ 7,957.00	\$ 8,236.00
Tunberg Turk	Matthew Michael	IT Tech Assoc Asst Mn Wmn Trk Fld CC Coach	Office of Technology Solutions Intercollegiate Athletics	12.00 12.00	1.00 1.00		\$ 5,607.00 \$ 4,167.00
Turner	Ashley	Office Support Specialist	Mennonite College of Nursing	12.00	1.00	\$ -	\$ 17.73
Turner Turner	Chase Mickey	Grounds Worker Asst Mens Football Coach	Campus Services Division / Gro Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 21.93 \$ 6,043.00
Tusevo	Rollie	Dining Room Supervisor	Event Management, Dining and H	12.00	1.00	· ·	\$ 17.54
Tuttle Twork	Amy John	IT Manager Admin Coord Program Coordinator	Office of Technology Solutions University Marketing & Communi	12.00 12.00	1.00 1.00		\$ 11,608.00 \$ 5,624.00
Ulrich	Teresa	Coach Laboratory School	University High School	4.00	0.09	· ·	\$ 375.00
Ummel Unsbee	Kyler Richard	Business Administrative Assoc IT Manager Admin Coord	Mennonite College of Nursing Milner Library	12.00 12.00	1.00 1.00		\$ 28.98 \$ 7,093.00
Uphoff Upholz	Robert Matthew	Building Mechanic Office Manager	Bldg Maint Bond Rev Research & Sponsored Programs	12.00 12.00	1.00 1.00	•	\$ 29.31 \$ 19.27
Uranich	Hannah	Customer Service Rep	Superintendence	12.00	1.00	•	\$ 17.68
Utter Van Alebeek	Shelby Wouter	Retail Assistant Manager Dir Academic Programs	TechZone & Student Technologie Office of International Engage	12.00 12.00	1.00 1.00	•	\$ 21.24 \$ 8,280.00
Van Gilder	Amy	Senior Business Manager	Office of Energy Management	12.00	1.00	\$ 26.52	\$ 27.44
Van Note Vance	Daniel Loretta	Steam and Power Plant III Administrative Aide	Building Maintenance Facilities Planning	12.00 12.00	1.00 1.00	· ·	\$ 40.75 \$ 27.40
Vandegraft	Jason	Radiologic Technologist Spec	Health Services	12.00	1.00	\$ -	\$ 28.00
Vandiver Vanheuklon	Stephen Jason	Marketing Associate Business Administrative Assoc	Dean of Business Conference Services	12.00 12.00	1.00 1.00		\$ 8,287.00 \$ 5,798.00
Vann	Kyle	Food Service Administrator III	Event Management, Dining and H	12.00	1.00		\$ 4,519.00
Varghese Vargo	Manju Jeffrey	IT Tech Assoc Business Administrative Assoc	Enterprise Data and Analytics Event Management, Dining and H	12.00 12.00	1.00 1.00		\$ 6,695.00 \$ 7,051.00
Vazquez Vazquez-Mohr	Juliana Samantha	IT Support Assoc Staff Attorney Stdt Legal Serv	Research & Sponsored Programs Dean of Students	12.00 12.00	1.00 1.00	· ·	\$ 24.00 \$ 7,231.00
Vega	Rosa	Building Service Foreman	Janitorial	12.00	1.00	\$ 25.44	\$ 26.33
Velaga Venable-Franklin	Shravan Keiara	IT Tech Assoc Coord Residence Hall	Application Services University Housing Services	12.00 12.00	1.00 1.00		\$ 8,922.00 \$ 4,017.00
Verplaetse	Laura	IT Support Assoc	Human Resources	12.00	1.00	\$ 27.03	\$ 28.53
Verticchio Vickerman	Heidi Donald	Dir Speech And Hearing Clinic VP University Advancement	Communication Sciences and Dis University Advancement	12.00 12.00	1.00 1.00		\$ 9,135.00 \$ 24,641.00
Victor	Nsimba	Building Service Worker	Janitorial	12.00	1.00	\$ 15.54	\$ 19.64
Vietti Vietzen	Brittney Jessica	Academic Advisor Business Administrative Assoc	Politics and Government Comptroller's Office	12.00 12.00	1.00 1.00	*	\$ 4,622.00 \$ 5,175.00
Villarreal	Selena	Program Coordinator	University College	12.00	1.00	\$ 21.17	\$ 4,399.00
Villela Neto Vitalez	Jose Henrique Casey	Marketing Associate Business Administrative Assoc	Center for Civic Engagement Vice President Student Affairs	12.00 12.00	1.00 1.00		\$ 4,520.50 \$ 23.94
Vits	Shelly	Clinic Nurse	Health Services	12.00	1.00	· ·	\$ 32.96
Vogel Vogel	Brooklyn Laura	Academic Advisor Associate Dean	English Dean of Arts & Sciences	11.00 12.00	1.00 1.00		\$ 4,285.00 \$ 13,451.00
Volz	Darick Nicolle	Plumber	Building Maintenance Center for Mathematics Science	12.00 12.00	1.00 1.00	•	\$ 47.80 \$ 6,170.00
von der Heyde Vozzella	Heather	Spon Proj Admin Horticulturist	Campus Services Division / Gro	12.00	1.00		\$ 30.58
Wagehoft Wagner	Michelle Courtney	IT Support Assoc Asst Womens Volleyball Coach	Client Services Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 25.68 \$ 3,451.00
Wagner	Jessica	Food Court/Snack Bar Attendant	Event Management, Dining and H	12.00	1.00	\$ -	\$ 15.64
Wagner Wagoner	Stephen Aubrey	Electrician Program Director	Building Maintenance Office of International Engage	12.00 12.00	1.00 1.00	· ·	\$ 42.98 \$ 5,802.00
Wagoner	Jason	Dir Research Spons Programs	Research & Sponsored Programs	12.00	1.00	\$ 11,997.00	\$ 12,422.00
Walden Walden	Janice Pamela	Building Service Worker Program Director	Janitorial Registrar	12.00 12.00	1.00 1.00	•	\$ 22.83 \$ 6,992.00
Walker	Alexa	Human Resource Representative	Human Resources	12.00	1.00	\$ -	\$ 23.85
Walker Walker	Brandon Daphyne	Bldg Automation Technician I Coord Acad Serv	Building Maintenance School of Kinesiology and Recr	12.00 12.00	1.00 1.00	•	\$ 40.75 \$ 5,477.00
Walker	Jesse	Grounds Worker	Campus Services Division / Gro	12.00	1.00	\$ -	\$ 21.93
Walker Walker	Kelly Kendall	Human Resource Associate Parking Serv Agent II	Human Resources Parking & Transportation	12.00 12.00	1.00 1.00		\$ 10,712.00 \$ 17.51
Walker	Kenton	Office Manager	Technology	12.00	1.00	\$ -	\$ 18.59
Walker Walker	Noah Patricia	Police Officer Admissions and Records Officer	University Police Department Registrar	12.00 12.00	1.00 1.00	· ·	\$ 33.36 \$ 33.37
Walkel							
Wall Wall	James Linda	Food Service Chef Administrative Assistant	Event Management, Dining and H Educational Administration & F	12.00 12.00	1.00 1.00		\$ 5,299.00 \$ 4,979.00

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Wallace Wallace	Jessica Skylier	Supervisor Costume Crafts IT Tech Assoc	School of Theatre and Dance Infrastructure Op & Networking	12.00 12.00	1.00 1.00		\$ 4,715.00 \$ 5,262.00
Waller	Jason	Grounds Equipment Mechanic	Campus Services Division / Gro	12.00	1.00	\$ 26.99	\$ 27.94
Waller Walles	Mary Evan	IT Tech Assoc Graphic Designer Assoc	Enterprise Data and Analytics University Marketing & Communi	12.00 12.00	1.00 1.00	•	\$ 6,963.00 \$ 29.07
Wallrich Walls	Sabrina Yelyse	Campus Recreation Coordinator Admissions Counselor	Campus Recreation Admissions	12.00 12.00	1.00 1.00	•	\$ 4,226.00 \$ 3,629.00
Walsh	Patrick	Assoc Dir Admissions	Admissions	12.00	1.00	\$ 8,743.00	\$ 9,058.00
Walsh Walsh	River Shawna	Assembly Hall Attendant Office Administrator	Arena/Fld Hse Facilities Mennonite College of Nursing	12.00 12.00	1.00 1.00	•	\$ 22.80 \$ 21.19
Waltrip Wandt	Eric Jennifer	Heavy Driver Asst Soccer Coach	Event Management, Dining and H Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 25.88 \$ 3,500.00
Wang	Ying	Culinary Worker III	Event Management, Dining and H	12.00	1.00	\$ 18.22	\$ 21.23
Ward Ward	Joseph Kimberly	IT Tech Assoc Office Manager	Advancement & Foundation Opera Educational Administration & F	12.00 12.00	1.00 1.00	•	\$ 5,758.00 \$ 19.29
Warfield Waring-Sparks	Markie Ashley	Pharmacy Tech II Spon Proj Program Coord	Health Services Center for Mathematics Science	12.00 12.00	1.00 1.00	•	\$ 23.73 \$ 5,000.00
Warloe	Natasha	Office Manager	School of Theatre and Dance	12.00	1.00	\$ -	\$ 19.25
Warnecke Warren	Lauren Lucas	Media Write Produce Announc II Office Administrator	Radio Station WGLT Career Services	12.00 12.00	1.00 1.00	•	\$ 4,114.50 \$ 21.36
Waterkotte Waters	Eli Nathan	IT Tech Assoc IT Support Assoc	Student Affairs Information Te Student Affairs Information Te	12.00 12.00	1.00 1.00	•	\$ 5,834.00 \$ 30.08
Watkins	Susan	Associate Dean	Mennonite College of Nursing	12.00	1.00	\$ 8,910.00	\$ 9,222.00
Watkins Watson	Wendy Makiah	Administrative Aide Spon Proj Research Coord	Admissions Student Support Services Unive	12.00 12.00	1.00 1.00	•	\$ 21.90 \$ 3,450.00
Watson Watts	Nicholas Craig	Program Coordinator IT Tech Assoc	Maintenance-Field House Infrastructure Op & Networking	12.00 12.00	1.00 1.00	. ,	\$ 5,803.00 \$ 6,469.00
Watts	Erin	Business Administrative Assoc	University Advancement	12.00	1.00	\$ 5,520.00	\$ 6,039.00
Waugh Webb	D Marlon	IT Support Assoc Admissions and Records Repr	Registrar Registrar	12.00 12.00	1.00 1.00	•	\$ 28.57 \$ 21.88
Webb Tonkovic	Marissa	Coord Recruitment	Wonsook Kim School of Art	9.00	0.25	•	\$ 27.00
Weber Weber	Abby Zachary	Program Coordinator IT Tech Assoc	Student Access and Accommodati Student Affairs Information Te	12.00 12.00	1.00 1.00		\$ 4,770.00 \$ 6,178.00
Webster Weddle	Amanda Allan	Academic Advisor Business Administrative Assoc	Chemistry Event Management, Dining and H	12.00 12.00	1.00 1.00	•	\$ 4,692.00 \$ 6,338.00
Weedman	Dennis	Assoc Univ Counsel	Office of General Counsel	12.00	1.00	\$ -	\$ 12,938.00
Weier Weiser	Jacklyn Katherine	Asst Dir WGSS Program Coord Acad Prog Support	Women, Gender, and Sexuality University College	12.00 12.00	1.00 1.00	•	\$ 5,003.00 \$ 4,486.00
Weiss	Sheena	Accounting Associate	Comptroller's Office	12.00	1.00	\$ 4,742.00	\$ 6,728.00
Weitzel Welch	Ashley Elizabeth	Financial Aid Representative Office Administrator	Financial Aid Office Ctr for Integrated Professiona	12.00 12.00	1.00 1.00		\$ 19.61 \$ 23.29
Weller Welsh	Ashleigh Nicole	Food Service Administrator II Business Administrative Assoc	Event Management, Dining and H Radio Station WGLT	12.00 12.00	1.00 1.00		\$ 4,108.00 \$ 30.72
Welsh	Valerie	Public Information Associate	Media Relations	12.00	1.00	\$ -	\$ 46.16
Welter Wert	Stacey Cynthia	Business Administrative Assoc Administrative Aide	University High School Technology	12.00 12.00	1.00 1.00		\$ 4,383.00 \$ 23.32
West	Christina	Business Administrative Assoc	Comptroller's Office	12.00	1.00	\$ 10,091.00	\$ 10,466.00
West West	Jason Kirby	Building Service Foreman Building Service Worker	Janitorial Janitorial	12.00 12.00	1.00 1.00	•	\$ 26.33 \$ 16.55
West West	Matthew Phillip	Building Service Worker Construction Project Coord II	Janitorial Building Maintenance	12.00 12.00	1.00 1.00	-	\$ 16.55 \$ 7,547.00
Wester	Alicia	Program Assistant	Planning, Research & Policy An	12.00	1.00	\$ -	\$ 5,711.00
Wester Wethington	Kenneth Devin	Spec Teacher Education Building Mechanic	Physics Bldg Maint Bond Rev	12.00 12.00	1.00 1.00	•	\$ 7,243.00 \$ 23.45
Whalen	Robert	Broadcasting Engineer	T V 10 News	12.00	1.00		\$ 31.73
Wheet Whitcomb	Jared Jennifer	Coach Laboratory School Academic Advisor	Thomas Metcalf School College of Business Student Ad	2.00 12.00	0.09 1.00	•	\$ 936.00 \$ 3,649.00
White White	Brennan Brian	Program Assistant Athletics Communications Assoc	Intercollegiate Athletics Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 21.54 \$ 3,553.00
White	Nicole	Asst Dir Admissions	Admissions	12.00	1.00	\$ 4,445.00	\$ 4,603.00
Whited Whitfield	Michelle Evelyn	Assoc Dean of Students Building Service Supervisor	Dean of Students Janitorial	12.00 12.00	1.00 1.00		\$ 8,281.00 \$ 4,810.00
Whitman Whitsitt	Wendi Susan	Program Director Marketing Associate	Vice President & Provost Career Services	12.00 12.00	1.00 1.00	•	\$ 9,661.00 \$ 4,928.00
Wickenhauser	Timothy	Business Administrative Assoc	Comptroller's Office	12.00	1.00	. ,	\$ 4,928.00
Widergren Wiechman	Tracy Joshua	Assoc Dir of Publications Bldg Automation Technician II	University Marketing & Communi Building Maintenance	12.00 12.00	1.00 1.00		\$ 7,180.00 \$ 46.06
Wiese	Max	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Wiese Wiesner	Theresa Ruth	Program Asst Accounting Specialist	Admissions Comptroller's Office	12.00 12.00	1.00 1.00	•	\$ 22.35 \$ 22.77
Wiggins Wilberg	Stacey Jill	Spon Proj Admin Asst VP University Advancement	School of Social Work Advancement & Foundation Opera	9.00 12.00	0.75 1.00		\$ 3,737.00 \$ 15,769.00
Wilburn	Artie	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Wilcox Wild	Nicole Ryan	Interp Deaf Hard of Hearing Safety Env Compl Spec	Laboratory Schools Superintend Environmental Health & Safety	12.00 12.00	1.00 1.00	•	\$ 24.04 \$ 4,658.00
Wiley	Trini	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Wilkinson Willert	Brian David	Spon Proj Admin Asst Technical Dir	School of Biological Sciences Maintenance-Field House	12.00 12.00	0.40 1.00	•	\$ 35.00 \$ 25.38
Willet Willett	Tracy Joanna	Business Administrative Assoc Dir MCN Simulation	Vice President Student Affairs Mennonite College of Nursing	12.00 9.00	1.00 1.00	•	\$ 6,082.00 \$ 7,284.00
Williams	Desmond	Internal Auditor Assoc	Internal Auditor	12.00	1.00	\$ 7,038.00	\$ 7,284.00
Williams Williams	Essence Mark	Admissions and Records Repr Building Mechanic	Office of International Engage Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 20.52 \$ 29.31
Williams Williams	Matisha Michael	Staff Counselor (intern)	Student Counseling Services Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 3,239.00 \$ 5,710.00
Williams	Olivia	Program Coordinator Customer Service Asst	Comptroller's Office	12.00	1.00		\$ 5,710.00
Williams Williamson	Sean Anita	Food Serv Sanitation Laborer Building Service Worker	Event Management, Dining and H Janitorial	12.00 12.00	1.00 1.00	•	\$ 21.23 \$ 22.83
Williamson	Valarie	Culinary Worker II	Event Management, Dining and H	12.00	1.00	\$ 15.14	\$ 15.64
Willmitch Wilson	Thomas Gregory	Coord Planetarium Culinary Worker III	Physics Event Management, Dining and H	12.00 12.00	1.00 1.00		\$ 5,320.00 \$ 21.23
Wilson	Margaret	Building Service Worker	Janitorial	12.00	1.00	•	\$ 19.64
Wilson Wimbley	Stephanie Keenan	Program Coordinator Program Director	Ctr for Integrated Professiona University College	12.00 12.00	1.00 1.00	•	\$ 5,262.00 \$ 7,332.00
Winfrey-Richman Wing	Heather Matthew	Grants and Contracts Assoc Program Coordinator	Research & Sponsored Programs University Marketing & Communi	12.00 12.00	1.00 1.00		\$ 5,572.00 \$ 5,779.00
Wirth-Rissman	Jill	Director	Health Services	12.00	1.00	\$ -	\$ 17,250.00
Wirtz Wisher	Kinsey Corey	Program Coordinator Athletic Turf Specialist	Campus Recreation Intercollegiate Athletics	12.00 12.00	1.00 1.00	•	\$ 5,525.00 \$ 27.93
Wissmiller Wissmiller	Christie Scott	Administrative Aide Electrician	Vice President & Provost Building Maintenance	12.00 12.00	1.00 1.00	\$ 27.12	\$ 5,742.00 \$ 42.98
Witt	Andrew	Building Mechanic Foreman	Bldg Maint Bond Rev	12.00	1.00	\$ 32.71	\$ 33.85
Witzig Wolf	Amy Joseph	Business Administrative Assoc Crafts Trades General Foreman	Vice President & Provost Building Maintenance	12.00 12.00	1.00 1.00	•	\$ 4,685.00 \$ 45.18
Wood	Rachel	Supervisor Clinical	Communication Sciences and Dis	12.00	1.00	\$ 6,229.00	\$ 6,447.00
Wooden Woodring	Chelsea Diana	Food Service Administrator II Office Support Specialist	Event Management, Dining and H College of Business Student Ad	12.00 12.00	1.00 1.00		\$ 4,108.00 \$ 17.99
Woodruff	Aaron	Chief University Police	University Police Department	12.00	1.00	\$ 11,273.00	\$ 11,668.00
Woods Woody	Steven Michelle	Bldg Automation Technician I Administrative Aide	Building Maintenance School of Theatre and Dance	12.00 12.00	1.00 1.00	•	\$ 40.75 \$ 26.57
		Carata a Liberta Caratalian	NAtha and the name	12.00	1.00	\$ 20.79	\$ 21.52
Wooten Wright	Lataetka Randall	Senior Library Specialist Asst Agricultural Rsrch Tech	Milner Library Agriculture			-	•
Wooten Wright Wright Wrightam	Lataetка Randall Sarah Elias	Asst Agricultural Rsrch Tech Program Coordinator IT Tech Assoc	Agriculture Intercollegiate Athletics Milner Library	12.00 12.00 12.00 12.00	1.00 1.00 1.00 1.00	\$ 22.34 \$ -	\$ 23.13 \$ 5,000.00 \$ 5,962.00

Illinois State University Administrative Professional and Civil Service Employees - FY2024

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Wunder	Mark	Asst VP University Advancement	University Advancement	12.00	1.00	\$ 15,289.00	\$ 15,824.00
Wunder	Teresa	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Xie	Shan	Accounting Associate	Event Management, Dining and H	12.00	1.00	\$ 4,572.00	\$ 5,205.00
Yacucci	Amy	Supervisor Clinical	Communication Sciences and Dis	12.00	1.00	\$ 6,531.00	\$ 6,760.00
Yahr	Lucy	Spec Production Suprvsr	School of Theatre and Dance	12.00	1.00	\$ 4,548.00	\$ 4,119.00
Yeager	Eric	Director	College of Fine Arts Instructi	12.00	1.00	\$ 7,610.00	\$ 7,876.00
Yoder	Brenda	Administrative Aide	Dean of Business	12.00	0.32	\$ 24.86	\$ 25.73
Yoder	Drew	Greens Worker	Golf Course	12.00	1.00	\$ -	\$ 16.95
Yoder	Marjorie	Culinary Worker III	Event Management, Dining and H	12.00	1.00	\$ 18.22	\$ 18.91
Young	Christopher	Library Operations Associate	Milner Library	12.00	1.00	\$ 25.14	\$ 30.25
Young	Felicia	Labor Relations Spec	Human Resources	12.00	1.00	\$ 31.61	\$ 32.72
Young	Jillian	Director Annual Giving Senior	Assistant to Vice Pres of Univ	12.00	1.00	\$ 9,918.00	\$ 10,265.00
Young	Jonathan	Mailing Equip Opr Expd I	Mail Service Center	12.00	1.00	\$ 16.29	\$ 17.02
Young	Linda	Medical Tech I	Health Services	12.00	0.20	\$ 26.50	\$ 27.30
Young	Matthew	Building Service Worker	Janitorial	12.00	1.00	\$ 22.06	\$ 22.83
Yozze	Tyler	Program Coordinator	Office of International Engage	12.00	1.00	\$ -	\$ 3,833.34
Yuncker	Sarah	Clinic Nurse	Health Services	12.00	1.00	\$ 32.21	\$ 33.18
Zagaroli	Traci	Business Manager	Office of Technology Solutions	12.00	1.00	\$ 26.39	\$ 27.31
Zamudio	Maria	Exec Dir Prog Partnerships	Dean of Education	12.00	1.00	\$ 7,781.00	\$ 8,053.00
Zeigler	Troy	Steam and Power Plant III	Building Maintenance	12.00	1.00	\$ 39.56	\$ 40.75
Ziegenhorn	Lindsay	Licensed Practical Nurse II	Health Services	12.00	1.00	\$ 17.00	\$ 24.13
Zilligen	Kaitlin	Customer Service Rep	Comptroller's Office	12.00	1.00	\$ 20.57	\$ 21.29
Zimmerman	Nicholas	Grounds Worker	Campus Services Division / Gro	12.00	1.00	\$ 26.60	\$ 27.54
Zimmerman	Stephanie	IT Tech Assoc	Comptroller's Office	12.00	1.00	\$ 5,767.00	\$ 6,296.00
Zolper	Kelly	Program Coordinator	Planning, Research & Policy An	12.00	1.00	\$ 6,147.00	\$ 6,362.00
Zook	Brenda	Medical Insurance Spec	Health Services	12.00	1.00	\$ -	\$ 23.00
Zorn	Maximillian	Program Assistant	School of Theatre and Dance	12.00	1.00	\$ 20.70	\$ 21.42
Zuniga Martinez	Sandra	Building Service Worker	Janitorial	12.00	1.00	\$ 18.97	\$ 19.64

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Abotteen	Shukri	Instructional Asst Professor	School of Information Technolo	9.00	1.00	. ,	\$ 8,053.00
Adamstyk Wanders	Nobuko	Professor	Sociology and Anthropology	9.00	1.00	•	\$ 9,930.00
Adamczyk-Wonders Adams	Mary Kay Lori	Clinical Asst Professor Professor	School of Biological Sciences School of Theatre and Dance	4.50 9.00	0.33 1.00	•	\$ 1,430.00 \$ 10,117.00
Adams-McCarthy	Melissa	Clinical Asst Professor	Special Education	9.00	0.75	•	\$ 3,411.00
Adedze	Agbenyega	Associate Professor	History	9.00	1.00	•	\$ 8,984.00
Adelman-Mullally	Theresa	Asst Professor	Mennonite College of Nursing	9.00	1.00	•	\$ 9,491.00
Adkins	Cassandra	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.33	•	\$ 1,414.00
Aduonum	Ama	Professor	School of Music	9.00	1.00	•	\$ 10,003.00
Agate Ahlgrim	Joel Kevin	Instructional Asst Professor Department Chairperson	School of Kinesiology and Recr Finance, Insurance and Law	4.50 12.00	0.25 1.00	•	\$ 1,423.00 \$ 16,849.00
Aiu	James	Clinical Asst Professor	Mathematics	4.50	0.19	•	\$ 786.00
Akman	Fusun	Professor	Mathematics	9.00	1.00	•	•
Akman	Olcay	Professor	Mathematics	9.00	1.00	\$ 11,575.00	\$ 11,940.00
Al-Bataineh	Adel	Professor	School of Teaching and Learnin	9.00	1.00	. ,	
Albrecht	Marci	Clinical Asst Professor	English	4.50	0.17	•	\$ 506.00
Aldomor	Allison	Professor	School of Music	9.00	1.00	•	•
Aldeman Allbaugh	Matthew Grace	Associate Professor Instructional Asst Professor	Technology Milner Library	9.00 12.00	1.00 1.00	•	\$ 11,000.00 \$ 5,520.00
Allison	Renee	Instructional Asst Professor	Department of Management	9.00	1.00	•	
Altenburger	Elke	Associate Professor	Family and Consumer Sciences	9.00	1.00	•	\$ 9,100.00
Ambler	Ralph	Lecturer	Technology	4.50	0.25	•	\$ 1,217.00
Amis	Michael	Instructional Asst Professor	Wonsook Kim School of Art	2.00	0.75	\$ -	\$ 3,969.00
Ammar	Nariman	Asst Professor	School of Information Technolo	9.00	1.00	•	\$ 11,244.00
Amorose	Anthony	Professor	School of Kinesiology and Recr	9.00	1.00	•	•
Anderson	Gary	Clinical Asst Professor	English	4.50	0.08	•	•
Andris	Emily Christina	Clinical Asst Professor Asst Professor	Special Education School of Teaching and Learnin	9.00 9.00	1.00 1.00	•	\$ 4,947.00 \$ 7,884.00
Angleton Aplington-Roberge	Katherine	Instructional Asst Professor	University College	9.00	1.00	•	\$ 7,884.00
Applegate	James	Instructional Asst Professor	Educational Administration & F	2.00	0.58	•	\$ 2,869.00
Arellanes	Jordan	Asst Professor	Psychology	9.00	1.00	•	•
Arguelles	Benjamin	Instructional Asst Professor	Creative Technologies Program	9.00	1.00	\$ 5,037.00	\$ 5,292.00
Armich	Jacqueline	Clinical Asst Professor	Mathematics	4.50	0.13	•	•
Arnett-Hartwick	Sally	Professor	Family and Consumer Sciences	9.00	1.00	•	•
Arora	Sonia	Instructional Asst Professor	Special Education	9.00	1.00	•	\$ 6,417.00
Arzuaga Asbury	Carlos Bryan	Instructional Asst Professor Lecturer	School of Kinesiology and Recr School of Communication	9.00 9.00	1.00 0.50	•	\$ 7,086.00 \$ 2,458.00
Ascherio	Marta	Asst Professor	Criminal Justice Sciences	9.00	1.00	•	
Atkins-Strawder	Sierra	Faculty Associate	Thomas Metcalf School	9.50	1.00	•	•
Aurelius-Muir	Debbie	Clinical Asst Professor	School of Music	4.50	0.13	\$ 485.88	\$ 596.00
Austin	Debra	Instructional Asst Professor	School of Music	9.00	0.75	\$ 4,172.00	\$ 4,338.00
Avant	Deneca	Professor	School of Social Work	9.00	1.00	•	\$ 10,621.00
Avogo	Winfred	Associate Professor	Sociology and Anthropology	9.00	1.00	. ,	\$ 8,834.00
Ayers Babbitt	Kyle Mark	Instructional Asst Professor Professor	School of Theatre and Dance School of Music	9.00 9.00	1.00 1.00	•	\$ 5,292.00 \$ 10,003.00
Baca	Evelyn	Asst Professor	School of Teaching and Learnin	9.00	1.00	•	•
Baek	Jae	Instructional Asst Professor	Mathematics	9.00	1.00	•	\$ 6,844.00
Baer	Daniel	Instructional Asst Professor	School of Music	9.00	0.75	•	\$ 3,969.00
Bagais	Reem	Asst Professor	Family and Consumer Sciences	9.00	1.00	\$ -	\$ 7,900.00
Bahl	Mona	Associate Professor	Department of Management	9.00	1.00	•	\$ 16,532.00
Bahmani	Ladan	Associate Professor	Wonsook Kim School of Art	9.00	1.00	•	
Bahmanian	Mohammad	Professor	Mathematics	9.00	1.00	•	\$ 9,737.00
Bailey Bailey	Alison Angela	University Professor Instructional Asst Professor	Philosophy Languages, Literatures and Cul	12.00 9.00	1.00 1.00	•	•
Bajwa	Neet Priya	Asst Professor	Mathematics	9.00	1.00	•	
Baker	Margaret	Instructional Asst Professor	School of Social Work	9.00	0.25	•	•
Bakir	Aysen	Professor	Marketing	9.00	1.00	\$ 15,963.00	\$ 16,689.00
Bakir	Nesrin	Asst Professor	Marketing	9.00	1.00	\$ 9,683.00	\$ 10,347.00
Baksi	Rudra	Asst Professor	School of Information Technolo	9.00	1.00	•	\$ 11,244.00
Baldoni	Emily	Asst Professor	Milner Library	12.00	1.00	·	\$ 6,250.00
Baldwin Ball	John Andrea	Professor Instructional Asst Professor	School of Communication School of Theatre and Dance	9.00 9.00	1.00 1.00	•	\$ 12,171.00 \$ 5,292.00
Ball	Corrie	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.25	·	\$ 1,137.00
Ballard	Sarah	Asst Professor	Special Education	9.00	1.00		
Bally	Yongmei	Professor	Department of Management	9.00	1.00	•	\$ 17,813.00
Banik	Tenley	Associate Professor	Geography, Geology, and the En	9.00	1.00	\$ 4,354.00	\$ 9,157.00
Banks Wimbley	Brea	Associate Professor	Psychology	9.00	1.00	•	\$ 10,003.00
Banning	Jennifer	Professor	Family and Consumer Sciences	9.00	1.00	•	\$ 10,490.00
Baral	Susil	Asst Professor	Chemistry	9.00	1.00	•	
Baranov Bardwell	Evgenii Amy	Instructional Asst Professor Associate Professor	Economics Family and Consumer Sciences	9.00 9.00	1.00 1.00	•	\$ 6,901.00
Bardweii Barelka	Amy Alexander	Associate Professor Associate Professor	Family and Consumer Sciences Department of Management	9.00	1.00	•	\$ 9,116.00 \$ 15,952.00
Barham	Beverly	Professor	Health Sciences	9.00	1.00		
Barker	David	Associate Professor	Mathematics	9.00	1.00	•	
Barnes	George	Department Chairperson	Chemistry	12.00	1.00	\$ 12,417.00	

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Barnes	Jennifer	Associate Professor	Family and Consumer Sciences	9.00	1.00	. ,	\$ 9,935.00
Barrett Barrow	Jeffrey Anne	Professor Lecturer	Mathematics Agriculture	9.00 4.50	1.00 1.00	*	\$ 11,135.00 \$ 6,500.00
Barrowclough	Michael	Associate Professor	Agriculture	9.00	1.00	· ·	\$ 9,795.00
Bartels	Selina	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.25	*	\$ 1,323.00
Bates	Alan	Professor	School of Teaching and Learnin	9.00	1.00	\$ 8,912.00	\$ 10,830.00
Batson	Marietta	Clinical Asst Professor	School of Teaching and Learnin	4.50	0.19		\$ 871.00
Bauer	Adam	Instructional Asst Professor	Geography, Geology, and the En	9.00	1.00	•	\$ 4,912.00
Baumann Bazan	Heidi Christy	Associate Professor Instructional Asst Professor	Department of Management Health Sciences	9.00 9.00	1.00 1.00	· ·	\$ 15,778.00 \$ 8,773.00
Beam	Gregory	Instructional Asst Professor	School of Theatre and Dance	9.00	0.75	*	\$ 3,969.00
Beard	Susi	Faculty Associate	Thomas Metcalf School	9.50	1.00	· ·	\$ 8,548.00
Beatty	Julie	Instructional Asst Professor	Mennonite College of Nursing	9.00	1.00	*	\$ 6,563.00
Beavers	Laura	Clinical Asst Professor	School of Social Work	4.50	0.08	-	\$ 278.00
Beck	Frank	Associate Professor	Sociology and Anthropology	9.00	1.00	. ,	\$ 9,164.00
Bee Beggs	Gregory Brent	Lecturer Dir School Of Kines & Rec	School of Information Technolo School of Kinesiology and Recr	4.50 12.00	0.25 1.00	*	\$ 1,137.00 \$ 13,798.00
Beichner-Thomas	Dawn	Professor	Criminal Justice Sciences	9.00	1.00	*	
Beinborn	Emily	Instructional Asst Professor	School of Music	9.00	1.00	\$ 5,350.00	\$ 5,538.00
Belcher	Morgan	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.25	*	
Bell	Charles	Asst Professor	Criminal Justice Sciences	9.00	1.00	*	\$ 9,786.00
Belomoina Bolt	Lyudmila	Instructional Asst Professor	English	4.50	0.25	*	\$ 1,323.00
Belt Bennison-House	Chelsey Deanna	Instructional Asst Professor Instructional Asst Professor	School of Music School of Teaching and Learnin	4.50 9.00	0.25 0.25	· ·	\$ 1,225.00 \$ 1,217.00
Beranek	Saskia	Asst Professor	Wonsook Kim School of Art	9.00	1.00		\$ 7,901.00
Bergfield	Justin	Associate Professor	Physics	9.00	1.00		
Bergfield	Kaitlin	Instructional Asst Professor	Family and Consumer Sciences	9.00	1.00	\$ 5,632.00	\$ 5,830.00
Bergner	Raymond	Professor	Psychology	9.00	1.00	. ,	
Berry	Megan	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.33	•	\$ 1,686.00
Bex	Richard	Visiting Professor	School of Teaching and Learnin	9.00	1.00	· ·	\$ 7,223.00
Bhattacharya Bieneman	Mangolika Marcy	Asst Professor Clinical Asst Professor	School of Information Technolo School of Teaching and Learnin	9.00 4.50	1.00 0.25	· ·	\$ 11,000.00 \$ 1,145.00
Biggers-Richardson	Ocean	Instructional Asst Professor	School of Social Work	9.00	0.25	*	
Bingham	Dewhitt	Clinical Asst Professor	Criminal Justice Sciences	9.00	1.00	*	
Birkey	Rachel	Associate Professor	Accounting	9.00	1.00	\$ 18,166.00	\$ 18,722.00
Bisco	Jill	Asst Professor	Finance, Insurance and Law	9.00	1.00	•	
Biswas	Mahua	Associate Professor	Physics	9.00	1.00	*	
Black Blakeman	Hulda John	Professor Asst Professor	Marketing Mennonite College of Nursing	9.00 9.00	1.00 1.00	*	
Blanco Lobo	German	Associate Professor	Economics	9.00	1.00	*	
Blaney	Joseph	Dir School Of Social Work	School of Social Work	12.00	1.00	*	
Blaum	Melissa	Instructional Asst Professor	Special Education	4.50	0.13	\$ 572.00	\$ 592.00
Block	Glenn	Professor	School of Music	9.00	1.00	*	
Bloom	Amy	Instructional Asst Professor	Geography, Geology, and the En	9.00	1.00	*	
Blum Blunier	Craig Troy	Professor Instructional Asst Professor	Special Education Technology	9.00 9.00	1.00 1.00	*	
Boehm	Shelby	Asst Professor	English	9.00	1.00	*	\$ 7,223.00
Boerngen	Maria	Associate Professor	Agriculture	9.00	1.00	-	
Boesdorfer	Sarah	Dir Center For Math Sci Tech	Chemistry	9.00	1.00	\$ 9,221.00	\$ 9,569.00
Bohrer	Matthew	Clinical Asst Professor	School of Teaching and Learnin	4.50	0.56	\$ 1,883.00	\$ 2,565.00
Bolin	Ashley	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.25	*	
Bollmann	David	Instructional Asst Professor Associate Professor	School of Teaching and Learnin	9.00	0.42	*	
Bonnell Bordewick	Angela Andrew	Instructional Asst Professor	Milner Library Marketing	12.00 4.50	1.00 0.25		\$ 7,992.00 \$ 1,217.00
Bordewick	Lacey	Instructional Asst Professor	Accounting	9.00	1.00	•	. ,
Bork	, Jacqueline	Instructional Asst Professor	Mathematics	9.00	1.00	*	\$ 4,867.00
Borrull	Francesc	Instructional Asst Professor	Languages, Literatures and Cul	9.00	1.00	\$ 6,111.00	\$ 6,325.00
Boudeman	Danielle	Instructional Asst Professor	Mennonite College of Nursing	9.00	1.00	*	\$ 6,556.00
Bowden	Rachel	Department Chairperson	School of Biological Sciences	12.00	1.00		
Bowman	Heidi Chelsea	Instructional Asst Professor Asst Professor	English	9.00	1.00 1.00	*	
Boyer Boyer	Kevin	Instructional Asst Professor	School of Kinesiology and Recr Mathematics	9.00 9.00	1.00	*	•
Boznos	Courtney	Faculty Associate	Thomas Metcalf School	9.50	1.00	•	\$ 7,363.00
Braden	Allison	Instructional Asst Professor	Mennonite College of Nursing	9.00	1.00	\$ 6,326.00	
Branoff	Theodore	Department Chairperson	Technology	12.00	1.00	*	
Braswell	Gregory	Professor	Psychology	9.00	1.00	*	
Bratslavsky	Lauren	Associate Professor	School of Communication	9.00	1.00	*	
Braun	Becky David	Instructional Asst Professor Instructional Asst Professor	Communication Sciences and Dis Educational Administration & F	9.00 4.50	1.00 0.25	*	
Braun Brehm	Joan Joan	Department Chairperson	Sociology and Anthropology	4.50 12.00	1.00	*	\$ 1,237.00 \$ 11,925.00
Breitweiser	Edward	Instructional Asst Professor	Creative Technologies Program	4.50	0.25		\$ 1,323.00
Breu	Christopher	Professor	English	9.00	1.00	-	\$ 10,347.00
Brewer	Christopher	Asst Professor	Criminal Justice Sciences	9.00	1.00	*	
Breyer	Daniel	Professor	Philosophy	9.00	1.00	*	
Bricker	Crystal	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.53	\$ 2,862.00	\$ 2,238.00

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Briggs	Judith	Professor	Wonsook Kim School of Art	9.00	1.00	•	\$ 10,008.00
Broadbear	James	Professor	Health Sciences	9.00	1.00	*	\$ 11,693.00
Broadbent Brodnick	Carolyn Stephanie	Instructional Asst Professor Instructional Asst Professor	Accounting Mathematics	4.50 9.00	0.50 1.00	*	
Brokaw	Amy	Faculty Associate	University High School	10.00	1.00	*	\$ 7,363.00
Brown	, Joshua	Professor	Technology	9.00	1.00	*	\$ 11,626.00
Bruemmer	Katherine	Instructional Asst Professor	English	4.50	0.25	\$ -	\$ 1,323.00
Bruhn	Andrew	Asst Professor	School of Music	9.00	1.00	*	\$ 7,778.00
Brunsdala	Katherine Maureen	Asst Professor Professor	Wonsook Kim School of Art	9.00	1.00 1.00	· ·	\$ 7,778.00 \$ 9,192.00
Brunsdale Bryant	Stephen	Instructional Asst Professor	Milner Library Creative Technologies Program	12.00 9.00	1.00	•	\$ 4,867.00
Buchignani	Cassandra	Clinical Asst Professor	English	4.50	0.17	*	\$ 506.00
Buckley	Chad	Associate Professor	Milner Library	12.00	1.00	\$ 7,941.00	\$ 8,978.00
Buenting	Emily	Lecturer	Communication Sciences and Dis	4.50	0.25	\$ -	\$ 1,323.00
Buggar	Tabithia 	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.67	-	\$ 2,828.00
Bularzik	Eileen	Instructional Asst Professor	English	9.00	1.00	*	\$ 6,726.00
Buller Bunge	Thomas Ryan	Professor Instructional Asst Professor	Philosophy Mathematics	9.00 9.00	1.00 1.00	•	\$ 12,768.00 \$ 5,413.00
Buragas	Amelia	Asst Professor	Politics and Government	9.00	1.00	*	•
Burke	Adam	Instructional Asst Professor	Technology	9.00	1.00	*	•
Burke	Ruth	Asst Professor	Wonsook Kim School of Art	9.00	1.00	\$ 7,155.00	\$ 7,890.00
Burnett	Eugene	Clinical Asst Professor	History	4.50	0.25	\$ 974.00	\$ 764.00
Burningham	Bruce	Professor	Languages, Literatures and Cul	9.00	1.00	*	\$ 11,957.00
Burr	Thomas	Associate Professor	Sociology and Anthropology	9.00	1.00		\$ 8,576.00
Bursell Buschon	Jennifer Emily	Lecturer Instructional Asst Professor	Criminal Justice Sciences Mennonite College of Nursing	4.50 4.50	0.50 0.09	*	\$ 2,274.00 \$ 354.00
Busija	Edith	Instructional Asst Professor	Department of Management	9.00	1.00	· ·	\$ 5,292.00
Buti	Christopher	Clinical Asst Professor	School of Music	4.50	0.13	*	\$ 596.00
Butler	David	Instructional Asst Professor	Politics and Government	4.50	0.25	· ·	\$ 1,323.00
Byrd	Kaitlin	Instructional Asst Professor	Family and Consumer Sciences	9.00	1.00	\$ 6,454.00	\$ 6,939.00
Calderon	Susana	Asst Professor	Mennonite College of Nursing	9.00	1.00	*	\$ 10,086.00
Caldwell	Vicki	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.07	· ·	\$ 290.00
Califf Calkins	Mary Celeste	Associate Professor Asst Professor	School of Information Technolo	9.00 9.00	1.00 1.00	*	
Calvillo	Melissa	Instructional Asst Professor	Technology Mennonite College of Nursing	9.00	1.00	*	*
Campbell	Geoffrey	Instructional Asst Professor	Technology	9.00	1.00	•	\$ 8,227.00
Campbell	James	Clinical Asst Professor	School of Teaching and Learnin	4.50	0.75	\$ 4,279.00	\$ 3,517.00
Campbell	Julie	Associate Professor	Psychology	9.00	0.50	*	\$ 4,426.50
Campbell	Kim	Instructional Asst Professor	Politics and Government	9.00	0.25	*	•
Campbell	Kristy	Clinical Asst Professor	School of Teaching and Learnin	4.50	0.63	•	•
Cannavan Capasso	Damien John	Associate Professor Instructional Asst Professor	Accounting Educational Administration & F	9.00 4.50	1.00 0.50	*	\$ 18,551.00 \$ 2,646.00
Caplan	Matthew	Asst Professor	Physics	9.00	1.00	*	\$ 9,026.00
Carby	Lori	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.75	*	\$ 3,651.00
Carey	Kevin	Instructional Asst Professor	Educational Administration & F	4.50	0.13	\$ -	\$ 688.00
Carlson	Kristin	Associate Professor	School of Theatre and Dance	9.00	1.00	*	\$ 8,638.00
Carr	Caleb	Professor	School of Communication	9.00	1.00	*	\$ 10,774.00
Carr	Danielle	Clinical Asst Professor	Special Education	9.00	1.00	*	\$ 5,036.00
Carroll Carte	Thomas Traci	Instructional Asst Professor Dir School Of Info Technology	Mennonite College of Nursing School of Information Technolo	4.50 12.00	0.63 1.00	•	\$ 3,333.00 \$ 17,272.00
Carter	Christian	Instructional Asst Professor	School of Kinesiology and Recr	9.00	1.00	*	•
Carter	Gregory	Instructional Asst Professor	History	9.00	1.00	*	\$ 5,751.00
Carter	Tyler	Instructional Asst Professor	Politics and Government	9.00	1.00	\$ 4,653.00	\$ 4,867.00
Carthans	Kimberly	Faculty Associate	Thomas Metcalf School	9.50	1.00	*	*
Cassulo	Kylie	Faculty Associate	University High School	9.50	1.00		\$ 4,211.00
Castillo	Marinelly	Instructional Asst Professor	Languages, Literatures and Cul	9.00	1.00	*	
Casto Cates	Joseph Gary	Associate Professor Professor	School of Biological Sciences Psychology	9.00 9.00	1.00 1.00		\$ 9,216.00 \$ 10,267.00
Caulfield	Brandy	Instructional Asst Professor	Office of International Engage	9.00	1.00	*	*
Caulfield	Stephen	Instructional Asst Professor	Office of International Engage	9.00	1.00		
Causarano	Antonio	Associate Professor	Special Education	9.00	1.00	\$ 8,401.00	\$ 8,623.00
Causarano	Pei-ni	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.25		
Chacon	Kim	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.34	*	*
Chang	Ashish	Asst Professor	Department of Management	9.00	1.00		\$ 15,623.00
Chang Chang	Yi-Hsiang Yun	Associate Professor Associate Professor	Technology School of Kinesiology and Recr	9.00 9.00	1.00 1.00		•
Chang	Alicia	Lecturer	Health Sciences	4.50	0.25	*	•
Chapman	Heather	Lecturer	Economics	9.00	1.00		
Chapman	Trevor	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.42	*	*
Chavez	Oscar	Associate Professor	Mathematics	9.00	1.00	*	\$ 10,152.00
Chebolu	Sunil	Professor	Mathematics	9.00	1.00	*	\$ 10,491.00
Checketts	Joshua	Instructional Asst Professor	School of Biological Sciences	4.50	0.50		
Chemosit Chen	Caroline Jihui	Instructional Asst Professor Professor	Mathematics Economics	4.50 9.00	0.33 1.00		
Cheng	Jinui Fuxia	Professor	Mathematics	9.00	1.00		
J.	. 37.13			5.00	1.00	, 11,100.00	- 11,507.00

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Chernick	Renee	Instructional Asst Professor	School of Music	9.00	1.00		
Chiang Chidester	Shih-Wei Phillip	Lecturer Associate Professor	Languages, Literatures and Cul School of Communication	4.50 9.00	0.33 1.00	•	\$ 1,622.00 \$ 9,279.00
Chilukuri	Bhaskar	Asst Professor	Chemistry	9.00	1.00	•	\$ 9,279.00
Chizmar	Linda	Clinical Asst Professor	School of Teaching and Learnin	4.50	0.25	•	\$ 1,145.00
Choi	Woongsik	Asst Professor	School of Teaching and Learnin	9.00	1.00	\$ -	\$ 8,000.00
Choudhury	Askar	Professor	Department of Management	9.00	1.00	•	\$ 16,881.00
Chowdhury	Md Raihan Uddin	Asst Professor	Finance, Insurance and Law	9.00	1.00	. ,	\$ 15,500.00
Chrismon Christensen	James Neil	Associate Professor Associate Professor	School of Theatre and Dance	9.00 9.00	1.00 1.00	•	
Christopherson	Indu	Instructional Asst Professor	Physics Chemistry	9.00	1.00	•	
Chung	Yun-Ching	Professor	Special Education	9.00	1.00	•	
Ciani	Kyle	Professor	History	9.00	1.00	\$ 9,196.00	\$ 9,894.00
Cieslik	Jason	Asst Professor	Politics and Government	9.00	1.00	•	\$ 8,345.00
Cleeton	David	Professor	Economics	9.00	1.00	. ,	\$ 16,278.00
Clemens Clemson	Kelly Emily	Asst Professor Instructional Asst Professor	Psychology English	9.00 4.50	1.00 1.00	•	\$ 8,330.00 \$ 5,292.00
Cler	Jane	Instructional Asst Professor	Mathematics	4.50	0.50	•	\$ 2,400.00
Clerkin	Darren	Instructional Asst Professor	Finance, Insurance and Law	9.00	1.00	•	\$ 4,867.00
Clerkin	Kirsten	Asst Professor	Mennonite College of Nursing	9.00	1.00	\$ 7,038.00	\$ 9,445.00
Cline	Lea	Professor	Wonsook Kim School of Art	9.00	1.00	•	\$ 9,788.00
Clyne	Joanne	Clinical Asst Professor	School of Teaching and Learnin	4.50	0.13	·	•
Cochran	Olya	Instructional Asst Professor	English	9.00	0.75	•	\$ 3,969.00
Cole Collier	Camille David	Asst Professor University Professor	History School of Music	9.00 9.00	1.00 1.00	•	\$ 7,000.00 \$ 10,221.00
Colon	Cora	Faculty Associate	Laboratory Schools Superintend	9.50	0.60		
Colvin	Julien	Asst Professor	Mathematics	9.00	1.00	•	
Combs	David	Instructional Asst Professor	English	9.00	0.50	\$ 2,473.00	
Compton	Robert	Instructional Asst Professor	Chemistry	9.00	1.00	\$ -	\$ 5,292.00
Conover	Jamie	Instructional Asst Professor	School of Teaching and Learnin	9.00	0.25	•	\$ 1,217.00
Conway	Dawn	Instructional Asst Professor	Educational Administration & F	9.00	0.50	•	
Cooper Corbin	Marcia Demitri	Instructional Asst Professor Instructional Asst Professor	Mennonite College of Nursing School of Theatre and Dance	4.50 9.00	0.18 0.50	•	,
Corcoran	Jayme	Instructional Asst Professor	Special Education	4.50	0.30		
Corlas	Emily	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.19	•	\$ 824.00
Corness	Gregory	Asst Professor	Wonsook Kim School of Art	9.00	1.00	·	\$ 7,889.00
Corpus	Christine	Faculty Associate	University High School	9.50	1.00	\$ 8,644.00	\$ 8,947.00
Correll	Jeffrey	Lecturer	School of Information Technolo	4.50	0.25	·	\$ 1,217.00
Couch	Justin	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.16	•	•
Courtad Cox	Carrie Anna Ann	Professor Clinical Asst Professor	Special Education English	9.00 4.50	0.50 0.08	•	•
Cox	Heather	Instructional Asst Professor	School of Kinesiology and Recr	4.50	0.08	•	•
Cracco	Rhonda	Clinical Asst Professor	Mathematics	4.50	0.06	•	
Craig	Judith	Clinical Asst Professor	History	4.50	0.25	\$ 695.00	\$ 744.00
Crampton	William	Emeriti Faculty	Accounting	9.00	0.50	•	\$ 2,800.00
Crimmins	Andrea	Associate Professor	School of Music	9.00	1.00	•	
Cring	Alan	Instructional Asst Professor	Finance, Insurance and Law	9.00	1.00	•	
Critchfield Critchfield	Karla Thomas	Professor Professor	Psychology Psychology	9.00 9.00	1.00 1.00	•	
Cross	Robin	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.17	•	
Crothers	Austin	Professor	Politics and Government	9.00	1.00	·	
Crow	Kirsten	Instructional Asst Professor	Mennonite College of Nursing	9.00	1.00	\$ 6,671.00	\$ 6,904.00
Cuenca-Carlino	Yojanna	Department Chairperson	Special Education	12.00	1.00	\$ 14,490.00	\$ 14,997.00
Culbertson	Cory	Faculty Associate	University High School	9.50	1.00	. ,	,
Cullen	Amanda	Associate Professor	Mathematics	9.00	1.00	•	
Cullen Cutler	Craig Miriam	Professor Clinical Asst Professor	Mathematics School of Teaching and Learnin	9.00 4.50	1.00 0.25	•	\$ 10,496.00 \$ 1,145.00
Cutter	Douglas	Instructional Asst Professor	History	9.00	1.00		\$ 5,240.00
Dahl	Jan-Ulrik	Asst Professor	School of Biological Sciences	9.00	1.00		\$ 9,434.00
Dai	Xiaotian	Asst Professor	Mathematics	9.00	1.00		\$ 9,225.00
Danley	Brittany	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.67	\$ -	\$ 2,828.00
Datta	Avimanyu	Professor	Department of Management	9.00	1.00	•	\$ 17,045.00
Dauenbaugh	Chelsea	Instructional Asst Professor	School of Teaching and Learnin	9.00	1.00		\$ 4,867.00
Davenport Davis	April Crystal	Faculty Associate Faculty Associate	Thomas Metcalf School Laboratory Schools Superintend	9.50 9.50	1.00 1.00	•	\$ 8,581.00 \$ 4,677.00
Davis	Jacob	Faculty Associate	University High School	9.50	1.00		\$ 7,702.00
Davis	Margaret	Faculty Associate	Laboratory Schools Superintend	9.50	1.00	•	
Davis	Ryan	Professor	Languages, Literatures and Cul	9.00	1.00	•	
Davis-Augspurger	Tara	Instructional Asst Professor	School of Teaching and Learnin	9.00	1.00		\$ 5,292.00
Day	James	Professor	Geography, Geology, and the En	9.00	1.00		\$ 11,951.00
Dayyala de Kock	Niharika	Associate Professor	Accounting	9.00	1.00	•	
UP KUCK	Benjamin	Instructional Asst Professor	School of Music	9.00	0.84	\$ 4,190.00	\$ 4,446.00
	-	Professor	English	0.00	1 00	\$ 12,061,00	\$ 12.254.00
De Santis Deal	Christopher Elizabeth	Professor Clinical Asst Professor	English Mathematics	9.00 4.50	1.00 0.06		\$ 12,354.00 \$ 249.00

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Dearing	Bradley	Faculty Associate	University High School	9.50	1.00	. ,	\$ 8,835.00
Dehart del Barco Trillo	Keelan Javier	Instructional Asst Professor Asst Professor	Mennonite College of Nursing School of Biological Sciences	4.50 9.00	0.17 1.00	•	\$ 843.00 \$ 9,445.00
Delatorre-Im	Angelica	Faculty Associate	University High School	9.50	1.00	•	\$ 7,498.00
Deline	Mary	Asst Professor	School of Communication	9.00	1.00	•	\$ 8,964.00
Delinski	, Daniel	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.34	•	\$ 1,414.00
Delpechitre	Duleep	Professor	Marketing	9.00	1.00	\$ 17,233.00	\$ 17,839.00
Denbesten	Catherine	Instructional Asst Professor	University College	4.50	0.33	\$ 1,452.00	\$ 1,501.00
Dennis	Karen	Instructional Asst Professor	School of Kinesiology and Recr	9.00	1.00	•	
Denofrio-Corrales	Lauren	Faculty Associate	University High School	9.50	1.00	•	
Dervin	Anne	Instructional Asst Professor	School of Music	9.00	1.00	•	
Desouza Desta	Eros Deksiyos	Emeriti Faculty Instructional Asst Professor	Psychology Mathematics	9.00 9.00	0.50 1.00	. ,	•
Devabhaktuni	Vijaya Kumar	Department Chairperson	Electrical Engineering	12.00	1.00	•	\$ 16,750.00
DeVeer	Constance	Professor	School of Theatre and Dance	9.00	1.00	·	\$ 10,007.00
DeVico	Kimberly	Lecturer	Technology	9.00	0.25	. ,	\$ 1,217.00
Devinatz	Victor	Distinguished Professor	Department of Management	9.00	1.00	\$ 18,849.00	\$ 19,455.00
Devine	Kevin	Emeriti Faculty	Technology	9.00	0.25	\$ 11,019.00	\$ 2,000.00
DeVore	Amanda	Instructional Asst Professor	Family and Consumer Sciences	9.00	0.50	•	
Dhir	Milan	Instructional Asst Professor	Accounting	9.00	1.00	•	
Dietrich	Daniel	Clinical Asst Professor	School of Music	4.50	0.19		\$ 871.00
Diller	Kimberly	Instructional Asst Professor	Marketing	4.50	0.50	·	\$ 2,434.00
Dincer	Oguzhan	Professor Instructional Asst Professor	Economics Mathematics	9.00 9.00	1.00 1.00	•	\$ 13,216.00
Ding Dirker	Pisheng Max	Lecturer	Technology	4.50	0.25	•	\$ 6,822.00 \$ 1,294.00
Donohue	Linda	Clinical Asst Professor	School of Music	4.50	0.23		\$ 596.00
Donovan	Jeffrey	Lecturer	School of Information Technolo	4.50	0.25	·	\$ 1,217.00
Dooley	Lisa	Instructional Asst Professor	English	9.00	1.00	·	
Dougherty	Michael	Professor	Sociology and Anthropology	9.00	1.00	\$ 9,410.00	\$ 10,114.00
Dowell	William	Instructional Asst Professor	Sociology and Anthropology	9.00	0.75	\$ 3,739.00	\$ 3,889.00
Downes	Meredith	Professor	Department of Management	9.00	1.00	•	
Downie	Andrea	Asst Professor	Wonsook Kim School of Art	9.00	1.00	•	
Drea	John	Instructional Asst Professor	Marketing	4.50	0.25		\$ 1,836.00
Driscoll Driskell	Kathryn	Visiting Professor Professor	Sociology and Anthropology Chemistry	9.00 9.00	1.00 1.00	•	
Druker	Jeremy Jonathan	Professor	Languages, Literatures and Cul	9.00	1.00	•	
Duce	Geoffrey	Associate Professor	School of Music	9.00	1.00	•	
Duda	Pamela	Instructional Asst Professor	Special Education	4.50	0.25	•	
Duffy	Kathleen	Clinical Asst Professor	Special Education	9.00	1.00	\$ 5,041.00	\$ 5,244.00
Dugas	Matthew	Asst Professor	School of Biological Sciences	9.00	1.00	\$ 9,093.00	\$ 9,418.00
Duncan	Benton	Department Chairperson	Mathematics	12.00	1.00	•	\$ 13,250.00
Dunda	Jason 	Asst Professor	Wonsook Kim School of Art	9.00	1.00	•	
Duque Mendoza	Fernanda	Asst Professor	School of Biological Sciences	9.00	1.00		\$ 9,000.00
Durako	Stacy	Instructional Asst Professor Asst Professor	School of Teaching and Learnin	4.50 9.00	0.25 1.00	•	\$ 1,217.00 \$ 8,976.00
Dyar Dyck	Connie Mary	Professor	Family and Consumer Sciences Mennonite College of Nursing	9.00	1.00	•	
Earing	Jennifer	Asst Professor	Agriculture	9.00	1.00	•	
Easley	Christie	Clinical Asst Professor	Special Education	9.00	1.00	•	\$ 5,292.00
Ebbole	Melissa	Instructional Asst Professor	Special Education	4.50	0.25	·	\$ 1,217.00
Eberline	Andrew	Associate Professor	School of Kinesiology and Recr	9.00	1.00	\$ 8,731.00	\$ 9,028.00
Ebersole	Courtney	Instructional Asst Professor	Women, Gender, and Sexuality	4.50	0.25	\$ 1,300.00	\$ 1,137.00
Edmonds-Cady	Cynthia	Associate Professor	School of Social Work	9.00	1.00	•	\$ 9,570.00
Edwards	Keri	Instructional Asst Professor	Family and Consumer Sciences	9.00	1.00	•	
Edwards	Kevin	Associate Professor	School of Biological Sciences	9.00	1.00	. ,	
Eiland	LeMil	Asst Professor	School of Theatre and Dance	9.00	1.00	•	
Ellis Ellis	Anuashine Chefor Miranda	Asst Professor Instructional Asst Professor	Marketing Psychology	9.00 9.00	1.00 1.00		\$ 15,272.00 \$ 4,867.00
Ely	Melinda	Associate Professor	Special Education	9.00	1.00	•	\$ 8,895.00
Embree	Cristan	Lecturer	School of Information Technolo	4.50	0.25	•	\$ 1,217.00
Emmons	Charles	Clinical Asst Professor	School of Music	4.50	0.06		
Ener	Hakan	Associate Professor	Department of Management	9.00	1.00	•	\$ 17,211.00
Engel	Donna	Clinical Asst Professor	School of Teaching and Learnin	4.50	0.13	\$ -	\$ 596.00
Engelke	Martin	Asst Professor	School of Biological Sciences	9.00	1.00	\$ 9,072.00	\$ 9,397.00
Enriquez	Alejandro	Associate Professor	Languages, Literatures and Cul	9.00	1.00	•	\$ 8,617.00
Epplett	Shannon	Instructional Asst Professor	English	4.50	1.00	•	\$ 5,292.00
Ericksen	Hayley	Instructional Asst Professor	School of Kinesiology and Recr	9.00	1.00	•	\$ 8,051.00
Evans	Breanne	Lecturer	Creative Technologies Program	4.50	0.25		\$ 1,217.00
Faccin-Herman	Vitoria Kristina	Instructional Asst Professor	Wonsook Kim School of Art	4.50	1.00	•	\$ 5,292.00
Falbe Fang	Kristina Xing	Associate Professor Associate Professor	School of Teaching and Learnin School of Information Technolo	9.00 9.00	1.00 1.00	•	\$ 8,513.00 \$ 13,334.00
Farmer	Ashley	Associate Professor	Criminal Justice Sciences	9.00	1.00		
Farrell	Calli	Instructional Asst Professor	Politics and Government	4.50	0.25	•	
Fary	Christine	Instructional Asst Professor	Milner Library	12.00	1.00	•	
iaiy	CHITISTIFIC					,	,
Faux	Thomas	Instructional Asst Professor	School of Music	9.00	1.00	•	

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Fehrenbacher	Julie	Instructional Asst Professor	Family and Consumer Sciences	4.50	0.50	•	\$ 2,400.00
Feil Feldman	Courtney Shannon	Clinical Asst Professor Instructional Asst Professor	Special Education Mennonite College of Nursing	9.00 4.50	1.00 0.17	•	\$ 6,192.00 \$ 812.00
Felstead	Heidi	Faculty Associate	Thomas Metcalf School	9.50	1.00		\$ 4,786.00
Ferrari	Francesco	Lecturer	Languages, Literatures and Cul	9.00	1.00	•	\$ 4,867.00
Ferrence	Gregory	Professor	Chemistry	9.00	1.00	-	\$ 11,328.00
Ferris	Ronald	Lecturer	Technology	4.50	0.25	\$ 1,062.00	\$ 1,217.00
Figgins	Linda	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.25	\$ 2,390.00	\$ 1,323.00
Filliman	Trisha	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.25	•	\$ 1,265.00
Finan	Laura	Asst Professor	Psychology	9.00	1.00	•	\$ 8,434.00
Finlen-Jenkins	Margaret	Clinical Asst Professor Associate Professor	School of Teaching and Learnin Wonsook Kim School of Art	4.50	0.25	•	\$ 1,145.00
Fischer Fischer	Andreas Emilio	Lecturer	Criminal Justice Sciences	9.00 9.00	1.00 0.25	•	\$ 8,495.00 \$ 1,217.00
Fitzgerald	Teresa	Faculty Associate	Thomas Metcalf School	9.50	1.00	•	\$ 7,194.00
Fitzsimmons	Rebecca	Instructional Asst Professor	Milner Library	12.00	1.00	•	\$ 5,520.00
Flanagan-Rudd	Meghan	Faculty Associate	University High School	9.50	1.00	. ,	\$ 6,685.00
Floyd	Kyle	Asst Professor	School of Biological Sciences	9.00	1.00	\$ 8,778.00	\$ 9,058.00
Flynn	Matthew	Faculty Associate	Laboratory Schools Superintend	9.50	1.00	\$ 5,001.00	\$ 5,386.00
Folkerts	Kori	Instructional Asst Professor	Psychology	9.00	0.25	•	\$ 1,217.00
Follmann	Rosangela	Asst Professor	School of Information Technolo	9.00	1.00	•	•
Fonseca Pereira	Gabriela	Asst Professor	Family and Consumer Sciences	9.00	1.00	•	\$ 8,048.00
Fontenot	Emily	Instructional Asst Professor	English	9.00	1.00	. ,	\$ 5,292.00
Ford Foreman	Carolina Peter	Instructional Asst Professor Associate Professor	Mennonite College of Nursing Department of Management	9.00 9.00	1.00 1.00	•	\$ 6,706.00 \$ 15,266.00
Fornaciari	James	Clinical Asst Professor	History	4.50	0.25	•	\$ 744.00
Foster	Alec	Asst Professor	Geography, Geology, and the En	9.00	1.00		
France	Stacie	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.25	•	•
Frank	Jennifer	Faculty Associate	Thomas Metcalf School	9.50	1.00	\$ 8,271.00	\$ 8,560.00
Franken	Erin	Instructional Asst Professor	Office of International Engage	9.00	1.00	\$ 4,645.00	\$ 4,867.00
Franklin	Brian	Associate Professor	Wonsook Kim School of Art	9.00	1.00	\$ 8,368.00	\$ 8,658.00
Frederick	Logan	Lecturer	Health Sciences	4.50	0.50	•	•
Fredstrom	Timothy	Professor	School of Music	9.00	1.00	•	•
Freeman	Tracy	Clinical Asst Professor	History	4.50	0.42	*	•
Freitag	Robert Traci	Instructional Asst Professor Instructional Asst Professor	Politics and Government School of Teaching and Learnin	4.50 4.50	0.25 0.50	•	•
Freitag Friedman	Elisabeth	Associate Professor	Wonsook Kim School of Art	9.00	1.00	•	•
Friesen	Jon	Professor	Chemistry	9.00	1.00	•	\$ 12,063.00
Fritson-Coffman	Amy	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.25	•	
Fujan	Marypat	Clinical Asst Professor	School of Teaching and Learnin	9.00	0.25	\$ 3,080.00	\$ 3,296.00
Fuller	Harlan	Instructional Asst Professor	Accounting	9.00	0.25	\$ 1,491.00	\$ 1,491.00
Funk	Julie	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.50	•	•
Furimsky	Erin	Instructional Asst Professor	Wonsook Kim School of Art	4.50	0.50	•	•
Futoran Turos	Danielle	Instructional Asst Professor	Milner Library	12.00	1.00	•	
Gage	Nicole Maria	Clinical Asst Professor Instructional Asst Professor	Special Education	4.50 9.00	0.50 1.00		\$ 2,274.00 \$ 5,751.00
Garcia Gardiner-Walsh	Stephanie	Associate Professor	University College Special Education	9.00	1.00	•	•
Garrahy	Deborah	Professor	School of Kinesiology and Recr	9.00	1.00	•	•
Garrett	Sara	Clinical Asst Professor	School of Music	4.50	0.06	•	•
Garris	Paul	Distinguished Professor	School of Biological Sciences	9.00	1.00	-	•
Gibbens	Bruce	Clinical Asst Professor	Mathematics	4.50	0.06	\$ 734.00	\$ 249.00
Gibson	Mark	Instructional Asst Professor	Marketing	9.00	1.00	\$ 5,247.00	\$ 5,431.00
Gilbert	Zack	Faculty Associate	Thomas Metcalf School	9.50	1.00	•	•
Gilhuber	Christina	Asst Professor	Special Education	9.00	1.00		\$ 7,778.00
Gizzi	Michael	Professor	Criminal Justice Sciences	9.00	1.00	. ,	\$ 11,122.00
Gjesfjeld	Christopher	Associate Professor	School of Social Work	9.00	1.00	•	
Glass Godoy	Katherine Eric	Clinical Asst Professor Associate Professor	English Philosophy	4.50 9.00	0.33 1.00		\$ 982.00 \$ 8,813.00
Godwyll	Francis	Professor	Educational Administration & F	9.00	1.00	•	\$ 16,081.00
Goebel	Judith	Clinical Asst Professor	Chemistry	4.50	0.06	-	\$ 324.00
Gomez	Robert	Instructional Asst Professor	Mathematics	1.50	0.33	·	\$ 1,402.00
Gordon	Beth	Faculty Associate	Thomas Metcalf School	9.50	0.80	•	
Gordon	Richard	Instructional Asst Professor	Marketing	4.50	0.75	\$ 2,252.00	\$ 3,378.00
Gosch	Kelsey	Clinical Asst Professor	Special Education	9.00	1.00	\$ 2,274.00	\$ 4,867.00
Goveia	Andrew	Faculty Associate	Thomas Metcalf School	9.50	1.00	•	\$ 6,515.00
Gramer	Rachel	Associate Professor	English	10.00	1.00	•	\$ 9,285.00
Grant	Leslie	Clinical Asst Professor	English	4.50	0.33	•	•
Grasse	Michael	Clinical Asst Professor	Mathematics	4.50	0.19		
Graziano	Victoria	Faculty Associate	University High School	9.50	1.00		\$ 9,202.00
Grebner	Caroline David	Clinical Asst Professor Professor	School of Teaching and Learnin	4.50	0.31	-	\$ 1,420.00
Gresham	David		School of Music	9.00 12.00	1.00 1.00		\$ 10,009.00 \$ 13,291.00
Griechaber	David	Denartment Chairperson	HDalth Crioncos	. ,			J 13.291.UU
Grieshaber Griffith	David Kyle	Department Chairperson Instructional Asst Professor	Health Sciences Educational Administration & F			•	
Griffith	Kyle	Instructional Asst Professor	Educational Administration & F	4.50	0.25	\$ 1,148.00	\$ 1,237.00
		·				\$ 1,148.00 \$ 4,745.00	\$ 1,237.00 \$ 4,912.00

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Gudding	Gabriel	Professor	English	9.00	1.00	. ,	\$ 10,228.00
Guidry	Ronald	Professor	Accounting	9.00	1.00	•	\$ 19,696.00
Gunz	Diane	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.50	•	\$ 2,434.00 \$ 15,184.00
Gupta Haas	Aditya Angela	Asst Professor Professor	Marketing English	9.00 9.00	1.00 1.00	•	. ,
Haddock	Thomas	Instructional Asst Professor	Marketing	9.00	1.00	•	\$ 4,867.00
Hahn	Jeffrey	Instructional Asst Professor	Finance, Insurance and Law	9.00	1.00	•	
Haider	Iftikhar	Instructional Asst Professor	Office of International Engage	9.00	1.00	•	\$ 5,379.00
Hale	Lee Anne	Lecturer	School of Communication	9.00	1.00	•	\$ 5,393.00
Haley Hall	Michael Sarah	Instructional Asst Professor Lecturer	English School of Communication	9.00 9.00	0.75 1.00	•	\$ 3,651.00 \$ 4,912.00
нап Hallsten Lyczak	Jodi	Instructional Asst Professor	School of Communication	9.00	1.00	•	. ,
Hamaker	Christopher	Associate Professor	Chemistry	9.00	1.00	•	\$ 9,329.00
Hammer	Denise	Asst Professor	Mennonite College of Nursing	9.00	1.00	\$ 8,910.00	
Hammond	Griffin	Lecturer	School of Communication	4.50	0.25	•	\$ 1,137.00
Hammond	Thomas	Professor	School of Biological Sciences	9.00	1.00	•	
Han	Hyoil	Associate Professor	School of Information Technolo	9.00	1.00	•	•
Han Handsfield	Suejung Lara	Associate Professor Professor	Psychology School of Teaching and Learnin	9.00 9.00	1.00 1.00	•	•
Hannie	Keri	Instructional Asst Professor	Chemistry	9.00	1.00	•	
Hansen	David	Instructional Asst Professor	English	9.00	1.00	•	
Hansen	Katie	Clinical Asst Professor	Special Education	9.00	1.00	•	\$ 4,867.00
Hany	Kirsten	Faculty Associate	University High School	9.50	1.00	\$ 6,801.00	\$ 8,078.00
Harms	Sara	Instructional Asst Professor	School of Teaching and Learnin	9.00	0.75		\$ 3,969.00
Harnish	David	Faculty Associate	University High School	9.50	1.00	•	\$ 6,515.00
Harpel	Tammy	Professor	Family and Consumer Sciences	9.00	1.00	•	
Harr Harris	Kaitlyn Allison	Faculty Associate Professor	Thomas Metcalf School Physics	9.50 9.00	1.00 1.00	•	\$ 4,954.00 \$ 11,008.00
Harris	Duriel	Professor	English	9.00	1.00	•	•
Harris	Gardenia	Associate Professor	School of Social Work	9.00	1.00	•	. ,
Harris	Timothy	Associate Professor	Economics	9.00	1.00	•	\$ 12,225.00
Harris-Hardaway	Marina	Instructional Asst Professor	Mennonite College of Nursing	4.50	1.00	\$ 4,066.00	\$ 4,456.00
Harrison	Shane	Lecturer	Agriculture	4.50	0.25	•	\$ 1,217.00
Hart	Kevin	Instructional Asst Professor	School of Music	9.00	1.00	•	\$ 5,272.00
Hartle	Luminita Andrew	Instructional Asst Professor Professor	Special Education	9.00	1.00	•	\$ 5,317.00
Hartman Hartman	Nathan	Associate Professor	History Department of Management	9.00 9.00	1.00 1.00	•	\$ 10,369.00 \$ 16,088.00
Hartry	Kazumi	Lecturer	Languages, Literatures and Cul	9.00	1.00	•	\$ 4,867.00
Harvey-Northrop	Jennine	Associate Professor	Communication Sciences and Dis	9.00	1.00	•	\$ 8,861.00
Harwick	Aaron	Instructional Asst Professor	School of Kinesiology and Recr	9.00	1.00	\$ -	\$ 6,901.00
Hash	Phillip	Professor	School of Music	9.00	1.00	•	\$ 9,978.00
Hassani	Sarah	Instructional Asst Professor	Mathematics	9.00	1.00	•	\$ 7,045.00
Hatch	Agnes	Faculty Associate	Thomas Metcalf School	9.50	1.00	•	\$ 9,045.00
Hatch Hauck	Douglas Roslin	Professor Emeritus Associate Professor	School of Teaching and Learnin Accounting	4.50 9.00	0.25 1.00	•	\$ 1,444.00 \$ 15,566.00
Haugo	Ann	Dir School Theatre and Dance	School of Theatre and Dance	12.00	1.00	•	\$ 11,844.00
Hayes	Rebecca	Associate Professor	School of Communication	9.00	1.00	•	
Headrick	Christopher	Faculty Associate	University High School	10.00	1.00	\$ 5,482.00	\$ 6,007.00
Heckner	Marc Niclas	Instructional Asst Professor	Languages, Literatures and Cul	4.50	1.00	•	\$ 5,292.00
Hedden	Claire	Instructional Asst Professor	Wonsook Kim School of Art	4.50	0.50	•	\$ 2,646.00
Heidenreich	Byron	Associate Professor	Psychology	9.00	1.00	•	\$ 8,718.00
Heil Heinrich	Melissa Roberta	Asst Professor Clinical Asst Professor	Geography, Geology, and the En School of Teaching and Learnin	9.00 4.50	1.00 0.19	•	\$ 8,138.00 \$ 871.00
Heinz	Tracy	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.19	•	•
Heller	Nicholas	Asst Professor	Agriculture	9.00	1.00	•	
Helm	Lindsey	Instructional Asst Professor	School of Teaching and Learnin	9.00	0.25	•	
Hendricks	Michael	Asst Professor	Politics and Government	9.00	1.00	\$ 8,047.00	\$ 8,511.00
Henneise	Kristina	Instructional Asst Professor	School of Teaching and Learnin	9.00	0.25	•	• •
Henninger	Mary	Professor	School of Kinesiology and Recr	9.00	1.00	•	
Henry	Sheryl	Professor	Mennonite College of Nursing School of Communication	9.00	1.00	•	\$ 13,326.00
Henson-Miller Herbert	Jorgi Cassie	Lecturer Asst Professor	Philosophy	9.00 9.00	1.00 1.00	•	
Hermacinski	Cass	Instructional Asst Professor	Department of Management	9.00	1.00	•	
Herrman	James	Instructional Asst Professor	Marketing	9.00	0.50	•	\$ 2,434.00
Hesson-McInnis	Matthew	Professor	Psychology	9.00	1.00	\$ 10,316.00	\$ 11,080.00
Heteji	Kirsten	Instructional Asst Professor	Wonsook Kim School of Art	4.50	0.25	\$ 1,109.00	\$ 1,323.00
Higgins	Andrew	Instructional Asst Professor	Philosophy	9.00	1.00	•	
Hildebrand	Sherri	Instructional Asst Professor	School of Kinesiology and Recr	9.00	1.00	•	
Hildebrandt Hill	Megan Robin	Instructional Asst Professor Clinical Asst Professor	School of Music School of Theatre and Dance	9.00	1.00 0.06	•	\$ 5,222.00 \$ 276.00
Hillary	Shelly	Instructional Asst Professor	Mennonite College of Nursing	4.50 4.50	0.06	•	\$ 276.00 \$ 1,414.00
Himley	Matthew	Professor	Geography, Geology, and the En	9.00	1.00	•	
Hinds	Evan	Clinical Asst Professor	School of Music	4.50	0.13	•	
Hinman	Julia	Clinical Asst Professor	Wonsook Kim School of Art	4.50	0.06		\$ 258.00
Hitchcock	Shawn	Professor	Chemistry	9.00	1.00	\$ 13,040.00	\$ 13,412.00

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Hlade	Sarah	Faculty Associate	Laboratory Schools Superintend	9.50	1.00	. ,	
Hockenberry	Rachel	Asst Professor	School of Music	9.00	1.00	•	\$ 7,904.00
Hoelscher Hoffman	Mark Carrie	Professor Faculty Associate	Department of Management University High School	9.00 10.00	1.00 1.00	•	. ,
Hoffman	Rebekah	Faculty Associate Faculty Associate	University High School	9.50	1.00	•	
Holdren	Anne	Clinical Asst Professor	School of Teaching and Learnin	4.50	0.50	•	*
Holland	Daniel	Department Chairperson	Physics	12.00	1.00	•	\$ 14,654.00
Hollywood	Mary	Instructional Asst Professor	History	9.00	0.75	\$ 4,816.00	\$ 3,759.00
Hooker	John	Associate Professor	School of Communication	9.00	1.00	\$ 9,414.00	\$ 9,694.00
Hopper	Kathleen	Associate Professor	School of Communication	9.00	1.00	•	*
Horan	Elisabeth	Instructional Asst Professor	Wonsook Kim School of Art	4.50	0.25	•	\$ 1,323.00
Horst	Martha	Professor	School of Music	9.00	1.00	•	\$ 9,785.00
Horvath	Christopher	Department Chairperson	Philosophy	12.00	1.00	•	•
Hosack House	Karen Alvin	Instructional Asst Professor Emeriti Faculty	Finance, Insurance and Law	9.00 4.50	1.00 0.25	•	\$ 7,022.00
Houston	Doris	Associate Professor	Psychology School of Social Work	9.00	1.00	•	\$ 1,111.00 \$ 10,621.00
Howard	April	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.67	•	\$ 2,828.00
Howe	Alexandra	Instructional Asst Professor	School of Theatre and Dance	9.00	0.32	-	
Howe	Thomas	Professor	Finance, Insurance and Law	9.00	1.00	•	*
Howell	Jennifer	Associate Professor	Languages, Literatures and Cul	9.00	1.00	\$ 8,434.00	\$ 8,865.00
Howell	Jill	Instructional Asst Professor	Mennonite College of Nursing	9.00	1.00	\$ 6,452.00	\$ 6,678.00
Huang	Chien Che	Instructional Asst Professor	Mathematics	9.00	0.08	\$ 427.00	\$ 442.00
Hubbell	Annette	Asst Professor	Mennonite College of Nursing	9.00	1.00	•	\$ 9,346.00
Hubbell	Jonathan	Lecturer	Criminal Justice Sciences	4.50	0.75	•	•
Hudgins	Rachael	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.87		\$ 3,663.00
Hudson Hueneburg	Cory	Instructional Asst Professor Clinical Asst Professor	English Wonsook Kim School of Art	9.00	0.75 0.13	•	
Huerta	Kayla Lidia	Asst Professor	Communication Sciences and Dis	4.50 9.00	1.00	·	•
Huey	Kelly	Clinical Asst Professor	Special Education	9.00	1.00	. ,	\$ 4,867.00
Huffman	Raeann	Instructional Asst Professor	Agriculture	4.50	0.25	·	\$ 1,137.00
Hughes	Richard	Professor	History	9.00	1.00	•	
Hulett-Graham	Cassandra	Faculty Associate	University High School	9.50	1.00	\$ 6,508.00	\$ 7,194.00
Hund	Alycia	Department Chairperson	Psychology	9.00	1.00	\$ 11,274.00	\$ 12,307.00
Hunt	Carolyn	Associate Professor	School of Teaching and Learnin	9.00	1.00	•	•
Hunt	Stephen	Professor	School of Communication	9.00	1.00	•	•
Hunter	Gary	Department Chairperson	Marketing	12.00	1.00	•	
Hunter	Gina William	Professor	Sociology and Anthropology	9.00	1.00	•	•
Hunter Hurd	Ellis	Emeriti Faculty Professor	Chemistry School of Teaching and Learnin	4.50 9.00	0.25 1.00	•	-
Hurley	Aaron	Instructional Asst Professor	Marketing	9.00	1.00	•	•
Hurley	Elise	Associate Professor	English	9.00	1.00	•	•
Hurley	Jeremy	Instructional Asst Professor	English	9.00	1.00	•	•
Husband	Terry	Professor	School of Teaching and Learnin	9.00	1.00	\$ 10,123.00	\$ 10,417.00
Hutchison	Michele	Instructional Asst Professor	Mathematics	9.00	1.00	\$ 4,914.00	\$ 5,086.00
Hutson	Cally	Instructional Asst Professor	Special Education	4.50	0.13	-	-
Idate	Aparna	Instructional Asst Professor	Chemistry	9.00	1.00	•	*
llie	Alexandra	Associate Professor	Psychology	9.00	1.00	•	•
Inti	Sundeep	Asst Professor	Technology	9.00	1.00	•	•
lonescu Ishida-Lambert	Lucian Chiharu	Professor Professor	Mathematics Marketing	9.00 9.00	1.00 1.00	•	•
Ispas	Dan	Professor	Psychology	9.00	1.00	•	•
Jackson	Abigail	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.05	•	. ,
Jacobs	Randall	Instructional Asst Professor	Technology	9.00	1.00		-
Jagani	Sandeepkumar	Associate Professor	Department of Management	9.00	1.00	\$ 16,136.00	\$ 17,343.00
Jallas	Mallory	Asst Professor	Milner Library	12.00	1.00	\$ 6,649.00	\$ 6,863.00
Jalozie	Imran	Lecturer	Technology	9.00	0.25		\$ 1,339.00
Jamison	Andrea	Asst Professor	School of Teaching and Learnin	9.00	1.00	•	•
Jang	Hanee	Instructional Asst Professor	English	4.50	0.50	•	\$ 2,646.00
Jarvis	Ezekiel	Instructional Asst Professor	Honors Program	4.50	0.17		-
Jasper	Kathryn	Associate Professor	History	9.00	1.00	•	•
Javadi	Elahe Yousra	Associate Professor Asst Professor	School of Information Technolo School of Information Technolo	9.00 9.00	1.00 1.00	•	*
Javed Jayes	Janice	Instructional Asst Professor	History	9.00	1.00	•	*
Jedele	Mark	Faculty Associate	University High School	9.50	1.00	•	•
Jedele Putt	Shelby	Asst Professor	Sociology and Anthropology	9.00	1.00	•	\$ 7,413.00
Jelinek	Joseph	Instructional Asst Professor	Marketing	9.00	0.50	•	
Jenkins	Jeremy	Associate Professor	School of Theatre and Dance	9.00	1.00		
Jenkins	Michele	Instructional Asst Professor	School of Social Work	4.50	0.25	•	•
Jester	Amanda	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.33	\$ 1,237.00	\$ 1,485.00
Jia	Heather	Associate Professor	Department of Management	9.00	1.00		\$ 15,817.00
Jia	Ronnie	Professor	School of Information Technolo	9.00	1.00	•	
Jin 	Guang	Professor	Health Sciences	9.00	1.00	•	\$ 11,868.00
Jipson	Natalie 	Instructional Asst Professor	English	4.50	0.50		
Johnson	Jin Abigail	Professor	Technology	9.00	1.00		
Johnson	Abigail	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.58	\$ 41.50	\$ 3,267.00

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Johnson	David	Instructional Asst Professor	History	9.00	0.25	*	
Johnson Johnson	Deborah Kathryn	Associate Professor Clinical Asst Professor	Health Sciences Special Education	9.00 9.00	1.00 1.00	*	\$ 8,520.00 \$ 4,867.00
Johnson	Melissa	Associate Professor	Wonsook Kim School of Art	9.00	1.00	*	\$ 8,479.00
Johnson	Rebecca	Faculty Associate	Thomas Metcalf School	9.50	0.75	*	•
Johnson	Whitney	Instructional Asst Professor	Wonsook Kim School of Art	4.50	0.25	*	
Johnston	Elizabeth	Instructional Asst Professor	School of Social Work	4.50	0.25	\$ 1,137.00	\$ 1,217.00
Johnston	Joseph	Department Chairperson	Accounting	12.00	1.00	\$ 18,866.00	\$ 20,044.00
Jome	Sarah	Instructional Asst Professor	Office of International Engage	4.50	0.40	•	
Jones	Emily	Professor	School of Kinesiology and Recr	9.00	1.00	*	\$ 10,802.00
Jones	Marjorie Michael	Professor	Chemistry Thomas Metcalf School	9.00	1.00 1.00	•	\$ 12,421.00
Jones Jones	Sara	Faculty Associate Asst Professor	School of Teaching and Learnin	9.50 9.00	1.00	•	•
Jordan	Jerome	Department Chairperson	Psychology	12.00	1.00	•	\$ 14,603.00
Joseph	Antony	Associate Professor	Communication Sciences and Dis	9.00	1.00	*	
Joyce	Jillian	Lecturer	School of Communication	9.00	1.00	. ,	
Jozwik	Terrence	Clinical Asst Professor	History	4.50	0.17	\$ 917.00	\$ 506.00
Jung	Julie	Professor	English	9.00	1.00	\$ 10,198.00	\$ 10,689.00
Jungels-Goodyear	Mary	Instructional Asst Professor	School of Theatre and Dance	9.00	0.50	*	\$ 2,646.00
Jungk	Allison	Instructional Asst Professor	Family and Consumer Sciences	9.00	1.00	*	,
Kadyamusuma	McLoddy	Department Chairperson	Communication Sciences and Dis	12.00	1.00	*	\$ 10,436.00
Kae	Sheryl	Instructional Asst Professor	Department of Management	4.50	1.00	•	\$ 5,300.00
Kafer Kahl	Veronica Chad	Clinical Asst Professor Professor	Mathematics Milner Library	4.50 12.00	0.13 1.00	•	\$ 538.00 \$ 9,094.00
Kahn	Jeffrey	Distinguished Professor	Psychology	9.00	1.00	*	\$ 13,254.00
Kalmes	Laura	Visiting Professor	Educational Administration & F	9.00	1.00		
Kalnin	lgor	Asst Professor	School of Music	9.00	1.00	*	
Kalter	Susan	Professor	English	9.00	1.00	\$ 9,846.00	
Kang	Grace	Associate Professor	School of Teaching and Learnin	9.00	1.00	\$ 8,302.00	\$ 8,542.00
Kang	Jeongae	Asst Professor	Special Education	9.00	1.00	•	\$ 7,978.00
Kapoor	Nathan	Asst Professor	History	9.00	1.00	. ,	
Karimi	Mehdi	Asst Professor	Mathematics	9.00	1.00	*	
Karstrand	Kelly	Clinical Asst Professor	Languages, Literatures and Cul	4.50	0.11		
Karthikeyan Kaufman	Palramani Peter	Instructional Asst Professor Professor	Mathematics Marketing	9.00 9.00	1.00 1.00	*	
Keil	Benjamin	Instructional Asst Professor	Philosophy	9.00	1.00	*	
Keller	Brock	Instructional Asst Professor	Technology	9.00	1.00	*	\$ 7,970.00
Keller	Sandra	Instructional Asst Professor	Languages, Literatures and Cul	9.00	1.00	-	
Kelley	Mackenzie	Instructional Asst Professor	Physics	4.50	0.25	\$ 1,333.00	\$ 1,380.00
Kelley	Wendy	Clinical Asst Professor	School of Teaching and Learnin	4.50	0.63	\$ 2,696.00	\$ 2,885.00
Kelson	Paul	Instructional Asst Professor	Accounting	9.00	0.75	*	
Kendrick	Kristin	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.17	*	
Kennedy	Larissa	Instructional Asst Professor	History	9.00	1.00	*	
Kennedy	Ross	Department Chairperson Clinical Asst Professor	History	12.00 4.50	1.00 0.38		
Kennel Kent	Marion Ciarra	Instructional Asst Professor	School of Teaching and Learnin Family and Consumer Sciences	4.50	0.38	*	
Keogh	Kelly	Clinical Asst Professor	History	4.50	0.42		
Kerber	Cynthia	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.17		
Kessler	, Meghan	Asst Professor	School of Teaching and Learnin	9.00	1.00	*	\$ 8,445.00
Khalil	Sabine	Asst Professor	Accounting	9.00	1.00	\$ 13,778.00	
Kibler	Michelle	Associate Professor	Agriculture	9.00	1.00	\$ 9,577.00	\$ 9,875.00
Kidwaro	Fanson	Associate Professor	Agriculture	9.00	1.00	*	
Kieser	David	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.17	•	-
Killam	Beth	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.14	•	\$ 725.00
Killingsworth	Laura	Instructional Asst Professor	Milner Library	12.00	1.00	*	
Kilpatrick Kim	Kathleen Jung Eun	Instructional Asst Professor Asst Professor	School of Teaching and Learnin Mennonite College of Nursing	4.50 9.00	0.25 1.00		\$ 1,217.00 \$ 9,445.00
Kim	Jun-Hyun	Professor	Chemistry	9.00	0.50	-	
Kim	Mijin	Asst Professor	Criminal Justice Sciences	9.00	1.00	*	\$ 8,639.00
Kim	Myoung Jin	Professor	Mennonite College of Nursing	9.00	1.00	*	
Kim	Susan	Professor	English	9.00	1.00	*	
King	Shelly	Faculty Associate	Thomas Metcalf School	9.50	0.90	*	
Kirik	Viktor	Associate Professor	School of Biological Sciences	9.00	1.00	•	\$ 9,831.00
Kline	Sonia	Associate Professor	School of Teaching and Learnin	9.00	1.00	. ,	\$ 8,529.00
Knight	Janelle	Instructional Asst Professor	School of Kinesiology and Recr	4.50	0.25	-	,
Knox	Miyoshi	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.25		\$ 1,137.00
Koch	John	Associate Professor	School of Music	9.00	1.00	*	
Koch	Nancy	Instructional Asst Professor	Family and Consumer Sciences	9.00	1.00		
Koe Koleno	Katy Nicole	Instructional Asst Professor Clinical Asst Professor	Department of Management	9.00 4.50	0.50 0.17	*	\$ 2,400.00 \$ 506.00
Koleno Koopmans	Nicole Heather	Asst Professor	History Milner Library	4.50 12.00	1.00	•	\$ 6,275.00
Kopsell	David	Professor	Agriculture	9.00	1.00	*	
*	Barbara	Clinical Asst Professor	School of Teaching and Learnin	4.50	0.25	*	\$ 1,145.00
Koski	Darbara						,
Koski Kostelnick	John	Professor	Geography, Geology, and the En	9.00	1.00		\$ 10,947.00

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Kotomin	Vladimir	Associate Professor	Finance, Insurance and Law	9.00	1.00	. ,	
Kouzel Kpienbaareh	Jillian Daniel	Asst Professor Asst Professor	School of Music Geography, Geology, and the En	9.00 9.00	1.00 1.00	•	\$ 7,778.00 \$ 7,849.00
Kramer	Eric	Asst Professor	School of Kinesiology and Recr	9.00	1.00	•	\$ 7,488.00
Kramer	Katelyn	Faculty Associate	Laboratory Schools Superintend	9.50	1.00	•	\$ 5,476.00
Krasno	Gary	Clinical Asst Professor	English	4.50	0.17	\$ 856.00	\$ 506.00
Krcmarik	Katherine	Asst Professor	Wonsook Kim School of Art	9.00	1.00		\$ 7,816.00
Krebs	Harrison	Instructional Asst Professor	Mennonite College of Nursing	9.00	1.00	•	*
Krienert Krienel	Jessie Jessica	Professor Instructional Asst Professor	Criminal Justice Sciences School of Biological Sciences	9.00 9.00	1.00 1.00	•	
Krippel Kroesch	Allison	Asst Professor	Special Education	9.00	1.00	•	
Kuenning	Matthew	Instructional Asst Professor	Politics and Government	4.50	0.25		\$ 1,323.00
Kuhle	Lana	Associate Professor	Philosophy	9.00	1.00		
Kukla	Todd	Instructional Asst Professor	Philosophy	9.00	1.00	\$ 5,128.00	\$ 5,308.00
Kuras	Amy	Instructional Asst Professor	School of Teaching and Learnin	9.00	0.25	•	*
Kybartas	Tyler	Asst Professor	School of Kinesiology and Recr	9.00	1.00	•	•
Kyei-Blankson	Lydia	Professor	Educational Administration & F	9.00	1.00	*	\$ 11,134.00
Lacov	Marie Jadeyn	Associate Professor Instructional Asst Professor	School of Music Mennonite College of Nursing	9.00 4.50	1.00 0.49	•	\$ 8,641.00 \$ 2,012.00
Lacey Lackey	Christopher	Instructional Asst Professor	Creative Technologies Program	4.50	0.49	-	. ,
LaFrance	David	Instructional Asst Professor	Educational Administration & F	4.50	0.25	*	\$ 1,237.00
LaFrance	Jennifer	Faculty Associate	Thomas Metcalf School	9.50	0.75		\$ 5,549.00
Lagally	Kristen	Professor	School of Kinesiology and Recr	9.00	1.00	\$ 10,976.00	\$ 11,294.00
Lahiri	Somnath	Professor	Department of Management	9.00	1.00	\$ 16,488.00	\$ 17,256.00
Lai	Jianwei	Associate Professor	School of Information Technolo	9.00	1.00		\$ 13,153.00
Laleian	Theodore	Lecturer	School of Information Technolo	4.50	0.25	*	
Lally	William	Visiting Professor	Criminal Justice Sciences	9.00	1.00	*	•
Lambert Lamonica	Kelly Thomas	Lecturer Instructional Asst Professor	School of Communication School of Communication	9.00 9.00	1.00 1.00	. ,	•
LaMont	Rebecca	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.07	. ,	•
Landers	Katharine	Visiting Professor	English	9.00	1.00	•	\$ 6,850.00
Landes	Jason	Faculty Associate	University High School	9.50	1.00	-	•
Lane	David	Associate Professor	Criminal Justice Sciences	9.00	1.00	\$ 8,268.00	\$ 9,401.00
Langellier	Annette	Clinical Asst Professor	Special Education	9.00	0.99	\$ 4,548.00	\$ 4,819.00
Langley	Jennifer	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.67	•	
Lanier	Jacqueline	Professor	Health Sciences	9.00	1.00	*	*
Lannin Lao	Daniel Yi Yi	Associate Professor Asst Professor	Psychology Accounting	9.00 9.00	1.00 1.00	*	•
Larsen	Heidi	Clinical Asst Professor	School of Social Work	4.50	0.04		
Lascurain Ibarlucea	Patxi	Associate Professor	Languages, Literatures and Cul	9.00	1.00	-	·
Lash	Timothy	Distinguished Professor	Chemistry	9.00	1.00		
Latzke	Jennifer	Instructional Asst Professor	School of Teaching and Learnin	9.00	0.75	\$ -	\$ 3,651.00
Laurson	Kelly	Professor	School of Kinesiology and Recr	9.00	1.00	*	
Lawless	John 	Asst Professor	Philosophy	9.00	1.00	•	\$ 7,750.00
Lawson-Rippey	Rebecca	Lecturer	Criminal Justice Sciences	9.00	0.25	•	
Leahy Leake	Brendan Kayla	Asst Professor Instructional Asst Professor	School of Theatre and Dance School of Teaching and Learnin	9.00 4.50	1.00 0.75	*	\$ 8,080.00 \$ 3,651.00
Lee	Chun Kong	Instructional Asst Professor	School of Music	4.50	0.75	•	
Lee	Janette	Faculty Associate	Thomas Metcalf School	9.50	1.00	-	*
Lee	Jin	Professor	Wonsook Kim School of Art	9.00	1.00	•	*
Lee	Suzanne	Instructional Asst Professor	Special Education	4.50	0.25	\$ 1,237.00	\$ 1,323.00
Leffers	Regina	Instructional Asst Professor	Mathematics	9.00	1.00	\$ 4,987.00	\$ 5,421.00
Leonard	Meghan	Associate Professor	Politics and Government	9.00	1.00	*	
Leonard	Wilbert	Professor	Sociology and Anthropology	9.00	1.00	•	•
Lesser	Deborah	Instructional Asst Professor	School of Communication	9.00	1.00	*	
Lessoff Lewis	Alan Amy	University Professor Clinical Asst Professor	History Chemistry	9.00 4.50	1.00 0.13	•	
Lewis	Katherine	Professor	School of Music	9.00	1.00	•	-
Lewis	Kristina	Asst Professor	English	9.00	1.00	•	
Lewis	Ralph	Instructional Asst Professor	School of Music	4.50	0.35	*	\$ 1,853.00
Lewis	William	Asst Professor	School of Information Technolo	9.00	1.00	\$ 11,459.00	\$ 11,806.00
Li	Chung-Chih	Professor	School of Information Technolo	9.00	1.00	\$ 14,152.00	\$ 14,801.00
Liao	Min Yu	Associate Professor	Finance, Insurance and Law	9.00	1.00	•	
Liddell	Caleb	Instructional Asst Professor	School of Music	4.50	0.45	•	\$ 2,329.00
Lieberman	Claire	Professor	Wonsook Kim School of Art	9.00	1.00	*	
Liechty Lillge	Daniel Danielle	Professor Associate Professor	School of Social Work English	9.00 9.00	1.00 1.00	•	
Linge	Joon Ho	Associate Professor Associate Professor	English Marketing	9.00	1.00	•	
Lin	Lin	Faculty Associate	Thomas Metcalf School	9.50	1.00	•	
Lin	Miranda	Professor	School of Teaching and Learnin	9.00	1.00	•	•
Lipe	Stephanie	Instructional Asst Professor	Special Education	9.00	0.50	•	
Lippert	Lance	Professor	School of Communication	9.00	1.00	\$ 10,494.00	\$ 10,955.00
Lipsey	Shyla	Faculty Associate	University High School	9.50	1.00	*	
Lizzo	Robin	Asst Professor	School of Kinesiology and Recr	9.00	1.00	*	
Logan	Molly	Instructional Asst Professor	School of Kinesiology and Recr	9.00	1.00	\$ 7,419.00	\$ 7,705.00

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Lonare	Gunratan	Asst Professor	Finance, Insurance and Law	9.00	1.00	. ,	\$ 16,082.00
Long	Sonya	Clinical Asst Professor	School of Teaching and Learnin	4.50	0.63	*	\$ 2,885.00
Longman Look	Elizabeth Janet	Clinical Asst Professor Clinical Asst Professor	School of Teaching and Learnin English	4.50 4.50	0.31 0.08	•	\$ 1,420.00 \$ 238.00
Lopes dos Santos	Marcel	Asst Professor	School of Kinesiology and Recr	9.00	1.00	·	\$ 7,635.00
Lopez	Marcela	Lecturer	Languages, Literatures and Cul	9.00	1.00	·	\$ 4,966.00
Lore	Caitlin	Instructional Asst Professor	English	4.50	0.25	\$ 1,155.00	\$ 1,237.00
Lorio	Ciera	Asst Professor	Communication Sciences and Dis	9.00	1.00	•	\$ 8,306.00
Lorsbach	Anthony	Professor	School of Teaching and Learnin	9.00	1.00	•	\$ 11,313.00
Lotz LoVerde	Tyler Janet	Dir Wonsook Kim School Of Art Asst Professor	Wonsook Kim School of Art Mennonite College of Nursing	12.00 9.00	1.00 1.00	•	\$ 11,644.00 \$ 9,445.00
Lowe	Terry	Instructional Asst Professor	Department of Management	9.00	1.00	•	\$ 5,310.00
Lowell	Lauren	Associate Professor	School of Theatre and Dance	9.00	1.00	•	\$ 8,525.00
Lucey	Thomas	Professor	School of Teaching and Learnin	9.00	1.00	\$ 9,950.00	\$ 10,239.00
Lugar	Drew	Asst Professor	Agriculture	9.00	1.00	•	\$ 9,115.00
Lugg	Elizabeth	Associate Professor	Educational Administration & F	9.00	1.00	•	*
Lynd	Juliet Tara	Department Chairperson Associate Professor	Languages, Literatures and Cul	12.00 9.00	1.00 1.00	•	*
Lyons Ma	Yoon Jin	Professor	English Family and Consumer Sciences	9.00	1.00	•	*
MacDonald	Beth	Associate Professor	School of Teaching and Learnin	9.00	1.00	•	*
MacDonald	Jean	Associate Professor	Milner Library	12.00	1.00	*	
Mack	Tyler	Instructional Asst Professor	School of Music	9.00	1.00	\$ 4,548.00	\$ 4,867.00
MacPhee	Deborah	Professor	School of Teaching and Learnin	9.00	1.00	•	\$ 10,367.00
Magnuson	Roy	Associate Professor	School of Music	9.00	1.00		\$ 8,975.00
Mahatanankoon	Pruthikrai	Professor	School of Information Technolo	9.00	1.00	*	\$ 15,768.00
Mainieri Mainieri	Patrick	Instructional Asst Professor Associate Professor	School of Kinesiology and Recr School of Kinesiology and Recr	4.50 9.00	0.25 1.00	·	\$ 1,200.00 \$ 9,898.00
Mallery	Tracy David	Lecturer	Technology	4.50	0.17	*	
Malone	David	Lecturer	Agriculture	4.50	0.25	•	\$ 1,217.00
Malone	David	Distinguished Professor	Geography, Geology, and the En	9.00	1.00	•	\$ 13,734.00
Malott	Clare	Lecturer	Wonsook Kim School of Art	4.50	0.25	\$ 1,137.00	\$ 1,217.00
Maney-Magnuson	Shannon	Lecturer	English	9.00	1.00	•	*
Manion	Allyson	Clinical Asst Professor	Special Education	9.00	1.00	*	
Mankame	Poornima	Instructional Asst Professor	Family and Consumer Sciences	4.50	0.83	*	\$ 4,448.00
Mann Manna	Trisha Uttam	Faculty Associate Associate Professor	University High School Physics	9.50 9.00	1.00 1.00	. ,	\$ 7,231.00 \$ 9,601.00
Marciukaityte	Dalia	Associate Professor	Finance, Insurance and Law	9.00	1.00	•	*
, Marckwardt	Melvin	Instructional Asst Professor	Family and Consumer Sciences	9.00	1.00	•	\$ 5,464.00
Marcotte	Daniel	Clinical Asst Professor	School of Music	4.50	0.19	\$ 485.88	\$ 871.00
Marcum	Nancy	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.25	-	\$ 1,061.00
Marinello	Anthony	Associate Professor	School of Music	9.00	1.00	•	\$ 9,900.00
Marko Marlin-Hess	Thomas	Professor Asst Professor	School of Music School of Theatre and Dance	9.00 9.00	1.00 1.00	. ,	\$ 9,780.00 \$ 8,062.00
Marriott	Maggie Julia	Clinical Asst Professor	Mathematics	4.50	0.06	•	
Marshack	Rosanne	Dir Creative Technol	School of Music	9.00	1.00	·	\$ 9,784.00
Marshall	Kristin	Instructional Asst Professor	English	9.00	0.99	•	\$ 4,868.00
Marshall	Lindsay	Asst Professor	History	9.00	1.00	\$ -	\$ 7,000.00
Martin	Alexander	Instructional Asst Professor	Wonsook Kim School of Art	4.50	0.50	•	\$ 2,646.00
Martin	Angela	Instructional Asst Professor	School of Kinesiology and Recr	4.50	0.17	·	\$ 828.00
Martin Martin	Angela Jonathan	Instructional Asst Professor Asst Professor	Mennonite College of Nursing Languages, Literatures and Cul	4.50 9.00	0.15 1.00	·	\$ 619.00 \$ 7,671.00
Martin	Julia	Faculty Associate	University High School	9.50	1.00	•	\$ 4,841.00
Martin	Sara	Instructional Asst Professor	Mennonite College of Nursing	4.50	1.00	•	\$ 4,853.00
Martin	Tami	Professor	Mathematics	9.00	1.00	\$ 10,042.00	\$ 11,125.00
Martinez	Michelle	Instructional Asst Professor	School of Teaching and Learnin	9.00	0.75	\$ 4,653.00	\$ 3,651.00
Marx	David	Associate Professor	Physics	9.00	1.00	•	*
Masters	Angela	Instructional Asst Professor	School of Teaching and Learnin	9.00	0.42		\$ 2,223.00
Matkovic	John Andrew	Asst Professor Instructional Asst Professor	Health Sciences Politics and Government	9.00	1.00	-	\$ 8,000.00
Matthews Mattoon	Cassandra	Faculty Associate	Thomas Metcalf School	4.50 9.50	0.50 1.00		\$ 2,434.00 \$ 7,363.00
Maurer	Michelle	Instructional Asst Professor	Mennonite College of Nursing	9.00	1.00	•	
Maxwell	Lucas	Associate Professor	Agriculture	9.00	1.00	•	\$ 9,779.00
May	Kyle	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.31	\$ 1,506.00	\$ 1,661.00
Mayor	Ashley	Instructional Asst Professor	School of Teaching and Learnin	4.50	1.00		\$ 4,548.00
McBride	Dawn	Professor	Psychology	9.00	1.00	*	\$ 11,915.00
McBride McCarthy	William	Associate Professor	English School of Toaching and Learnin	9.00	1.00	•	*
McCarthy McCaw	Mary Steven	Clinical Asst Professor Professor Emeritus	School of Teaching and Learnin School of Kinesiology and Recr	4.50 4.50	0.13 0.25		\$ 596.00 \$ 1,778.00
McClelland	Melissa	Faculty Associate	Thomas Metcalf School	9.50	1.00	•	
McClure	Stephanie	Faculty Associate	Thomas Metcalf School	9.50	1.00	•	*
McClure	Thomas	Professor	Politics and Government	9.00	1.00	•	\$ 10,654.00
McCluskey-Titus	Phyllis	Emeriti Faculty	Educational Administration & F	4.50	0.13	\$ 10,564.00	\$ 688.00
McCombs	Angela	Instructional Asst Professor	Mathematics	9.00	1.00	•	*
McCoy	Sharon	Clinical Asst Professor	School of Biological Sciences	4.50	0.17		-
McDonald	Joseph	Instructional Asst Professor	Department of Management	9.00	1.00	\$ 4,548.00	\$ 4,966.00

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
McDonald	Samantha	Asst Professor	School of Kinesiology and Recr	9.00	1.00	. ,	\$ 8,075.00
McGoo	Andrew	Faculty Associate	University High School	9.50	1.00	•	\$ 6,346.00
McGee McGownd	Anne Robin	Instructional Asst Professor Instructional Asst Professor	School of Kinesiology and Recr Mennonite College of Nursing	9.00 4.50	1.00 0.32	•	•
McGraw	Melissa	Asst Professor	Special Education	9.00	1.00	•	\$ 7,778.00
McGuire	Tina	Lecturer	School of Communication	9.00	1.00	· ·	*
McHale	John	Professor	School of Communication	9.00	1.00	\$ 9,963.00	\$ 10,409.00
McHale	Kimberley	Instructional Asst Professor	Mathematics	9.00	0.67	*	*
McKenna	Emily	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.56	*	\$ 2,990.00
McMahon McMullen	Mary Kari	Clinical Asst Professor Instructional Asst Professor	Mathematics Marketing	4.50 9.00	0.06 1.00	· ·	•
McNamara	Anne	Asst Professor	School of Music	9.00	1.00	•	\$ 8,260.00
McNamara	Shawn	Instructional Asst Professor	School of Music	9.00	1.00	*	
McNulty	Brittany	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.50	\$ 1,137.00	\$ 2,274.00
McNulty	Maura	Clinical Asst Professor	Special Education	9.00	0.50	*	\$ 2,434.00
McQuality	Rodney	Clinical Asst Professor	Technology	4.50	0.25		\$ 660.00
Medrala Meece	Kematat Chris	Instructional Asst Professor Lecturer	English Technology	9.00 9.00	0.50 0.17		\$ 2,434.00 \$ 839.00
Mehall	Lynette	Instructional Asst Professor	Educational Administration & F	9.00	0.50		\$ 2,665.00
Mellor	William	Instructional Asst Professor	Accounting	4.50	0.50		\$ 2,760.00
Mercier	Caitlin	Asst Professor	Psychology	9.00	1.00	\$ 8,441.00	\$ 8,613.00
Meredith	Corey	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.17	· ·	\$ 828.00
Meredith	Marylynn	Clinical Asst Professor	School of Teaching and Learnin	4.50	0.50		\$ 2,290.00
Merrill	Christopher	Professor	Technology	9.00	1.00	*	\$ 13,349.00
Merriman Mersch	Gregory Sharon	Instructional Asst Professor Instructional Asst Professor	School of Theatre and Dance Mathematics	9.00 4.50	1.00 0.67		*
Mertens	Steven	Professor	School of Teaching and Learnin	9.00	1.00	*	*
Meyer	Allison	Professor	School of Teaching and Learnin	9.00	1.00	*	\$ 10,351.00
Meyer	Barbara	Associate Professor	School of Teaching and Learnin	9.00	1.00	*	\$ 13,011.00
Meyer	Kevin	Associate Professor	School of Communication	9.00	1.00	\$ 9,446.00	\$ 9,758.00
Meyers	Adena	Professor	Psychology	9.00	1.00	*	\$ 11,510.00
Micklich	Douglas	Instructional Asst Professor	Department of Management	9.00	1.00	*	*
Midha Mikulec	Vishal Erin	Professor Department Chairperson	Accounting School of Teaching and Learnin	9.00 12.00	1.00 1.00	*	\$ 17,658.00 \$ 10,407.00
Milas	Laura	Clinical Asst Professor	Wonsook Kim School of Art	4.50	0.06	•	\$ 10,407.00
Milita	Kerri	Associate Professor	Politics and Government	9.00	1.00	· ·	\$ 9,256.00
Miller	Christopher	Lecturer	Technology	4.50	0.25		\$ 1,500.00
Miller	Frederick	Instructional Asst Professor	School of Music	9.00	1.00	*	\$ 5,292.00
Miller	Gregory	Associate Professor	Sociology and Anthropology	9.00	1.00	*	\$ 8,979.00
Miller Miller	John	Associate Professor Professor	Wonsook Kim School of Art	9.00	1.00 1.00	*	
Miller	Kyle Lucinda	Clinical Asst Professor	School of Teaching and Learnin History	9.00 4.50	0.33	*	\$ 10,226.00 \$ 982.00
Miller	Todd	Instructional Asst Professor	Politics and Government	4.50	0.25	*	•
Milligan	Jenifer	Lecturer	School of Communication	9.00	1.00	*	*
Minton	Brittney	Faculty Associate	Thomas Metcalf School	9.50	1.00	\$ 7,094.00	\$ 7,872.00
Mir	Montserrat	Professor	Languages, Literatures and Cul	9.00	1.00	*	•
Mitchell	Christine	Faculty Associate	Thomas Metcalf School	9.50	1.00	*	*
Mitchell Mitchell	Liesel Timothy	Instructional Asst Professor Professor	Accounting Chemistry	9.00 9.00	1.00 1.00	*	\$ 6,890.00 \$ 11,683.00
Mixson	Emily	Instructional Asst Professor	Mennonite College of Nursing	9.00	1.00	*	\$ 7,223.00
Mohammadi	Hassan	Emeriti Faculty	Economics	2.50	0.25	· ·	\$ 2,000.00
Mohammed	Jaby	Associate Professor	Technology	9.00	1.00	\$ 10,274.00	\$ 10,781.00
Monk	Samantha	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.10	-	-
Montoney	Natalie	Faculty Associate	University High School	9.50	1.00	*	*
Mooney	Edward	Professor	Mathematics	9.00	1.00 0.50	*	\$ 11,066.00
Mooney Moore	Stacey Maria	Instructional Asst Professor Lecturer	Special Education School of Communication	4.50 4.50	0.50	*	
Morales Schmeiser	Carmen	Lecturer	Languages, Literatures and Cul	9.00	1.00	*	\$ 4,867.00
Moran	Mary	Associate Professor	English	9.00	1.00	*	•
Morbitzer	Pamela	Instructional Asst Professor	Family and Consumer Sciences	9.00	1.00	\$ 5,243.00	\$ 5,427.00
Morris Davis	Maggie	Asst Professor	English	9.00	1.00	*	\$ 7,446.00
Morshed	Md Maruf	Instructional Asst Professor	Economics	9.00	1.00	-	\$ 6,901.00
Mountjoy Mujeye	Kathy Stephen	Professor Asst Professor	Marketing Technology	9.00 9.00	1.00 1.00	*	\$ 11,165.00 \$ 10,045.00
Mullen	Rebecca	Instructional Asst Professor	School of Teaching and Learnin	9.00	0.75	*	*
Mulligan	Christopher	Professor	Chemistry	9.00	1.00	*	
Mulvaney	Michael	Professor	School of Kinesiology and Recr	9.00	1.00	*	
Muneses	Matthew	Instructional Asst Professor	School of Music	4.50	0.50		\$ 2,711.00
Munir	Hayley	Asst Professor	Criminal Justice Sciences	9.00	1.00	-	\$ 7,777.00
Munson	Derek	Asst Professor	School of Theatre and Dance	9.00	1.00	*	\$ 8,190.00
Murley	Jennifer Julie	Clinical Asst Professor Associate Professor	School of Teaching and Learnin Milner Library	4.50	0.19		\$ 871.00
Murphy Mushrush	Christopher	Instructional Asst Professor	Milner Library Economics	12.00 9.00	1.00 1.00		\$ 7,369.00 \$ 7,796.00
Mutchler	Brenda	Instructional Asst Professor	Mennonite College of Nursing	4.50	1.00	*	\$ 7,111.00
Myers	Scott	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.25	-	

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Myerscough	Ashton	Instructional Asst Professor	English	9.00	0.50	-	\$ 2,434.00
Nagorski	Richard	Professor	Chemistry	9.00	1.00	•	\$ 11,051.00
Nahm Nalefski	Kee-Yoon Matthew	Associate Professor Instructional Asst Professor	School of Theatre and Dance	9.00	1.00	•	•
Nancarrow	Kristen	Instructional Asst Professor	History Finance, Insurance and Law	9.00 9.00	0.50 1.00		
Nance	Kimberly	Professor	Languages, Literatures and Cul	9.00	1.00	•	\$ 11,766.00
Nance-Carroll	Niall	Instructional Asst Professor	English	9.00	0.50	•	
Nauta	Margaret	Professor	Psychology	9.00	1.00	*	\$ 12,023.00
Navas Mendez	Ana	Asst Professor	Sociology and Anthropology	9.00	1.00	\$ -	\$ 7,001.00
Nelson	Matthew	Professor	Accounting	9.00	1.00	•	\$ 17,628.00
Nenne	Carol	Clinical Asst Professor	Mathematics	4.50	0.19		•
Newport	Joshua	Asst Professor	Milner Library	12.00	1.00	*	•
Ng	Holly	Instructional Asst Professor	Mennonite College of Nursing	9.00	1.00	•	\$ 7,499.00
Nguyen Nichols	Allison Wade	Asst Professor Associate Professor	Psychology School of Biological Sciences	9.00 9.00	1.00 1.00	-	\$ 9,163.00 \$ 10,261.00
Nicholson	Lindsey	Instructional Asst Professor	School of Kinesiology and Recr	9.00	1.00	•	
Nietlisbach	Pirmin	Asst Professor	School of Biological Sciences	9.00	1.00	•	•
Nikolaou	Dimitrios	Department Chairperson	Economics	12.00	1.00	•	•
Nikolova	Teodora	Instructional Asst Professor	Languages, Literatures and Cul	4.50	1.00	\$ 5,136.00	\$ 5,316.00
Nix	Jeffrey	Instructional Asst Professor	School of Kinesiology and Recr	9.00	1.00	\$ 7,290.00	\$ 7,546.00
Nolan	Janese	Asst Professor	Educational Administration & F	9.00	1.00	\$ -	\$ 8,334.00
Nolen	Paul	Professor	School of Music	9.00	1.00	*	\$ 9,786.00
Norton	Ashley	Clinical Asst Professor	Special Education	9.00	1.00	•	\$ 7,853.00
Nottke	Nicole	Instructional Asst Professor	Family and Consumer Sciences	4.50	0.25		\$ 1,217.00
Novak	Carin	Clinical Asst Professor Associate Professor	School of Teaching and Learnin	4.50 9.00	0.50 1.00	*	\$ 2,290.00 \$ 10,138.00
Novotny Novy	Nancy Teresa	Asst Professor	Mennonite College of Nursing Mennonite College of Nursing	9.00	1.00	•	\$ 9,445.00
Nowland	John	Professor	Accounting	9.00	1.00	*	•
Nur-Awaleh	Mohamed	Associate Professor	Educational Administration & F	9.00	1.00	. ,	•
Nussbaum	Jacob	Instructional Asst Professor	Accounting	9.00	0.25	. ,	•
O'Brien	Amy	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.67	\$ 2,309.00	\$ 3,543.00
O'Brien	Kathleen	Visiting Professor	Educational Administration & F	9.00	1.00	\$ 7,223.00	\$ 7,223.00
O'Connor	Courtney	Faculty Associate	University High School	10.00	1.00	*	•
O'Donnell	Katherine	Faculty Associate	University High School	9.50	1.00	-	\$ 7,606.00
O'Donnell	Laura	Instructional Asst Professor	Educational Administration & F	4.50	0.25	•	\$ 1,323.00
Olguin Martinez Olsen	Jesus Joshua	Asst Professor Instructional Asst Professor	English Educational Administration & F	9.00 4.50	1.00 0.25	·	\$ 7,064.00 \$ 1,323.00
Olsen	Patrice	Associate Professor	History	9.00	1.00	•	\$ 8,400.00
Olson	Mark	Associate Professor	School of Social Work	9.00	1.00	•	•
Omahana	Patricia	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.11	•	•
Oppong-Wadie	Kwadwo	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.25	\$ 1,237.00	\$ 1,237.00
O'Reilly	Catherine	Professor	Geography, Geology, and the En	9.00	1.00	\$ 10,118.00	\$ 10,762.00
Oresky	Melissa	Professor	Wonsook Kim School of Art	9.00	1.00	•	•
Orr	Leslie	Associate Professor	School of Theatre and Dance	9.00	1.00	•	
Ortega	Tisha	Faculty Associate	University High School	9.50	1.00	•	\$ 8,775.00
Orzeck	Reecia	Associate Professor	Geography, Geology, and the En	9.00	1.00	*	•
Osborne Ostaszewski	Jordan Krzysztof	Lecturer Distinguished Professor	Technology Mathematics	4.50 9.00	0.50 1.00	•	\$ 2,434.00 \$ 19,888.00
Ott	Aimee	Dir School Of Communication	School of Communication	12.00	1.00	•	•
Otto	Stacy	Professor	Educational Administration & F	9.00	1.00	. ,	•
Overmyer	Scott	Instructional Asst Professor	School of Information Technolo	9.00	1.00	•	•
Owens	Mark	Lecturer	School of Information Technolo	4.50	0.25	\$ 1,137.00	\$ 1,217.00
Owsley	Zachary	Faculty Associate	Thomas Metcalf School	9.50	1.00	\$ 4,407.00	\$ 4,675.00
Ozalp	Nesrin	Department Chairperson	Mechanical Engineering	12.00	1.00	\$ -	\$ 16,667.00
Ozkum	Seren	Asst Professor	Psychology	9.00	1.00	•	
Ozyesilpinar	Eda	Asst Professor	English	9.00	1.00	•	•
Paehler	Katrin	Professor	History	9.00	1.00	•	\$ 9,741.00
Paitz Palmer	Ryan Carl	Associate Professor Associate Professor	School of Biological Sciences Politics and Government	9.00 9.00	1.00 1.00	•	•
Pancrazio	James	Professor	Languages, Literatures and Cul	9.00	1.00		•
Panganiban	Jennifer	Instructional Asst Professor	Special Education	4.50	0.25	•	•
Paolucci	Aaron	Associate Professor	School of Theatre and Dance	9.00	1.00	•	•
Papeck	Vincenza	Clinical Asst Professor	School of Teaching and Learnin	4.50	0.50	•	
Park	Borinara	Professor	Technology	9.00	1.00	\$ 10,897.00	\$ 11,399.00
Park	Do-Yong	Professor	School of Teaching and Learnin	9.00	1.00	*	
Park	Jin	Asst Professor	School of Kinesiology and Recr	9.00	1.00	•	•
Park	Taeok	Associate Professor	Communication Sciences and Dis	9.00	1.00	•	
Pasi	Geeta	Visiting Professor	Politics and Government	9.00	1.00	·	\$ 13,334.00
Patterson	Crystal	Faculty Associate	Thomas Metcalf School	9.50	1.00	•	\$ 7,363.00
Patterson Paul	Katherine Abbie	Department Chairperson Lecturer	English School of Communication	12.00 9.00	1.00 1.00	•	\$ 11,731.00 \$ 4,966.00
		Instructional Asst Professor	School of Kinesiology and Recr	9.00	1.00	•	\$ 4,966.00 \$ 6,676.00
Paulson	Anna	IIISU UCHONAL ACCI PICHECCII	AND THE PROPERTY OF THE PARTY O	1.1.1.1			- U.U/U.UU
Paulson Paxson	Anna Christine		- :			-	
Paulson Paxson Paxson	Anna Christine Steven	Instructional Asst Professor Faculty Associate	Educational Administration & F University High School	4.50 9.50	0.25 1.00	\$ 1,132.00	

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Peeples	Katherine	Asst Professor	Special Education	9.00	1.00	. ,	•
Pellum	Christine	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.50	•	\$ 2,434.00
Pence Pence	Cara Patricia	Clinical Asst Professor Associate Professor	School of Teaching and Learnin Mennonite College of Nursing	4.50 9.00	0.31 1.00	•	\$ 1,327.00 \$ 10,449.00
Perales	Jose	Instructional Asst Professor	Educational Administration & F	4.50	0.50	•	•
Percell	Jay	Associate Professor	School of Teaching and Learnin	9.00	1.00	•	
Perkins	Melissa	Instructional Asst Professor	School of Kinesiology and Recr	4.50	0.25	•	\$ 1,200.00
Perkins-Williams	Ruqayyah	Asst Professor	Educational Administration & F	9.00	1.00	\$ -	\$ 8,334.00
Perry	William	Professor	School of Biological Sciences	9.00	0.50	•	\$ 5,518.50
Pessman	Maria	Faculty Associate	University High School	9.50	1.00	•	*
Peters	Steven	Professor	Chemistry	9.00	1.00	•	*
Peterson Peterson	Eric Jennifer	Department Chairperson Associate Professor	Geography, Geology, and the En Health Sciences	12.00 9.00	1.00 1.00	•	*
Peterson	Kaitlan	Instructional Asst Professor	Mennonite College of Nursing	9.00	1.00	•	*
Petsas	Christina	Faculty Associate	Thomas Metcalf School	9.50	1.00	•	\$ 5,769.00
Phelan	Douglas	Instructional Asst Professor	Politics and Government	4.50	0.25	•	\$ 1,237.00
Phifer	John	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.31	•	\$ 1,393.00
Philip	Sumesh	Associate Professor	School of Information Technolo	9.00	1.00	\$ 12,491.00	\$ 12,870.00
Pierce	Scott	Associate Professor	School of Kinesiology and Recr	9.00	1.00	\$ 9,126.00	\$ 9,490.00
Pierce	Tonya	Instructional Asst Professor	School of Information Technolo	9.00	1.00	•	\$ 8,001.00
Pigman	Yvette	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.18		\$ 1,009.00
Pitluck	Aaron	Professor	Sociology and Anthropology	9.00	1.00	. ,	\$ 9,955.00
Plantholt	Michael	Emeriti Faculty	Mathematics	9.00	0.33	•	\$ 1,625.25
Plevka Plickebaum	John Terry	Lecturer Lecturer	School of Communication School of Information Technolo	4.50 4.50	0.25 0.33		\$ 1,323.00 \$ 1,747.00
Plumadore	Dean	Lecturer	School of Information Technolo	4.50	0.50		
Pluymers	Keith	Asst Professor	History	9.00	1.00	•	*
Poffenbarger	Catherine	Instructional Asst Professor	Center for Civic Engagement	4.50	0.25	•	•
Pole	Katherine	Faculty Associate	University High School	9.50	1.00	•	*
Ponce	Amy	Clinician	Family and Consumer Sciences	4.50	1.00	\$ 4,132.00	\$ 4,292.00
Ponnou-Delaffon	Erin	Associate Professor	Languages, Literatures and Cul	9.00	1.00	•	\$ 8,694.00
Porter	Paula	Instructional Asst Professor	Mennonite College of Nursing	9.00	1.00	•	*
Potts	Heather	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.50	•	•
Prasun	Marilyn	Professor	Mennonite College of Nursing	9.00	1.00	•	*
Prather Presiado	Courtney Vivian	Instructional Asst Professor Asst Professor	School of Teaching and Learnin School of Teaching and Learnin	4.50 9.00	0.75 1.00	•	*
Prestin-Beard	Cristina	Instructional Asst Professor	Family and Consumer Sciences	9.00	0.25	•	*
Pret	Tobias	Associate Professor	Department of Management	9.00	1.00		*
Prete	David	Instructional Asst Professor	School of Theatre and Dance	9.00	1.00	•	
Price	Morgan	Associate Professor	Wonsook Kim School of Art	9.00	1.00	\$ 7,866.00	\$ 8,334.00
Prince	Gloria	Instructional Asst Professor	Mennonite College of Nursing	4.50	1.00	\$ 3,698.00	\$ 6,056.00
Proctor	Maggy	Faculty Associate	University High School	9.50	1.00	•	*
Proud-Madruga	Andrew	Instructional Asst Professor	Mathematics	9.00	1.00		
Prunty	Renee	Instructional Asst Professor	Politics and Government	4.50	0.25	•	
Prunty	Tiffany Elzbieta	Instructional Asst Professor Associate Professor	Mathematics	9.00 9.00	1.00 1.00	•	*
Przybylo Pulley	Cynthia	Instructional Asst Professor	English Mathematics	9.00	1.00	•	
Pulley	Philip	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.25	•	*
Pyle	Kelly	Lecturer	Communication Sciences and Dis	4.50	0.25	•	. ,
, Qaddour	, Jihad	Associate Professor	School of Information Technolo	9.00	1.00	•	
Quast	Erin	Associate Professor	School of Teaching and Learnin	9.00	1.00	\$ 7,643.00	\$ 8,487.00
Quesenberry	Amanda	Professor	School of Teaching and Learnin	9.00	1.00	\$ 9,902.00	\$ 10,339.00
Quinlan	Robert	Associate Professor	School of Theatre and Dance	9.00	1.00	•	
Quirk	Jeanette	Instructional Asst Professor	Psychology	9.00	0.25	. ,	\$ 1,217.00
Rabbitte	Maureen	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.25	•	
Racek	Sandra	Instructional Asst Professor	Wonsook Kim School of Art	4.50	0.25		\$ 1,237.00
Rader Rahko	Abigail Stephen	Faculty Associate Asst Professor	Thomas Metcalf School School of Communication	9.50 9.00	1.00 1.00	•	\$ 7,533.00 \$ 8,393.00
Ramanathan	Chathapuram	Professor	School of Social Work	9.00	1.00	•	
Rankin	Erik	Instructional Asst Professor	Politics and Government	9.00	0.50	•	*
Ransom	Adriana	Dir School Of Music	School of Music	12.00	1.00	•	\$ 11,745.00
Rappleyea	Megan	Instructional Asst Professor	Mennonite College of Nursing	9.00	1.00	•	
Rashid	Md Tahmid	Asst Professor	School of Information Technolo	9.00	1.00	\$ -	\$ 11,000.00
Ratwatte	Manonita	Lecturer	Technology	4.50	0.25	. ,	\$ 1,217.00
Rayburn	Paul	Lecturer	Health Sciences	4.50	0.25		\$ 1,286.00
Rearden	Pamela	Lecturer	School of Information Technolo	4.50	0.50		*
Reblando	Jason	Asst Professor	Wonsook Kim School of Art	9.00	1.00	•	*
Reed	Toure	Professor	History	9.00	1.00	•	
Reese-Weber	Marla William	Department Chairperson Instructional Asst Professor	Family and Consumer Sciences	12.00	1.00	•	
Reger Register	William Alecia	Faculty Associate	History Thomas Metcalf School	9.00 9.50	1.00 1.00	•	\$ 7,025.00 \$ 6,855.00
=	Alecia Krista	Instructional Asst Professor	School of Social Work	9.50 4.50	0.25	•	\$ 6,855.00 \$ 1,217.00
Reichert-Lunny	KHARA	HIGH MULICIPAL CONTRACTOR STATE	COLLEGE: COLORADO VILLE IN	-7.JU		_	- 1,21,00
Reichert-Lunny Reid	Sarah	Asst Professor				•	
Reichert-Lunny Reid Reiman			School of Teaching and Learnin University High School	9.00 9.50	1.00 1.00	\$ 7,606.00	\$ 7,826.00

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Reitz	Orin	Associate Professor	Mennonite College of Nursing	9.00	1.00	. ,	\$ 11,050.00
Rejack Remmert	Brian Brooke	Professor Instructional Asst Professor	English Mennonite College of Nursing	9.00 4.50	1.00 0.32	•	\$ 10,091.00 \$ 1,326.00
Ren	Yayuan	Associate Professor	Finance, Insurance and Law	9.00	1.00	•	•
Ren	Yi	Professor	Accounting	9.00	1.00	•	\$ 19,792.00
Renken-Kapatos	Noah	Lecturer	Creative Technologies Program	4.50	0.25	•	\$ 1,217.00
Renn	Dianne	Associate Professor	Educational Administration & F	9.00	1.00	•	\$ 9,765.00
Rennels	Karen	Instructional Asst Professor	Special Education	4.50	0.33	-	\$ 1,607.00
Replogle Reusch	Sherri Linda	Instructional Asst Professor Clinical Asst Professor	Politics and Government Mathematics	9.00 4.50	1.00 0.13	•	\$ 5,440.00 \$ 538.00
Reynolds	Evelyn	Instructional Asst Professor	Sociology and Anthropology	4.50	0.13	•	•
Reynolds	Heather	Asst Professor	School of Theatre and Dance	9.00	1.00	•	\$ 7,778.00
Rezgui	Abdelmounaam	Associate Professor	School of Information Technolo	9.00	1.00	\$ 12,435.00	\$ 13,033.00
Rhykerd	Robert	Professor	Agriculture	9.00	1.00	*	\$ 13,430.00
Riaz	Ali	Distinguished Professor	Politics and Government	9.00	1.00	•	\$ 15,041.00
Ribbe Ribbens	Fawna Barbara	Instructional Asst Professor Associate Professor	Accounting Department of Management	4.50 9.00	0.50 1.00	·	\$ 2,666.00 \$ 15,828.00
Rich	Jay	Professor	Accounting	9.00	1.00	•	\$ 21,538.00
Rickard	Justin	Associate Professor	Agriculture	9.00	1.00	•	\$ 10,067.00
Riegle	Adrienne	Instructional Asst Professor	Sociology and Anthropology	9.00	0.50	\$ -	\$ 2,646.00
Rinaldi-Miles	Anna	Instructional Asst Professor	School of Kinesiology and Recr	9.00	1.00	•	\$ 8,051.00
Rinker	Joshua	Instructional Asst Professor	Politics and Government	9.00	0.25	•	\$ 1,323.00
Rinn	Colette	Clinical Asst Professor	Wonsook Kim School of Art	4.50	0.13	·	\$ 557.00
Risinger Ristow	Kimberly Leah	Professor Instructional Asst Professor	School of Music School of Social Work	9.00 4.50	1.00 0.25	•	\$ 10,367.00 \$ 1,137.00
Riverstone-Newell	Lori	Associate Professor	Politics and Government	9.00	1.00	•	\$ 8,814.00
Roberson	Aaron	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.25	•	\$ 1,137.00
Robertson	Meghan	Clinical Asst Professor	Special Education	9.00	0.50	-	\$ 2,434.00
Robillard	Amy	Professor	English	9.00	1.00	\$ 9,705.00	\$ 10,313.00
Rodda	Jeanna	Lecturer	Criminal Justice Sciences	4.50	0.25	•	*
Rodgers	James	Clinical Asst Professor	English	4.50	0.33	•	
Rodriguez	Andrew	Lecturer Asst Professor	School of Communication	9.00	1.00 1.00	•	\$ 4,867.00
Rodriguez Saltos Rodriguez Suero	Carlos Felix	Asst Professor	School of Biological Sciences Wonsook Kim School of Art	9.00 9.00	1.00	-	\$ 9,000.00 \$ 7,223.00
Rohman	Brian	Faculty Associate	University High School	9.50	1.00	. ,	\$ 6,346.00
Romano	Daniel	Clinical Asst Professor	School of Music	4.50	0.06	•	\$ 276.00
Ropp	Cindy	Professor	School of Music	9.00	1.00	\$ 9,088.00	\$ 9,778.00
Rosa	Epaminondas	Professor	Physics	9.00	1.00	•	\$ 11,426.00
Rosecrans	Kelly	Instructional Asst Professor	Mennonite College of Nursing	9.00	1.00	*	
Roseland Rosenbaum	William Thomas	Instructional Asst Professor Instructional Asst Professor	Special Education	4.50 4.50	0.25 0.08	*	
Rossler	Michael	Associate Professor	School of Kinesiology and Recr Criminal Justice Sciences	9.00	1.00	•	\$ 390.00 \$ 9,896.00
Roth	Garrett	Faculty Associate	University High School	9.50	1.00	•	*
Roth	Melinda	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.25	\$ 803.00	\$ 2,408.00
Rowley	Micheal	Asst Professor	Family and Consumer Sciences	9.00	1.00	•	*
Rowley	Rex	Professor	Geography, Geology, and the En	9.00	1.00	*	
Rubin	Nathania	Associate Professor	Wonsook Kim School of Art	9.00	1.00	•	
Ruffatti Rugutt	Michael John	Lecturer Professor	Agriculture Educational Administration & F	9.00 9.00	0.50 1.00	•	\$ 2,434.00 \$ 10,430.00
Rummel	Andrew	Professor	School of Music	9.00	1.00	•	
Rummel	Nicole	Instructional Asst Professor	Educational Administration & F	4.50	0.25	•	\$ 1,323.00
Russell	Luke	Associate Professor	Family and Consumer Sciences	9.00	1.00	\$ 7,924.00	\$ 9,312.00
Russo	Sonya	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.50	*	\$ 2,657.00
Rutherford	George	Associate Professor	Physics	9.00	1.00	•	*
Ruyle	Hilary	Instructional Asst Professor	Special Education	4.50	0.25	•	
Sadd Safranek	Benjamin Jason	Professor Instructional Asst Professor	School of Biological Sciences School of Teaching and Learnin	9.00 9.00	1.00 0.25	•	\$ 12,013.00 \$ 1,217.00
Salinas	Sofia	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.25	*	\$ 1,217.00
Salzstein	lleen	Clinical Asst Professor	Special Education	9.00	1.00		
Samhan	Bahae	Associate Professor	Accounting	9.00	1.00	\$ 14,934.00	\$ 15,728.00
Sampeck	Kathryn	Professor	Sociology and Anthropology	9.00	1.00	•	
Samson	Midori	Instructional Asst Professor	School of Music	9.00	1.00	•	*
Sandy	Heather	Faculty Associate	University High School	9.50	1.00	*	*
Sankara Sanson	Jomo David	Professor Associate Professor	Accounting Philosophy	9.00 9.00	1.00 1.00	•	
Sansone	Geraldine	Clinical Asst Professor	History	4.50	0.25	*	
Sanyal	Avik	Instructional Asst Professor	Economics	8.50	1.00		\$ 6,901.00
, Sarfati	Yusuf	Associate Professor	Politics and Government	9.00	0.50		\$ 4,451.50
Saripalle	Rishi Kanth	Associate Professor	School of Information Technolo	9.00	1.00	•	\$ 12,969.00
Sattler	Elizabeth	Associate Professor	School of Kinesiology and Recr	9.00	1.00	*	\$ 9,098.00
Saunders	Rebecca	Professor	English	9.00	1.00	•	
Savage	Joanne Jean	Professor Professor	Criminal Justice Sciences Communication Sciences and Dis	9.00 9.00	1.00 1.00		
Sawyer Schahrer	Kayla	Faculty Associate	University High School	9.50	1.00	•	*
Scheidenhelm	Sandra	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.83	•	*
- ···			-0		2.23	-,	. ,

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Scherer	Tamara	Faculty Associate	Laboratory Schools Superintend	10.50	1.00	\$ 6,842.00	\$ 7,498.00
Schieler	Karen	Lecturer	School of Communication	4.50	0.25	•	\$ 1,217.00
Schimmel	Carl	Professor	School of Music	9.00	1.00	•	•
Schmeiser Schmidt	Benjamin Anne	Associate Professor Instructional Asst Professor	Languages, Literatures and Cul Mathematics	9.00 9.00	1.00 1.00	•	•
Schmidt	Klaus	Professor	Technology	9.00	1.00	•	\$ 13,561.00
Schmidt	Morgan	Faculty Associate	University High School	9.50	1.00	•	
Schmitt	Nicholas	Instructional Asst Professor	Psychology	9.00	0.50	•	\$ 2,434.00
Schneider	Jacqueline	Professor	Criminal Justice Sciences	9.00	1.00	\$ 13,451.00	\$ 13,536.00
Schneider	Kimberly	Professor	Psychology	9.00	1.00	\$ 9,878.00	\$ 10,193.00
Schoon	Perry	Professor	Educational Administration & F	9.00	1.00	\$ 19,801.00	\$ 20,494.00
Schrems	Kelly	Instructional Asst Professor	History	4.50	0.25	•	\$ 1,137.00
Schroeder	Zachary	Instructional Asst Professor	School of Kinesiology and Recr	4.50	0.25	•	\$ 1,242.00
Schuetz	Daniel	Instructional Asst Professor	School of Music	9.00	1.00	•	
Schumacher	Amy	Faculty Associate	Thomas Metcalf School	9.50	1.00	•	\$ 8,596.00
Schumacher Schuster	Julie Sandra	Professor Instructional Asst Professor	Family and Consumer Sciences School of Kinesiology and Recr	9.00 4.50	1.00 0.08	•	*
Schwartz	Vanette	Professor	Milner Library	12.00	1.00	•	•
Scott	Joellen	Instructional Asst Professor	School of Teaching and Learnin	9.00	1.00	•	*
Scott	Warren	Clinical Asst Professor	History	4.50	0.17	•	*
Sedbrook	John	Professor	School of Biological Sciences	9.00	1.00	\$ 10,627.00	\$ 11,562.00
Seelinger	George	Emeriti Faculty	Mathematics	4.50	0.33	\$ 2,300.00	\$ 3,036.00
Seeman	Scott	Associate Professor	Communication Sciences and Dis	9.00	1.00	\$ 8,628.00	\$ 8,857.00
Sefton	Hayley	Faculty Associate	University High School	9.50	1.00		\$ 5,462.00
Segelcke	Elke	Professor	Languages, Literatures and Cul	9.00	1.00	•	\$ 9,956.00
Segerstrom	Heather	Lecturer	Health Sciences	4.50	0.25	•	*
Seglem Seifert	Robyn Brice	Professor Instructional Asst Professor	School of Teaching and Learnin	9.00 9.00	1.00 1.00	•	\$ 10,326.00 \$ 5,292.00
Seifert	Deborah	Professor	Department of Management Accounting	9.00	1.00	. ,	\$ 5,292.00 \$ 20,307.00
Seipp	Edward	Instructional Asst Professor	Accounting	9.00	1.00	•	\$ 5,273.00
Sellas	Maria	Clinical Asst Professor	Special Education	9.00	0.71	•	\$ 2,840.00
Sellers	Laura	Faculty Associate	University High School	9.50	1.00	•	\$ 8,783.00
Selman	Donna	Department Chairperson	Criminal Justice Sciences	12.00	1.00	\$ 12,700.00	\$ 13,145.00
Selman	Kaitlyn	Asst Professor	Criminal Justice Sciences	9.00	1.00	\$ -	\$ 7,975.00
Seloni	Lisya	Professor	English	9.00	0.50	•	\$ 5,063.00
Selzer	Robert	Lecturer	School of Communication	9.00	1.00	•	\$ 4,867.00
Semelroth	Sharon	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.32	·	\$ 1,414.00
Severino Diaz	Fernando	Asst Professor	School of Communication	9.00	1.00	•	\$ 9,991.00
Sewak Sewell	Sphurti Christine	Asst Professor Instructional Asst Professor	Marketing School of Teaching and Learnin	9.00 4.50	1.00 0.25	•	\$ 14,834.00 \$ 1,217.00
Seyoum	Wondwosen	Associate Professor	Geography, Geology, and the En	9.00	0.50	•	\$ 4,390.50
Shaffer	Steven	Instructional Asst Professor	Accounting	9.00	1.00	•	\$ 6,701.00
Shaheen	Natalie	Asst Professor	Special Education	9.00	1.00	•	\$ 8,154.00
Shapiro	Jonathan	Associate Professor	Politics and Government	9.00	1.00	•	\$ 9,118.00
Sharkey	Jennifer	Associate Professor	Milner Library	12.00	1.00	\$ 7,205.00	\$ 7,404.00
Shaw	Jennifer	Instructional Asst Professor	Special Education	4.50	0.25	\$ 1,137.00	\$ 1,137.00
Shawki	Noha	Professor	Politics and Government	9.00	1.00	•	*
Shekara	Archana	Professor	Wonsook Kim School of Art	9.00	1.00	•	\$ 9,943.00
Shelden	Debra	Associate Professor	Special Education	9.00	1.00	. ,	*
Shende	Shraddha	Asst Professor	Communication Sciences and Dis School of Social Work	9.00	1.00	•	\$ 8,434.00
Sheridan Sherrill	Kathryn Daniel	Associate Professor Associate Professor	Finance, Insurance and Law	9.00 9.00	1.00 1.00	•	\$ 8,854.00 \$ 17,475.00
Sherwood	Heather	Clinical Asst Professor	English	4.50	0.25	•	
Shim	Euysup	Associate Professor	Technology	9.00	1.00	·	•
Shim	Soo Won	Asst Professor	School of Teaching and Learnin	9.00	1.00	•	\$ 8,000.00
Shin	Oe Jin	Asst Professor	School of Social Work	9.00	1.00	\$ 7,667.00	\$ 7,939.00
Shively	Rachel	Professor	Languages, Literatures and Cul	9.00	1.00	\$ 9,394.00	\$ 9,963.00
Shofner	Deborah	Clinical Asst Professor	School of Music	4.50	0.19	\$ 485.88	\$ 871.00
Shoop	Robert	Instructional Asst Professor	Department of Management	9.00	1.00		\$ 5,580.00
Shoushtari	Shirin	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.33	•	\$ 1,485.00
Shrivastava	Anmol	Asst Professor	Wonsook Kim School of Art	9.00	1.00	·	\$ 7,778.00
Shropshire	Michele	Associate Professor	Mennonite College of Nursing	9.00	1.00	•	\$ 10,241.00
Shukla Silva	Amit Desiree	Lecturer Instructional Asst Professor	Technology School of Social Work	4.50 4.50	0.25 0.25	•	\$ 1,500.00 \$ 1,137.00
Simon	Santhosh	Asst Professor	Communication Sciences and Dis	9.00	1.00		\$ 7,778.00
Simonds	Brent	Professor	School of Communication	9.00	1.00		\$ 10,711.00
Simonds	Cheri	Distinguished Professor	School of Communication	10.00	1.00	•	\$ 11,495.00
Simpkins	Phelan	Instructional Asst Professor	Politics and Government	4.50	0.25	•	\$ 1,323.00
Singhal	Ravi	Instructional Asst Professor	Accounting	4.50	0.25	•	\$ 1,400.00
Singley	Rodger	Emeriti Faculty	Marketing	9.00	0.75	\$ 1,836.00	\$ 5,508.00
Sirmans	Eleanor	Asst Professor	Finance, Insurance and Law	9.00	1.00	•	\$ 17,369.00
Sissokho	Papa	Professor	Mathematics	9.00	1.00	•	*
Sittler	Nina	Instructional Asst Professor	Family and Consumer Sciences	4.50	0.25		\$ 1,242.00
Skaggs	Lindsey	Instructional Asst Professor	Milner Library	12.00	1.00		\$ 5,520.00
Skinner	Elizabeth	Associate Professor	School of Teaching and Learnin	9.00	1.00	\$ 8,546.00	\$ 8,894.00

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Skorup	Steven	Clinical Asst Professor	Technology	4.50	0.13	•	\$ 344.00
Slater	Gwendolyn	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.25	*	\$ 1,217.00
Sleevar Slepicka	Michelle Amanda	Instructional Asst Professor Instructional Asst Professor	School of Teaching and Learnin Mennonite College of Nursing	9.00 9.00	1.00 1.00	•	\$ 5,211.00 \$ 8,000.00
Smelser	Sarah	Professor	Wonsook Kim School of Art	9.00	1.00		\$ 10,002.00
Smith	DuJuan	Instructional Asst Professor	Educational Administration & F	4.50	0.25		\$ 1,237.00
Smith	Jamie	Associate Professor	Communication Sciences and Dis	9.00	1.00	*	
Smith	Jennifer	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.25	\$ 1,137.00	\$ 1,217.00
Smith	Katherine	Faculty Associate	University High School	9.50	1.00	\$ 6,215.00	\$ 6,855.00
Smith	Katherine	Instructional Asst Professor	Mathematics	9.00	1.00	•	. ,
Smith	Kelly	Professor	English	9.00	1.00	•	
Smith	Matthew	Associate Professor	School of Music School of Social Work	9.00	1.00	*	• •
Smith Smith	Melinda Peter	Instructional Asst Professor Associate Professor	School of Kinesiology and Recr	4.50 9.00	0.25 1.00	•	\$ 1,217.00 \$ 9,581.00
Smith	Rachel	Instructional Asst Professor	School of Kinesiology and Recr	9.00	1.00	*	\$ 8,768.00
Smith Roof	Anna	Associate Professor	School of Teaching and Learnin	9.00	1.00	*	
Smudde	Peter	Professor	School of Communication	9.00	1.00	*	\$ 10,574.00
Smyser-Fauble	Barbi	Instructional Asst Professor	English	9.00	1.00	\$ 6,241.00	\$ 6,460.00
Snodgrass	Melinda	Associate Professor	Special Education	9.00	1.00	\$ 7,654.00	\$ 8,631.00
Snow	Andrea	Instructional Asst Professor	Wonsook Kim School of Art	4.50	0.25	•	\$ 1,323.00
Snyder	David	Professor	School of Music	9.00	1.00	*	\$ 10,002.00
Soja	Taylor	Asst Professor	History	9.00	1.00	*	\$ 7,221.00
Solanki	Pranshoo	Professor	Technology	9.00	1.00	*	\$ 11,969.00
Solomonson Somers	Jay Megan	Asst Professor Faculty Associate	Agriculture University High School	9.00 9.50	1.00 1.00		\$ 9,006.00 \$ 5,668.00
Song	Christina Soyoung	Asst Professor	Family and Consumer Sciences	9.00	1.00	*	. ,
Souder	Grant	Faculty Associate	Thomas Metcalf School	9.50	1.00	*	\$ 6,781.00
Sozen	Erol	Asst Professor	Family and Consumer Sciences	9.00	1.00	*	•
Spack	Nichole	Instructional Asst Professor	Health Sciences	9.00	1.00	\$ 7,475.00	\$ 7,737.00
Sparby	Derek	Associate Professor	English	9.00	1.00	\$ 8,387.00	\$ 8,767.00
Spaulding	Aslihan	Department Chairperson	Agriculture	12.00	1.00	*	\$ 11,528.00
Spotts	Jasmine	Faculty Associate	Laboratory Schools Superintend	9.50	1.00	•	•
Sprecher	Susan	Distinguished Professor	Sociology and Anthropology	9.00	1.00	*	
Stabler	Albert	Asst Professor	Wonsook Kim School of Art	9.00	1.00	*	\$ 7,891.00
Staff Stafford	Savannah Albion	Faculty Associate Associate Professor	Laboratory Schools Superintend Wonsook Kim School of Art	9.50 9.00	1.00 1.00	•	\$ 5,462.00 \$ 8,451.00
Stalter	Kathryn	Instructional Asst Professor	Family and Consumer Sciences	9.00	1.00	*	\$ 5,723.00
Stalter	Kristina	Instructional Asst Professor	School of Teaching and Learnin	9.00	0.25	*	\$ 1,323.00
Stalter	Michelle	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.25	*	\$ 1,217.00
Standard	Jean	Instructional Asst Professor	Chemistry	4.50	0.25	\$ 1,667.00	\$ 1,778.00
Stanek	Justin	Associate Professor	School of Kinesiology and Recr	9.00	1.00	\$ 8,735.00	\$ 9,012.00
Stanlaw	James	Professor	Sociology and Anthropology	9.00	1.00	. ,	\$ 11,666.00
Starks	Kristin	Clinical Asst Professor	Special Education	9.00	1.00	•	\$ 5,658.00
Starr	Katherine	Instructional Asst Professor	School of Theatre and Dance	9.00	1.00		\$ 4,867.00
Stein Steinmetz	Wolfgang Nicholas	Professor Lecturer	School of Biological Sciences School of Communication	9.00 9.00	1.00 1.00	*	\$ 11,937.00 \$ 4,867.00
Stephan	Elizabeth	Clinical Asst Professor	School of Teaching and Learnin	4.50	1.00	*	,
Stephens	Nathan	Asst Professor	School of Social Work	9.00	1.00	*	\$ 8,058.00
Stephenson	Alex	Instructional Asst Professor	School of Music	9.00	1.00	*	\$ 5,292.00
Stewart	Caitlin	Asst Professor	Milner Library	12.00	1.00	*	\$ 6,189.00
Stewart	MaryBeth	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.50	\$ 1,137.00	\$ 2,434.00
Stewart	Todd	Associate Professor	Philosophy	9.00	1.00	\$ 4,372.50	\$ 9,162.00
Stiers	Benjamin	Instructional Asst Professor	School of Music	9.00	1.00	*	. ,
Stipp	Karen	Associate Professor	School of Social Work	9.00	1.00		•
Stivers	Michael	Instructional Asst Professor	Politics and Government	4.50	0.25	*	
Stockmann Stone	Cherrill Abigail	Asst Professor Asst Professor	Mennonite College of Nursing Sociology and Anthropology	9.00 9.00	1.00 1.00	*	\$ 9,555.00 \$ 7,557.00
Stone	Livia	Associate Professor	Sociology and Anthropology	9.00	1.00	*	
Story	Kara	Faculty Associate	Thomas Metcalf School	9.50	1.00	*	
Strickler	Stephanie	Instructional Asst Professor	School of Biological Sciences	9.00	1.00		•
Strode	Camille	Faculty Associate	Thomas Metcalf School	9.50	1.00	*	
Stump	Daniel	Instructional Asst Professor	History	9.00	0.50	\$ 2,222.00	\$ 2,222.00
Su	Qichang	Distinguished Professor	Physics	9.00	1.00	\$ 15,343.00	\$ 15,882.00
Suh	Kyoungwon	Professor	School of Information Technolo	9.00	1.00	*	\$ 15,375.00
Sullivan	Christine	Instructional Asst Professor	Finance, Insurance and Law	9.00	0.25		
Sullivan	Jessica Biological	Asst Professor	Mennonite College of Nursing	9.00	1.00	*	•
Sullivan	Richard	Associate Professor	Sociology and Anthropology	9.00	0.50		•
Sulzberger	David Bridget	Faculty Associate Instructional Asst Professor	Thomas Metcalf School Woman, Gondon, and Sovuality	9.50	1.00	*	•
Sundin Sungkajun	Bridget Annie	Asst Professor	Women, Gender, and Sexuality Wonsook Kim School of Art	9.00 9.00	1.00 1.00	*	
Sungkajun Su-Russell	Chang	Associate Professor	Family and Consumer Sciences	9.00	1.00	*	\$ 7,904.00
Sutter	Kristi	Faculty Associate	Thomas Metcalf School	9.50	1.00	*	
		•				*	,
Sutton	Lenford	Professor	Educational Administration & F	9.00	1.00	\$ 13,902.00	\$ 14,389.00
	Lenford Intan	Professor Asst Professor	Sociology and Anthropology	9.00	1.00	*	

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Swan-McClendon	Lynda	Instructional Asst Professor	School of Social Work	9.00	0.25	•	
Swanson Swanson	Elisha Erik	Instructional Asst Professor Instructional Asst Professor	Chemistry School of Music	9.00 4.50	1.00 0.35	•	\$ 6,054.00 \$ 2,485.00
Swenson Lee	Cora	Instructional Asst Professor	School of Music	9.00	0.33	-	
Swerdlik	Mark	Emeriti Faculty	Psychology	9.00	0.25	•	•
Szabo	Judith	Instructional Asst Professor	School of Kinesiology and Recr	4.50	0.25	\$ 774.00	\$ 1,217.00
Szczepura	Lisa	University Professor	Chemistry	9.00	1.00	\$ 11,924.00	\$ 12,499.00
Tabaka	Lisa	Faculty Associate	Laboratory Schools Superintend	10.50	1.00	. ,	•
Taber	Kimberly	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.25	•	
Tallon	Jennifer	Instructional Asst Professor	Mathematics Thomas Metcalf School	9.00	1.00	•	
Tallon Tamm	Chad Christopher	Faculty Associate Associate Professor	Finance, Insurance and Law	9.50 9.00	1.00 1.00	•	\$ 6,007.00 \$ 17,862.00
Tang	Yongning	Professor	School of Information Technolo	9.00	1.00	•	
Tarara	Lauretta	Instructional Asst Professor	School of Theatre and Dance	4.50	0.25	•	\$ 1,217.00
Tarr	Brittney	Faculty Associate	Thomas Metcalf School	9.50	1.00	-	\$ 6,007.00
Taylor	Dennis	Lecturer	School of Teaching and Learnin	4.50	0.50	\$ 3,411.00	\$ 2,483.00
Taylor	Taylor	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.42	\$ 1,004.00	\$ 2,108.00
Teasdale	Brent	University Professor	Criminal Justice Sciences	9.00	1.00	•	\$ 13,682.00
Telford	Emily	Faculty Associate	University High School	9.50	1.00	•	•
Templeton	Jeffrey	Instructional Asst Professor	Chemistry	9.00	1.00	•	,
Tetteh	Iuliia	Associate Professor	Agriculture	9.00	1.00	•	\$ 9,774.00
Thomanson	Jonathan	Professor Instructional Asst Professor	Geography, Geology, and the En	9.00	1.00 0.50	. ,	\$ 10,447.00
Themanson Thiagarajah	Jason Kulathavaranee	Professor	Psychology Mathematics	4.50 9.00	1.00	-	\$ 2,473.00 \$ 13,415.00
Thomas	Charles	Instructional Asst Professor	Accounting	9.00	1.00	•	\$ 6,735.00
Thomas	David	Professor	School of Kinesiology and Recr	9.00	1.00		
Thomas	Lindsey	Associate Professor	School of Communication	9.00	1.00		
Thomas	Paula	Clinical Asst Professor	School of Teaching and Learnin	4.50	0.69	\$ 2,696.00	\$ 3,160.00
Thompson	Elizabeth	Associate Professor	School of Music	9.00	1.00	\$ 7,617.00	\$ 8,457.00
Thompson	Hannah	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.50	•	• •
Thompson	Kevin	Faculty Associate	University High School	9.50	1.00	•	•
Tidmarsh	Bryanna	Instructional Asst Professor	English	9.00	0.50	-	. ,
Tilletsen	Michael	Clinical Asst Professor	History	4.50	0.25	*	
Tillotson Timmerman	Kimberly Amy	Instructional Asst Professor Instructional Asst Professor	Department of Management Health Sciences	9.00 9.00	0.25 1.00	-	\$ 1,268.00 \$ 7,738.00
Tinlin	Robi	Lecturer	School of Communication	4.50	0.25	•	\$ 1,137.00
Tobias	Jennifer	Professor	Mathematics	9.00	1.00	·	\$ 10,432.00
Tong	Pui Ying	Asst Professor	Marketing	9.00	1.00		
Topdar	Sudipa	Associate Professor	History	9.00	1.00	\$ 7,558.00	\$ 7,558.00
Toro-Morn	Maura	Professor	Sociology and Anthropology	9.00	1.00	•	
Torrealba Alfonzo	Gabriel	Asst Professor	Sociology and Anthropology	9.00	1.00	-	\$ 7,001.00
Torry	Michael	Professor	School of Kinesiology and Recr	9.00	1.00	•	•
Tovar	John Kathlaan	Asst Professor	School of Theatre and Dance	9.00	1.00	•	•
Towler Tranel	Kathleen Lisa	Faculty Associate Associate Professor	Thomas Metcalf School Geography, Geology, and the En	9.50 9.00	0.55 1.00	•	•
Trask	Tisa	Instructional Asst Professor	Mathematics	9.00	1.00	•	
Trefzger	Joseph	Professor	Finance, Insurance and Law	9.00	1.00	•	,
Trimble	Madeline	Associate Professor	Accounting	9.00	1.00	•	
Troemel	Greg	Lecturer	Technology	4.50	0.17	\$ 1,026.00	\$ 1,062.00
Trombley	Timothy	Associate Professor	Finance, Insurance and Law	9.00	1.00	\$ 15,862.00	\$ 17,228.00
Trost	Robin	Instructional Asst Professor	Mennonite College of Nursing	9.00	1.00	\$ 6,567.00	\$ 6,797.00
Troyer	William	Lecturer	Agriculture	4.50	0.75	·	\$ 3,411.00
Tsemunhu	Rudo	Department Chairperson	Educational Administration & F	12.00	1.00	*	
Tsouvala	Georgia	Associate Professor	History	9.00	1.00	. ,	\$ 7,891.00
Tudela Turner	Maria Justin	Asst Professor Asst Professor	Milner Library Sociology and Anthropology	12.00 9.00	1.00 1.00	-	\$ 5,917.00 \$ 7,350.00
Turner	Molly	Faculty Associate	Laboratory Schools Superintend	9.50	1.00		\$ 6,382.00
Turton	John	Instructional Asst Professor	Creative Technologies Program	4.50	0.25	. ,	\$ 1,137.00
Twiddy	Anna	Instructional Asst Professor	Milner Library	12.00	1.00		\$ 5,348.00
Uhe	Andrew	Instructional Asst Professor	Marketing	8.00	0.25		
Ullah	Sameeh	Lecturer	School of Information Technolo	4.50	0.25	\$ 2,473.00	\$ 1,323.00
Ure	Charlotte	Asst Professor	Mathematics	9.00	1.00	\$ -	\$ 8,334.00
Vala	Matthew	Instructional Asst Professor	School of Theatre and Dance	9.00	1.00	•	\$ 5,292.00
Valentin	Richard	Professor	School of Music	9.00	1.00	•	•
Valkema	Daniel	Clinical Asst Professor	School of Music	4.50	0.06	·	\$ 276.00
Van Draska	Meridee	Associate Professor	Health Sciences	9.00	1.00		
VanDormay Kirkham	Stacey	Clinical Asst Professor	School of Teaching and Learnin	9.00	0.25		
VanDermay-Kirkham	Quentin Flicha	Instructional Asst Professor	Health Sciences	9.00	1.00		
VanMeenen Varga-Harris	Elisha Christine	Instructional Asst Professor Professor	University College History	9.00 9.00	1.00 1.00	•	•
=	Abhishek	Professor	Finance, Insurance and Law	9.00	1.00		
Varma	/ WITISTICK	1 10103301	i mance, modrance and Law		1.00	•	
Varma Varner	Katrin	Associate Professor	Finance. Insurance and Law	9.00	1.00	\$ 10.359 00	S 10.833 00
Varner Veach	Katrin Debra	Associate Professor Instructional Asst Professor	Finance, Insurance and Law Mennonite College of Nursing	9.00 4.50	1.00 0.63	*	
Varner			Finance, Insurance and Law Mennonite College of Nursing School of Communication	9.00 4.50 9.00		\$ 3,716.00	\$ 2,925.00

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Vermillion	Julia	Clinical Asst Professor	School of Music	4.50	0.19	-	\$ 871.00
Vetere Vetter	Michael Micah	Professor Lecturer	School of Theatre and Dance Wonsook Kim School of Art	9.00 4.50	1.00 0.25	•	\$ 9,779.00 \$ 1,217.00
Vicars	Mary	Clinical Asst Professor	History	4.50	0.25	-	\$ 1,217.00
Vickers	Justin	Distinguished Professor	School of Music	10.00	1.00		\$ 10,034.00
Vidal Gadea	Andres	Associate Professor	School of Biological Sciences	9.00	1.00	\$ 9,682.00	\$ 10,261.00
Vlasov	Dmitrii	Instructional Asst Professor	Geography, Geology, and the En	9.00	1.00		\$ 5,405.00
Vought	Joy	Professor	School of Music	9.00	1.00	. ,	\$ 10,006.00
Vowels Wagman	Crystal Jeffrey	Clinical Asst Professor Professor	School of Teaching and Learnin Psychology	4.50 9.00	0.25 1.00	-	\$ 1,145.00 \$ 11,042.00
Walker	Irenea	Asst Professor	School of Teaching and Learnin	9.00	1.00	•	•
Walker	Joyce	Associate Professor	English	9.00	1.00	•	\$ 10,316.00
Wallace	David	Instructional Asst Professor	Marketing	4.50	0.25	•	\$ 1,457.00
Walsh	Jeffrey	Professor	Criminal Justice Sciences	9.00	1.00	•	\$ 11,087.00
Walston	Jennifer	Instructional Asst Professor	Mennonite College of Nursing	9.00	1.00	•	\$ 8,334.00
Walstrom Walworth	Kent Brody	Professor Faculty Associate	Accounting University High School	9.00 9.50	1.00 1.00	•	\$ 17,686.00 \$ 6,515.00
Wang	Нао	Asst Professor	Marketing	9.00	1.00	•	\$ 14,830.00
Wang	Te-Yu	Department Chairperson	Politics and Government	12.00	1.00	•	
Wang	Xing	Asst Professor	Mathematics	9.00	1.00	\$ 9,969.00	\$ 10,257.00
Wantland	Frances	Clinical Asst Professor	School of Teaching and Learnin	4.50	0.50	•	\$ 2,434.00
Wargo	Betsy	Instructional Asst Professor	School of Biological Sciences	9.00	0.50	•	\$ 2,722.00
Wargo	Jessica	Faculty Associate	Thomas Metcalf School	9.50	1.00	•	\$ 4,954.00
Warthen-Sutton Waters	Chrishirella George	Clinical Asst Professor Professor	School of Teaching and Learnin Economics	9.00 9.00	0.25 1.00	-	\$ 1,654.00 \$ 13,283.00
Watts	Lily	Faculty Associate	Laboratory Schools Superintend	9.50	1.00		
Weaver	Jennifer	Instructional Asst Professor	School of Teaching and Learnin	4.50	0.25	•	•
Webb	Benjamin	Faculty Associate	University High School	9.50	1.00	\$ 6,215.00	
Webber	Julie	Professor	Politics and Government	9.00	1.00	\$ 10,027.00	\$ 10,871.00
Webster	Kathryn	Associate Professor	Health Sciences	9.00	1.00	•	. ,
Weiser	Stephen	Associate Professor	Educational Administration & F	9.00	1.00	•	•
Weisheit Weldy	Ralph Bruce	Distinguished Professor Clinical Asst Professor	Criminal Justice Sciences School of Teaching and Learnin	9.00 9.00	1.00 0.75	•	
Wellenreiter	Benjamin	Associate Professor	School of Teaching and Learnin	9.00	1.00	*	
Wells	Rachel	Faculty Associate	Laboratory Schools Superintend	9.50	1.00	•	*
Werner-Powell	Laina	Asst Professor	School of Theatre and Dance	9.00	1.00	•	
Werts	Kay	Instructional Asst Professor	School of Kinesiology and Recr	4.50	0.42		•
Wesselmann	Eric	Professor	Psychology	9.00	1.00	•	
West	Adrienne	Instructional Asst Professor	Special Education	4.50	0.50	•	
West Westerhout	Autumn Julian	Instructional Asst Professor Instructional Asst Professor	English Politics and Government	9.00 9.00	1.00 1.00	•	
Wheeler	Nicole	Lecturer	School of Theatre and Dance	4.50	0.25	•	\$ 1,217.00
White	Amanda	Instructional Asst Professor	Special Education	4.50	0.75	·	
White	Corinne	Clinical Asst Professor	English	4.50	0.08	\$ -	\$ 238.00
White	Elizabeth	Associate Professor	School of Teaching and Learnin	9.00	1.00	•	\$ 8,875.00
Whitesel	Jason	Associate Professor	Sociology and Anthropology	9.00	1.00	•	
Whitfield	Aubrey	Asst Professor	Accounting	9.00	1.00		\$ 17,223.00
Whitman Wiegand	Myranda Heather	Instructional Asst Professor Instructional Asst Professor	Mennonite College of Nursing Mennonite College of Nursing	4.50 9.00	0.42 1.00	•	\$ 2,333.00 \$ 7,223.00
Wiegner	Tricia	Instructional Asst Professor	Mennonite College of Nursing	9.00	1.00	·	
Wieland	Jamie	Associate Professor	Department of Management	9.00	1.00		
Wiggins	Linda	Instructional Asst Professor	Mathematics	9.00	1.00	\$ 5,920.00	\$ 6,154.00
Wilde	Darby	Associate Professor	School of Theatre and Dance	9.00	1.00	\$ 8,249.00	\$ 8,624.00
Wilen	Casey	Faculty Associate	University High School	9.50	1.00	. ,	. ,
Wilkins-Scott	Jayne National	Clinical Asst Professor	School of Music	4.50	0.13	-	•
Wille Willetts	Michael Marion	Professor Professor	Wonsook Kim School of Art Sociology and Anthropology	9.00 9.00	1.00 1.00		
Willey	Eric	Head Tech Srv Library	Milner Library	12.00	1.00	•	
Williams	Jeritt	Asst Professor	Technology	9.00	1.00	•	•
Williams	Katina	Department Chairperson	Department of Management	12.00	1.00		
Williams	Pauline	Emeriti Faculty	School of Teaching and Learnin	4.50	0.19	\$ 1,327.00	\$ 871.00
Williams	Skip	Professor	School of Kinesiology and Recr	9.00	1.00	•	•
Wilson	Daniel	Emeriti Faculty	Technology	4.50	0.25		
Wilson	Janet Kevin	Professor	School of Theatre and Dance	9.00	1.00 1.00	•	
Wilson Wiman	George	Lecturer Instructional Asst Professor	University College Accounting	9.00 9.00	0.25	·	\$ 5,291.00 \$ 1,250.00
Winger	Stewart	Associate Professor	History	9.00	1.00		
Winsor	Matthew	Associate Professor	Mathematics	9.00	1.00	•	
Wise	Andrew	Instructional Asst Professor	Educational Administration & F	4.50	0.25		
Wittmann	Debora	Clinical Asst Professor	Special Education	9.00	1.00		\$ 5,018.00
Wodika	Alicia	Associate Professor	Health Sciences	9.00	1.00	•	
Wodika	Benjamin	Instructional Asst Professor	School of Biological Sciences	9.00	1.00		
Woisioszak	Wendy	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.67	•	
Wojcieszak Wojcik	Paul Michael	Lecturer Instructional Asst Professor	Health Sciences Marketing	4.50 4.50	0.25 0.50		\$ 1,286.00 \$ 2,434.00
Wojcik	iviiciidel	ilisti uctiolidi ASSI PIOIESSOI	Marketing	4.50	0.50	- ب	y 2,434.UU

Illinois State University Non-Tenure Track, Tenure Track, and Faculty Associates - FY2024

Last Name	First Name	FY2024 Title	Department	Contract Months	FTE	FY2023 Salary (As of 1/2/23)	FY2024 Salary (As of 1/2/24)
Wolbers	Gary	Instructional Asst Professor	Department of Management	9.00	1.00	\$ 5,137.00	\$ 5,317.00
Wolf	Cheri	Instructional Asst Professor	School of Information Technolo	9.00	1.00	\$ 6,747.00	\$ 7,010.00
Wolf	James	Professor	School of Information Technolo	9.00	1.00	\$ 14,780.00	\$ 15,623.00
Wollenweber	Jeff	Faculty Associate	University High School	9.50	1.00		\$ 8,776.00
Wolowiec-Fisher	Kimberly	Associate Professor	Special Education	9.00	1.00		\$ 8,780.00
Wood	Amy	Professor	History	9.00	1.00	. ,	\$ 10,541.00
Wood	Fenton	Instructional Asst Professor	School of Music	9.00	1.00		\$ 7,104.00
Woodruff	Jennifer	Instructional Asst Professor	Sociology and Anthropology	9.00	0.75	\$ 4,895.00	\$ 3,801.00
Woolard	Chad	Instructional Asst Professor	School of Communication	9.00	1.00	•	\$ 5,327.00
Woolley	Brittany	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.08	\$ 462.00	\$ 485.00
Worland	Christopher	Instructional Asst Professor	Milner Library	12.00	1.00	\$ 4,851.00	\$ 5,520.00
Wright	Gail	Clinical Asst Professor	Special Education	9.00	1.00	\$ -	\$ 4,867.00
Wright	Valerie	Instructional Asst Professor	Mennonite College of Nursing	9.00	1.00	\$ 7,323.00	\$ 7,579.00
Wu	Shengtian	Asst Professor	Psychology	9.00	1.00	\$ 8,438.00	\$ 8,679.00
Xie	Haiyan	Professor	Technology	9.00	1.00	\$ 11,098.00	\$ 11,609.00
Xiu	Dongniya	Instructional Asst Professor	Family and Consumer Sciences	9.00	0.67	\$ -	\$ 3,606.00
Xu	Maochao	Professor	Mathematics	9.00	1.00	\$ 10,795.00	\$ 11,192.00
Yamskulna	Gaywalee	Professor	Mathematics	9.00	1.00	\$ 9,470.00	\$ 10,523.00
Yang	Liangcheng	Associate Professor	Health Sciences	9.00	1.00	\$ 9,334.00	\$ 10,072.00
Yang-Heim	Gui Ying	Asst Professor	School of Teaching and Learnin	9.00	1.00	\$ -	\$ 8,112.00
Yeager	Amy	Instructional Asst Professor	Wonsook Kim School of Art	4.50	0.25	\$ 1,300.00	\$ 1,323.00
Yeley	Kimberly	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.33	\$ -	\$ 1,867.00
Yon	Angela	Asst Professor	Milner Library	12.00	1.00	\$ 6,572.00	\$ 6,886.00
York	Jessica	Faculty Associate	Thomas Metcalf School	9.50	1.00	\$ 6,947.00	\$ 7,702.00
Young	Carrie	Instructional Asst Professor	School of Teaching and Learnin	9.00	0.50	\$ 1,164.00	\$ 2,434.00
Young	Kristine	Associate Professor	Accounting	9.00	1.00	\$ 18,218.00	\$ 18,669.00
Yount	Amy	Faculty Associate	Laboratory Schools Superintend	9.50	1.00	\$ 7,616.00	\$ 8,042.00
Yu	Ui-Jeen	Professor	Family and Consumer Sciences	9.00	1.00	\$ 9,607.00	\$ 10,417.00
Zabinski	Anna	Asst Professor	Department of Management	9.00	1.00	\$ 15,000.00	\$ 15,605.00
Zablocki	Mark	Associate Professor	Special Education	9.00	1.00	\$ 8,390.00	\$ 8,686.00
Zehr	Holly	Faculty Associate	Thomas Metcalf School	9.50	1.00	\$ 5,014.00	\$ 5,668.00
Zeng	Li	Associate Professor	School of Theatre and Dance	9.00	1.00	\$ 8,330.00	\$ 8,592.00
Zhang	Kevin	Professor	Economics	9.00	1.00	\$ 12,626.00	\$ 13,434.00
Zhang	Qi	Associate Professor	School of Information Technolo	9.00	1.00	\$ 12,427.00	\$ 13,080.00
Zhao	Xiaoying	Asst Professor	School of Teaching and Learnin	9.00	1.00	\$ 7,662.00	\$ 7,884.00
Zhdanov	Dmitry	Endowed Chair	School of Information Technolo	9.00	1.00	\$ -	\$ 20,556.00
Zich	Raymond	Instructional Asst Professor	Physics	9.00	0.67	\$ 4,775.00	\$ 4,433.00
Ziemer	Linda	Instructional Asst Professor	Mennonite College of Nursing	4.50	0.17	\$ 1,393.00	\$ 780.00
Zigerell	Lawrence	Associate Professor	Politics and Government	9.00	1.00	\$ 8,660.00	\$ 9,007.00
Zimmer	Elizabeth	Faculty Associate	Thomas Metcalf School	9.50	0.55	\$ 2,129.00	\$ 2,324.00
Zoccoli	Lisa	Clinical Asst Professor	School of Teaching and Learnin	4.50	0.31	\$ -	\$ 1,420.00
Zompetti	Joseph	Professor	School of Communication	9.00	1.00	\$ 10,290.00	\$ 11,505.00
Zorn	April	Associate Professor	Milner Library	12.00	1.00	\$ 7,538.00	\$ 7,887.00